- WS REAS 8 7122 A XSS So Helo| JHSI0E AME R BA MHIAME(] 2e|5Al7] HEILICH
- BE 7l22 AYAHRIHOR Kizte] WAI/SH/BAl MulAHIE(] Tt Kol 42 4 BLict.

2025 48 12 7|Z HololE

=l 2818 55 (3 HZAHIXIZHA (VAT EE, 3)

Ineos Grenadier Complete Vehicle GRA-0000-000100 Screw D5 8,400
Ineos Grenadier Complete Vehicle GRA-0000-000130 Spring Nut D5 AZ3 HE DS 8,400
Ineos Grenadier Complete Vehicle GRA-0000-000140 Spring Nut M6 2D HE M6 15,500
Ineos Grenadier Complete Vehicle GRA-0000-000150 Screw M6x16 A3 2 M6x16 700
Ineos Grenadier Complete Vehicle GRA-0000-000160 Screw M8x19 A3 2 M8x19 2,100
Ineos Grenadier Complete Vehicle GRA-0000-000170 Screw 232 6,100
Ineos Grenadier Complete Vehicle GRA-0000-000180 Screw M6x20 A3 2 M6x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-000190 Screw M6x23 A3 2 M6x23 8,400
Ineos Grenadier Complete Vehicle GRA-0000-000250 Screw M10x20 A3 Z M10x20 2,100
Ineos Grenadier Complete Vehicle GRA-0000-000360 Push-fit Clip D8 FA-Z 2 D8 15,500
Ineos Grenadier Complete Vehicle GRA-0000-000390 Screw M6x25 A3 2 M6x25 1,200
Ineos Grenadier Complete Vehicle GRA-0000-000420 Grommet 5mm Int Dia 1280 5mm 2,500
Ineos Grenadier Complete Vehicle GRA-0000-000470 Screw M4x16 AT M4x16 700
Ineos Grenadier Complete Vehicle GRA-0000-000500 Screw M8x16 AT M8x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-000510 Screw M8x40 A3 F M8x40 2,100
Ineos Grenadier Complete Vehicle GRA-0000-000520 Nut M6 HE M6 500
Ineos Grenadier Complete Vehicle GRA-0000-000530 Screw M6x12 A3 2 M6x12 500
Ineos Grenadier Complete Vehicle GRA-0000-000570 Nut M12 HE M12 1,800
Ineos Grenadier Complete Vehicle GRA-0000-000630 Rubber Mount 2 O E 191,000
Ineos Grenadier Complete Vehicle GRA-0000-000640 Exhaust Hanger B 7| 34 147,000
Ineos Grenadier Complete Vehicle GRA-0000-000650 Nut M8 HE M8 1,400
Ineos Grenadier Complete Vehicle GRA-0000-000660 Screw M8x20 A3 2 M8x20 1,600
Ineos Grenadier Complete Vehicle GRA-0000-000680 Exhaust Hanger B 7| 34 160,400
Ineos Grenadier Complete Vehicle GRA-0000-000690 Gasket UESA 168,700
Ineos Grenadier Complete Vehicle GRA-0000-000710 Exhaust Hanger Hij 7| 3l 7- 145,300
Ineos Grenadier Complete Vehicle GRA-0000-000720 Exhaust Hanger Hij 7| 3l 7- 139,200
Ineos Grenadier Complete Vehicle GRA-0000-000730 Exhaust Hanger Hij 7| 3l 7- 144,400
Ineos Grenadier Complete Vehicle GRA-0000-000740 Screw 232 2,300
Ineos Grenadier Complete Vehicle GRA-0000-000830 Exhaust Hanger B 7| 34 147,500
Ineos Grenadier Complete Vehicle GRA-0000-000930 Spring Clip 2o3 28 8,300
Ineos Grenadier Complete Vehicle GRA-0000-000950 Screw 232 2,300
Ineos Grenadier Complete Vehicle GRA-0000-001040 Bolt M12x70 EE M12x70 26,400
Ineos Grenadier Complete Vehicle GRA-0000-001340 Bolt M16x50 EE M16x50 33,100
Ineos Grenadier Complete Vehicle GRA-0000-001570 Nut M8 HE M8 1,400
Ineos Grenadier Complete Vehicle GRA-0000-001820 Screw M8x20 A3 2 M8x20 12,000
Ineos Grenadier Complete Vehicle GRA-0000-001830 Washer M8x15 2FA M8x15 12,000
Ineos Grenadier Complete Vehicle GRA-0000-002000 Screw M14x90 A3 Z M14x90 9,000
Ineos Grenadier Complete Vehicle GRA-0000-002010 Screw M12x45 A23Z M12x45 19,300
Ineos Grenadier Complete Vehicle GRA-0000-002020 Nut M16 HE M16 7,600
Ineos Grenadier Complete Vehicle GRA-0000-002030 Clip D6.5-7 28 D6.5-7 500
Ineos Grenadier Complete Vehicle GRA-0000-002050 Washer N 500
Ineos Grenadier Complete Vehicle GRA-0000-002060 Screw M6x35 A3 2 M6x35 700
Ineos Grenadier Complete Vehicle GRA-0000-002070 Nut M6 HE M6 300
Ineos Grenadier Complete Vehicle GRA-0000-002080 Screw M6x25 A3 2 M6x25 1,400
Ineos Grenadier Complete Vehicle GRA-0000-002090 Washer M8 2t M8 500
Ineos Grenadier Complete Vehicle GRA-0000-002100 Screw M6x12 A3 2 M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-002110 Tie 4.6x165 ELO| 4.6x165 500
Ineos Grenadier Complete Vehicle GRA-0000-002120 Screw M6x12 A3 2 M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-002130 Plug 10x20 E2{1 10x20 700
Ineos Grenadier Complete Vehicle GRA-0000-002140 Mounting Plug D20 o028 £281 D20 1,800
Ineos Grenadier Complete Vehicle GRA-0000-002150 Mounting Plug 20x30 02 &l £/ 20x30 2,500
Ineos Grenadier Complete Vehicle GRA-0000-002160 Plug 25x35 2|1 25x35 2,700
Ineos Grenadier Complete Vehicle GRA-0000-002170 Plug D25 2{1 D25 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002180 Screw M8x16 AT M8x16 1,600
Ineos Grenadier Complete Vehicle GRA-0000-002190 Screw M6x20 23T M6x20 1,200
Ineos Grenadier Complete Vehicle GRA-0000-002200 Screw M5x25 AT M5x25 500
Ineos Grenadier Complete Vehicle GRA-0000-002210 Screw M6x16 AT M6x16 700
Ineos Grenadier Complete Vehicle GRA-0000-002220 Screw M6x12 AT M6x12 1,800
Ineos Grenadier Complete Vehicle GRA-0000-002230 Screw M8x20 A3 F M8x20 2,500
Ineos Grenadier Complete Vehicle GRA-0000-002240 Lock Washer 2.5x16.6 = 9tM 2.5x16.6 7,200
Ineos Grenadier Complete Vehicle GRA-0000-002250 Double Pipe Clip D10-15 G & mto| = 28 D10-15 6,700
Ineos Grenadier Complete Vehicle GRA-0000-002260 Plug D12 £2{1 D12 900
Ineos Grenadier Complete Vehicle GRA-0000-002270 Mounting Plug D25 o028 £281 D25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-002280 Plug D30 £2{1 D30 2,100
Ineos Grenadier Complete Vehicle GRA-0000-002290 Clip =3 300
Ineos Grenadier Complete Vehicle GRA-0000-002300 Screw M6x20 23T M6x20 500
Ineos Grenadier Complete Vehicle GRA-0000-002310 Clip =3 1,200
Ineos Grenadier Complete Vehicle GRA-0000-002320 Cable Clip D4-6 0|2 22 D4-6 700
Ineos Grenadier Complete Vehicle GRA-0000-002330 Tape D32 E|O|Z D32 8,100
Ineos Grenadier Complete Vehicle GRA-0000-002340 Grommet D16 1291 D16 1,800
Ineos Grenadier Complete Vehicle GRA-0000-002350 Screw M10x35 A3 Z M10x35 2,500
Ineos Grenadier Complete Vehicle GRA-0000-002390 Screw M6x16 A3 2 M6x16 900
Ineos Grenadier Complete Vehicle GRA-0000-002400 Plug D25 £2{1 D25 5,300
Ineos Grenadier Complete Vehicle GRA-0000-002410 Screw M6X20 A3 2 M6x20 900
Ineos Grenadier Complete Vehicle GRA-0000-002420 Screw PT5X16 A3 PT5X16 500
Ineos Grenadier Complete Vehicle GRA-0000-002430 Tape Hlo|= 10,300
Ineos Grenadier Complete Vehicle GRA-0000-002440 Plug D20 £2{1 D20 3,500
Ineos Grenadier Complete Vehicle GRA-0000-002450 Tape 71x38 E|O|Z 71x38 7,900
Ineos Grenadier Complete Vehicle GRA-0000-002460 Screw M8x35 AT M8x35 1,200
Ineos Grenadier Complete Vehicle GRA-0000-002470 Screw M8x30 A3 F M8x30 9,800
Ineos Grenadier Complete Vehicle GRA-0000-002480 Screw M6x14 AT M6x14 1,400
Ineos Grenadier Complete Vehicle GRA-0000-002490 Screw M8x25 AT M8x25 2,300
Ineos Grenadier Complete Vehicle GRA-0000-002500 Ball Stud M10 2 AEE M10 15,900
Ineos Grenadier Complete Vehicle GRA-0000-002510 Screw M8x20 A3 2 M8x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-002520 Clip 6.5x13 28 6.5x13 14,100
Ineos Grenadier Complete Vehicle GRA-0000-002530 Screw M6x16 A3 2 M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-002560 Locking Screw EY 238 9,500
Ineos Grenadier Complete Vehicle GRA-0000-002570 Bolt M10x17.5 EE M10x17.5 5,700
Ineos Grenadier Complete Vehicle GRA-0000-002580 Bolt M6x16 EE M6x16 2,100
Ineos Grenadier Complete Vehicle GRA-0000-002600 Bolt M10x75 =E M10x75 4,200
Ineos Grenadier Complete Vehicle GRA-0000-002650 Bolt M8x50 = E M8x50 3,200
Ineos Grenadier Complete Vehicle GRA-0000-002660 Bolt M12x100 EE M12x100 11,500
Ineos Grenadier Complete Vehicle GRA-0000-002670 Bolt M12x75 = E M12x75 7,600
Ineos Grenadier Complete Vehicle GRA-0000-002690 Bolt M10x20 10,700
Ineos Grenadier Complete Vehicle GRA-0000-002700 Bolt M8x20 9,900
Ineos Grenadier Complete Vehicle GRA-0000-002710 Bolt M6x20 8,400
Ineos Grenadier Complete Vehicle GRA-0000-002740 Bolt 14,000
Ineos Grenadier Complete Vehicle GRA-0000-002750 Bolt M10x45 EE M10x45 15,200
Ineos Grenadier Complete Vehicle GRA-0000-002770 Screw M10x125 A 32 M10x125 9,200
Ineos Grenadier Complete Vehicle GRA-0000-002780 Screw M8x60 A3 F M8x60 4,900
Ineos Grenadier Complete Vehicle GRA-0000-002800 Screw M6x33 AT M6x33 3,500
Ineos Grenadier Complete Vehicle GRA-0000-002850 Screw M8x14 AT M8x14 2,500




Ineos Grenadier Complete Vehicle GRA-0000-002860 Screw M12x40 A3 Z M12x40 9,800
Ineos Grenadier Complete Vehicle GRA-0000-002870 Screw M12x30 A3 Z M12x30 7,400
Ineos Grenadier Complete Vehicle GRA-0000-002880 Screw M12x34.5 A3 Z M12x34.5 9,200
Ineos Grenadier Complete Vehicle GRA-0000-002890 Screw M8x30 A3 2 M8x30 2,900
Ineos Grenadier Complete Vehicle GRA-0000-002900 Screw M12x75 A3 Z M12x75 13,900
Ineos Grenadier Complete Vehicle GRA-0000-002910 Screw M6x14 A3 2 M6x14 1,600
Ineos Grenadier Complete Vehicle GRA-0000-002920 Screw M16x120 A3 2 M16x120 27,500
Ineos Grenadier Complete Vehicle GRA-0000-002930 Screw M6x16 A3 2 M6x16 1,800
Ineos Grenadier Complete Vehicle GRA-0000-002940 Screw M10x40 A3 Z M10x40 2,900
Ineos Grenadier Complete Vehicle GRA-0000-002950 Screw M6x12 A3 2 M6x12 2,400
Ineos Grenadier Complete Vehicle GRA-0000-002960 Screw M6x16 A3 2 M6x16 1,400
Ineos Grenadier Complete Vehicle GRA-0000-002970 Screw M10x90 A3 F M10x90 8,100
Ineos Grenadier Complete Vehicle GRA-0000-002980 Screw M10x25 A3 Z M10x25 3,500
Ineos Grenadier Complete Vehicle GRA-0000-002990 Screw M6x20 23T M6x20 1,100
Ineos Grenadier Complete Vehicle GRA-0000-003000 Screw M6x20 23T M6x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003010 Screw M6x16 AT M6x16 700

Ineos Grenadier Complete Vehicle GRA-0000-003020 Screw M6x16 AT M6x16 7,800
Ineos Grenadier Complete Vehicle GRA-0000-003030 Screw M8x20 A3 F M8x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003040 Screw M6x25 AT M6x25 900

Ineos Grenadier Complete Vehicle GRA-0000-003050 Screw M6x30 237 M6x30 3,200
Ineos Grenadier Complete Vehicle GRA-0000-003060 Screw M6x12 AT M6x12 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003080 Screw M8x25 AT M8x25 6,300
Ineos Grenadier Complete Vehicle GRA-0000-003090 Screw M6x25 AT M6x25 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003100 Screw 5x16.55 AR 5x16.55 700

Ineos Grenadier Complete Vehicle GRA-0000-003110 Screw 4x16 AR 4x16 500

Ineos Grenadier Complete Vehicle GRA-0000-003140 Screw M6x16 A3 2 M6x16 900

Ineos Grenadier Complete Vehicle GRA-0000-003150 Screw M10x40 A3 Z M10x40 4,700
Ineos Grenadier Complete Vehicle GRA-0000-003160 Screw M10x50 A3 Z M10x50 10,500
Ineos Grenadier Complete Vehicle GRA-0000-003170 Screw M8x20 A3 F M8x20 2,100
Ineos Grenadier Complete Vehicle GRA-0000-003180 Screw M8x25 AT M8x25 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003190 Screw M8x35 AT M8x35 2,700
Ineos Grenadier Complete Vehicle GRA-0000-003200 Screw 5x20 AR 5x20 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003210 Screw M6x20 23T M6x20 6,500
Ineos Grenadier Complete Vehicle GRA-0000-003220 Screw M8x16 AT M8x16 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003230 Screw M6x12 AT M6x12 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003240 Screw M6x16 AT M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003260 Screw M16x10 A3 Z M16x10 18,800
Ineos Grenadier Complete Vehicle GRA-0000-003270 Screw M12x90 A3 Z M12x90 5,600
Ineos Grenadier Complete Vehicle GRA-0000-003280 Screw M10X1.25 A3 Z M10X1.25 11,200
Ineos Grenadier Complete Vehicle GRA-0000-003290 Screw M16x35 238 M16x35 11,900
Ineos Grenadier Complete Vehicle GRA-0000-003300 Screw M12x25 23T M12x25 3,900
Ineos Grenadier Complete Vehicle GRA-0000-003310 Screw M12x85 23T M12x85 7,200
Ineos Grenadier Complete Vehicle GRA-0000-003320 Screw M15x20 238 M15x20 18,100
Ineos Grenadier Complete Vehicle GRA-0000-003340 Screw M8x30 237 M8x30 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003350 Screw M8x25 AT M8x25 2,700
Ineos Grenadier Complete Vehicle GRA-0000-003360 Screw M8x90 A3 F M8x90 3,900
Ineos Grenadier Complete Vehicle GRA-0000-003370 Screw M8x25 AT M8x25 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003380 Screw M6x12 AT M6x12 900

Ineos Grenadier Complete Vehicle GRA-0000-003390 Screw M12x80 238 M12x80 13,400
Ineos Grenadier Complete Vehicle GRA-0000-003400 Screw M14x65 23T M14x65 12,300
Ineos Grenadier Complete Vehicle GRA-0000-003410 Screw M16x90 237 M16x90 12,100
Ineos Grenadier Complete Vehicle GRA-0000-003420 Screw M14x110 A3 2 M14x110 11,200
Ineos Grenadier Complete Vehicle GRA-0000-003430 Screw M14x90 A3 Z M14x90 9,800
Ineos Grenadier Complete Vehicle GRA-0000-003440 Screw M14x120 A3 2 M14x120 24,400
Ineos Grenadier Complete Vehicle GRA-0000-003450 Screw M14x120 A3 2 M14x120 9,800
Ineos Grenadier Complete Vehicle GRA-0000-003460 Screw M14x75 23T M14x75 14,800
Ineos Grenadier Complete Vehicle GRA-0000-003470 Screw M12x30 238 M12x30 3,900
Ineos Grenadier Complete Vehicle GRA-0000-003480 Screw M10x35 238 M10x35 3,000
Ineos Grenadier Complete Vehicle GRA-0000-003490 Screw M10x30 238 M10x30 3,200
Ineos Grenadier Complete Vehicle GRA-0000-003500 Screw M10x16 238 M10x16 4,100
Ineos Grenadier Complete Vehicle GRA-0000-003510 Screw M5x10 A3 2 M5x10 500

Ineos Grenadier Complete Vehicle GRA-0000-003520 Screw M14x40 A3 Z M14x40 8,800
Ineos Grenadier Complete Vehicle GRA-0000-003540 Screw M12x40 A3 Z M12x40 5,400
Ineos Grenadier Complete Vehicle GRA-0000-003550 Screw M8x20 A3 2 M8x20 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003560 Screw M10x25 A3 Z M10x25 3,600
Ineos Grenadier Complete Vehicle GRA-0000-003570 Screw M8x16 AT M8x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003580 Screw M6x25 AT M6x25 7,900
Ineos Grenadier Complete Vehicle GRA-0000-003590 Screw M8x16 AT M8x16 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003600 Screw M6x16 AT M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003610 Screw PT4x12 A3 K35x10 1,600
Ineos Grenadier Complete Vehicle GRA-0000-003620 Screw M5x20 A3 2 M5x20 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003630 Screw M6x17.5 232 M6x17.5 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003650 Screw M12x45 A3 Z M12x45 8,100
Ineos Grenadier Complete Vehicle GRA-0000-003660 Screw M6x45 AT M6x45 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003670 Screw M5x12 AT M5x12 700

Ineos Grenadier Complete Vehicle GRA-0000-003680 Screw M8x25 AT M8x25 1,600
Ineos Grenadier Complete Vehicle GRA-0000-003690 Screw M6x20 23T M6x20 700

Ineos Grenadier Complete Vehicle GRA-0000-003700 Screw M6x30 237 M6x30 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003710 Screw M6x12 AT M6x12 4,100
Ineos Grenadier Complete Vehicle GRA-0000-003720 Screw M6x12 AT M6x12 700

Ineos Grenadier Complete Vehicle GRA-0000-003730 Screw M6x40 23T M6x40 1,400
Ineos Grenadier Complete Vehicle GRA-0000-003740 Screw M4x16 AT M4x16 900

Ineos Grenadier Complete Vehicle GRA-0000-003750 Screw M6x16 AT M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003760 Screw 3x10 A3 2 3x10 700

Ineos Grenadier Complete Vehicle GRA-0000-003770 Screw PT4x12 A2 K35x10 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003780 Screw M10 A3 2 M10 7,200
Ineos Grenadier Complete Vehicle GRA-0000-003790 Screw M6x16 A3 2 M6x16 900

Ineos Grenadier Complete Vehicle GRA-0000-003800 Screw M10x20 A3 Z M10x20 3,000
Ineos Grenadier Complete Vehicle GRA-0000-003810 Screw M8x16 A3 2 M8x16 2,500
Ineos Grenadier Complete Vehicle GRA-0000-003820 Screw ST4.2x13 A3 ST4.2x13 300

Ineos Grenadier Complete Vehicle GRA-0000-003830 Screw ST4.2x16 A3 ST4.2x16 7,200
Ineos Grenadier Complete Vehicle GRA-0000-003840 Screw M5x12 A2 M5x12 500

Ineos Grenadier Complete Vehicle GRA-0000-003850 Screw 4x14 AR 4x14 1,200
Ineos Grenadier Complete Vehicle GRA-0000-003870 Screw 232 3,200
Ineos Grenadier Complete Vehicle GRA-0000-003880 Screw M8x16 A3 2 M8x16 700

Ineos Grenadier Complete Vehicle GRA-0000-003890 Screw 232 2,700
Ineos Grenadier Complete Vehicle GRA-0000-003910 Screw 232 4,300
Ineos Grenadier Complete Vehicle GRA-0000-003920 Screw M6x16 A3 2 M6x16 1,800
Ineos Grenadier Complete Vehicle GRA-0000-003940 Screw M10x23 23T M10x23 3,600
Ineos Grenadier Complete Vehicle GRA-0000-003950 Screw M12x25 23T M12x25 5,800
Ineos Grenadier Complete Vehicle GRA-0000-003960 Screw M10x20 23 F M10x20 11,200
Ineos Grenadier Complete Vehicle GRA-0000-003970 Screw M8x20 A3 F M8x20 3,400
Ineos Grenadier Complete Vehicle GRA-0000-003980 Screw M6x35 23T M6x35 1,600
Ineos Grenadier Complete Vehicle GRA-0000-003990 Screw M5x25 AT M5x25 2,100
Ineos Grenadier Complete Vehicle GRA-0000-004000 Screw ST4.8x16 A3 ST4.8x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004010 Screw M8x20 A3 2 M8x20 1,600
Ineos Grenadier Complete Vehicle GRA-0000-004020 Screw M10x40 A3 Z M10x40 5,400




Ineos Grenadier Complete Vehicle GRA-0000-004030 Screw PT6x20 A3 PT6x20 700
Ineos Grenadier Complete Vehicle GRA-0000-004040 Screw PT4.5x25 A3 PT4.5x25 1,800
Ineos Grenadier Complete Vehicle GRA-0000-004050 Screw M6x40 A3 2 M6x40 3,200
Ineos Grenadier Complete Vehicle GRA-0000-004070 Screw M6x12 A3 2 M6x12 700
Ineos Grenadier Complete Vehicle GRA-0000-004080 Screw M10x60 A3 Z M10x60 4,300
Ineos Grenadier Complete Vehicle GRA-0000-004090 Screw M6x25 AT M6x25 8,100
Ineos Grenadier Complete Vehicle GRA-0000-004100 Screw M6x12 AT M6x12 1,400
Ineos Grenadier Complete Vehicle GRA-0000-004110 Screw M6x30 237 M6x30 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004120 Screw M5x16 AT M5x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004130 Screw M6x22 AT M6x22 1,600
Ineos Grenadier Complete Vehicle GRA-0000-004140 Screw M6x12 AT M6x12 900
Ineos Grenadier Complete Vehicle GRA-0000-004160 Screw M6x25 AT M6x25 2,300
Ineos Grenadier Complete Vehicle GRA-0000-004180 Nut M8 HE M8 19,000
Ineos Grenadier Complete Vehicle GRA-0000-004190 Screw M6x16 A3 2 M6x16 7,900
Ineos Grenadier Complete Vehicle GRA-0000-004200 Nut HE 5,800
Ineos Grenadier Complete Vehicle GRA-0000-004210 Screw M8x12 A2 M8x12 1,600
Ineos Grenadier Complete Vehicle GRA-0000-004220 Screw M5x12 AR M5x12 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004230 Screw ST4.2x19 A3 ST4.2x19 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004240 Screw 3.5x7 AR 3.65x7 2,500
Ineos Grenadier Complete Vehicle GRA-0000-004250 Screw M8x12 AT M8x12 2,300
Ineos Grenadier Complete Vehicle GRA-0000-004260 Screw M5x12 AT M5x12 700
Ineos Grenadier Complete Vehicle GRA-0000-004270 Screw M6x20 23T M6x20 1,800
Ineos Grenadier Complete Vehicle GRA-0000-004280 Screw M6x20 23T M6x20 900
Ineos Grenadier Complete Vehicle GRA-0000-004290 Screw M4x20 23T M4x20 2,700
Ineos Grenadier Complete Vehicle GRA-0000-004300 Thumb Screw HAIR 21,400
Ineos Grenadier Complete Vehicle GRA-0000-004310 Screw M8x60 A3 2 M8x60 6,100
Ineos Grenadier Complete Vehicle GRA-0000-004320 Clip 28 4,500
Ineos Grenadier Complete Vehicle GRA-0000-004330 Screw M12x25 A3 Z M12x25 9,000
Ineos Grenadier Complete Vehicle GRA-0000-004340 Screw M10x20 A3 Z M10x20 8,700
Ineos Grenadier Complete Vehicle GRA-0000-004350 Washer N 500
Ineos Grenadier Complete Vehicle GRA-0000-004360 Screw M10x30 A3 Z M10x30 12,100
Ineos Grenadier Complete Vehicle GRA-0000-004370 Screw M12x30 A3 Z M12x30 15,400
Ineos Grenadier Complete Vehicle GRA-0000-004380 Nut M6 HE M6 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004390 Screw M6x20 A3 2 M6x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-004400 Nut M8 HE M8 3,200
Ineos Grenadier Complete Vehicle GRA-0000-004410 Washer N 6,700
Ineos Grenadier Complete Vehicle GRA-0000-004420 Washer N 10,500
Ineos Grenadier Complete Vehicle GRA-0000-004430 Nut M10 HE M10 7,900
Ineos Grenadier Complete Vehicle GRA-0000-004440 Lock Washer 2 9N 4,500
Ineos Grenadier Complete Vehicle GRA-0000-004450 Lock Washer 2 9N 4,500
Ineos Grenadier Complete Vehicle GRA-0000-004470 Washer M6 2t M6 3,600
Ineos Grenadier Complete Vehicle GRA-0000-004480 Nut M8 HE M8 5,000
Ineos Grenadier Complete Vehicle GRA-0000-004500 Nut M6 HE M6 4,300
Ineos Grenadier Complete Vehicle GRA-0000-004510 Nut M6 HE M6 500
Ineos Grenadier Complete Vehicle GRA-0000-004520 Clip 28 4,100
Ineos Grenadier Complete Vehicle GRA-0000-004530 Nut M6 HE M6 6,100
Ineos Grenadier Complete Vehicle GRA-0000-004630 Bolt M8x13 EE M8x13 8,100
Ineos Grenadier Complete Vehicle GRA-0000-004640 Nut M10 HE M10 1,200
Ineos Grenadier Complete Vehicle GRA-0000-004670 Nut M8 HE M8 900
Ineos Grenadier Complete Vehicle GRA-0000-004680 Nut M16 HE M16 5,800
Ineos Grenadier Complete Vehicle GRA-0000-004690 Nut M14 HE M14 2,700
Ineos Grenadier Complete Vehicle GRA-0000-004700 Screw M8x21 A3 Z M8x21 13,700
Ineos Grenadier Complete Vehicle GRA-0000-004710 Nut M16 HE M16 7,200
Ineos Grenadier Complete Vehicle GRA-0000-004720 Nut M12 HE M12 3,400
Ineos Grenadier Complete Vehicle GRA-0000-004740 Plastic Rivet EotAE 2)d 1,400
Ineos Grenadier Complete Vehicle GRA-0000-004770 Stud Bolt 4,300
Ineos Grenadier Complete Vehicle GRA-0000-004780 Dowel Pin 5,200
Ineos Grenadier Complete Vehicle GRA-0000-004790 Dowel 1,600
Ineos Grenadier Complete Vehicle GRA-0000-004870 Bolt 1,400
Ineos Grenadier Complete Vehicle GRA-0000-004890 Bolt 4,600
Ineos Grenadier Complete Vehicle GRA-0000-004940 Liquid Sealant 53,100
Ineos Grenadier Complete Vehicle GRA-0000-004950 Reluctor 64,200
Ineos Grenadier Complete Vehicle GRA-0000-004960 Dowel 2,400
Ineos Grenadier Complete Vehicle GRA-0000-004970 Bolt 4,200
Ineos Grenadier Complete Vehicle GRA-0000-005310 Tape D32 3,900
Ineos Grenadier Complete Vehicle GRA-0000-005320 Tape D40 5,200
Ineos Grenadier Complete Vehicle GRA-0000-005780 Clip 6,700
Ineos Grenadier Complete Vehicle GRA-0000-006500 Clip 1,200
Ineos Grenadier Complete Vehicle GRA-0000-006590 Screw 5x16 1,600
Ineos Grenadier Complete Vehicle GRA-0000-006710 Foam Washer 5,600
Ineos Grenadier Complete Vehicle GRA-0000-006720 Bolt 7,600
Ineos Grenadier Complete Vehicle GRA-0000-006870 Immocoil 242,700
Ineos Grenadier Complete Vehicle GRA-0000-006890 Washer 5,900
Ineos Grenadier Complete Vehicle GRA-0000-006900 Interior Temperature Sensor AU 2= dAM 395,900
Ineos Grenadier Complete Vehicle GRA-0000-006910 Ignition Lock o|aL|M 2 885,900
Ineos Grenadier Complete Vehicle GRA-0000-007660 Screw M6x10 A3 2 M6x10 900
Ineos Grenadier Complete Vehicle GRA-0000-007860 Clip 28 1,100
Ineos Grenadier Complete Vehicle GRA-0000-007980 Screw PT4x20 A3 Z PT4x20 500
Ineos Grenadier Complete Vehicle GRA-0000-008000 Reflector EE]=] 34,900
Ineos Grenadier Complete Vehicle GRA-0000-008550 Screw M6x25 A3 2 M6x25 3,200
Ineos Grenadier Complete Vehicle GRA-0000-008880 O-ring 28 4,600
Ineos Grenadier Complete Vehicle GRA-0000-009150 Bolt M8x20 EE M8x20 9,000
Ineos Grenadier Complete Vehicle GRA-0000-009540 Screw M8x20 A3 2 M8x20 48,200
Ineos Grenadier Complete Vehicle GRA-0000-009580 Nut M5 HE M5 4,500
Ineos Grenadier Complete Vehicle GRA-0000-009720 Grommet D30 291 D30 8,500
Ineos Grenadier Complete Vehicle GRA-0000-009740 Screw M10x45 A3 Z M10x45 7,400
Ineos Grenadier Complete Vehicle GRA-0000-009870 Plug D7.0 £33 D7.0 1,600
Ineos Grenadier Complete Vehicle GRA-0000-009940 Clip 28 15,600
Ineos Grenadier Complete Vehicle GRA-0000-009980 Washer QA 69,400
Ineos Grenadier Complete Vehicle GRA-0000-010200 Exhaust Hanger B 7| 34 200,800
Ineos Grenadier Complete Vehicle GRA-0000-010230 Washer D34x2.1 9FA D34x2.1 1,600
Ineos Grenadier Complete Vehicle GRA-0000-010240 Nut M8 HE M8 900
Ineos Grenadier Complete Vehicle GRA-0000-010250 Washer D30x4 9FA D30x4 1,600
Ineos Grenadier Complete Vehicle GRA-0000-010260 Nut M16 HE M16 4,600
Ineos Grenadier Complete Vehicle GRA-0000-010270 Cap M16x1 24 M16x1 1,400
Ineos Grenadier Complete Vehicle GRA-0000-010280 Screw 232 17,000
Ineos Grenadier Complete Vehicle GRA-0000-010290 Washer D30x3.5 2+A D30x3.5 1,600
Ineos Grenadier Complete Vehicle GRA-0000-010300 Lock Washer 2 9N 900
Ineos Grenadier Complete Vehicle GRA-0000-010310 Washer D17.5x3.3 9tM D17.5x3.3 2,400
Ineos Grenadier Complete Vehicle GRA-0000-010320 Washer D17.5x4 9kM D17.5x4 1,100
Ineos Grenadier Complete Vehicle GRA-0000-010330 Cap M8 2 M8 1,100
Ineos Grenadier Complete Vehicle GRA-0000-010410 Nut M8 HE M8 3,600
Ineos Grenadier Complete Vehicle GRA-0000-010650 Alarm Siren U Ao R 212,500
Ineos Grenadier Complete Vehicle GRA-0000-010730 Screw M8x20 A3 2 M8x20 1,600
Ineos Grenadier Complete Vehicle GRA-0000-010750 Screw 5x16.55 AR 5x16.55 900
Ineos Grenadier Complete Vehicle GRA-0000-010780 Bolt M6x20 EE M6x20 8,800
Ineos Grenadier Complete Vehicle GRA-0000-010790 Bolt E2E 15,200




Ineos Grenadier Complete Vehicle GRA-0000-011070 Weld Nut 28 HE 3,800
Ineos Grenadier Complete Vehicle GRA-0000-011080 Screw M8x14 A3 2 M8x14 1,400
Ineos Grenadier Complete Vehicle GRA-0000-011100 Nut M6 HE M6 4,500
Ineos Grenadier Complete Vehicle GRA-0000-011110 Nut M8 HE M8 700
Ineos Grenadier Complete Vehicle GRA-0000-011120 Nut M6 HE M6 2,400
Ineos Grenadier Complete Vehicle GRA-0000-011140 Nut HE 900
Ineos Grenadier Complete Vehicle GRA-0000-011150 Nut HE 2,300
Ineos Grenadier Complete Vehicle GRA-0000-011210 Nut M8 HE M8 500
Ineos Grenadier Complete Vehicle GRA-0000-011230 Plastic Nut EotAE HE 1,600
Ineos Grenadier Complete Vehicle GRA-0000-011240 Nut M6 HE M6 300
Ineos Grenadier Complete Vehicle GRA-0000-011250 Nut M8 HE M8 1,200
Ineos Grenadier Complete Vehicle GRA-0000-011260 Screw M8x16 A3 2 M8x16 1,600
Ineos Grenadier Complete Vehicle GRA-0000-011290 Clip D23x6.5 28 D23x6.5 6,100
Ineos Grenadier Complete Vehicle GRA-0000-011300 Clip D16-22 28 D16-22 11,600
Ineos Grenadier Complete Vehicle GRA-0000-011310 Clip 1x6.5 28 1x6.5 500
Ineos Grenadier Complete Vehicle GRA-0000-011320 Retainer Clip 2lgo|H 2 700
Ineos Grenadier Complete Vehicle GRA-0000-011330 Clip 14.7x26 28 14.7x26 4,100
Ineos Grenadier Complete Vehicle GRA-0000-011340 Clip 20x20 28 20x20 6,100
Ineos Grenadier Complete Vehicle GRA-0000-011360 Clip D7x4 28 D7x4 3,200
Ineos Grenadier Complete Vehicle GRA-0000-011370 Clip =g 15,900
Ineos Grenadier Complete Vehicle GRA-0000-011380 Clip =g 8,100
Ineos Grenadier Complete Vehicle GRA-0000-011390 Clip D6.3 28 D6.3 2,700
Ineos Grenadier Complete Vehicle GRA-0000-011410 Clip =g 8,500
Ineos Grenadier Complete Vehicle GRA-0000-011480 Screw 232 3,400
Ineos Grenadier Complete Vehicle GRA-0000-011490 Bolt E2E 3,800
Ineos Grenadier Complete Vehicle GRA-0000-011500 Bolt E2E 8,300
Ineos Grenadier Complete Vehicle GRA-0000-011510 Dowel crg 2,000
Ineos Grenadier Complete Vehicle GRA-0000-011530 Qil Pressure Sensor 22 et MM 86,400
Ineos Grenadier Complete Vehicle GRA-0000-011540 Oil Pressure Switch 29 o3 AQX| 49,000
Ineos Grenadier Complete Vehicle GRA-0000-011550 Solenoid Valve &80/ HE 243,600
Ineos Grenadier Complete Vehicle GRA-0000-011560 Bolt E2E 1,700
Ineos Grenadier Complete Vehicle GRA-0000-011570 Screw 232 1,000
Ineos Grenadier Complete Vehicle GRA-0000-011580 Sealing Washer Alal b 3,200
Ineos Grenadier Complete Vehicle GRA-0000-011590 Stud Bolt 5,100
Ineos Grenadier Complete Vehicle GRA-0000-011610 Gasket 12,400
Ineos Grenadier Complete Vehicle GRA-0000-011620 Nut 1,400
Ineos Grenadier Complete Vehicle GRA-0000-011640 O-ring 1,500
Ineos Grenadier Complete Vehicle GRA-0000-011660 O-ring 2,900
Ineos Grenadier Complete Vehicle GRA-0000-011670 Bolt 2,300
Ineos Grenadier Complete Vehicle GRA-0000-011680 Bolt 2,200
Ineos Grenadier Complete Vehicle GRA-0000-011690 Bolt 7,000
Ineos Grenadier Complete Vehicle GRA-0000-011710 Blind Plug 4,100
Ineos Grenadier Complete Vehicle GRA-0000-011720 Screw Plug 7,700
Ineos Grenadier Complete Vehicle GRA-0000-011750 Bolt 1,800
Ineos Grenadier Complete Vehicle GRA-0000-011770 Bolt 10,800
Ineos Grenadier Complete Vehicle GRA-0000-011780 Bolt 10,900
Ineos Grenadier Complete Vehicle GRA-0000-011820 Camshaft Position Sensor 252,800
Ineos Grenadier Complete Vehicle GRA-0000-011830 O-ring 7,100
Ineos Grenadier Complete Vehicle GRA-0000-011840 Bolt 2,800
Ineos Grenadier Complete Vehicle GRA-0000-011930 Bolt 1,800
Ineos Grenadier Complete Vehicle GRA-0000-011960 Bolt 6,100
Ineos Grenadier Complete Vehicle GRA-0000-012000 Pin 4,600
Ineos Grenadier Complete Vehicle GRA-0000-012220 Flexplate 1,277,700
Ineos Grenadier Complete Vehicle GRA-0000-012230 Bolt 6,200
Ineos Grenadier Complete Vehicle GRA-0000-012260 Bolt 6,000
Ineos Grenadier Complete Vehicle GRA-0000-012280 Bolt 4,200
Ineos Grenadier Complete Vehicle GRA-0000-012310 Bolt 1,500
Ineos Grenadier Complete Vehicle GRA-0000-012340 Bolt 16,500
Ineos Grenadier Complete Vehicle GRA-0000-012360 Bolt 2,200
Ineos Grenadier Complete Vehicle GRA-0000-012560 Screw 4,300
Ineos Grenadier Complete Vehicle GRA-0000-012570 Bolt 3,000
Ineos Grenadier Complete Vehicle GRA-0000-012580 Bolt 1,800
Ineos Grenadier Complete Vehicle GRA-0000-012630 Bolt 9,900
Ineos Grenadier Complete Vehicle GRA-0000-012680 Bolt 4,000
Ineos Grenadier Complete Vehicle GRA-0000-012730 O-ring 10,600
Ineos Grenadier Complete Vehicle GRA-0000-012760 Bolt 2,300
Ineos Grenadier Complete Vehicle GRA-0000-012770 Screw 2,000
Ineos Grenadier Complete Vehicle GRA-0000-012860 Screw 14,800
Ineos Grenadier Complete Vehicle GRA-0000-012870 Screw 2,400
Ineos Grenadier Complete Vehicle GRA-0000-012880 Screw 5,600
Ineos Grenadier Complete Vehicle GRA-0000-012920 Screw M8x20 6,700
Ineos Grenadier Complete Vehicle GRA-0000-012960 Rivet 1,200
Ineos Grenadier Complete Vehicle GRA-0000-013250 Nut 3,300
Ineos Grenadier Complete Vehicle GRA-0000-013360 Rubber Mount 24,400
Ineos Grenadier Complete Vehicle GRA-0000-013680 Screw 9,000
Ineos Grenadier Complete Vehicle GRA-0000-013720 Lock Washer 24,000
Ineos Grenadier Complete Vehicle GRA-0000-013730 Screw 10,700
Ineos Grenadier Complete Vehicle GRA-0000-013740 Screw 10,700
Ineos Grenadier Complete Vehicle GRA-0000-013750 Pressure Sensor 223,600
Ineos Grenadier Complete Vehicle GRA-0000-013760 Bolt 1,900
Ineos Grenadier Complete Vehicle GRA-0000-013890 O-ring 3,200
Ineos Grenadier Complete Vehicle GRA-0000-013900 Screw 1,800
Ineos Grenadier Complete Vehicle GRA-0000-013910 Screw 4,400
Ineos Grenadier Complete Vehicle GRA-0000-013920 Screw 22,000
Ineos Grenadier Complete Vehicle GRA-0000-013930 Bolt 2,200
Ineos Grenadier Complete Vehicle GRA-0000-013940 Bolt 1,700
Ineos Grenadier Complete Vehicle GRA-0000-013950 Bolt & 4,300
Ineos Grenadier Complete Vehicle GRA-0000-013960 Exhaust Gas Temperature Sensor Hi 7| 7tA 22 AN 164,500
Ineos Grenadier Complete Vehicle GRA-0000-014040 Banjo Bolt Hx EE 16,000
Ineos Grenadier Complete Vehicle GRA-0000-014050 Banjo Bolt Hx EE 5,400
Ineos Grenadier Complete Vehicle GRA-0000-014060 Seal Washer A QFA 800
Ineos Grenadier Complete Vehicle GRA-0000-014070 Screw 232 1,500
Ineos Grenadier Complete Vehicle GRA-0000-014080 Screw 232 2,200
Ineos Grenadier Complete Vehicle GRA-0000-014090 Bolt E2E 1,500
Ineos Grenadier Complete Vehicle GRA-0000-014110 Nut HE 1,400
Ineos Grenadier Complete Vehicle GRA-0000-014160 0O-RING < 8,400
Ineos Grenadier Complete Vehicle GRA-0000-014170 O-ring < 8,100
Ineos Grenadier Complete Vehicle GRA-0000-014180 O-ring < 14,300
Ineos Grenadier Complete Vehicle GRA-0000-014210 Screw ATF 8,500
Ineos Grenadier Complete Vehicle GRA-0000-014220 Screw AFF 5,100
Ineos Grenadier Complete Vehicle GRA-0000-014230 Screw ATF 1,800
Ineos Grenadier Complete Vehicle GRA-0000-014250 Screw ATF 1,500
Ineos Grenadier Complete Vehicle GRA-0000-014290 Screw AFF 2,100
Ineos Grenadier Complete Vehicle GRA-0000-014360 Exhaust Pressure Sensor b 7| 8 A 181,000
Ineos Grenadier Complete Vehicle GRA-0000-014370 Screw 232 11,500
Ineos Grenadier Complete Vehicle GRA-0000-014380 Nut HE 2,200
Ineos Grenadier Complete Vehicle GRA-0000-014460 Screw 232 9,000




Ineos Grenadier Complete Vehicle GRA-0000-014470 Rivet EEL 500
Ineos Grenadier Complete Vehicle GRA-0000-014480 Clip 28 1,100
Ineos Grenadier Complete Vehicle GRA-0000-014490 O-ring 2 15,300
Ineos Grenadier Complete Vehicle GRA-0000-014500 Bolt E2E 2,900
Ineos Grenadier Complete Vehicle GRA-0000-014560 Lubrication Grease g az|A 76,500
Ineos Grenadier Complete Vehicle GRA-0000-014590 Screw 232 4,800
Ineos Grenadier Complete Vehicle GRA-0000-014640 Grommet =281 6,600
Ineos Grenadier Complete Vehicle GRA-0000-014650 Screw 232 2,300
Ineos Grenadier Complete Vehicle GRA-0000-014690 Clamp Yz 2,900
Ineos Grenadier Complete Vehicle GRA-0000-014720 Screw 232 1,700
Ineos Grenadier Complete Vehicle GRA-0000-014730 Clamp =Yz 5,200
Ineos Grenadier Complete Vehicle GRA-0000-014740 Strap Bracket 2EY =23 2,500
Ineos Grenadier Complete Vehicle GRA-0000-014790 Bolt 2E 4,500
Ineos Grenadier Complete Vehicle GRA-0000-014820 Clip = 4,400
Ineos Grenadier Complete Vehicle GRA-0000-014880 Coolant Temperature Sensor W2z 25 AN 89,000
Ineos Grenadier Complete Vehicle GRA-0000-014890 Screw 232 1,100
Ineos Grenadier Complete Vehicle GRA-0000-014900 O-ring 28 6,100
Ineos Grenadier Complete Vehicle GRA-0000-014990 Screw 232 4,100
Ineos Grenadier Complete Vehicle GRA-0000-015010 Bolt E2E 8,000
Ineos Grenadier Complete Vehicle GRA-0000-015060 Bolt E2E 14,200
Ineos Grenadier Complete Vehicle GRA-0000-015070 Washer LIS 14,300
Ineos Grenadier Complete Vehicle GRA-0000-015110 O-ring 28 67,500
Ineos Grenadier Complete Vehicle GRA-0000-015130 Bolt E2E 3,700
Ineos Grenadier Complete Vehicle GRA-0000-015160 Gasket UESA 19,400
Ineos Grenadier Complete Vehicle GRA-0000-015170 Screw 232 12,500
Ineos Grenadier Complete Vehicle GRA-0000-015180 Clamp e 6,200
Ineos Grenadier Complete Vehicle GRA-0000-015240 Screw 232 3,500
Ineos Grenadier Complete Vehicle GRA-0000-015420 Bolt E2E 6,300
Ineos Grenadier Complete Vehicle GRA-0000-015440 Snap Ring 248 6,700
Ineos Grenadier Complete Vehicle GRA-0000-015470 Bolt E2E 5,400
Ineos Grenadier Complete Vehicle GRA-0000-015690 Bolt E2E 4,000
Ineos Grenadier Complete Vehicle GRA-0000-015700 Screw 232 4,300
Ineos Grenadier Complete Vehicle GRA-0000-015710 COUNTERSUNK SCREW FIREAMI AT 2 3,600
Ineos Grenadier Complete Vehicle GRA-0000-015720 Dowel CHel 4,100
Ineos Grenadier Complete Vehicle GRA-0000-015750 Screw ATJZ 1,700
Ineos Grenadier Complete Vehicle GRA-0000-016010 Screw ATJZ 3,600
Ineos Grenadier Complete Vehicle GRA-0000-016040 Screw ATF 3,900
Ineos Grenadier Complete Vehicle GRA-0000-016050 O-ring < 3,900
Ineos Grenadier Complete Vehicle GRA-0000-016140 O-ring < 32,400
Ineos Grenadier Complete Vehicle GRA-0000-016170 O-ring < 5,500
Ineos Grenadier Complete Vehicle GRA-0000-016180 Screw ATF 1,800
Ineos Grenadier Complete Vehicle GRA-0000-016220 Screw ATF 1,900
Ineos Grenadier Complete Vehicle GRA-0000-016230 Screw ATF 2,600
Ineos Grenadier Complete Vehicle GRA-0000-016270 Bolt E2E 4,100
Ineos Grenadier Complete Vehicle GRA-0000-016300 Screw 232 4,100
Ineos Grenadier Complete Vehicle GRA-0000-016310 Screw 232 5,700
Ineos Grenadier Complete Vehicle GRA-0000-016320 Lock Washer 2 9N 2,300
Ineos Grenadier Complete Vehicle GRA-0000-016330 Bolt E2E 2,400
Ineos Grenadier Complete Vehicle GRA-0000-016350 Bolt E2E 3,400
Ineos Grenadier Complete Vehicle GRA-0000-016380 O-ring < 23,400
Ineos Grenadier Complete Vehicle GRA-0000-016410 O-ring < 4,100
Ineos Grenadier Complete Vehicle GRA-0000-016420 O-ring < 5,800
Ineos Grenadier Complete Vehicle GRA-0000-016460 Screw ATF 3,400
Ineos Grenadier Complete Vehicle GRA-0000-016470 Screw ATF 2,400
Ineos Grenadier Complete Vehicle GRA-0000-016480 Screw ATF 1,300
Ineos Grenadier Complete Vehicle GRA-0000-016550 Screw ATF 2,800
Ineos Grenadier Complete Vehicle GRA-0000-016560 Screw ATF 1,700
Ineos Grenadier Complete Vehicle GRA-0000-016580 Bolt E2E 3,700
Ineos Grenadier Complete Vehicle GRA-0000-016590 Screw 232 1,100
Ineos Grenadier Complete Vehicle GRA-0000-016610 Push Fit Clip D8 FA & 28 D8 900
Ineos Grenadier Complete Vehicle GRA-0000-016730 Bolt E2E 900
Ineos Grenadier Complete Vehicle GRA-0000-016760 Screw 232 1,700
Ineos Grenadier Complete Vehicle GRA-0000-016780 Nut HE 1,000
Ineos Grenadier Complete Vehicle GRA-0000-016890 Screw 232 4,000
Ineos Grenadier Complete Vehicle GRA-0000-016950 Bolt E2E 5,500
Ineos Grenadier Complete Vehicle GRA-0000-017000 O-ring 28 59,600
Ineos Grenadier Complete Vehicle GRA-0000-017020 Washer N 700
Ineos Grenadier Complete Vehicle GRA-0000-017030 Clamp D22 2= p22 13,400
Ineos Grenadier Complete Vehicle GRA-0000-017080 Bolt M10x70 EE M10x70 7,600
Ineos Grenadier Complete Vehicle GRA-0000-017090 Bolt M10x20 EE M10x20 5,400
Ineos Grenadier Complete Vehicle GRA-0000-017100 Nut M10 HE M10 3,600
Ineos Grenadier Complete Vehicle GRA-0000-017160 Anchor Cable Tie A7 70| = E}O| 1,400
Ineos Grenadier Complete Vehicle GRA-0000-017170 Anchor Cable Tie A7 70| = E}O| 3,500
Ineos Grenadier Complete Vehicle GRA-0000-017190 Bolt 1,700
Ineos Grenadier Complete Vehicle GRA-0000-017200 Bolt 4,300
Ineos Grenadier Complete Vehicle GRA-0000-017210 Bolt 1,600
Ineos Grenadier Complete Vehicle GRA-0000-018220 Screw M5x25 5,400
Ineos Grenadier Complete Vehicle GRA-0000-018240 Clip 17,400
Ineos Grenadier Complete Vehicle GRA-0000-018800 Clamp 13,900
Ineos Grenadier Complete Vehicle GRA-0000-018870 Screw M12x50 A3 Z M12x50 7,000
Ineos Grenadier Complete Vehicle GRA-0000-018880 Screw M12x100 A 32 M12x100 11,000
Ineos Grenadier Complete Vehicle GRA-0000-018940 Washer M12 QM M12 700
Ineos Grenadier Complete Vehicle GRA-0000-018950 Washer M12 QM M12 2,100
Ineos Grenadier Complete Vehicle GRA-0000-019001 LH Side Door Hinge LH AFO|E £0f 3IX]| 276,600
Ineos Grenadier Complete Vehicle GRA-0000-019012 RH Side Door Hinge RH AO|E = 0f $IX| 276,600
Ineos Grenadier Complete Vehicle GRA-0000-019090 Retainer Clip 2lg ol 2 1,400
Ineos Grenadier Complete Vehicle GRA-0000-019110 Plug £2{1 2,300
Ineos Grenadier Complete Vehicle GRA-0000-019390 Screw M8x20 A3 2 M8x20 3,400
Ineos Grenadier Complete Vehicle GRA-0000-019400 Screw M6x20 A3 2 M6x20 28,400
Ineos Grenadier Complete Vehicle GRA-0000-019460 Washer N 6,500
Ineos Grenadier Complete Vehicle GRA-0000-019520 Screw M10x25 A3 Z M10x25 12,100
Ineos Grenadier Complete Vehicle GRA-0000-019530 Screw M8x20 A3 2 M8x20 9,000
Ineos Grenadier Complete Vehicle GRA-0000-019600 Rivet 2|8l 2,700
Ineos Grenadier Complete Vehicle GRA-0000-019610 Dowel 14.5mm CtE 14.5mm 2,400
Ineos Grenadier Complete Vehicle GRA-0000-019650 Mounting Clip O2E 28 12,800
Ineos Grenadier Complete Vehicle GRA-0000-019680 Expanding Nut B HE 700
Ineos Grenadier Complete Vehicle GRA-0000-019980 Exhaust Isolator [EHENEENE 219,300
Ineos Grenadier Complete Vehicle GRA-0000-020150 Blanking Cap ] 5,700
Ineos Grenadier Complete Vehicle GRA-0000-020860 Washer QA 3,500
Ineos Grenadier Complete Vehicle GRA-0000-020960 Hose Clamp SACHIZ 2,100
Ineos Grenadier Complete Vehicle GRA-0000-020970 Hose Clamp SACHIZ 4,100
Ineos Grenadier Complete Vehicle GRA-0000-021330 Nut M12 HE M12 3,400
Ineos Grenadier Complete Vehicle GRA-0000-021380 Washer N 154,300
Ineos Grenadier Complete Vehicle GRA-0000-021490 Screw 232 1,800
Ineos Grenadier Complete Vehicle GRA-0000-021860 Nut Washer M6 L E 9t M6 1,400
Ineos Grenadier Complete Vehicle GRA-0000-022130 Metal Retaining Clip g 2|Ho|d 2 3,000
Ineos Grenadier Complete Vehicle GRA-0000-022150 Metal Retaining Clip O g 2|Hjo|d 2 2,900




Ineos Grenadier Complete Vehicle GRA-0000-022200 Push Clip ZA 28 3,000
Ineos Grenadier Complete Vehicle GRA-0000-022460 Push Clip ZA 28 700
Ineos Grenadier Complete Vehicle GRA-0000-022880 Clip E 4,100
Ineos Grenadier Complete Vehicle GRA-0000-022930 Screw M8x90 A3 2 M8x90 7,600
Ineos Grenadier Complete Vehicle GRA-0000-023290 Push Button TN HE 113,100
Ineos Grenadier Complete Vehicle GRA-0000-023470 Washer LIS 500
Ineos Grenadier Complete Vehicle GRA-0000-023540 Washer N 8,500
Ineos Grenadier Complete Vehicle GRA-0000-023560 Screw M8x20 A3 F M8x20 7,000
Ineos Grenadier Complete Vehicle GRA-0000-023700 Clip 28 1,600
Ineos Grenadier Complete Vehicle GRA-0000-023740 Spring Nut AZY HE 4,900
Ineos Grenadier Complete Vehicle GRA-0000-023780 Bolt M10x75 EE M10x75 9,000
Ineos Grenadier Complete Vehicle GRA-0000-023790 Washer LIS 4,500
Ineos Grenadier Complete Vehicle GRA-0000-023800 Bolt M5x16 EE M5x16 7,000
Ineos Grenadier Complete Vehicle GRA-0000-023810 Clip 28 4,700
Ineos Grenadier Complete Vehicle GRA-0000-023940 Screw M8x30 A3 2 M8x30 1,800
Ineos Grenadier Complete Vehicle GRA-0000-025150 Central Control Interface CTR M|Of QIE{m|o]A 424,300
Ineos Grenadier Complete Vehicle GRA-0000-025190 USB Charging Port USB &M ZE 172,800
Ineos Grenadier Complete Vehicle GRA-0000-025380 Pin e 26,600
Ineos Grenadier Complete Vehicle GRA-0000-026220 Clamp Yz 20,100
Ineos Grenadier Complete Vehicle GRA-0000-026380 Screw 232 4,100
Ineos Grenadier Complete Vehicle GRA-0000-026450 Screw M6x25 A3 2 M6x25 3,900
Ineos Grenadier Complete Vehicle GRA-0000-026490 Grommet =281 5,600
Ineos Grenadier Complete Vehicle GRA-0000-026540 Screw M8x15 A3 2 M8x15 6,500
Ineos Grenadier Complete Vehicle GRA-0000-026820 Expanding Rivet ERSEIE 4,900
Ineos Grenadier Complete Vehicle GRA-0000-026850 Blind Rivet =atelc 28l 1,600
Ineos Grenadier Complete Vehicle GRA-0000-026980 Nut HE 22,100
Ineos Grenadier Complete Vehicle GRA-0000-027040 Expanding Rivet ERSEIE 500
Ineos Grenadier Complete Vehicle GRA-0000-027100 Clip 28 2,700
Ineos Grenadier Complete Vehicle GRA-0000-027640 Screw M6 232 M6 4,000
Ineos Grenadier Complete Vehicle GRA-0000-028390 Clip 28 5,200
Ineos Grenadier Complete Vehicle GRA-0000-028620 Push Fixing ENEEES] 1,800
Ineos Grenadier Complete Vehicle GRA-0000-028970 Screw M8x20 A3 2 M8x20 12,300
Ineos Grenadier Complete Vehicle GRA-0000-030050 Screw 232 7,900
Ineos Grenadier Complete Vehicle GRA-0000-030070 Screw 232 2,700
Ineos Grenadier Complete Vehicle GRA-0000-030460 Bolt M10x20 = E M10x20 10,700
Ineos Grenadier Complete Vehicle GRA-0000-030580 Plug 15mm 2/ 15mm 4,300
Ineos Grenadier Complete Vehicle GRA-0000-030590 Plug 20mm 2{21 20mm 1,400
Ineos Grenadier Complete Vehicle GRA-0000-030600 Plug 20mm 2{21 20mm 700
Ineos Grenadier Complete Vehicle GRA-0000-030610 Plug 25mm 2/ 25mm 900
Ineos Grenadier Complete Vehicle GRA-0000-030620 Plug 30mm 2{21 30mm 1,400
Ineos Grenadier Complete Vehicle GRA-0000-030630 Screw M8 232 M8 7,900
Ineos Grenadier Complete Vehicle GRA-0000-030790 Screw M8x30 A3 2 M8x30 2,700
Ineos Grenadier Complete Vehicle GRA-0000-030880 Star Washer AEF QLM 2,500
Ineos Grenadier Complete Vehicle GRA-0000-031130 Screw M6x16 AT M6x16 1,600
Ineos Grenadier Complete Vehicle GRA-0000-031150 Screw M6x16 AT M6x16 5,900
Ineos Grenadier Complete Vehicle GRA-0000-031160 Screw M8x25 AT M8x25 1,800
Ineos Grenadier Complete Vehicle GRA-0000-031180 Plug =21 2,100
Ineos Grenadier Complete Vehicle GRA-0000-031190 Plug 15x25 E2{1 15x25 700
Ineos Grenadier Complete Vehicle GRA-0000-031200 Plug 25x35 2] 25x35 1,600
Ineos Grenadier Complete Vehicle GRA-0000-031210 Plug D35 2{1 D35 6,700
Ineos Grenadier Complete Vehicle GRA-0000-031220 Plug D6 £2{1 D6 900
Ineos Grenadier Complete Vehicle GRA-0000-031290 Screw M8x25 A3 2 M8x25 3,200
Ineos Grenadier Complete Vehicle GRA-0000-031440 Washer N 4,300
Ineos Grenadier Complete Vehicle GRA-0000-031810 Screw M12x35 A3 Z M12x35 21,400
Ineos Grenadier Complete Vehicle GRA-0000-031830 Screw M12x30 A3 F M12x30 21,000
Ineos Grenadier Complete Vehicle GRA-0000-031890 Knurled Nut g9E HE 1,600
Ineos Grenadier Complete Vehicle GRA-0000-031910 Expanding Rivet PSR 3,400
Ineos Grenadier Complete Vehicle GRA-0000-032080 Bolt M10x75 EE M10x75 16,100
Ineos Grenadier Complete Vehicle GRA-0000-032320 Nut M8 HE M8 700
Ineos Grenadier Complete Vehicle GRA-0000-032330 Screw M6x88 A3 2 M6x88 4,300
Ineos Grenadier Complete Vehicle GRA-0000-032340 Cable Tie 2.5x205 70| & EtO| 2.5x205 300
Ineos Grenadier Complete Vehicle GRA-0000-032350 Scew M12x45 A3 Z M12x45 5,400
Ineos Grenadier Complete Vehicle GRA-0000-032360 Washer N 1,100
Ineos Grenadier Complete Vehicle GRA-0000-033190 Screw M8x35 A3 2 M8x35 1,200
Ineos Grenadier Complete Vehicle GRA-0000-033310 Clip =& 16,100
Ineos Grenadier Complete Vehicle GRA-0000-033510 Relay 213 0| 205,400
Ineos Grenadier Complete Vehicle GRA-0000-033700 Knurled Nut g9E HE 1,600
Ineos Grenadier Complete Vehicle GRA-0000-033910 Screw M6x40 A3 2 M6x40 1,400
Ineos Grenadier Complete Vehicle GRA-0000-033960 Washer N 500
Ineos Grenadier Complete Vehicle GRA-0000-034670 Screw 7/16-20 UNF A3 Z 7/16-20 UNF 16,600
Ineos Grenadier Complete Vehicle GRA-0000-034920 Plug £2{1 6,700
Ineos Grenadier Complete Vehicle GRA-0000-035700 Screw M8x20 A3 2 M8x20 7,200
Ineos Grenadier Complete Vehicle GRA-0000-036360 Screw M10x20 A3 Z M10x20 12,100
Ineos Grenadier Complete Vehicle GRA-0000-036480 Screw TS5x20 A3 TS5x20 1,400
Ineos Grenadier Complete Vehicle GRA-0000-036510 Blanking Plug =%z E83 10,500
Ineos Grenadier Complete Vehicle GRA-0000-036520 Blanking Plug =%z E83 21,000
Ineos Grenadier Complete Vehicle GRA-0000-036530 Blanking Plug =%z 283 23,900
Ineos Grenadier Complete Vehicle GRA-0000-036540 Blanking Plug =%z E83 12,400
Ineos Grenadier Complete Vehicle GRA-0000-036550 Grommet =281 11,400
Ineos Grenadier Complete Vehicle GRA-0000-036560 Grommet =281 9,200
Ineos Grenadier Complete Vehicle GRA-0000-038180 Clip 28 9,400
Ineos Grenadier Complete Vehicle GRA-0000-038210 Door Trim Clip =0l EE 28 7,400
Ineos Grenadier Complete Vehicle GRA-0000-038220 Screw M6x16 A3 2 M6x16 900
Ineos Grenadier Complete Vehicle GRA-0000-038250 Weld Nut 8 HE 1,400
Ineos Grenadier Complete Vehicle GRA-0000-038260 Screw M6x25 A3 2 M6x25 2,300
Ineos Grenadier Complete Vehicle GRA-0000-038280 Blind Rivet =atelc 28l 8,800
Ineos Grenadier Complete Vehicle GRA-0000-038290 Blind Rivet =atelc 28l 6,300
Ineos Grenadier Complete Vehicle GRA-0000-038310 Push Pin Al ® 3,600
Ineos Grenadier Complete Vehicle GRA-0000-038320 Push Pin Al ®H 1,400
Ineos Grenadier Complete Vehicle GRA-0000-038330 Screw M10x20 A3 Z M10x20 4,700
Ineos Grenadier Complete Vehicle GRA-0000-038340 Tape D20 E|O|Z D20 3,900
Ineos Grenadier Complete Vehicle GRA-0000-039890 Screw M6x16 A3 2 M6x16 1,200
Ineos Grenadier Complete Vehicle GRA-0000-040130 Screw ST5x20 A3 R ST5x20 900
Ineos Grenadier Complete Vehicle GRA-0000-040140 Plug £2{1 6,700
Ineos Grenadier Complete Vehicle GRA-0000-040290 Screw M6x18 A3 2 M6x18 2,100
Ineos Grenadier Complete Vehicle GRA-0000-040300 Screw PT5x16 A3 PT5X16 3,300
Ineos Grenadier Complete Vehicle GRA-0000-040590 Clip 28 8,700
Ineos Grenadier Complete Vehicle GRA-0000-040760 Screw M10x105 A 32 M10x105 37,700
Ineos Grenadier Complete Vehicle GRA-0000-041550 Blanking Plug Y8z 283 12,300
Ineos Grenadier Complete Vehicle GRA-0000-041670 Rivet Nut 2|8 HE 3,900
Ineos Grenadier Complete Vehicle GRA-0000-043580 Screw M4x8 AIZ M4x8 2,100
Ineos Grenadier Complete Vehicle GRA-0000-045110 Rivet 6.35x13.7 2|4 6.35x13.7 9,700
Ineos Grenadier Complete Vehicle GRA-0000-045120 Rivet 6.35x14.9 2|4 6.35x14.9 9,700
Ineos Grenadier Complete Vehicle GRA-0000-045330 Metal Retaining Clip [ EEENEES 3,000
Ineos Grenadier Complete Vehicle GRA-0000-045640 Grommet D30 1291 D30 8,500
Ineos Grenadier Complete Vehicle GRA-0000-045820 Weld Stud M6x16 23 AEE M6x16 1,500
Ineos Grenadier Complete Vehicle GRA-0000-045830 Weld Stud T5x14.2 23 AHE T5x14.2 1,500




Ineos Grenadier Complete Vehicle GRA-0000-045850 Weld Stud T15x9.5 23 AHE T15x9.5 1,500
Ineos Grenadier Complete Vehicle GRA-0000-045880 Weld Stud 5x10 23 AHE T15x9.5 1,500
Ineos Grenadier Complete Vehicle GRA-0000-045960 Rivet Nut M6 83 AHE 5x10 8,700
Ineos Grenadier Complete Vehicle GRA-0000-045990 Weld nut M14 23 HE M14 34,000
Ineos Grenadier Complete Vehicle GRA-0000-046040 Screw M8x35 A3 2 M8x35 2,900
Ineos Grenadier Complete Vehicle GRA-0000-046120 Slimline Seal 17x25mm DIA saatol 17x25mm DIA 13,000
Ineos Grenadier Complete Vehicle GRA-0000-046130 Slimline Seal 8x16mm DIA = g2tol 4 8x16mm DIA 10,000
Ineos Grenadier Complete Vehicle GRA-0000-046140 Slimline Seal 11x19mm DIA &aatol 11x19mm DIA 11,200
Ineos Grenadier Complete Vehicle GRA-0000-046570 Banjo Bolt 32,900
Ineos Grenadier Complete Vehicle GRA-0000-046580 Seal Washer 10,000
Ineos Grenadier Complete Vehicle GRA-0000-046620 Screw M6x20 10,900
Ineos Grenadier Complete Vehicle GRA-0000-046650 Screw M6x12 2,100
Ineos Grenadier Complete Vehicle GRA-0000-046810 Snap Lock Coupling =] 15,800
Ineos Grenadier Complete Vehicle GRA-0000-046910 30A JCASE Fuse 30A JHO|A = 8,500
Ineos Grenadier Complete Vehicle GRA-0000-046920 40A JCASE Fuse 40A JHO|A F= 8,500
Ineos Grenadier Complete Vehicle GRA-0000-046930 20A JCASE LP Fuse 20A JAHO[A LP = 7,200
Ineos Grenadier Complete Vehicle GRA-0000-046940 30A JCASE LP Fuse (Pink) 30A JHO|A LP F= 7,200
Ineos Grenadier Complete Vehicle GRA-0000-046950 40A JCASE LP Fuse 40A JHO|A LP F= 7,200
Ineos Grenadier Complete Vehicle GRA-0000-046960 60A JCASE LP Fuse 60A JAH 0|2 LP = 7,200
Ineos Grenadier Complete Vehicle GRA-0000-046970 5A Mini Fuse 5A 0| = 1,600
Ineos Grenadier Complete Vehicle GRA-0000-046980 7.5A Mini Fuse 7.5A 0|4 F= 1,600
Ineos Grenadier Complete Vehicle GRA-0000-046990 10A Mini Fuse 10A 0|4 = 1,200
Ineos Grenadier Complete Vehicle GRA-0000-047000 15A Mini Fuse 15A 0|4 = 1,600
Ineos Grenadier Complete Vehicle GRA-0000-047010 20A Mini Fuse 20A D[ {§= 1,600
Ineos Grenadier Complete Vehicle GRA-0000-047020 25A Mini Fuse 25A D[ §= 1,600
Ineos Grenadier Complete Vehicle GRA-0000-047030 30A Mini Fuse 30A 0|4 = 1,600
Ineos Grenadier Complete Vehicle GRA-0000-047040 30A Micro Relay 30A Or0|32 20| 37,900
Ineos Grenadier Complete Vehicle GRA-0000-047050 30A Micro Relay (614) 30A Or0|32 20| 75,100
Ineos Grenadier Complete Vehicle GRA-0000-047070 70A Maxi Relay 70A HA| 2o 87,300
Ineos Grenadier Complete Vehicle GRA-0000-047080 B60A ZCASE Fuse B60A ZH 0| A F= 120,600
Ineos Grenadier Complete Vehicle GRA-0000-047090 125A ZCASE Fuse 125A ZH|0|A = 94,800
Ineos Grenadier Complete Vehicle GRA-0000-047100 150A ZCASE Fuse 150A ZH 0| A = 94,800
Ineos Grenadier Complete Vehicle GRA-0000-047110 SHUNT ZCASE Fuse ME 77|0|A BX 94,800
Ineos Grenadier Complete Vehicle GRA-0000-047120 100A ZCASE Fuse 100A ZH 0| A = 94,800
Ineos Grenadier Complete Vehicle GRA-0000-047130 80A ZCASE Fuse 80A ZH 0| A F= 120,600
Ineos Grenadier Complete Vehicle GRA-0000-047140 350A ZCASE Fuse 350A ZA|0|A §= 146,600
Ineos Grenadier Complete Vehicle GRA-0000-047150 300A ZCASE Fuse 300A ZA|O|A F= 120,600
Ineos Grenadier Complete Vehicle GRA-0000-047160 125A MEGA Fuse 125A 07t = 51,500
Ineos Grenadier Complete Vehicle GRA-0000-047930 Push-fit Clip FA-Z 28 6,000
Ineos Grenadier Complete Vehicle GRA-0000-049280 Screw M6x37 A3 2 M6x37 11,200
Ineos Grenadier Complete Vehicle GRA-0000-049830 Stud Mount Cable Tie M5x167mm AEE OR2E #H0|& EFO| M5x167mm 3,200
Ineos Grenadier Complete Vehicle GRA-0000-049850 Pressure Line Fitting Kit EEEREFEER 46,400
Ineos Grenadier Complete Vehicle GRA-0000-049860 Return Line Fitting Kit 2|5 2ol m|El 7| E 46,400
Ineos Grenadier Complete Vehicle GRA-0000-050190 Push-fit Clip FA-Z 28 3,100
Ineos Grenadier Complete Vehicle GRA-0000-050750 Seal Washer I 800
Ineos Grenadier Labels GRA-0C01-006650 Option Label S et 300
Ineos Grenadier Labels GRA-0C01-036490 12V Power Outlet Location Label 12V 19| op el 20| M 2h 6,400
Ineos Grenadier Labels GRA-0C01-036940 Emission Label 0[0| M ajH 6,400
Ineos Grenadier Labels GRA-0C01-036950 Emission Label 0[0| M ajH 7,100
Ineos Grenadier Labels GRA-0C01-036960 Tyre Pressure Label EtOJOf Z2j|A 2t 1,600
Ineos Grenadier Labels GRA-0C01-036970 Tyre Pressure Label EtOJOf Z2j|A 2t 1,600
Ineos Grenadier Labels GRA-0C01-036980 Fuel Type Label FYELY 2t 6,400
Ineos Grenadier Labels GRA-0C01-036990 Fuel Type Label FYELY 2t 1,600
Ineos Grenadier Labels GRA-0C01-037770 Canister Refuel Warning Label LA 2| Y Y 2t 16,400
Ineos Grenadier Labels GRA-0C01-037780 Rescue Warning Label AT g 2t 17,600
Ineos Grenadier Labels GRA-0C01-037790 Differential Warning Label ClHaH M 9jd 2t 17,400
Ineos Grenadier Labels GRA-0C01-038520 Battery Label HiE{ 2| 2 15,700
Ineos Grenadier Labels GRA-0C01-038560 Fuel Economy Label FYo|RAL0| 2t 33,800
Ineos Grenadier Labels GRA-0C01-038580 EU Compliance Label 0| HE2Ho|AA afH 18,800
Ineos Grenadier Labels GRA-0C01-038590 Electric Winch Label A E 2] 21K 2t 17,600
Ineos Grenadier Labels GRA-0C01-038600 Headrest Warning Label SEAE 9d 2pd 15,500
Ineos Grenadier Labels GRA-0C01-038610 Overload Warning Label QHZE 9 2t 16,600
Ineos Grenadier Labels GRA-0C01-038660 WARNING LABEL - SAFETY VEST QU 2 MO|ZE| HAE 17,100
Ineos Grenadier Labels GRA-0C01-038670 Ladder Load Limit Label 2E 2C 29 2 17,600
Ineos Grenadier Labels GRA-0C01-038680 US Hazard Warning Label ROA SHHE 9 2t 24,100
Ineos Grenadier Labels GRA-0C01-038690 Alarm System Label U A|AE 2 28,900
Ineos Grenadier Labels GRA-0C01-038700 Fan Belt Warning Label HHE 9/ 2t 16,300
Ineos Grenadier Labels GRA-0C01-039650 Qil Dipstick Warning Label 2 GHAE Y apd 16,400
Ineos Grenadier Labels GRA-0C01-040650 VIN Protection Frame Label Pl o2eM Zy Y apd 11,600
Ineos Grenadier Labels GRA-0C01-044010 Tyre Pressure Label EtOJOf Z2j|A 2t 6,400
Ineos Grenadier Labels GRA-0C01-044020 Tyre Pressure Label EtOJOf Z2j|A 2t 1,600
Ineos Grenadier Labels GRA-0C01-044030 Manufacturers Label Of oA 2ty 7,100
Ineos Grenadier Labels GRA-0C01-044040 Manufacturers Label Of oA 2ty 6,400
Ineos Grenadier Labels GRA-0C01-044050 Manufacturers Label Of oA 2ty 1,600
Ineos Grenadier Labels GRA-0C01-044060 Manufacturers Label Of F o2 A 2ty 6,400
Ineos Grenadier Labels GRA-0C01-044070 Manufacturers Label Of oA 2ty 6,400
Ineos Grenadier Labels GRA-0C01-044080 Manufacturers Label Of oA 2ty 7,100
Ineos Grenadier Labels GRA-0C01-044090 Manufacturers Label Of F o2 A 2ty 6,400
Ineos Grenadier Labels GRA-0C01-044100 Manufacturers Label Of oA 2ty 7,100
Ineos Grenadier Labels GRA-0C01-044110 Manufacturers Label Of oA 2ty 6,400
Ineos Grenadier Labels GRA-0C01-044120 Manufacturers Label Of F o2 A 2ty 55,800
Ineos Grenadier Labels GRA-0C01-044160 Fuel Type Label FELY epd 7,100
Ineos Grenadier Labels GRA-0C01-044170 LED Label LED 2j8 7,100
Ineos Grenadier Labels GRA-0C01-044180 Roof Overloading Warning Label FIo uzd 9d epd 6,400
Ineos Grenadier Labels GRA-0C01-044190 Oil R on Label 2 gFHHGHO|M 2 11,200
Ineos Grenadier Labels GRA-0C01-044200 4WD Dynamometer Test Label 4WD CHO|LHRO0|E HAE 2pd 6,400
Ineos Grenadier Labels GRA-0C01-044210 Hot Engine Parts Warning Label R T 11,200
Ineos Grenadier Labels GRA-0C01-044220 Silicon Additive Warning Label A2|2 OfCIE|E 9 2t 1,600
Ineos Grenadier Labels GRA-0C01-044230 Hood Operation Warning Label FE W 0|M 9 2ty 11,200
Ineos Grenadier Labels GRA-0C01-044240 Hood Operation Warning Label FE i 0|M 9 2ty 1,600
Ineos Grenadier Labels GRA-0C01-044250 12V Charging Label 12V Ay et 1,600
Ineos Grenadier Labels GRA-0C01-044260 Trailer Coupling Information Label Egf¥e) AHEY I=Ho[H 2ty 11,200
Ineos Grenadier Labels GRA-0C01-044270 PL-0000000036 1] 2-0000000036 7,100
Ineos Grenadier Labels GRA-0C01-044280 Anti Theft Protection Label OtE| ME T2EN 2 6,400
Ineos Grenadier Labels GRA-0C01-044290 Anti Theft Protection Label OE| ME M 2 7,100
Ineos Grenadier Labels GRA-0C01-044320 Anti Theft Protection Label OtE| ME T2EN 2| 6,400
Ineos Grenadier Labels GRA-0C01-044330 Anti Theft Protection Label OtE| ME T2EN 2| 7,100
Ineos Grenadier Labels GRA-0C01-044340 Shock Absorber Label &3 da 2t 7,100
Ineos Grenadier Labels GRA-0C01-044350 Pre Production Label | Z25M et 6,400
Ineos Grenadier Labels GRA-0C01-044370 Bonnet Stay Label HU AHO| 2t 6,400
Ineos Grenadier Labels GRA-0C01-044380 Vehicle Jack Label H|S| 2 X 2pHl 1,200
Ineos Grenadier Labels GRA-0C01-044390 Passenger Airbag Label ALK Of Of el 2 6,400
Ineos Grenadier Labels GRA-0C01-044410 Side Airbag Warning Label AO| £ 0fjOf 8l @\l 2} 6,400
Ineos Grenadier Labels GRA-0C01-044420 Refrigerant Label 2|Ze|MHE 2j 12,200
Ineos Grenadier Labels GRA-0C01-044430 Fuel Economy Label Fo|RL0| 2t 300
Ineos Grenadier Labels GRA-0C01-044440 Refrigerant Label 2|Ze|MHE 2j 12,200
Ineos Grenadier Labels GRA-0C01-044450 Towing Emergency Rescue Label EQ O|HTA| 2| A7 2HH 17,700




Ineos Grenadier Labels GRA-0C01-045440 Fuel Economy Label Fgo|RL0| 2t 27,500
Ineos Grenadier Labels GRA-0C01-045450 Fuel Economy Label Fgo|RL0| 2t 27,500
Ineos Grenadier Labels GRA-0C01-046460 Battery Disconnection Warning Label HYE{2| C|AFH M Q| ap 15,300
Ineos Grenadier Labels GRA-0C01-046470 Restricted Use Label 2 AEZEIE = 2fd 6,400
Ineos Grenadier Labels GRA-0C01-046480 Battery Shock and Fire Hazard Label HYE{2] 23 M Io|of M E 2t 6,400
Ineos Grenadier Labels GRA-0C01-046490 Battery Short Circuit Label HYE{ 2| 2= M2l b 6,400
Ineos Grenadier Labels GRA-0C01-046820 ICES Label (Canada) OO M| 00| & 2t (FHLICH 15,300
Ineos Grenadier Labels GRA-0C01-049140 Fuel Economy Label Fgo|RL0| 2t 6,400
Ineos Grenadier Labels GRA-0C01-049720 Trailer Coupling Information Label E 2 OIZL0| M 2] 6,400
Ineos Grenadier Labels GRA-0C01-049730 Trailer Coupling Information Label Egfe OIZLO0| M 2] 6,400
Ineos Grenadier Labels GRA-0C01-049740 Trailer Coupling Information Label Egfde OIZL0| M 2 6,400
Ineos Grenadier Labels GRA-0C01-049750 Trailer Coupling Information Label Egfe OIZL0| M 2] 6,400
Ineos Grenadier Labels GRA-0C01-049760 Trailer Coupling Information Label E 2 OIZL0| M 2 6,400
Ineos Grenadier Labels GRA-0C01-050590 Towing Label 2 et 6,400
Ineos Grenadier Tools and Emergency Equipment GRA-0D01-031760 Tool Kit E7|E 687,500
Ineos Grenadier Tools and Emergency Equipment GRA-0D01-031770 Tool Kit Belt F|E ME 45,100
Ineos Grenadier Tools and Emergency Equipment GRA-0D02-010850 Vehicle Jack a2 M 429,100
Ineos Grenadier Tools and Emergency Equipment GRA-0D02-041440 Vehicle Jack and Bracket R 559,400
Ineos Grenadier Tools and Emergency Equipment GRA-0D02-046110 Internal Jack Handle S MHE 21,700
Ineos Grenadier Tools and Emergency Equipment GRA-0D10-005420 Fire Extinguisher 1KG AAEHM 1KG 288,400
Ineos Grenadier Tools and Emergency Equipment GRA-0D11-031750 Equipment HA| O|EHE 195,200
Ineos Grenadier Tools and Emergency Equipment GRA-0D12-031740 Warning Vest HH|AE 52,500
Ineos Grenadier Tools and Emergency Equipment GRA-0D14-031730 Metal Plate =t 20| E 60,600
Ineos Grenadier Tools and Emergency Equipment GRA-0D51-030920 Equipment O|HTA| O|RHE 189,500
Ineos Grenadier Tools and Emergency Equipment GRA-0D52-005420 Fire Extinguisher 1KG AAEHM 1KG 280,000
Ineos Grenadier Special Tools GRA-0F00-017220 Lifting Gear 2|Z g 7|0 2,164,600
Ineos Grenadier Special Tools GRA-0F00-017230 Tester HAE 3,751,700
Ineos Grenadier Special Tools GRA-0F00-017240 Compression Tester 63 HAH 4,009,800
Ineos Grenadier Special Tools GRA-0F00-017250 Pin o 47,800
Ineos Grenadier Special Tools GRA-0F00-017260 Pliers el 232,300
Ineos Grenadier Special Tools GRA-0F00-017270 Adapter HE 84,500
Ineos Grenadier Special Tools GRA-0F00-017280 Rest JAE 682,000
Ineos Grenadier Special Tools GRA-0F00-017290 Socket Wrench Insert AKX AME 87,900
Ineos Grenadier Special Tools GRA-0F00-017300 Bush HAl 521,200
Ineos Grenadier Special Tools GRA-0F00-017310 Sensor Measuring Device MM = K| 808,500
Ineos Grenadier Special Tools GRA-0F00-017320 Stand AHE 819,600
Ineos Grenadier Special Tools GRA-0F00-017330 Plate Z0|E 127,500
Ineos Grenadier Special Tools GRA-0F00-017360 Socket Wrench Insert 220 X ANME 153,800
Ineos Grenadier Special Tools GRA-0F00-017370 Holder ElE 382,500
Ineos Grenadier Special Tools GRA-0F00-017380 Socket Wrench 2 x| 82,100
Ineos Grenadier Special Tools GRA-0F00-017390 Socket g 162,900
Ineos Grenadier Special Tools GRA-0F00-017400 Adapter Of 4 E{ 147,400
Ineos Grenadier Special Tools GRA-0F00-017410 Gauge AHO|X]| 411,100
Ineos Grenadier Special Tools GRA-0F00-017420 Plate Z20|E 112,600
Ineos Grenadier Special Tools GRA-0F00-017430 Fixture AN 329,100
Ineos Grenadier Special Tools GRA-0F00-017440 Fixture EAK] 624,600
Ineos Grenadier Special Tools GRA-0F00-017450 Socket g 54,300
Ineos Grenadier Special Tools GRA-0F00-017460 Fixture EAK] 4,719,100
Ineos Grenadier Special Tools GRA-0F00-017470 Extension Piece HIM oA 162,400
Ineos Grenadier Special Tools GRA-0F00-017480 Tool E 276,100
Ineos Grenadier Special Tools GRA-0F00-017490 Holder =4 140,900
Ineos Grenadier Special Tools GRA-0F00-017500 Socket g 96,600
Ineos Grenadier Special Tools GRA-0F00-017510 Fitting Aid o) g 0jjo| = 41,000
Ineos Grenadier Special Tools GRA-0F00-017530 Fastener AL 362,200
Ineos Grenadier Special Tools GRA-0F00-017550 Sliding Hammer ol g 80 164,600
Ineos Grenadier Special Tools GRA-0F00-017560 Socket Wrench Insert HX AME 136,000
Ineos Grenadier Special Tools GRA-0F00-017570 Engine Support T MZE 832,900
Ineos Grenadier Special Tools GRA-0F00-017580 Engine Support T MZE 832,900
Ineos Grenadier Special Tools GRA-0F00-017590 Support MEE 1,735,400
Ineos Grenadier Special Tools GRA-0F00-017600 Filler Device & K| 648,600
Ineos Grenadier Special Tools GRA-0F00-017620 Pin Wrench RN 97,900
Ineos Grenadier Special Tools GRA-0F00-017630 Measuring Adapter 7 Of HE 212,000
Ineos Grenadier Special Tools GRA-0F00-017640 Vacuum Adapter S Of HE 391,800
Ineos Grenadier Special Tools GRA-0F00-017650 Fixture EAK 524,300
Ineos Grenadier Special Tools GRA-0F00-017660 Installation Drift QIAERO|M ERB|ZE 146,400
Ineos Grenadier Special Tools GRA-0F00-017670 Fitting Aid o) g ojjo| = 289,200
Ineos Grenadier Special Tools GRA-0F00-017680 Locating Fixture 20|18 AKX 1,172,100
Ineos Grenadier Special Tools GRA-0F00-017700 Tensioning Tool HA Y 132,300
Ineos Grenadier Special Tools GRA-0F00-017710 Fastener AL 81,600
Ineos Grenadier Special Tools GRA-0F00-017720 Holder =4 57,400
Ineos Grenadier Special Tools GRA-0F00-017730 Adapter Of 4 E{ 57,700
Ineos Grenadier Special Tools GRA-0F00-017740 Insertion Tool OIMM E 212,800
Ineos Grenadier Special Tools GRA-0F00-017750 Socket Wrench 220 K| 196,400
Ineos Grenadier Special Tools GRA-0F00-017760 Fixture EAK] 455,400
Ineos Grenadier Special Tools GRA-0F00-017770 Fitting Aid o) g 0jjo| = 59,400
Ineos Grenadier Special Tools GRA-0F00-017780 Adapter Of 4 E{ 153,700
Ineos Grenadier Special Tools GRA-0F00-017790 Set Of Tools EME 241,500
Ineos Grenadier Special Tools GRA-0F00-017800 Gauge AHO|X]| 887,100
Ineos Grenadier Special Tools GRA-0F00-017810 Ratchet Handle 2f3 s 217,400
Ineos Grenadier Special Tools GRA-0F00-017820 Alignment Pin detolHEe o 121,900
Ineos Grenadier Special Tools GRA-0F00-017830 Puller =7 94,600
Ineos Grenadier Special Tools GRA-0F00-017840 Adapter Lead HE 2|E 1,570,200
Ineos Grenadier Special Tools GRA-0F00-017850 Adapter Lead HE 2|E 1,670,500
Ineos Grenadier Special Tools GRA-0F00-017860 Adapter Lead HE 2|E 1,777,200
Ineos Grenadier Special Tools GRA-0F00-017870 Adapter Lead HE 2|E 437,900
Ineos Grenadier Special Tools GRA-0F00-017880 Gauge A O X| 921,700
Ineos Grenadier Special Tools GRA-0F00-017890 Fixture AN 2,381,100
Ineos Grenadier Special Tools GRA-0F00-017900 Fixture AN 933,100
Ineos Grenadier Special Tools GRA-0F00-017910 Lever 2t 174,500
Ineos Grenadier Special Tools GRA-0F00-017920 Adapter Of 4 E{ 133,200
Ineos Grenadier Special Tools GRA-0F00-017930 Plug £33 225,200
Ineos Grenadier Special Tools GRA-0F00-017940 Adapter Lead OfHE 2|E 378,100
Ineos Grenadier Special Tools GRA-0F00-017950 Adapter Lead OfHE 2|E 708,200
Ineos Grenadier Special Tools GRA-0F00-017960 Gaiter A|O| € 1,009,600
Ineos Grenadier Special Tools GRA-0F00-017970 Fastener of AL 496,700
Ineos Grenadier Special Tools GRA-0F00-017980 Adapter HE 90,700
Ineos Grenadier Special Tools GRA-0F00-017990 Gauge A0 X| 214,400
Ineos Grenadier Special Tools GRA-0F00-018020 Pliers el 626,000
Ineos Grenadier Special Tools GRA-0F00-018030 Locating Fixture 20|18 AKX 154,800
Ineos Grenadier Special Tools GRA-0F00-018040 Extractor OJAEBE 321,200
Ineos Grenadier Special Tools GRA-0F00-018050 Socket g 94,900
Ineos Grenadier Special Tools GRA-0F00-018060 Holder =4 416,100
Ineos Grenadier Special Tools GRA-0F00-018070 Locating Fixture 20|18 AKX 90,100
Ineos Grenadier Special Tools GRA-0F00-018080 Cap 4 155,400
Ineos Grenadier Special Tools GRA-0F00-018090 Removal and Installation Tool £ 5% HX E 106,200
Ineos Grenadier Special Tools GRA-0F00-018100 Adapter Of 4 E{ 216,500
Ineos Grenadier Special Tools GRA-0F00-018110 Lifting Table 2| Z g H o= 177,900




Ineos Grenadier Special Tools GRA-0F00-018120 Tube £5 69,900
Ineos Grenadier Special Tools GRA-0F00-018130 Pliers EET 1,764,500
Ineos Grenadier Special Tools GRA-0F00-018140 Socket Wrench Insert 23 K| QINE 171,300
Ineos Grenadier Special Tools GRA-0F00-018150 Adapter EEE 126,100
Ineos Grenadier Special Tools GRA-0F00-029590 Pin (110390) = (110390) 38,800
Ineos Grenadier Special Tools GRA-0F00-029600 Socket wrench insert (116050) o3 A% 9T E (116050) 88,400
Ineos Grenadier Special Tools GRA-0F00-029610 Connection piece (2468560) {4l T~ (2468560) 131,200
Ineos Grenadier Special Tools GRA-0F00-029620 Socket wrench insert (117020) o3 fK] oI E (117020) 102,700
Ineos Grenadier Special Tools GRA-0F00-029630 Socket wrench insert (117030) o3 fK] oI E (117030) 156,800
Ineos Grenadier Special Tools GRA-0F00-029640 Socket (118850) 270 (118850) 51,100
Ineos Grenadier Special Tools GRA-0F00-029650 Socket (121220) 27 (121220) 82,600
Ineos Grenadier Special Tools GRA-0F00-029660 Fitting aid (121230) 1| & 00| = (121230) 60,300
Ineos Grenadier Special Tools GRA-0F00-029670 Injector Well Cleaning Kit (135210) OIME @ 2eld 71E (135210) 314,100
Ineos Grenadier Special Tools GRA-0F00-029680 Holding sleeve (135211) =4 22l= (135211) 62,000
Ineos Grenadier Special Tools GRA-0F00-029690 Holder (135212) =0 (135212) 69,800
Ineos Grenadier Special Tools GRA-0F00-029700 Brush head (135213) H2{A §E (135213) 61,800
Ineos Grenadier Special Tools GRA-0F00-029710 Rod (135214) ZE (135214) 61,000
Ineos Grenadier Special Tools GRA-0F00-029720 Plug (135215) Z2{1 (135215) 56,900
Ineos Grenadier Special Tools GRA-0F00-029730 Sliding Hammer (135250) Z2tC|0] &0 (135250) 169,000
Ineos Grenadier Special Tools GRA-0F00-029740 Rod (135251) ZE (135251) 81,900
Ineos Grenadier Special Tools GRA-0F00-029750 Bush (135252) S 4 (135252) 26,700
Ineos Grenadier Special Tools GRA-0F00-029760 Weight (135253) 20| £ (135253) 89,200
Ineos Grenadier Special Tools GRA-0F00-029770 Socket wrench insert (135320) o3l fK] oI E (135320) 135,700
Ineos Grenadier Special Tools GRA-0F00-029780 Gauge AO[X| 54,900
Ineos Grenadier Special Tools GRA-0F00-029790 Fitting aid FEEENE 247,200
Ineos Grenadier Special Tools GRA-0F00-029800 Pliers EEQNE] 342,500
Ineos Grenadier Special Tools GRA-0F00-029810 Fixture EESS] 2,035,800
Ineos Grenadier Special Tools GRA-0F00-029820 Socket P 81,100
Ineos Grenadier Special Tools GRA-0F00-029830 Removal and installation tool EEEEETEE 90,800
Ineos Grenadier Special Tools GRA-0F00-031240 Water Separator Wrench EEREEREEEREE 55,600
Ineos Grenadier Documentation GRA-0G02-041660 Fuse Card S 10,700
Ineos Grenadier Documentation GRA-0G02-041670 Fuse Card = 10,700
Ineos Grenadier Documentation GRA-0G02-044550 Fuse Card = 11,000
Ineos Grenadier Engine and Motor GRA-1000-002760 Screw M8x30 A 32 M8x30 5,100
Ineos Grenadier Engine and Motor GRA-1000-002820 Oil Level Sensor EEERE 657,500
Ineos Grenadier Engine and Motor GRA-1000-004950 Reluctor EEE] 75,700
Ineos Grenadier Engine and Motor GRA-1000-007901 LH Engine Mount Frame LH Il o2 E =gl 391,700
Ineos Grenadier Engine and Motor GRA-1000-007912 RH Engine Mount Frame RHAIZI OH2E =3l 391,700
Ineos Grenadier Engine and Motor GRA-1000-011530 Oil Pressure Sensor EEERE 86,400
Ineos Grenadier Engine and Motor GRA-1000-011550 Solenoid Valve B 276,100
Ineos Grenadier Engine and Motor GRA-1000-011820 Camshaft Position Sensor 286,400
Ineos Grenadier Engine and Motor GRA-1000-012010 Bearing Shell (Blue) 62,100
Ineos Grenadier Engine and Motor GRA-1000-012020 Bearing Shell (Green) 62,100
Ineos Grenadier Engine and Motor GRA-1000-012030 Bearing Shell (Brown) 62,100
Ineos Grenadier Engine and Motor GRA-1000-012220 Flexplate 1,217,000
Ineos Grenadier Engine and Motor GRA-1000-012440 Hydraulic Tappet 54,100
Ineos Grenadier Engine and Motor GRA-1000-012450 Rocker Arm 66,700
Ineos Grenadier Engine and Motor GRA-1000-012480 Valve Stem Seal 186,200
Ineos Grenadier Engine and Motor GRA-1000-012490 Valve Spring 24,100
Ineos Grenadier Engine and Motor GRA-1000-012500 Valve Spring Plate 21,400
Ineos Grenadier Engine and Motor GRA-1000-012510 Valve Stem Collet 2,300
Ineos Grenadier Engine and Motor GRA-1000-012600 Qil Filter 58,800
Ineos Grenadier Engine and Motor GRA-1000-012610 Qil Filter Cap 93,300
Ineos Grenadier Engine and Motor GRA-1000-012940 Starter Motor Acoustic Plug E] 13,300
Ineos Grenadier Engine and Motor GRA-1000-015190 Actuator EENEE 93,500
Ineos Grenadier Engine and Motor GRA-1000-015200 Ignition Coil and Fuel Label EET e 26,600
Ineos Grenadier Engine and Motor GRA-1000-015810 Valve Spring Plate ST 21,400
Ineos Grenadier Engine and Motor GRA-1000-015820 Valve Spring FEES 40,800
Ineos Grenadier Engine and Motor GRA-1000-015830 Valve Stem Seal FEES 100,300
Ineos Grenadier Engine and Motor GRA-1000-015840 Inlet Valve P 70,300
Ineos Grenadier Engine and Motor GRA-1000-015870 Valve Collet e 4,400
Ineos Grenadier Engine and Motor GRA-1000-015880 Valve Spring Plate e Ama E 16,800
Ineos Grenadier Engine and Motor GRA-1000-015890 Valve Spring We AT 40,600
Ineos Grenadier Engine and Motor GRA-1000-015900 Valve Stem Seal FEES 121,800
Ineos Grenadier Engine and Motor GRA-1000-015910 Exhaust Valve B 7| 93,700
Ineos Grenadier Engine and Motor GRA-1000-015920 Cam Follower A= 106,300
Ineos Grenadier Engine and Motor GRA-1000-020640 Engine Mount Plate A OrRE 45,100
Ineos Grenadier Engine and Motor GRA-1000-022940 Oil Filler Cap B 22,800
Ineos Grenadier Engine and Motor GRA-1000-050730 Oil Level Sensor EXE] 657,500
Ineos Grenadier Engine and Motor GRA-1A01-014920 Short Motor 4£E DF 31,127,500
Ineos Grenadier Engine and Motor GRA-1A02-015220 Ventilation Pipe EXE 124,200
Ineos Grenadier Engine and Motor GRA-1A02-015230 Ventilation Pipe EXE 71,700
Ineos Grenadier Engine and Motor GRA-1A03-020631 LH Engine Mount Bracket LH 7 of 388,800
Ineos Grenadier Engine and Motor GRA-1A03-020652 RH Engine Mount Bracket RH 27l O 346,600
Ineos Grenadier Engine and Motor GRA-1A03-022752 RH Engine Mount Heat Shield H Q17 Op2 64,300
Ineos Grenadier Engine and Motor GRA-1A04-016430 Engine Rear Acoustic Panel oIzl 2[0f of 45,100
Ineos Grenadier Engine and Motor GRA-1A06-006040 Engine Cover Damping Rubber T 59,900
Ineos Grenadier Engine and Motor GRA-1A06-010930 Engine Cover ozl 261,400
Ineos Grenadier Engine and Motor GRA-1A07-016440 Ignition Coil o2& 161,000
Ineos Grenadier Engine and Motor GRA-1A07-016450 Spark Plug ENEEDE] 68,600
Ineos Grenadier Engine and Motor GRA-1A08-015250 Crankshaft Pulley ECENECET 1,389,400
Ineos Grenadier Engine and Motor GRA-1A08-016910 Belt Tensioner EEERE 281,300
Ineos Grenadier Engine and Motor GRA-1A08-016920 Drive Belt cafojs HE 74,800
Ineos Grenadier Engine and Motor GRA-1A09-016930 Alternator EEERE] 3,080,300
Ineos Grenadier Engine and Motor GRA-1A10-012940 Starter Motor Acoustic Plug NEECEEEEEEEE 13,700
Ineos Grenadier Engine and Motor GRA-1A10-012950 Cap Flange Nut M8 HEUX HE M8 4,600
Ineos Grenadier Engine and Motor GRA-1A10-016940 Starter Motor ENEEEE] 1,430,000
Ineos Grenadier Engine and Motor GRA-1A10-020850 Starter Motor AEFE| 2| 1,472,900
Ineos Grenadier Engine and Motor GRA-1A21-015140 Cylinder Head Cover FEEEEET] 930,600
Ineos Grenadier Engine and Motor GRA-1A21-015150 Cylinder Head Cover Gasket FEEEEEEEES 117,900
Ineos Grenadier Engine and Motor GRA-1A21-015210 Damper R 4,400
Ineos Grenadier Engine and Motor GRA-1A21-022940 Oil Filler Cap EFEE 21,800
Ineos Grenadier Engine and Motor GRA-1A22-015030 Cylinder Head FEERE 12,098,800
Ineos Grenadier Engine and Motor GRA-1A22-015040 Cyylinder Head Gasket FEEEEEES] 359,900
Ineos Grenadier Engine and Motor GRA-1A22-015050 Cylinder Head Gasket FEEEEEES] 485,800
Ineos Grenadier Engine and Motor GRA-1A22-015080 Air-discharge Fitting EEEEE 31,000
Ineos Grenadier Engine and Motor GRA-1A22-015090 Engine Lift Bracket o7l 2[ZE Sl 18,200
Ineos Grenadier Engine and Motor GRA-1A22-022950 Temperature Sensor 25 MA 97,800
Ineos Grenadier Engine and Motor GRA-1A22-022960 VVT Actuator Motor MR REEE] 838,800
Ineos Grenadier Engine and Motor GRA-1A41-014940 Shaft Seal AmE A 75,200
Ineos Grenadier Engine and Motor GRA-1A41-014980 Timing Case Cover ENEEREEE 517,900
Ineos Grenadier Engine and Motor GRA-1A41-016690 Crankshaft Sensor SYIKEE HA 214,800
Ineos Grenadier Engine and Motor GRA-1A42-015510 Timing chain EREER 261,000
Ineos Grenadier Engine and Motor GRA-1A42-015520 Guide Rail EEE 76,700
Ineos Grenadier Engine and Motor GRA-1A42-015530 Chain Tensioner FREEEE] 63,900
Ineos Grenadier Engine and Motor GRA-1A42-015540 Slide Rail EENEEE 69,800
Ineos Grenadier Engine and Motor GRA-1A42-015550 Inlet Camshaft Adjuster S7| BANEE OfEXAH 1,037,500




Ineos Grenadier Engine and Motor GRA-1A42-015560 Exhaust Camshaft Adjuster Hi 7| AAFZE {EXAH 1,037,500
Ineos Grenadier Engine and Motor GRA-1A42-015570 Central Valve MEH e 247,600
Ineos Grenadier Engine and Motor GRA-1A42-015580 Chain Tensioner H ol HAq L 134,800
Ineos Grenadier Engine and Motor GRA-1A42-015590 Sealing Sleeve FERFCES 14,200
Ineos Grenadier Engine and Motor GRA-1A45-015600 Actuator Shaft HZROf|O|Ef AFZE 1,760,500
Ineos Grenadier Engine and Motor GRA-1A45-015610 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015620 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015630 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015640 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015650 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015660 Intermediate Lever OIE{0|C|0j|0| E 2|1 113,300
Ineos Grenadier Engine and Motor GRA-1A45-015670 Torsion Spring EMazmd 22,600
Ineos Grenadier Engine and Motor GRA-1A45-015680 Support MEE 14,900
Ineos Grenadier Engine and Motor GRA-1A46-015730 Inlet Camshaft EHERNES 1,906,500
Ineos Grenadier Engine and Motor GRA-1A46-015740 Reluctor 212{g 95,000
Ineos Grenadier Engine and Motor GRA-1A46-015760 Rocker Arm 27 ¢ 66,800
Ineos Grenadier Engine and Motor GRA-1A46-015770 Rocker Arm 27 ¢ 66,700
Ineos Grenadier Engine and Motor GRA-1A46-015780 Rocker Arm 27 ¢ 68,100
Ineos Grenadier Engine and Motor GRA-1A46-015790 Rocker Arm 27 ¢ 68,700
Ineos Grenadier Engine and Motor GRA-1A46-015800 Rocker Arm 27 ¢ 68,700
Ineos Grenadier Engine and Motor GRA-1A47-015850 Exhaust Camshaft Hi7| HAFZE 1,851,000
Ineos Grenadier Engine and Motor GRA-1A47-015860 Rocker Arm 271 g 66,700
Ineos Grenadier Engine and Motor GRA-1A61-008260 Vibration Damper Pulley s 9y E2 1,103,700
Ineos Grenadier Engine and Motor GRA-1A62-012220 Flexplate EAZYO|E 1,169,800
Ineos Grenadier Engine and Motor GRA-1A64-015280 Crankshaft JYIANDE 4,034,100
Ineos Grenadier Engine and Motor GRA-1A64-015320 Guide Bearing Shell (Blue) (=3 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015330 Guide Bearing Shell (Green) g aa) 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015340 Guide Bearing Shell (Brown) Hatg) 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015350 Guide Bearing Shell (Blue) (=3 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015360 Guide Bearing Shell (Green) g aa) 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015370 Guide Bearing Shell (Brown) Hatg) 82,700
Ineos Grenadier Engine and Motor GRA-1A64-015380 Bearing Shell (Blue) 2) 62,100
Ineos Grenadier Engine and Motor GRA-1A64-015390 Bearing Shell (Green) 2) 62,100
Ineos Grenadier Engine and Motor GRA-1A64-015400 Bearing Shell (Yellow) Hjof g A2 62,100
Ineos Grenadier Engine and Motor GRA-1A64-015410 Bearing Shell (Red) Hjojg & @3 L5) 62,100
Ineos Grenadier Engine and Motor GRA-1A65-015430 Piston AE 576,600
Ineos Grenadier Engine and Motor GRA-1A65-015450 Piston Ring Set IAE Y ME 196,300
Ineos Grenadier Engine and Motor GRA-1A65-015460 Connector Rod FHYE 2E 1,810,400
Ineos Grenadier Engine and Motor GRA-1A65-015480 UPR Bearing Shell UPR Hj 65,600
Ineos Grenadier Engine and Motor GRA-1A65-015490 LWR Bearing Shell LWR Hi 65,600
Ineos Grenadier Engine and Motor GRA-1A65-049080 UPR Bearing Shell UPR Hj 98,500
Ineos Grenadier Engine and Motor GRA-1A81-002840 Temperature Sensor 25 4 89,000
Ineos Grenadier Engine and Motor GRA-1A81-005640 Qil Pressure Sensor 2 e 93,700
Ineos Grenadier Engine and Motor GRA-1A81-014930 FRT Crankshaft Seal FRT AYIAZE 4 75,200
Ineos Grenadier Engine and Motor GRA-1A81-014950 Ping Sensor Rl 89,000
Ineos Grenadier Engine and Motor GRA-1A81-014960 Oil Deflector Plate 29 C|E3E Z20|E 180,900
Ineos Grenadier Engine and Motor GRA-1A81-014970 Oil Spraying Nozzle 2L AZA LF 62,200
Ineos Grenadier Engine and Motor GRA-1A82-015930 Oil Pump 2 Ha 949,100
Ineos Grenadier Engine and Motor GRA-1A82-015940 Suction Pipe MM mo|zT 111,700
Ineos Grenadier Engine and Motor GRA-1A82-015950 Oil Pump Sprocket QY FIT AT 48,000
Ineos Grenadier Engine and Motor GRA-1A82-015960 Oil Pump Chain g gz el 145,000
Ineos Grenadier Engine and Motor GRA-1A83-015970 Qil Filter 22 Zg 604,600
Ineos Grenadier Engine and Motor GRA-1A83-015980 Oil Heat Exchanger 29 & mgy| 390,500
Ineos Grenadier Engine and Motor GRA-1A83-015990 Gasket Set A NE 85,100
Ineos Grenadier Engine and Motor GRA-1A83-016000 Gasket Set A NE 85,100
Ineos Grenadier Engine and Motor GRA-1A84-015020 Oil Sump Pan g 1,276,300
Ineos Grenadier Heating and Cooling GRA-2000-005690 Expansion Tank Bracket g3 2813 139,400
Ineos Grenadier Heating and Cooling GRA-2000-006422 Side Cooler Air Duct AOIE 23] 0ol HE 228,600
Ineos Grenadier Heating and Cooling GRA-2000-006442 Side Cooler Air Duct AOIE 23] 0ol HE 180,000
Ineos Grenadier Heating and Cooling GRA-2000-006460 Expansion Tank Bracket 2 g3 2813 73,200
Ineos Grenadier Heating and Cooling GRA-2000-006570 Heat Shield Bracket S|E AL 2t 61,200
Ineos Grenadier Heating and Cooling GRA-2000-006970 Blanking Cap ] 30,600
Ineos Grenadier Heating and Cooling GRA-2000-007740 Pressure Sensor o3 MM 223,100
Ineos Grenadier Heating and Cooling GRA-2000-008342 RH UPR Radiator Bracket RH UPR 2tC|0j[0|E{ =2tz 73,400
Ineos Grenadier Heating and Cooling GRA-2000-009460 Rubber Mount 2 O E 92,800
Ineos Grenadier Heating and Cooling GRA-2000-009470 Rubber Mount 2t OFRE 95,000
Ineos Grenadier Heating and Cooling GRA-2000-009480 High Temperature Radiator 1.2 2tC|0f o] E 3,139,700
Ineos Grenadier Heating and Cooling GRA-2000-009550 Bracket a3 30,400
Ineos Grenadier Heating and Cooling GRA-2000-009560 Rubber Mount 2t O E 48,200
Ineos Grenadier Heating and Cooling GRA-2000-009570 Side Cooler AO|E 21 1,222,900
Ineos Grenadier Heating and Cooling GRA-2000-010860 High Temperature Expansion Tank 02 Y3 351,300
Ineos Grenadier Heating and Cooling GRA-2000-010870 Expansion Tank Cap gy g3y 41,300
Ineos Grenadier Heating and Cooling GRA-2000-010880 Low Temperature Expansion Tank N2 ey g3 220,000
Ineos Grenadier Heating and Cooling GRA-2000-010890 Expansion Tank Cap gy g3y 41,300
Ineos Grenadier Heating and Cooling GRA-2000-012932 RH Side Cooler Bracket Strut RHARO|E E22f B3l AER 64,300
Ineos Grenadier Heating and Cooling GRA-2000-013001 LH UPR Radiator Bracket LH UPR 2+C|0j|0|Ef =2}zl 55,000
Ineos Grenadier Heating and Cooling GRA-2000-013110 Side Cooler Rubber Mount ALO|E 28] 21 OIRE 41,300
Ineos Grenadier Heating and Cooling GRA-2000-013141 LH Skid Plate Support Bracket LH A7|E SY0|E MZE SatH 442,800
Ineos Grenadier Heating and Cooling GRA-2000-013152 RH Skid Plate Support Bracket RHA7|E Z20|E MEE =223l 442,800
Ineos Grenadier Heating and Cooling GRA-2000-013190 Coolant Hose H2s s A 254,200
Ineos Grenadier Heating and Cooling GRA-2000-015300 Radiator Fan Shroud 2IC|0j0|E ™ 2R E 2,696,100
Ineos Grenadier Heating and Cooling GRA-2000-018210 Coolant Hose H2s s A 292,700
Ineos Grenadier Heating and Cooling GRA-2000-020790 Blanking Cap =3z 11,100
Ineos Grenadier Heating and Cooling GRA-2000-020800 Blanking Cap =4z 12,200
Ineos Grenadier Heating and Cooling GRA-2000-030332 RH UPR Side Cooler Bracket RHUPRAO|E 28 23l 138,300
Ineos Grenadier Heating and Cooling GRA-2000-030342 RH LWR Side Cooler Bracket RHLWR ALO|E 28] 22}3l 217,500
Ineos Grenadier Heating and Cooling GRA-2000-031310 High Temperature Radiator 1.2 2tC|0f o] E 3,233,800
Ineos Grenadier Heating and Cooling GRA-2000-031900 LH UPR Radiator Bracket LH UPR 2+C|0jjo|Ef =2}zl 111,100
Ineos Grenadier Heating and Cooling GRA-2000-035580 Coolant 1.5L Wi Zh 151 37,000
Ineos Grenadier Heating and Cooling GRA-2000-035880 Auxiliary Coolant Pump HE Y4 HD 418,000
Ineos Grenadier Heating and Cooling GRA-2000-048300 High Temperature Radiator 1.2 2tC|0f o] E 3,233,800
Ineos Grenadier Heating and Cooling GRA-2000-048850 Coolant Hose H2s s A 212,200
Ineos Grenadier Heating and Cooling GRA-2A01-006350 LWR Radiator Air Deflector LWR 2+C|0f|0|E{ 0j|of T 242,200
Ineos Grenadier Heating and Cooling GRA-2A01-006370 UPR Radiator Air Deflector UPR 2}C|0f| 0| Ef 0fj0f L 195,000
Ineos Grenadier Heating and Cooling GRA-2A01-006391 LH Radiator Air Deflector LH 2tC|of|o[E] ofjof . 139,400
Ineos Grenadier Heating and Cooling GRA-2A01-006412 RH Radiator Air Deflector RH 2tC|0f|0]E{ 0of T 132,500
Ineos Grenadier Heating and Cooling GRA-2A01-008580 LWR Radiator Air Deflector LWR 2tc|oj|o|Ef ojjof C|E 264,100
Ineos Grenadier Heating and Cooling GRA-2A02-007320 Petrol Coolant Package Jt&el Wzba 1) 7| X| 6,178,900
Ineos Grenadier Heating and Cooling GRA-2A02-008342 RH UPR Radiator Bracket RH UPR 2tC|0j[0|E{ a3 75,600
Ineos Grenadier Heating and Cooling GRA-2A02-009500 Low Temperature Radiator X2 2tC|0f o] Ef 2,771,100
Ineos Grenadier Heating and Cooling GRA-2A02-048490 Low Temperature Radiator X2 2tC|0f o] Ef 2,771,100
Ineos Grenadier Heating and Cooling GRA-2A02-050790 Foam Sealing Strip E MY AEY 34,900
Ineos Grenadier Heating and Cooling GRA-2A02-050800 Foam Sealing Strip E 34,900
Ineos Grenadier Heating and Cooling GRA-2A03-013012 RH Side Cooler Bracket RH AO|E 28 Zat3l 45,600
Ineos Grenadier Heating and Cooling GRA-2A03-013180 Side Cooler Fan AojlE EZ H 1,107,100
Ineos Grenadier Heating and Cooling GRA-2A11-006510 Expansion Tank Heat Shield YA 5 E ME 125,400
Ineos Grenadier Heating and Cooling GRA-2A11-013030 Expansion Tank Bracket R EREED 64,800




Ineos Grenadier Heating and Cooling GRA-2A11-013050 Expansion Tank Bracket EREEEEE 24,900
Ineos Grenadier Heating and Cooling GRA-2A11-033480 Expansion Tank Bracket EREEEEE 115,400
Ineos Grenadier Heating and Cooling GRA-2A11-033490 Expansion Tank Bracket EREEEEE 75,900
Ineos Grenadier Heating and Cooling GRA-2A12-009220 Coolant Hose FEEEN 177,600
Ineos Grenadier Heating and Cooling GRA-2A12-009600 Coolant Hose FEEEN 355,600
Ineos Grenadier Heating and Cooling GRA-2A12-009620 Coolant Hose FEEEN 320,800
Ineos Grenadier Heating and Cooling GRA-2A12-009680 Coolant Hose FEEEN 129,600
Ineos Grenadier Heating and Cooling GRA-2A12-009690 Coolant Hose FEEEN 409,100
Ineos Grenadier Heating and Cooling GRA-2A12-009710 Coolant Hose FEEEN 114,200
Ineos Grenadier Heating and Cooling GRA-2A12-009730 Degassing Hose CIHA 2~ 348,900
Ineos Grenadier Heating and Cooling GRA-2A12-009760 Coolant Hose FEEEN 115,600
Ineos Grenadier Heating and Cooling GRA-2A12-009780 Coolant Hose FEEEN 440,100
Ineos Grenadier Heating and Cooling GRA-2A12-009800 Coolant Hose FEEEN 346,100
Ineos Grenadier Heating and Cooling GRA-2A12-010100 Coolant Hose FEEEN 323,300
Ineos Grenadier Heating and Cooling GRA-2A12-011190 Coolant Hose FEEEN 359,100
Ineos Grenadier Heating and Cooling GRA-2A12-017110 Degassing Hose CIHA 2~ 120,000
Ineos Grenadier Heating and Cooling GRA-2A12-017120 Degassing Hose CIiA 2~ 257,100
Ineos Grenadier Heating and Cooling GRA-2A12-026120 Coolant Hose RS 674,700
Ineos Grenadier Heating and Cooling GRA-2A12-026130 Bracket EEE] 36,100
Ineos Grenadier Heating and Cooling GRA-2A12-026190 Coolant Hose RS 391,300
Ineos Grenadier Heating and Cooling GRA-2A12-034820 Coolant Hose RS 344,200
Ineos Grenadier Heating and Cooling GRA-2A12-036470 Degassing Hose CIHA 2~ 264,800
Ineos Grenadier Heating and Cooling GRA-2A12-047740 Coolant Hose FEEEN 355,600
Ineos Grenadier Heating and Cooling GRA-2A12-047760 Coolant Hose FEEEN 440,100
Ineos Grenadier Heating and Cooling GRA-2A12-048710 Coolant Hose FEEEN 320,800
Ineos Grenadier Heating and Cooling GRA-2A12-048730 Coolant Hose FEEEN 409,100
Ineos Grenadier Heating and Cooling GRA-2A12-048760 Coolant Hose FEEEN 440,100
Ineos Grenadier Heating and Cooling GRA-2A12-048770 Coolant Hose FEEEN 177,600
Ineos Grenadier Heating and Cooling GRA-2A12-048780 Coolant Hose FEEEN 674,700
Ineos Grenadier Heating and Cooling GRA-2A12-048790 Degassing Hose CIHA 2~ 120,000
Ineos Grenadier Heating and Cooling GRA-2A12-048840 Coolant Hose FEEEN 344,200
Ineos Grenadier Heating and Cooling GRA-2A12-048860 Charge Air Hose Moo s2 710,400
Ineos Grenadier Heating and Cooling GRA-2A12-048940 Coolant Hose FEEEN 385,900
Ineos Grenadier Heating and Cooling GRA-2A12-048960 Coolant Hose FEEEN 406,900
Ineos Grenadier Heating and Cooling GRA-2A12-048970 Coolant Hose FEEEN 368,700
Ineos Grenadier Heating and Cooling GRA-2A12-048990 Coolant Hose RS 234,200
Ineos Grenadier Heating and Cooling GRA-2A12-049010 Coolant Hose RS 359,100
Ineos Grenadier Heating and Cooling GRA-2A13-013210 Auxiliary Coolant Pump EE T 159,700
Ineos Grenadier Heating and Cooling GRA-2A13-013220 Auxiliary Coolant Pump Clamp HX dZt4 HE SYE 11,400
Ineos Grenadier Heating and Cooling GRA-2A13-013230 Crankcase Bracket ECEUENEEE 97,700
Ineos Grenadier Heating and Cooling GRA-2A13-013260 Bracket EEE] 94,800
Ineos Grenadier Heating and Cooling GRA-2A13-013270 Bracket EEE] 11,900
Ineos Grenadier Heating and Cooling GRA-2A13-013280 Auxiliary Coolant Pump EE T 603,000
Ineos Grenadier Heating and Cooling GRA-2A21-016060 Thermal Management Module EERES 604,200
Ineos Grenadier Heating and Cooling GRA-2A21-016070 Seal o 19,400
Ineos Grenadier Heating and Cooling GRA-2A21-016080 Seal 19,400
Ineos Grenadier Heating and Cooling GRA-2A22-013300 Water Pump 611,700
Ineos Grenadier Heating and Cooling GRA-2A22-016100 Coolant Pump 407,800
Ineos Grenadier Heating and Cooling GRA-2A22-016110 Gasket 64,400
Ineos Grenadier Heating and Cooling GRA-2A22-016120 Gasket 51,500
Ineos Grenadier Heating and Cooling GRA-2A22-016130 Connector Pipe 44,500
Ineos Grenadier Heating and Cooling GRA-2A22-016150 Coolant Pump Pipe 156,600
Ineos Grenadier Heating and Cooling GRA-2A22-016160 Gasket 19,400
Ineos Grenadier Heating and Cooling GRA-2A22-049110 Coolant Pump 482,700
Ineos Grenadier Heating and Cooling GRA-2A23-016020 Turbocharger Coolant Line 156,600
Ineos Grenadier Heating and Cooling GRA-2A23-016030 Turbocharger Coolant Line 203,000
Ineos Grenadier Heating and Cooling GRA-2D01-009490 Gearbox Oil Cooler 2,379,500
Ineos Grenadier Heating and Cooling GRA-2D01-009650 Gearbox Oil Cooler Pipe 511,900
Ineos Grenadier Heating and Cooling GRA-2D01-009670 Gearbox Oil Cooler Pipe 650,700
Ineos Grenadier Heating and Cooling GRA-2D01-009820 Gear Oil Thermostat 365,900
Ineos Grenadier Heating and Cooling GRA-2D01-010720 Gear Oil Thermostat 351,600
Ineos Grenadier Heating and Cooling GRA-2D01-013080 Gearbox Oil Cooler Bracket 104,400
Ineos Grenadier Heating and Cooling GRA-2D01-013090 Gearbox Oil Cooler Bracket 80,400
Ineos Grenadier Heating and Cooling GRA-2D01-013100 Gearbox Oil Cooler Pipe 454,300
Ineos Grenadier Heating and Cooling GRA-2D01-026180 Gearbox Oil Cooler 765,800
Ineos Grenadier Heating and Cooling GRA-2D01-030800 Bracket 36,400
Ineos Grenadier Heating and Cooling GRA-2D01-032200 Inlet Gearbox Oil Cooler Pipe QI3 7|0jEfA 2ol 22 ofo[Z 621,600
Ineos Grenadier Heating and Cooling GRA-2D01-032210 Outlet Gearbox Oil Cooler Pipe O3l 7[o{EfA @ 22 00| = 815,200
Ineos Grenadier Heating and Cooling GRA-2D01-033730 Gearbox Oil Cooler Bracket Jjof A o 2o Hapa 100,400
Ineos Grenadier Heating and Cooling GRA-2D01-048830 Outlet Gearbox Oil Cooler Pipe O3l 7[o{EfA @ 22 o= 815,200
Ineos Grenadier Heating and Cooling GRA-2D01-048880 Coolant Hose FEEEN 399,900
Ineos Grenadier Heating and Cooling GRA-2D01-048890 Coolant Hose FEEEN 173,600
Ineos Grenadier Heating and Cooling GRA-2F01-001791 LH UPR Side Cooler Bracket LH UPR AtO|E 22] E2}3l 135,400
Ineos Grenadier Heating and Cooling GRA-2F01-002041 LH Side Cooler Bracket Strut LH AfO[E Z2f Eep3l AEH 63,400
Ineos Grenadier Heating and Cooling GRA-2F01-006330 Transfer Box Cooler Air Duct EAE 9A 22 EE 229,800
Ineos Grenadier Heating and Cooling GRA-2F01-006430 Transfer Box Cooler Air Duct EAE 9A 22 EE 178,900
Ineos Grenadier Heating and Cooling GRA-2F01-009290 Side Cooler Bracket EEEEEE 59,200
Ineos Grenadier Heating and Cooling GRA-2F01-010190 Transfer Box Side Cooler ESAT 91X APOJE 27 2,110,900
Ineos Grenadier Heating and Cooling GRA-2F01-013120 Side Cooler Bracket EEEEEE] 38,000
Ineos Grenadier Heating and Cooling GRA-2F01-013130 Side Cooler Fan EEEED 1,107,100
Ineos Grenadier Heating and Cooling GRA-2F01-030311 LH LWR Side Cooler Bracket LHLWR AfO[E Z2f 223l 239,400
Ineos Grenadier Heating and Cooling GRA-2F02-003120 Transfer Box Oil Feed Pipe ENAT{ HX o ZF WHO[X 1,225,500
Ineos Grenadier Heating and Cooling GRA-2F02-003130 Transfer Box Oil Return Pipe EAT] 59X 9O 2[E WHo|= 485,100
Ineos Grenadier Heating and Cooling GRA-2F02-030350 Transfer Box Oil Return Pipe EHAT] 5X o O 2[E WHo|= 1,223,300
Ineos Grenadier Heating and Cooling GRA-2F02-044490 FRT Transfer Box Oil Feed Pipe FRT ESAT| 9tA 2 33 00| 553,600
Ineos Grenadier Heating and Cooling GRA-2F02-044500 CTR Transfer Box Oil Feed Pipe CTR EMAT{ A 2 33 0j0|X 956,100
Ineos Grenadier Heating and Cooling GRA-2F02-044510 RR Transfer Box Oil Feed Pipe RR EHAN 5~ @ ZF TO[Z 845,700
Ineos Grenadier Heating and Cooling GRA-2F02-044520 FRT Transfer Box Oil Return Pipe FRT EHAT 5t oo 2[Ef 0jo|= 544,400
Ineos Grenadier Heating and Cooling GRA-2F02-044530 CTR Transfer Box Oil Return Pipe CTR EHAT 5fx o O 2[Ef Ijo[= 1,499,900
Ineos Grenadier Heating and Cooling GRA-2F02-044540 RR Transfer Box Oil Return Pipe RR ESNAT 8fA 9ol a[H mfo[= 1,317,900
Ineos Grenadier Heating and Cooling GRA-2G00-030230 Defrost Actuator FIEREEERE 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-030240 Bypass Actuator R ERRE 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-030250 Foot Actuator EEEE 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-030260 Water Valve Actuator EEEEEENRE] 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-030270 HVAC Filter HVAC ZEf 94,200
Ineos Grenadier Heating and Cooling GRA-2G00-030641 LH Intake Actuator LH QIE|0[3 %43=0f|0| & 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-030652 RH Intake Actuator RH QIE{| 0|3 0] 0| Ef 233,800
Ineos Grenadier Heating and Cooling GRA-2G00-036590 HVAC Filter HVAC ZEf 131,500
Ineos Grenadier Heating and Cooling GRA-2G00-047730 Pressure Sensor EERR] 171,900
Ineos Grenadier Heating and Cooling GRA-2G00-051480 Valve ] 18,800
Ineos Grenadier Heating and Cooling GRA-2G00-051490 Valve Cap EEgT 5,700
Ineos Grenadier Heating and Cooling GRA-2G00-051500 Valve Cap EEgT 5,700
Ineos Grenadier Heating and Cooling GRA-2G00-051510 Valve Cap EEgT 5,700
Ineos Grenadier Heating and Cooling GRA-2G01-007630 Refrigerant Pressure line ENEEER 592,200
Ineos Grenadier Heating and Cooling GRA-2G01-007640 Refrigerant Pressure line ENEEER 592,200
Ineos Grenadier Heating and Cooling GRA-2G01-007660 Refrigerant Pressure line ENEEER 1,528,300
Ineos Grenadier Heating and Cooling GRA-2G01-007680 Refrigerant Pressure line ENEEER 1,528,300




Ineos Grenadier Heating and Cooling GRA-2G01-007700 Refrigerant Return Line ENEEER 544,900
Ineos Grenadier Heating and Cooling GRA-2G01-029000 Refrigerant Pressure Line EEEER 699,000
Ineos Grenadier Heating and Cooling GRA-2G01-029010 Refrigerant Pressure Line ENEEER 699,000
Ineos Grenadier Heating and Cooling GRA-2G01-033990 Refrigerant Pressure Line ENEEER 1,762,600
Ineos Grenadier Heating and Cooling GRA-2G01-034390 Refrigerant Pressure Line EEEER 1,762,600
Ineos Grenadier Heating and Cooling GRA-2G02-013320 AC Compressor AC I M 2,947,300
Ineos Grenadier Heating and Cooling GRA-2G03-007590 Coolant Hose H2s s A 121,800
Ineos Grenadier Heating and Cooling GRA-2G03-007610 Coolant Hose H2s s A 172,100
Ineos Grenadier Heating and Cooling GRA-2G03-007730 Coolant Hose H2s s A 186,700
Ineos Grenadier Heating and Cooling GRA-2G03-029040 Heater Waterpump S|E QE{HI 364,200
Ineos Grenadier Heating and Cooling GRA-2G11-007620 Refrigerant Return Line ENEEER 608,700
Ineos Grenadier Heating and Cooling GRA-2G11-007650 Refrigerant Pressure line EEEER 592,200
Ineos Grenadier Heating and Cooling GRA-2G11-007670 Refrigerant Pressure line ENEEER 1,473,500
Ineos Grenadier Heating and Cooling GRA-2G11-007690 Refrigerant Pressure line EEEER 531,600
Ineos Grenadier Heating and Cooling GRA-2G11-007710 Refrigerant Pressure line EEEER 531,600
Ineos Grenadier Heating and Cooling GRA-2G11-029020 Refrigerant Pressure Line EEEER 669,800
Ineos Grenadier Heating and Cooling GRA-2G11-029030 Refrigerant Pressure Line EEEER 669,800
Ineos Grenadier Heating and Cooling GRA-2G11-029050 Refrigerant Pressure line EEEER 1,648,000
Ineos Grenadier Heating and Cooling GRA-2G11-029060 Refrigerant Pressure line EEEER 1,648,000
Ineos Grenadier Heating and Cooling GRA-2G11-034370 Refrigerant Pressure Line EEEER 1,708,600
Ineos Grenadier Heating and Cooling GRA-2G11-034380 Refrigerant Pressure Line EEEER 1,708,600
Ineos Grenadier Heating and Cooling GRA-2G12-013340 AC Compressor AC I M 2,868,900
Ineos Grenadier Heating and Cooling GRA-2G13-007580 Coolant Hose H2s s A 167,500
Ineos Grenadier Heating and Cooling GRA-2G13-007600 Coolant Hose H2s s A 151,900
Ineos Grenadier Heating and Cooling GRA-2G13-007720 Coolant Hose H2s s A 227,100
Ineos Grenadier Heating and Cooling GRA-2G31-013350 Heat Exchanger =iy 987,800
Ineos Grenadier Heating and Cooling GRA-2G31-013370 HVAC Cooler Pump Bracket HVAC 228 HZ 523 334,800
Ineos Grenadier Heating and Cooling GRA-2G31-029910 Bracket a3 131,600
Ineos Grenadier Heating and Cooling GRA-2G41-003860 HVAC Assembly HVAC 0| £2| 4,635,100
Ineos Grenadier Heating and Cooling GRA-2G41-013390 IP Water Drain Hose IP9JE =3l s~ 288,000
Ineos Grenadier Heating and Cooling GRA-2G41-041470 HVAC Assembly HVAC 0| £2| 4,635,100
Ineos Grenadier Heating and Cooling GRA-2G42-013410 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 795,000
Ineos Grenadier Heating and Cooling GRA-2G42-013420 HVAC Airduct HVAC 0jl0jHE 318,300
Ineos Grenadier Heating and Cooling GRA-2G42-032300 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 1,833,700
Ineos Grenadier Heating and Cooling GRA-2G42-036570 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 1,399,000
Ineos Grenadier Heating and Cooling GRA-2G42-044890 HVAC Blower Motor HVAC E20| ZF 839,300
Ineos Grenadier Heating and Cooling GRA-2G51-013400 HVAC Unit HVAC &% 3,775,600
Ineos Grenadier Heating and Cooling GRA-2G51-045010 HVAC UNIT RHD HVAC £ % RHD 3,274,000
Ineos Grenadier Heating and Cooling GRA-2G52-013430 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 873,400
Ineos Grenadier Heating and Cooling GRA-2G52-013440 HVAC Airduct HVAC 0jl0jHE 318,300
Ineos Grenadier Heating and Cooling GRA-2G52-033550 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 1,756,700
Ineos Grenadier Heating and Cooling GRA-2G52-036580 Heater Blower Fan Drive o|Ef 220{ W E2fo|2 1,809,400
Ineos Grenadier Heating and Cooling GRA-2G52-044880 HVAC Blower Motor HVAC 20| ZF 839,300
Ineos Grenadier Fuel and Exhaust GRA-3000-000620 Exhaust Clamp Hi7| 2T 85,400
Ineos Grenadier Fuel and Exhaust GRA-3000-002810 Screw 232 81,900
Ineos Grenadier Fuel and Exhaust GRA-3000-005020 Fuel Filler Flap Cover clg def 23 Ay 125,600
Ineos Grenadier Fuel and Exhaust GRA-3000-005860 Fuel Flap Trim Panel clg EY EF 1Y 21,900
Ineos Grenadier Fuel and Exhaust GRA-3000-007260 Locking Ring 228 51,600
Ineos Grenadier Fuel and Exhaust GRA-3000-007270 O-Ring 28 46,400
Ineos Grenadier Fuel and Exhaust GRA-3000-007280 Fuel Tank Strap SR 3 AEY 301,000
Ineos Grenadier Fuel and Exhaust GRA-3000-008062 RH RR Body Side Trim Panel RHRRHIC| AO|E EZ Tjd 50,900
Ineos Grenadier Fuel and Exhaust GRA-3000-008300 Lock = 419,800
Ineos Grenadier Fuel and Exhaust GRA-3000-009370 Air Duct ofof HE 114,200
Ineos Grenadier Fuel and Exhaust GRA-3000-009380 Bellow H2e 163,700
Ineos Grenadier Fuel and Exhaust GRA-3000-009390 Rubber Mount 2 O E 7,400
Ineos Grenadier Fuel and Exhaust GRA-3000-009450 Air Intake Duct ofjof 2lE[0|3 HE 445,200
Ineos Grenadier Fuel and Exhaust GRA-3000-010050 Fuel Tank Protection Plate Cle Y3 5 Z0|E 2,587,100
Ineos Grenadier Fuel and Exhaust GRA-3000-010060 Fuel Tank Protection Bracket e diEs gap3 156,200
Ineos Grenadier Fuel and Exhaust GRA-3000-010070 Fuel Tank Mid Support Frame Ole B3 SUMEE Ty 290,000
Ineos Grenadier Fuel and Exhaust GRA-3000-010080 RR Fuel Tank Protection Plate RR OIE &3 £ Z0|E 892,100
Ineos Grenadier Fuel and Exhaust GRA-3000-010090 Fuel Tank Protection Bracket e diEs gap3 446,100
Ineos Grenadier Fuel and Exhaust GRA-3000-011090 Fuel Filler Drain Pipe oz T cQl mo|= 30,600
Ineos Grenadier Fuel and Exhaust GRA-3000-013460 Air Filter Box Bracket oflo] T HA HapA 175,900
Ineos Grenadier Fuel and Exhaust GRA-3000-013750 Pressure Sensor 22 MM 230,300
Ineos Grenadier Fuel and Exhaust GRA-3000-016670 Air Filter Box Bracket oflo] T HA HapA 190,300
Ineos Grenadier Fuel and Exhaust GRA-3000-016830 Exhaust Clamp Gasket Hi7| 2T JtAA 52,600
Ineos Grenadier Fuel and Exhaust GRA-3000-016840 Exhaust Clamp Hi7| 2T 78,100
Ineos Grenadier Fuel and Exhaust GRA-3000-018730 Fuel Tank Strap SR 3 AEY 282,400
Ineos Grenadier Fuel and Exhaust GRA-3000-018750 FRT Fuel Tank Heatshield FRT 92 &3 3|E HE 301,300
Ineos Grenadier Fuel and Exhaust GRA-3000-018770 Temperature Sensor 25 M 343,000
Ineos Grenadier Fuel and Exhaust GRA-3000-018810 Vent Line Bracket HIE 2ol B2t 68,300
Ineos Grenadier Fuel and Exhaust GRA-3000-020770 Fuel Tank Pad Clg 3 mjc 7,000
Ineos Grenadier Fuel and Exhaust GRA-3000-020780 RR Fuel Tank Heatshield RR O1= B3 3|E e 389,800
Ineos Grenadier Fuel and Exhaust GRA-3000-031960 Temperature Sensor 25 M 299,700
Ineos Grenadier Fuel and Exhaust GRA-3000-036620 Fuel Tank Protection Panel olg 943 B 0fd 2,051,000
Ineos Grenadier Fuel and Exhaust GRA-3000-040150 Fuel Filler Pipe Bracket Cl® o mo|= 223l 249,300
Ineos Grenadier Fuel and Exhaust GRA-3000-043150 Fuel Filler Flap Cover 106,400
Ineos Grenadier Fuel and Exhaust GRA-3000-043160 Fuel Filler Flap Cover 129,400
Ineos Grenadier Fuel and Exhaust GRA-3000-045680 Air Filter Box Bracket | 190,300
Ineos Grenadier Fuel and Exhaust GRA-3000-047800 Air Duct 114,200
Ineos Grenadier Fuel and Exhaust GRA-3000-047830 Bellow EE 163,700
Ineos Grenadier Fuel and Exhaust GRA-3000-047840 Air Intake Duct ofof lEo 445,200
Ineos Grenadier Fuel and Exhaust GRA-3A02-008220 Air Filter off 77,300
Ineos Grenadier Fuel and Exhaust GRA-3A02-013450 Clean Air Duct 22 0ol HE 347,700
Ineos Grenadier Fuel and Exhaust GRA-3A02-013470 PCV Pipe PCV Ijo| 66,500
Ineos Grenadier Fuel and Exhaust GRA-3A02-013480 Mass Air Flow Sensor OjA 0o 222 AN 761,400
Ineos Grenadier Fuel and Exhaust GRA-3A02-018760 Air Filter Box Assembly ofof ZEf HtA of 2| 752,700
Ineos Grenadier Fuel and Exhaust GRA-3A02-047820 Air Filter Box Assembly ofof ZE| HtA ofdE2| 752,700
Ineos Grenadier Fuel and Exhaust GRA-3A03-013490 Charge Air Duct XHX| ofjo] HE 855,000
Ineos Grenadier Fuel and Exhaust GRA-3A03-016850 Seal ] 28,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016860 Seal ] 21,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016870 Spring Clip 2xg 28 10,200
Ineos Grenadier Fuel and Exhaust GRA-3A03-016880 Air Pressure Sensor oo e dIM 164,500
Ineos Grenadier Fuel and Exhaust GRA-3A03-016900 Temperature Sensor 25 dX 164,500
Ineos Grenadier Fuel and Exhaust GRA-3D01-013510 Temperature Sensor 25 dX 230,300
Ineos Grenadier Fuel and Exhaust GRA-3D01-013520 Intake Manifold RERELE 2,741,200
Ineos Grenadier Fuel and Exhaust GRA-3D01-013530 FRT Intake Manifold Bracket FRT QIE0[3 ofL| 130,700
Ineos Grenadier Fuel and Exhaust GRA-3D01-013540 RR Intake Manifold Bracket REENER 130,700
Ineos Grenadier Fuel and Exhaust GRA-3D01-013550 Throttle Body ARE 1,164,400
Ineos Grenadier Fuel and Exhaust GRA-3D01-015260 Induction Manifold S7| L= 2,419,400
Ineos Grenadier Fuel and Exhaust GRA-3D01-015270 Screw 232 5,900
Ineos Grenadier Fuel and Exhaust GRA-3D01-016190 Induction Manifold Gasket S7| LU ZEE A3 19,400
Ineos Grenadier Fuel and Exhaust GRA-3D01-016200 FRT Intake Manifold Bracket FRT Qlg0|3 ojL|Z = Hatzl 45,300
Ineos Grenadier Fuel and Exhaust GRA-3D01-016210 RR Intake Manifold Bracket RR QIE|0|3 OfL] A 41,500
Ineos Grenadier Fuel and Exhaust GRA-3D01-016570 Throttle Body Gasket AR2E HL| 7kA 16,000
Ineos Grenadier Fuel and Exhaust GRA-3D02-016490 FRT Injector Rail FRT QIHE 2 629,400
Ineos Grenadier Fuel and Exhaust GRA-3D02-016500 Injector Rail Sensor REEEERE] 164,500




Ineos Grenadier Fuel and Exhaust GRA-3D02-016510 HIGH-PRESSURE RAIL oy 629,400
Ineos Grenadier Fuel and Exhaust GRA-3D02-016520 Injector OIHE| 591,500
Ineos Grenadier Fuel and Exhaust GRA-3D02-016530 Injector Seal QIMIE A 13,900
Ineos Grenadier Fuel and Exhaust GRA-3D02-016540 Injector Bracket OIME =at3ll 22,200
Ineos Grenadier Fuel and Exhaust GRA-3D03-013560 High Pressure Rail i 555,500
Ineos Grenadier Fuel and Exhaust GRA-3D03-013570 High Pressure Rail i 555,500
Ineos Grenadier Fuel and Exhaust GRA-3D03-013580 Rubber 2t 5,700
Ineos Grenadier Fuel and Exhaust GRA-3D03-013590 High Pressure Pipe ¢k mro|o 192,200
Ineos Grenadier Fuel and Exhaust GRA-3D03-013600 High Pressure Pump g EHT 2,393,700
Ineos Grenadier Fuel and Exhaust GRA-3D03-016460 High-pressure Fuel Pump 1Y olg HO 2,417,900
Ineos Grenadier Fuel and Exhaust GRA-3D05-013600 High Pressure Fuel Pump 1Yoz HO 2,053,500
Ineos Grenadier Fuel and Exhaust GRA-3D06-013650 Purge Valve x| ¥y 164,100
Ineos Grenadier Fuel and Exhaust GRA-3D11-009060 Engine Bay Fuel Lines AT Hlo] HZE 2tol 539,500
Ineos Grenadier Fuel and Exhaust GRA-3D11-013610 Fuel Purge Pipe o2 MX| ojo|= 73,900
Ineos Grenadier Fuel and Exhaust GRA-3D11-013620 Fuel Purge Pipe o2 MX| ojo|= 85,300
Ineos Grenadier Fuel and Exhaust GRA-3D11-013630 Low Pressure Inlet Pipe X gk olst mo| = 131,200
Ineos Grenadier Fuel and Exhaust GRA-3D11-013640 Inlet Pipe Damper Ol2ll mo| = i 5,000
Ineos Grenadier Fuel and Exhaust GRA-3D11-013660 Fuel Purge Pipe o2 MX| ojo|= 73,900
Ineos Grenadier Fuel and Exhaust GRA-3D11-013670 Fuel Purge Pipe o2 MX| ojo|= 127,900
Ineos Grenadier Fuel and Exhaust GRA-3D11-043960 Differential Pressure Sensor XpeF MM 223,100
Ineos Grenadier Fuel and Exhaust GRA-3D11-048590 Engine Bay Fuel Lines QAEl Hjo] A= 2ol 539,500
Ineos Grenadier Fuel and Exhaust GRA-3D12-006740 Fuel Purge Line o2 MX| 2+l 261,000
Ineos Grenadier Fuel and Exhaust GRA-3D12-009090 Fuel Tank Fuel Lines Cle ¢33 o7 el 406,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-009110 Underbody Fuel Lines oI HIC| = 2}l 431,400
Ineos Grenadier Fuel and Exhaust GRA-3D12-009120 Underbody Fuel Lines oI HIC| A= 2}l 453,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-009200 Fuel Line o= 2ol 232,600
Ineos Grenadier Fuel and Exhaust GRA-3D12-029550 Fuel Filter Az ZE 140,000
Ineos Grenadier Fuel and Exhaust GRA-3D12-029560 Fuel Filter Bracket Az ZE 2z 62,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-038710 Underbody fuel lines oI HIC| A= 2}l 461,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-038720 Underbody Fuel Lines oI HIC| = 2}l 473,400
Ineos Grenadier Fuel and Exhaust GRA-3D12-048610 Fuel Tank Fuel Lines oz @3 oz 2tol 406,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-048630 Underbody Fuel Lines AC{BIC| ¢l 2 212l 431,400
Ineos Grenadier Fuel and Exhaust GRA-3D12-048640 Underbody Fuel Lines AC{BIC| g2 212l 461,300
Ineos Grenadier Fuel and Exhaust GRA-3D12-048650 Underbody Fuel Lines AC{BIC| ¢ 2 212l 453,900
Ineos Grenadier Fuel and Exhaust GRA-3D12-048660 Underbody Fuel Lines AC{BIC| ¢ 2 212l 473,400
Ineos Grenadier Fuel and Exhaust GRA-3D12-048680 Fuel Purge Line u 2ol 261,000
Ineos Grenadier Fuel and Exhaust GRA-3D12-048690 Fuel Line 2l 232,600
Ineos Grenadier Fuel and Exhaust GRA-3D21-009030 Breather Pipe 0| 495,100
Ineos Grenadier Fuel and Exhaust GRA-3D21-009040 Breather Pipe 0| 1,241,200
Ineos Grenadier Fuel and Exhaust GRA-3D21-013690 Charcoal Canister AF 1,111,700
Ineos Grenadier Fuel and Exhaust GRA-3D21-018710 Charcoal Filter Bracket =ap3 47,800
Ineos Grenadier Fuel and Exhaust GRA-3D21-018720 Charcoal Filter Bracket =ap3 102,000
Ineos Grenadier Fuel and Exhaust GRA-3D21-048560 Breather Pipe to|= 495,100
Ineos Grenadier Fuel and Exhaust GRA-3D21-048570 Breather Pipe to|= 1,241,200
Ineos Grenadier Fuel and Exhaust GRA-3D22-020580 Fuel Distribution Module Oz 2t 2 & 1,089,000
Ineos Grenadier Fuel and Exhaust GRA-3D22-020590 Fuel Distribution Module Oz 2t 2 & 1,078,800
Ineos Grenadier Fuel and Exhaust GRA-3D22-020760 Fuel Tank oz g3 2,891,400
Ineos Grenadier Fuel and Exhaust GRA-3D22-041690 Fuel Tank oz g3 2,978,200
Ineos Grenadier Fuel and Exhaust GRA-3D23-007560 Filler Cap ey 84,300
Ineos Grenadier Fuel and Exhaust GRA-3D23-018780 Filler Neck Jumper Hose Zefd 3y s 236,000
Ineos Grenadier Fuel and Exhaust GRA-3D23-026210 Fuel Filler Pipe oz =g ojo|= 734,100
Ineos Grenadier Fuel and Exhaust GRA-3D23-029280 Fuel Filler Housing Az T2 5123 576,000
Ineos Grenadier Fuel and Exhaust GRA-3D23-033450 Fuel Filler Housing Az T2 5123 576,000
Ineos Grenadier Fuel and Exhaust GRA-3D23-035590 Fuel Filler Housing Az T2 5123 593,300
Ineos Grenadier Fuel and Exhaust GRA-3D23-038370 Fuel Filler Flap clg Do 3 196,500
Ineos Grenadier Fuel and Exhaust GRA-3D24-030030 Fuel Tank Protection ClR 3 ES 25,100
Ineos Grenadier Fuel and Exhaust GRA-3G11-006990 Turbocharger UPR Shield EHEXX UPRAEE 62,300
Ineos Grenadier Fuel and Exhaust GRA-3G11-007550 Blow-by Pipe £22 80| o] = 98,700
Ineos Grenadier Fuel and Exhaust GRA-3G11-012200 Turbocharger Assembly E{EXH ojdlE2| 5,666,500
Ineos Grenadier Fuel and Exhaust GRA-3G11-016240 Turbocharger E{ XX 5,501,400
Ineos Grenadier Fuel and Exhaust GRA-3G11-016280 Exhaust Manifold Gasket HiZ| oL EE JpAF 21,100
Ineos Grenadier Fuel and Exhaust GRA-3G11-016290 Turbocharger Support Bracket E{EXINH MEZE =223l 70,800
Ineos Grenadier Fuel and Exhaust GRA-3G11-016340 LWR Turbocharger Shield LWR E{2XX HE 62,300
Ineos Grenadier Fuel and Exhaust GRA-3G11-016360 Wastegate Valve Actuator UO|AEAHO|E WE H3=0]0|E 737,900
Ineos Grenadier Fuel and Exhaust GRA-3G11-016370 Turbocharger Heated Adapter B2 XX S|E|E O HE 248,100
Ineos Grenadier Fuel and Exhaust GRA-3G11-049090 UPR Turbocharger Heat Shield UPR HEXKN S|E HE 98,300
Ineos Grenadier Fuel and Exhaust GRA-3G11-049100 LWR Turbocharger Heat Shield LWR E{2X}X 3|E HCE 98,300
Ineos Grenadier Fuel and Exhaust GRA-3G12-012200 Turbocharger Assembly E{EXH ojdlE2| 5,501,400
Ineos Grenadier Fuel and Exhaust GRA-3G12-012210 Turbocharger Support Bracket E{EXINH MEZE =223l 73,700
Ineos Grenadier Fuel and Exhaust GRA-3G12-016280 Turbocharger Gasket E{EH XA JpAZ 18,800
Ineos Grenadier Fuel and Exhaust GRA-3G12-016320 Turbocharger UPR Heat Shield EEXX UPRSIE A E 88,800
Ineos Grenadier Fuel and Exhaust GRA-3G12-016360 Wastegate Valve Actuator UO|AEAHO|E WE H3=0]0|E 760,000
Ineos Grenadier Fuel and Exhaust GRA-3G12-016810 Turbocharger LWR Heat Shield EHEXX LWRSIE HE 88,800
Ineos Grenadier Fuel and Exhaust GRA-3G12-016820 Turbocharger Vent Adapter E{E XX HIE OfHE 238,400
Ineos Grenadier Fuel and Exhaust GRA-3G13-016390 Turbocharger Oil Line E{EXIH 29 atol 150,800
Ineos Grenadier Fuel and Exhaust GRA-3G13-016400 Turbocharger Oil Pipe EEXAN ¢ oto| T 150,800
Ineos Grenadier Fuel and Exhaust GRA-3G13-019040 Oil Return Line 22 2|H 2ol 133,100
Ineos Grenadier Fuel and Exhaust GRA-3G13-019320 Oil Supply Line 2 33 2ol 133,100
Ineos Grenadier Fuel and Exhaust GRA-3G21-009140 Exhaust Pressure Sensor Hose Hi7| @3 MM SA 48,900
Ineos Grenadier Fuel and Exhaust GRA-3G21-016250 Catalytic Converter Gasket =0 HAHE 7pAZM 38,600
Ineos Grenadier Fuel and Exhaust GRA-3G21-016260 Exhaust Clamp Hi7| Yo 58,800
Ineos Grenadier Fuel and Exhaust GRA-3G21-016600 Catalytic Converter =0 HAHE 3,000,300
Ineos Grenadier Fuel and Exhaust GRA-3G21-016620 Clip 28 4,100
Ineos Grenadier Fuel and Exhaust GRA-3G21-016630 Exhaust Clamp Hi7| Yo 53,400
Ineos Grenadier Fuel and Exhaust GRA-3G21-016670 Exhaust Sensor B 7| A 790,600
Ineos Grenadier Fuel and Exhaust GRA-3G21-016680 Exhaust Sensor B 7| A 665,800
Ineos Grenadier Fuel and Exhaust GRA-3G21-017150 Catalytic Converter Bracket Z0f HHE Sap3l 80,000
Ineos Grenadier Fuel and Exhaust GRA-3G21-019470 Catalytic Converter =0 HAHE 3,121,400
Ineos Grenadier Fuel and Exhaust GRA-3G21-020890 Exhaust Oxygen Sensor HY 7| At 690,300
Ineos Grenadier Fuel and Exhaust GRA-3G21-020900 Exhaust Oxygen Sensor Y 7| Aba M 552,300
Ineos Grenadier Fuel and Exhaust GRA-3G21-020910 Exhaust Pressure Sensor B 7| 22 A 164,500
Ineos Grenadier Fuel and Exhaust GRA-3G24-000540 FRT Exhaust Pipe FRT Hi7| mto|= 2,388,900
Ineos Grenadier Fuel and Exhaust GRA-3G24-000550 FRT Exhaust Pipe FRT Hi7| mto|= 1,853,700
Ineos Grenadier Fuel and Exhaust GRA-3G24-000780 FRT Exhaust Pipe FRT Hi7| mto|= 2,422,400
Ineos Grenadier Fuel and Exhaust GRA-3G24-000790 FRT Exhaust Pipe FRT Hi7| mto|= 1,887,200
Ineos Grenadier Fuel and Exhaust GRA-3G25-000560 RR Exhaust Pipe RR HY 7| IO = 2,165,400
Ineos Grenadier Steering and Suspension GRA-4A00-032721 FRT Bumper Plate FRT 81 Z20|E 228,900
Ineos Grenadier Steering and Suspension GRA-4A00-032731 LH Wheel Deflector LH & C|23H 242,100
Ineos Grenadier Steering and Suspension GRA-4A00-032742 RH Wheel Deflector RH & C|Z3H 242,100
Ineos Grenadier Steering and Suspension GRA-4A00-032770 FRT Tow Hook FRTE® 23 284,300
Ineos Grenadier Steering and Suspension GRA-4A00-032781 LH FRT Spring Bracket LHFRT 2Z 2 a3l 539,600
Ineos Grenadier Steering and Suspension GRA-4A00-032792 RH FRT Spring Bracket RHFRT AZg =Eat3ll 539,600
Ineos Grenadier Steering and Suspension GRA-4A00-032821 LH RR Bump Stop LHRR X A5 214,100
Ineos Grenadier Steering and Suspension GRA-4A00-032832 RH RR Bump Stop RHRR HZ A5 214,100
Ineos Grenadier Steering and Suspension GRA-4A00-032841 LH Body Mount Bracket LH HtC| Ot E 223l 407,200
Ineos Grenadier Steering and Suspension GRA-4A00-032852 RH Body Mount Bracket RH HIC| OF2 E Sat3 407,200
Ineos Grenadier Steering and Suspension GRA-4A00-032860 Body Mount Bracket HIC| O E =23l 346,000




Ineos Grenadier Steering and Suspension GRA-4A00-032871 LH RR UPR Control Arm Bracket LHRRUPRZIEE & =23l 165,100
Ineos Grenadier Steering and Suspension GRA-4A00-032882 RH RR UPR Control Arm Bracket RHRRUPRZIEE ¢ 23l 165,100
Ineos Grenadier Steering and Suspension GRA-4A00-032890 RR Exhaust Bracket RR Hf 7| =2}31 49,500
Ineos Grenadier Steering and Suspension GRA-4A00-032901 LH FRT Shock Absorber Bracket LH FRT &3 4H 223 321,000
Ineos Grenadier Steering and Suspension GRA-4A00-032912 RH FRT Shock Absorber Bracket RHFRT &3 AH 2at31 321,000
Ineos Grenadier Steering and Suspension GRA-4A00-032921 LH LWR Control Arm Bracket LHLWR ZIEE ¢ =23l 232,900
Ineos Grenadier Steering and Suspension GRA-4A00-032932 RH LWR Control Arm Bracket RHLWR Z1EE ¢ =2}7ll 232,900
Ineos Grenadier Steering and Suspension GRA-4A00-032941 LH RR Stabiliser Link Bracket LH RR 2Efdl2to|x g3 =3l 375,700
Ineos Grenadier Steering and Suspension GRA-4A00-032952 RH RR Stabiliser Link Bracket RH RR 2Efgi2to|x g3 =23l 375,600
Ineos Grenadier Steering and Suspension GRA-4A00-032961 LH RR Tow Hook Support LHRRES 23 MZE 342,000
Ineos Grenadier Steering and Suspension GRA-4A00-032972 RH RR Tow Hook Support RHRRES 23 MEE 342,000
Ineos Grenadier Steering and Suspension GRA-4A00-032981 LH Body Mount Bracket LH HIC| OR2 E =E2t3 150,600
Ineos Grenadier Steering and Suspension GRA-4A00-032992 RH Body Mount Bracket RH HIC| O E a3l 150,600
Ineos Grenadier Steering and Suspension GRA-4A00-033001 LH Body Mount Bracket LH HIC| OR2 E =22t 273,500
Ineos Grenadier Steering and Suspension GRA-4A00-033012 RH Body Mount Bracket RH HIC| O E a3l 273,500
Ineos Grenadier Steering and Suspension GRA-4A00-033021 LH OTR RR Shock Absorber Bracket LH OTRRR &3 4H 223l 29,000
Ineos Grenadier Steering and Suspension GRA-4A00-033032 RH OTR RR Shock Absorber Bracket RHOTRRR 3 AH =at3l 29,000
Ineos Grenadier Steering and Suspension GRA-4A00-033041 LH INR UPR Control Arm Bracket LHINRUPRZIEE & =2}zl 147,400
Ineos Grenadier Steering and Suspension GRA-4A00-033052 RH INR UPR Control Arm Bracket RHINRUPRZEE ¥ Ha}2l 147,400
Ineos Grenadier Steering and Suspension GRA-4A00-033061 LH RR Shock Absorber Bracket LHRR &3 A =at3l 190,800
Ineos Grenadier Steering and Suspension GRA-4A00-033072 RH RR Shock Absorber Bracket RHRR &3 4H 2231 190,800
Ineos Grenadier Steering and Suspension GRA-4A01-030130 Ladder Frame gE T 10,359,500
Ineos Grenadier Steering and Suspension GRA-4A01-030140 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A01-030150 Ladder Frame Yo =Y 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A01-032750 RR Panhard Bracket RR HMstE =22t3l 326,000
Ineos Grenadier Steering and Suspension GRA-4A01-032800 FRT Panhard Bracket FRT #3stE 22131 502,300
Ineos Grenadier Steering and Suspension GRA-4A01-045710 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A01-045720 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A01-045730 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-030160 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-030170 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-030180 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-032760 RR Panhard Bracket RR HMsIE =22t3 319,500
Ineos Grenadier Steering and Suspension GRA-4A02-032810 FRT Panhard Bracket FRT #3tE 22i31 502,300
Ineos Grenadier Steering and Suspension GRA-4A02-045740 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-045750 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A02-045760 Ladder Frame gE T 25,562,700
Ineos Grenadier Steering and Suspension GRA-4A11-007340 Bodymount M12 HC|OF2 E M12 308,900
Ineos Grenadier Steering and Suspension GRA-4A11-007350 Bodymount Disc M12 HIC|OFR E C|A3 M12 56,900
Ineos Grenadier Steering and Suspension GRA-4A11-007360 Bodymount M16 HC|OF2 E M16 380,300
Ineos Grenadier Steering and Suspension GRA-4A11-007370 Bodymount Disc M16 HIC|OF2 E C|A3 M16 57,400
Ineos Grenadier Steering and Suspension GRA-4A21-018830 FRT Towing Base Plate Assembly FRT £ H|o|~ E0|E o 52| 740,900
Ineos Grenadier Steering and Suspension GRA-4A22-000770 Bolt Cap =2 5,200
Ineos Grenadier Steering and Suspension GRA-4A22-001350 Bolt Cap =2 10,300
Ineos Grenadier Steering and Suspension GRA-4A22-006620 RR Fixed Tow Ball and Pin RROAEER Y H 539,000
Ineos Grenadier Steering and Suspension GRA-4A22-006630 RR Fixed Tow Ball RRIAC ER Z 379,600
Ineos Grenadier Steering and Suspension GRA-4A22-006640 RR NAS Fixed Tow Ball RRNAS HAC ER = 449,300
Ineos Grenadier Steering and Suspension GRA-4A22-007390 Towing Adapter Plate EQ OjHE E20|E 781,600
Ineos Grenadier Steering and Suspension GRA-4A22-018910 Washer LIS 1,200
Ineos Grenadier Steering and Suspension GRA-4A22-018920 Tow Ball Pin NAS ERZEN 165,600
Ineos Grenadier Steering and Suspension GRA-4A22-018930 Tow Ball Pin R-clip ER = EHR 10,700
Ineos Grenadier Steering and Suspension GRA-4A22-047510 RR Fixed Tow Ball NAS RRIAC ER 452,100
Ineos Grenadier Steering and Suspension GRA-4A22-050770 RR Fixed Tow Ball NAS RREAC ER = 502,400
Ineos Grenadier Steering and Suspension GRA-4A31-006530 FRT Crossmember FRT A2 AHH 2,984,900
Ineos Grenadier Steering and Suspension GRA-4A31-006580 Frame Crossmember oY =AU 2,849,000
Ineos Grenadier Steering and Suspension GRA-4A31-007940 FRT Crossmember FRT A2 AHH 4,930,100
Ineos Grenadier Steering and Suspension GRA-4A31-008450 FRT Crossmember FRT A2 AHH 4,713,100
Ineos Grenadier Steering and Suspension GRA-4A31-018960 FRT Crossmember FRT A2 AHH 1,214,200
Ineos Grenadier Steering and Suspension GRA-4A31-018970 FRT Crossmember FRT A2 AHH 1,415,400
Ineos Grenadier Steering and Suspension GRA-4A33-018980 Transfer Box Crossmember EYAL A J2AH 1,220,100
Ineos Grenadier Steering and Suspension GRA-4A33-042250 Transfer Box Crossmember Black EYAL BfA J2A 1,220,100
Ineos Grenadier Steering and Suspension GRA-4A33-042260 Transfer Box Crossmember Red EYAL BfA J2A 1,220,100
Ineos Grenadier Steering and Suspension GRA-4A33-042270 Transfer Box Crossmember Grey EYAL 8tA JR2AH 1,220,100
Ineos Grenadier Steering and Suspension GRA-4B00-019790 Steering Wheel Assembly AE| 1,457,300
Ineos Grenadier Steering and Suspension GRA-4B00-019800 Steering Wheel Assembly AE|0f 2,213,100
Ineos Grenadier Steering and Suspension GRA-4B00-019810 UPR Steering Cowl Cover UPR AE]| 182,300
Ineos Grenadier Steering and Suspension GRA-4B00-019820 LWR Steering Cowl Cover LWR AE| 119,800
Ineos Grenadier Steering and Suspension GRA-4B00-030980 Steering Wheel Assembly AE]| 2,206,600
Ineos Grenadier Steering and Suspension GRA-4B00-030990 Steering Wheel Assembly AE]| 3,533,200
Ineos Grenadier Steering and Suspension GRA-4B00-049930 Steering Wheel Assembly AE]| 3,533,200
Ineos Grenadier Steering and Suspension GRA-4B11-000670 Steering Column Assembly 2EE 2 o4 1,972,600
Ineos Grenadier Steering and Suspension GRA-4B11-009180 UPR Steering Shaft UPR AE|0f & AP 801,600
Ineos Grenadier Steering and Suspension GRA-4B11-009270 Steering Intermediate Shaft AE[0]E QIE{O|C|O|0|E AFZE 1,379,700
Ineos Grenadier Steering and Suspension GRA-4B11-030850 Steering Column Assembly AE[O] ZE ojdlEg 2,063,400
Ineos Grenadier Steering and Suspension GRA-4B11-030870 UPR Steering Shaft UPR AE|01& AFZE 825,600
Ineos Grenadier Steering and Suspension GRA-4B12-004650 Steering Column Assembly AE[O] ZEH ojdEg 1,972,600
Ineos Grenadier Steering and Suspension GRA-4B12-009190 UPR Steering Shaft UPR AE|0|3 MZE 801,600
Ineos Grenadier Steering and Suspension GRA-4B12-009280 Steering Intermediate Shaft AE|0j& QIE{O|C| 1,379,700
Ineos Grenadier Steering and Suspension GRA-4B12-030860 Steering Column Assembly AE[OY 2 2,063,400
Ineos Grenadier Steering and Suspension GRA-4B12-030880 UPR Steering Shaft UPR 2E|0f 825,600
Ineos Grenadier Steering and Suspension GRA-4B20-007250 Power Steering Pump e AE0Y HE 4,873,100
Ineos Grenadier Steering and Suspension GRA-4B20-007470 Clamp e 13,700
Ineos Grenadier Steering and Suspension GRA-4B20-008240 Power Steering Reservoir Cap It AE|0E 2| M 7 186,000
Ineos Grenadier Steering and Suspension GRA-4B20-008270 Power Steering Reservoir ot AE[0 2 2| M1 195,400
Ineos Grenadier Steering and Suspension GRA-4B20-019841 LH Steering Hose Bracket LH 2E[0{3 A a3l 82,100
Ineos Grenadier Steering and Suspension GRA-4B20-019852 RH Steering Hose Bracket RH 2E[0{E A 22131 88,600
Ineos Grenadier Steering and Suspension GRA-4B20-046840 Power Steering Pump e AE0Y HE 4,873,100
Ineos Grenadier Steering and Suspension GRA-4B21-001930 Steering Gear AE0fE 7| 11,244,500
Ineos Grenadier Steering and Suspension GRA-4B22-001940 Steering Gear AE[OfE 7| 11,244,500
Ineos Grenadier Steering and Suspension GRA-4B23-007400 Suction Hose MM SA 241,100
Ineos Grenadier Steering and Suspension GRA-4B23-007440 Steering Pressure Line AE[0]E 23 2tol 995,200
Ineos Grenadier Steering and Suspension GRA-4B23-007460 Steering Return Line AE[0]E 2|H 2tol 820,500
Ineos Grenadier Steering and Suspension GRA-4B23-019830 Steering Bracket AE[0]2 223l 93,700
Ineos Grenadier Steering and Suspension GRA-4B23-019860 Mounting O g 46,600
Ineos Grenadier Steering and Suspension GRA-4B23-033270 Steering Return Line AE[0]E 2|H 2tol 845,100
Ineos Grenadier Steering and Suspension GRA-4B23-033280 Steering Pressure Line AE[O]E 23 2tol 1,025,100
Ineos Grenadier Steering and Suspension GRA-4B23-033380 Mounting Ol 74,100
Ineos Grenadier Steering and Suspension GRA-4B23-038380 Power Steering Pump e AE[0Y HE 4,873,100
Ineos Grenadier Steering and Suspension GRA-4B23-045070 Steering Return Line AE|0jE 2|E 2}2l 618,700
Ineos Grenadier Steering and Suspension GRA-4B23-045690 Power Steering Pump e AE[0Y HE 4,873,100
Ineos Grenadier Steering and Suspension GRA-4B24-007430 Suction Hose MM SA 247,800
Ineos Grenadier Steering and Suspension GRA-4B24-007450 Steering Pressure Line AE[0f2 2+ 2tol 812,900
Ineos Grenadier Steering and Suspension GRA-4B24-007480 Steering Return Line AE|0E 2|H afol 687,100
Ineos Grenadier Steering and Suspension GRA-4B24-019870 Steering Bracket AE[0]2 223l 113,800
Ineos Grenadier Steering and Suspension GRA-4B24-019880 Mounting O g 55,300
Ineos Grenadier Steering and Suspension GRA-4B24-033290 Steering Pressure Line AE[0]E 23 2tol 951,300
Ineos Grenadier Steering and Suspension GRA-4B24-033300 Steering Return Line AE[0]E 2|H 2tol 895,500




Ineos Grenadier Steering and Suspension GRA-4B24-033370 Mounting 75,600
Ineos Grenadier Steering and Suspension GRA-4B24-045080 Steering Return Line 2}ol 655,700
Ineos Grenadier Steering and Suspension GRA-4B40-007010 Drag Link 1,013,400
Ineos Grenadier Steering and Suspension GRA-4B40-007170 Drag Link 1,013,400
Ineos Grenadier Steering and Suspension GRA-4B40-007180 Steering Link Ball Joint EQIE 604,200
Ineos Grenadier Steering and Suspension GRA-4B40-007190 Tie Rod Adjuster CEXAH 231,700
Ineos Grenadier Steering and Suspension GRA-4B40-008120 Steering Damper iz | 619,200
Ineos Grenadier Steering and Suspension GRA-4B40-031950 Steering Damper S 637,800
Ineos Grenadier Steering and Suspension GRA-4B40-033650 Drag Link 1,013,400
Ineos Grenadier Steering and Suspension GRA-4B40-033980 Drag Link 1,043,800
Ineos Grenadier Steering and Suspension GRA-4B41-026280 Tie Rod 1,347,900
Ineos Grenadier Steering and Suspension GRA-4B41-031330 Tie Rod 1,388,400
Ineos Grenadier Steering and Suspension GRA-4B42-026290 Tie Rod 1,329,500
Ineos Grenadier Steering and Suspension GRA-4B42-031340 Tie Rod 1,369,400
Ineos Grenadier Steering and Suspension GRA-4C00-004550 FRT Coil Spring 347,500
Ineos Grenadier Steering and Suspension GRA-4C00-004560 FRT Coil Spring 356,000
Ineos Grenadier Steering and Suspension GRA-4C00-004570 FRT Coil Spring 363,300
Ineos Grenadier Steering and Suspension GRA-4C00-004580 FRT Coil Spring 369,400
Ineos Grenadier Steering and Suspension GRA-4C00-007810 Coil Spring Shim & 250,900
Ineos Grenadier Steering and Suspension GRA-4C00-007820 Coil Spring Shim & 241,100
Ineos Grenadier Steering and Suspension GRA-4C00-008080 FRT Bump Stop = 161,900
Ineos Grenadier Steering and Suspension GRA-4C00-026300 Shock Absorber 43 YAH 399,500
Ineos Grenadier Steering and Suspension GRA-4C00-031940 FRT Coil Spring FRTZY A2zZd 333,500
Ineos Grenadier Steering and Suspension GRA-4C00-034650 Shock Absorber 43 YAH 688,400
Ineos Grenadier Steering and Suspension GRA-4C01-026300 Shock Absorber 43 YAH 713,300
Ineos Grenadier Steering and Suspension GRA-4C10-007130 Control Arm Bush HEZ &t 24| 139,300
Ineos Grenadier Steering and Suspension GRA-4C10-009890 FRT LWR Suspension Arm FRT LWR AMAH M ¢ 935,400
Ineos Grenadier Steering and Suspension GRA-4C10-034590 FRT LWR Suspension Arm FRT LWR AMAH M ¢ 935,400
Ineos Grenadier Steering and Suspension GRA-4C10-034840 FRT LWR Suspension Arm FRT LWR MATHM ¢ 977,700
Ineos Grenadier Steering and Suspension GRA-4C11-009901 LH FRT UPR Suspension Arm LH FRT UPR MATIM ¢ 995,000
Ineos Grenadier Steering and Suspension GRA-4C11-034611 LH FRT UPR Suspension Arm LH FRT UPR AMATIM ¢ 995,000
Ineos Grenadier Steering and Suspension GRA-4C11-034871 LH FRT UPR Suspension Arm LH FRT UPR AMATIM ¢ 1,023,600
Ineos Grenadier Steering and Suspension GRA-4C12-009910 RH FRT UPR Suspension Arm RH FRT UPR M| AHIM ¢ 928,900
Ineos Grenadier Steering and Suspension GRA-4C12-034602 RH FRT UPR Suspension Arm RH FRT UPR M AHIM ¢ 928,900
Ineos Grenadier Steering and Suspension GRA-4C12-034882 RH FRT UPR Suspension Arm RH FRT UPR M| AHIM ¢ 975,600
Ineos Grenadier Steering and Suspension GRA-4C20-000400 Panhard Rod Bearing HSIE 2 Hojg 110,200
Ineos Grenadier Steering and Suspension GRA-4C20-007830 FRT Panhard Rod FRT MstE 2E 1,064,700
Ineos Grenadier Steering and Suspension GRA-4C23-007040 Stabilizer Link AEfEzo|X @3 166,200
Ineos Grenadier Steering and Suspension GRA-4C23-007750 FRT Stabilizer FRT AEf2120| X 1,275,100
Ineos Grenadier Steering and Suspension GRA-4D00-004590 RR Coil Spring RRIAY A 692,800
Ineos Grenadier Steering and Suspension GRA-4D00-004600 RR Coil Spring RR I o 626,500
Ineos Grenadier Steering and Suspension GRA-4D00-004610 RR Coil Spring RR I o 634,900
Ineos Grenadier Steering and Suspension ‘GRA-4D00-008090 RR Bump Stop RREI AE 248,300
Ineos Grenadier Steering and Suspension GRA-4D00-019990 UPR Shock Absorber Bracket UPR &3 A Eat3ll 105,800
Ineos Grenadier Steering and Suspension GRA-4D00-026310 Shock Absorber 399,500
Ineos Grenadier Steering and Suspension GRA-4D00-031260 RR Coil Spring 667,300
Ineos Grenadier Steering and Suspension GRA-4D00-031270 RR Coil Spring 676,200
Ineos Grenadier Steering and Suspension GRA-4D00-031280 RR Coil Spring 879,400
Ineos Grenadier Steering and Suspension GRA-4D00-031920 RR Coil Spring 794,000
Ineos Grenadier Steering and Suspension GRA-4D00-031930 RR Coil Spring 617,600
Ineos Grenadier Steering and Suspension GRA-4D00-034660 Shock Absorber 689,500
Ineos Grenadier Steering and Suspension GRA-4D01-026310 Shock Absorber 714,600
Ineos Grenadier Steering and Suspension GRA-4D10-007140 RR LWR Control Arm 1,021,500
Ineos Grenadier Steering and Suspension GRA-4D10-021100 Control Arm Bush 138,600
Ineos Grenadier Steering and Suspension GRA-4D11-007151 LH RR UPR Control Arm LHRRUPRZIEE & 1,291,300
Ineos Grenadier Steering and Suspension GRA-4D12-007162 RH RR UPR Control Arm RHRRUPRZIEE & 956,800
Ineos Grenadier Steering and Suspension GRA-4D20-000410 Panhard Rod Bearing HSIE 2 Hojg 110,200
Ineos Grenadier Steering and Suspension GRA-4D20-007840 RR Panhard Rod RR HMsIE 2C 1,005,000
Ineos Grenadier Steering and Suspension GRA-4D23-007050 Stabilizer Link AEfE2t0|X 23 189,400
Ineos Grenadier Steering and Suspension GRA-4D23-007970 RR Stabilizer Bar RR AEfj212}0| X Hf 1,163,300
Ineos Grenadier Steering and Suspension GRA-4E00-004660 Wheel Nut 2 HE 6,700
Ineos Grenadier Steering and Suspension GRA-4E00-008170 Wheel Nut 2 HE 16,600
Ineos Grenadier Steering and Suspension GRA-4E00-019540 Tyre Pressure Sensor E}O[Of 9F3f MIA 470,900
Ineos Grenadier Steering and Suspension GRA-4E00-032500 Valve Stem By AH 64,700
Ineos Grenadier Steering and Suspension GRA-4E00-032510 Valve Service Kit HE MH|A F|E 64,700
Ineos Grenadier Steering and Suspension GRA-4E01-007290 17" Steel Wheel 1728 2 651,000
Ineos Grenadier Steering and Suspension GRA-4E01-007310 18" Steel Wheel A 825,100
Ineos Grenadier Steering and Suspension GRA-4E01-038410 18" Steel Wheel = 2,584,100
Ineos Grenadier Steering and Suspension GRA-4E01-038420 18" Steel Wheel S 2,584,100
neos Grenadier Steering and Suspension GRA-4E11-007300 17" Alloy Wheel 1,621,400
neos Grenadier Steering and Suspension GRA-4E11-007320 18" Alloy Wheel 2,109,600
neos Grenadier Steering and Suspension GRA-4E11-007330 18" Alloy Wheel 2,109,600
neos Grenadier Steering and Suspension GRA-4E11-007870 Alloy Wheel Centre Cap 29,000
Ineos Grenadier Transmission and Drive GRA-5000-013500 Harness Plug 5| 52,700
Ineos Grenadier Transmission and Drive GRA-5000-021210 Central Body Cover ME S BiC| HH 301,800
Ineos Grenadier Transmission and Drive GRA-5000-021220 Plug M22x1.5 =211 M22x1.5 44,900
Ineos Grenadier Transmission and Drive GRA-5000-021230 Central Body Gasket ME™ BiC| 7kA3M 69,000
Ineos Grenadier Transmission and Drive GRA-5000-021240 Differential Locking Bracket ClHsE 2 2213 46,200
Ineos Grenadier Transmission and Drive GRA-5000-021250 Breather M10x1 =2|H M10x1 30,600
Ineos Grenadier Transmission and Drive GRA-5000-021370 Wheel Bearing 2 Hoa 532,000
Ineos Grenadier Transmission and Drive GRA-5000-021410 Ring Nut 2 {E 100,000
Ineos Grenadier Transmission and Drive GRA-5000-021420 Pinion Flange oL SEX| 460,000
Ineos Grenadier Transmission and Drive GRA-5000-021430 Thrust Washer AAE QLN 95,700
Ineos Grenadier Transmission and Drive GRA-5000-021440 O-ring fex=) 7,400
Ineos Grenadier Transmission and Drive GRA-5000-021450 Shaft Seal APZE A 194,200
Ineos Grenadier Transmission and Drive GRA-5000-021460 Bearing ojg 208,200
Ineos Grenadier Transmission and Drive GRA-5000-021470 Elastic Spacer AapAEl AHO|A 83,000
Ineos Grenadier Transmission and Drive GRA-5000-021480 Thrust Bearing AP AE H|OjE 198,200
Ineos Grenadier Transmission and Drive GRA-5000-021520 Thrust Bearing AP AE H|OjE 133,600
Ineos Grenadier Transmission and Drive GRA-5000-021640 Differential Housing Cover ClmalMd S22 HH 492,900
Ineos Grenadier Transmission and Drive GRA-5000-021650 Differential Housing ClmHaM S5t 2,319,900
Ineos Grenadier Transmission and Drive GRA-5000-021660 Differential Kit ClHAE 7|E 2,536,700
Ineos Grenadier Transmission and Drive GRA-5000-022370 Differential Drive Plate ClHy Y Eeto|2 S0|E 21,400
Ineos Grenadier Transmission and Drive GRA-5000-022980 Shim 4.50mm & 4.50mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-022990 Shim 4.55mm & 4.55mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023000 Shim 4.60mm &l 4.60mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023010 Shim 4.65mm & 4.65mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023020 Shim 4.70mm & 4.70mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023030 Shim 4.75mm & 4.75mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023040 Shim 4.80mm &l 4.80mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023050 Shim 4.85mm & 4.85mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023060 Shim 4.90mm & 4.90mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023070 Shim 4.95mm & 4.95mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023080 Shim 5.00mm & 5.00mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023090 Shim 5.05mm & 5.05mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023100 Shim 5.10mm & 5.10mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023110 Shim 5.15mm & 5.15mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023120 Shim 5.20mm & 5.20mm 109,600




Ineos Grenadier Transmission and Drive GRA-5000-023130 Shim 5.25mm & 5.25mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023140 Shim 5.30mm & 5.30mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023150 Shim 5.35mm & 5.35mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-023160 Shim 5.40mm &l 5.40mm 109,600
Ineos Grenadier Transmission and Drive GRA-5000-037430 Gearbox Oil (1 Litre) HET[ 2 L(12[H) 86,600
Ineos Grenadier Transmission and Drive GRA-5A00-019620 Gearbox Inspection Cover 7|0{8tA QIAH M F{H] 16,600
Ineos Grenadier Transmission and Drive GRA-5A00-020300 Output Shaft Seal Kit AIE 112,900
Ineos Grenadier Transmission and Drive GRA-5A00-020310 Screw Plug =) 19,900
Ineos Grenadier Transmission and Drive GRA-5A00-020340 Qil Line Plug Kit Yo EYAIIE 44,200
Ineos Grenadier Transmission and Drive GRA-5A00-020480 Mechatronic Seal Kit HZIER2Y A 7|E 852,900
Ineos Grenadier Transmission and Drive GRA-5A00-029150 Heat Shield Bracket S|E AL =2t 65,600
Ineos Grenadier Transmission and Drive GRA-5A00-033210 Gearbox Heat Shield A G E ME 60,500
Ineos Grenadier Transmission and Drive GRA-5A01-019570 Gear Selector Lever EEEE] 898,800
Ineos Grenadier Transmission and Drive GRA-5A02-019580 Gear Selector Lever EEEE] 899,300
Ineos Grenadier Transmission and Drive GRA-5A11-009250 Gearbox Breather A =824 415,500
Ineos Grenadier Transmission and Drive GRA-5A11-049150 Gearbox Breather A =824 415,500
Ineos Grenadier Transmission and Drive GRA-5A12-007960 Automatic Gearbox 57 20,800,700
Ineos Grenadier Transmission and Drive GRA-5A12-043240 Automatic Gearbox EE 20,800,700
Ineos Grenadier Transmission and Drive GRA-5A13-020410 Small Parts Kit X 7|E 208,800
Ineos Grenadier Transmission and Drive GRA-5A13-020440 Torque Converter Kit AHE 7|E 3,940,200
Ineos Grenadier Transmission and Drive GRA-5A13-020450 Torque Converter Seal Kit E3 ZHEH 4 7|E 173,800
Ineos Grenadier Transmission and Drive GRA-5A14-020430 Pump Wiring Harness Kit HI 40|08 S| A 7| E 623,000
Ineos Grenadier Transmission and Drive GRA-5A14-020460 Selector System Kit ABE AAH FIE 1,003,400
Ineos Grenadier Transmission and Drive GRA-5A14-020470 Mechatronic Assembly H7tER2Y ojMEg| 7,474,100
Ineos Grenadier Transmission and Drive GRA-5A14-020490 Pump Kit Ho 7| E 2,764,800
Ineos Grenadier Transmission and Drive GRA-5A14-020500 Pump O-ring Kit HI QY JE 901,900
Ineos Grenadier Transmission and Drive GRA-5A14-044700 Mechatronic Assembly HZtE2Y o Eal 7,474,100
Ineos Grenadier Transmission and Drive GRA-5A21-009260 Gearbox Breather 7|0j8tA 52| 413,100
Ineos Grenadier Transmission and Drive GRA-5A21-049160 Gearbox Breather 7|0f8tA 52| 413,100
Ineos Grenadier Transmission and Drive GRA-5A22-007950 Automatic Gearbox Afs HET 24,155,600
Ineos Grenadier Transmission and Drive GRA-5A22-043250 Automatic Gearbox s HE7] 25,132,000
Ineos Grenadier Transmission and Drive GRA-5A23-020200 Small Parts Kit AZ OHX J|E 122,700
Ineos Grenadier Transmission and Drive GRA-5A23-020320 Torque Converter Kit E3 7iHH 7|E 4,747,100
Ineos Grenadier Transmission and Drive GRA-5A23-020330 Torque Converter Seal Kit E3 ZHE 4 7| E 202,100
Ineos Grenadier Transmission and Drive GRA-5A23-020420 Oil Sump Pan Kit QA NI W IE 707,700
Ineos Grenadier Transmission and Drive GRA-5A24-020350 Oil Sump Pan Kit LT T WIE 668,400
Ineos Grenadier Transmission and Drive GRA-5A24-020360 Selector System Kit A AAH” I|E 1,047,800
Ineos Grenadier Transmission and Drive GRA-5A24-020370 Mechatronic Assembly HFtE2Y o =2 7,447,300
Ineos Grenadier Transmission and Drive GRA-5A24-020380 Pump Kit HIJ|E 2,462,900
Ineos Grenadier Transmission and Drive GRA-5A24-020390 Pump O-ring Kit HI QY JE 840,200
Ineos Grenadier Transmission and Drive GRA-5A24-020400 Pump Wiring Harness Kit HI 90|08 S| A 7| E 1,068,500
Ineos Grenadier Transmission and Drive GRA-5A24-044710 Mechatronic Assembly HZtE2Y o Eal 7,447,300
Ineos Grenadier Transmission and Drive GRA-5C00-019640 Gear Selector Bracket 7|0 g =23l 75,900
Ineos Grenadier Transmission and Drive GRA-5C00-019660 RR Selector Cable Bracket RR H2E #|0]5 223 80,400
Ineos Grenadier Transmission and Drive GRA-5C00-019670 FRT Selector Cable Bracket FRT 828 A0S 223 39,100
Ineos Grenadier Transmission and Drive GRA-5C00-035670 Bowden Cable 224 #Hol& 642,400
Ineos Grenadier Transmission and Drive GRA-5C01-019630 Gear Selector Base 7|0f M2 E H|o|A 1,001,800
Ineos Grenadier Transmission and Drive GRA-5C01-026320 Transfer Box Selector EMAIL BfA Mg 324,800
Ineos Grenadier Transmission and Drive GRA-5C01-026330 Bracket R 75,900
Ineos Grenadier Transmission and Drive GRA-5C01-026340 Bowden Cable 220 #Ho|= 642,400
Ineos Grenadier Transmission and Drive GRA-5C01-026350 Bowden Mounting Plate B0 02 & EY0|E 35,800
Ineos Grenadier Transmission and Drive GRA-5C01-026360 Bowden Bracket B =223 119,600
Ineos Grenadier Transmission and Drive GRA-5C01-032240 Transfer Box Selector EMAL BiA Mg 334,600
Ineos Grenadier Transmission and Drive GRA-5C01-043520 Bowden Cable 224 #Hol& 642,400
Ineos Grenadier Transmission and Drive GRA-5C02-019700 Gear Selector Base 7|0f M2 E H|o|A 1,001,800
Ineos Grenadier Transmission and Drive GRA-5C02-026370 Transfer Box Selector EMAL BiA Mg 324,800
Ineos Grenadier Transmission and Drive GRA-5C02-032250 Transfer Box Selector EMATL BfA HalE 334,600
Ineos Grenadier Transmission and Drive GRA-5C12-019710 Transfer Box Heat Shield EMAL 8tA S| E AT 99,500
Ineos Grenadier Transmission and Drive GRA-5C12-019720 Transfer Box Heat Shield EMAL 8tA S| E MC 87,000
Ineos Grenadier Transmission and Drive GRA-5C12-019730 Transfer Box Assembly E™fAH gA o E2| 14,229,700
Ineos Grenadier Transmission and Drive GRA-5C12-019740 Transfer Box Mount 507,500
Ineos Grenadier Transmission and Drive GRA-5C12-034130 Output Bearing Kit 199,000
Ineos Grenadier Transmission and Drive GRA-5C12-034140 Differential Lock Selector Kit 210,500
Ineos Grenadier Transmission and Drive GRA-5C12-034150 Gear Selector Kit 7|0f MEE| 7| E 200,300
Ineos Grenadier Transmission and Drive GRA-5C12-034160 Magnet Kit oradl 7| E 131,600
Ineos Grenadier Transmission and Drive GRA-5C12-034170 Differential Lock Fork Kit ClH3E §E 23 7|E 398,400
Ineos Grenadier Transmission and Drive GRA-5C12-034180 Transfer Box Seal Kit Ei I HA W 7| E 391,700
Ineos Grenadier Transmission and Drive GRA-5C12-034190 Bearing Shim Kit Hojg A I E 303,600
Ineos Grenadier Transmission and Drive GRA-5C12-034200 Input Shaft Bearing Kit OIF MIE H|0j3 7|E 129,400
Ineos Grenadier Transmission and Drive GRA-5C12-034210 Differential FRT Bearing Kit ClHzE FRT H0{2 7| E 110,100
Ineos Grenadier Transmission and Drive GRA-5C12-034220 Differential RR Bearing Kit ClHAM RR HO]E 7| E 118,200
Ineos Grenadier Transmission and Drive GRA-5C12-034230 Intermediate Shaft Bearing Kit QIE{O|C|Ofl0|E AFZE H|O|Y 7| E 121,400
Ineos Grenadier Transmission and Drive GRA-5C12-034240 Differential Assembly Kit ClHaE of g2 7|1E 3,777,900
Ineos Grenadier Transmission and Drive GRA-5C12-034250 Intermediate Shaft Kit QIE{D|C|Of|0|E AFZE 7| E 1,435,600
Ineos Grenadier Transmission and Drive GRA-5C12-034260 Input Shaft Kit = J|E 1,009,900
Ineos Grenadier Transmission and Drive GRA-5C12-034270 Output Flange Kit SUX| 7| E 727,100
Ineos Grenadier Transmission and Drive GRA-5C12-034280 Housing Assembly Kit deel 7|E 2,040,200
Ineos Grenadier Transmission and Drive GRA-5C12-034290 Housing Cover Kit HH 7| E 1,380,000
Ineos Grenadier Transmission and Drive GRA-5C12-034300 Pump Assembly Kit Hz ojdEe J|E 246,700
Ineos Grenadier Transmission and Drive GRA-5C12-034310 Position Sensor Kit ZXM MM FIE 266,200
Ineos Grenadier Transmission and Drive GRA-5C12-034320 Neutral Lock Kit FEHEJIE 391,000
Ineos Grenadier Transmission and Drive GRA-5C12-034330 Gear Selector Fork Kit 7|0 Mg I3 7| E 223,500
Ineos Grenadier Transmission and Drive GRA-5C12-034340 Ball Detent Kit £ CJHE 7|E 85,700
Ineos Grenadier Transmission and Drive GRA-5C12-034350 Temperature Sensor Kit 25 MM 7|E 158,800
Ineos Grenadier Transmission and Drive GRA-5C12-034360 Oil Deflector Kit LU CEYH IE 74,700
Ineos Grenadier Transmission and Drive GRA-5C12-034410 Plug M14x1.5 211 M14x1.5 10,300
Ineos Grenadier Transmission and Drive GRA-5C12-034420 Differential Lock Lever ClHE 2 2y 132,700
Ineos Grenadier Transmission and Drive GRA-5C12-034430 Oil Deflector 2 C|E3H 33,500
Ineos Grenadier Transmission and Drive GRA-5C12-034440 Differential Spacer Clm 2l e A o|A 92,200
Ineos Grenadier Transmission and Drive GRA-5C12-034450 RR Output Shaft RROIRE AFZE 444,200
Ineos Grenadier Transmission and Drive GRA-5C12-034460 FRT Output Shaft 633,100
Ineos Grenadier Transmission and Drive GRA-5C12-034470 Thrust Washer 102,900
Ineos Grenadier Transmission and Drive GRA-5C12-034480 Input Shaft High Gear 659,500
Ineos Grenadier Transmission and Drive GRA-5C12-034490 Input Shaft Selector Ring 320,300
Ineos Grenadier Transmission and Drive GRA-5C12-034500 Differential Lock Selector Ring 276,100
Ineos Grenadier Transmission and Drive GRA-5C12-034510 Input Shaft Low Gear 651,900
Ineos Grenadier Transmission and Drive GRA-5C12-034520 Input Shaft Bearing 111,300
Ineos Grenadier Transmission and Drive GRA-5C12-034530 Input Shaft Seal 47,600
Ineos Grenadier Transmission and Drive GRA-5C12-034540 Output Shaft Seal 50,000
Ineos Grenadier Transmission and Drive GRA-5C12-034550 Connector = 27,500
Ineos Grenadier Transmission and Drive GRA-5C12-034560 Gear Selector Lever of Ef 116,200
Ineos Grenadier Transmission and Drive GRA-5C12-034570 Gear Selector Rail 7|0] daE Y 218,900
Ineos Grenadier Transmission and Drive GRA-5C12-034580 Gear Selector Spacer 7|0 MalE AH 0N 7,900
Ineos Grenadier Transmission and Drive GRA-5C12-051850 Output Bearing Gasket Kit FEELEEEREEE 131,400
Ineos Grenadier Transmission and Drive GRA-5D00-019750 Propshaft Fixing Kit (2 bolts, 1 shim) OD2HHAIZE GY 7| E 33,500
Ineos Grenadier Transmission and Drive GRA-5D01-026410 FRT Propshaft FRT Z2HHAZE 2,006,000
Ineos Grenadier Transmission and Drive GRA-5D01-033390 FRT Propshaft FRT Z2HHAZE 2,006,000
Ineos Grenadier Transmission and Drive GRA-5D11-010920 RR Propshaft RR ZZHHAIZE 3,347,800
Ineos Grenadier Transmission and Drive GRA-5D11-026420 RR Propshaft RR ZZHAIZE 1,656,400




Ineos Grenadier Transmission and Drive GRA-5D11-030360 RR Propshaft RR Z& E 2,661,500
Ineos Grenadier Transmission and Drive GRA-5D11-033400 RR Propshaft RRZ& E 1,896,200
Ineos Grenadier Transmission and Drive GRA-5D11-033500 RR Propshaft RRZZ E 2,741,300
Ineos Grenadier Transmission and Drive GRA-5D11-043970 RR Propshaft Boot RREZ RE 87,200
Ineos Grenadier Transmission and Drive GRA-5E00-000600 Axle Mounted Control Arm Bush H& O E % 24 132,800
Ineos Grenadier Transmission and Drive GRA-5E00-000610 Electric differential Lock FRHA HE 3,464,400
Ineos Grenadier Transmission and Drive GRA-5E00-002680 Wheel Stud M14x1.5 & AEE M14x1.5 11,600
Ineos Grenadier Transmission and Drive GRA-5E00-006960 FRT Wheel Speed Sensor FRT & AL E M 249,400
Ineos Grenadier Transmission and Drive GRA-5E00-021270 UPR King Pin UPRZ H 213,700
Ineos Grenadier Transmission and Drive GRA-5E00-021280 King Pin Seal ZEY 152,600
Ineos Grenadier Transmission and Drive GRA-5E00-021290 UPR King Pin Bearing UPR Z ® Ho{E 81,900
Ineos Grenadier Transmission and Drive GRA-5E00-021300 ABS Sensor Grommet ABS AN D29 29,500
Ineos Grenadier Transmission and Drive GRA-5E00-021310 LWR King Pin Bearing LWR Z E Hjofd 96,600
Ineos Grenadier Transmission and Drive GRA-5E00-021320 LWR King Pin LWR Z # 203,900
Ineos Grenadier Transmission and Drive GRA-5E00-021340 Double U-joint Seal Ring 0= U-ZQEA 151,000
Ineos Grenadier Transmission and Drive GRA-5E00-021350 Double U-joint Bush O E U-ZQ1E 24 18,300
Ineos Grenadier Transmission and Drive GRA-5E00-021360 Wheel Bearing Circlip 90x4 2 HoE MEE 90x4 15,400
Ineos Grenadier Transmission and Drive GRA-5E00-021390 O-ring 3 7,400
Ineos Grenadier Transmission and Drive GRA-5E00-021500 Crown Wheel and Pinion Kit gt g Y oy 7| E 4,259,100
Ineos Grenadier Transmission and Drive GRA-5E00-021510 Bulkhead EECI=Y 18,100
Ineos Grenadier Transmission and Drive GRA-5E00-021530 Harness Plug st~ E2{a 23,900
Ineos Grenadier Transmission and Drive GRA-5E00-021542 RH Double U-joint Shaft RHOEE U-ZQE AHZE 2,081,300
Ineos Grenadier Transmission and Drive GRA-5E00-021551 LH Double U-joint Shaft LH G U-ZQIE MfZE 1,801,600
Ineos Grenadier Transmission and Drive GRA-5E00-021560 Hub Nut sl HE 205,200
Ineos Grenadier Transmission and Drive GRA-5E00-021570 Hub Nut Cover 55 HE 7d 27,700
Ineos Grenadier Transmission and Drive GRA-5E00-021580 Hub Kit slE 7|E 1,153,800
Ineos Grenadier Transmission and Drive GRA-5E00-021590 Phonic Wheel zZY g 281,900
Ineos Grenadier Transmission and Drive GRA-5E00-021601 LH Brake Cover LH 22f0]3 HH 279,500
Ineos Grenadier Transmission and Drive GRA-5E00-021612 RH Brake Cover RH 280|3 HH 279,500
Ineos Grenadier Transmission and Drive GRA-5E00-044000 E Differential Lock ECIHANE E 3,568,400
Ineos Grenadier Transmission and Drive GRA-5E01-021262 RH Swivel Housing RH 29|5 5123 2,297,100
Ineos Grenadier Transmission and Drive GRA-5E01-021401 LH Swivel Housing LH 298 3123 1,996,900
Ineos Grenadier Transmission and Drive GRA-5E01-037110 FRT Axle Assembly LHD Locked FRT %% 2| LHD & 18,867,600
Ineos Grenadier Transmission and Drive GRA-5E01-037120 FRT Axle Assembly LHD Open FRT %<& 0f 19,625,500
Ineos Grenadier Transmission and Drive GRA-5E01-044810 FRT Axle Assembly LHD Locked FRT %% 18,867,600
Ineos Grenadier Transmission and Drive GRA-5E01-048040 FRT Axle Assembly LHD Open FRT %<& 0f 21,806,100
Ineos Grenadier Transmission and Drive GRA-5E02-021621 LH Swivel Housing LH 298 3123 2,297,800
Ineos Grenadier Transmission and Drive GRA-5E02-021632 RH Swivel Housing RH 29|5 512 2,004,000
Ineos Grenadier Transmission and Drive GRA-5E02-037130 FRT Axle Assembly RHD Locked FRT & O{E2[ RHD &= 18,867,600
Ineos Grenadier Transmission and Drive GRA-5E02-037140 FRT Axle Assembly RHD Open FRT %< | E2[RHD €& 19,625,500
Ineos Grenadier Transmission and Drive GRA-5E02-044820 FRT Axle Assembly RHD Locked FRT < O{E2[RHD =3 18,867,600
Ineos Grenadier Transmission and Drive GRA-5E10-021670 Spacer Kit AHO|M 7| E 783,300
Ineos Grenadier Transmission and Drive GRA-5F00-006860 RR Wheel Speed Sensor RR & 24| A 245,200
Ineos Grenadier Transmission and Drive GRA-5F00-021680 RH Axle Shaft RH & APZE 2,145,200
Ineos Grenadier Transmission and Drive GRA-5F00-021690 LH Axle Shaft LH HE APZE 1,863,100
Ineos Grenadier Transmission and Drive GRA-5F00-021700 Wheel Stud M14x82 & AHLE M14x82 28,600
Ineos Grenadier Transmission and Drive GRA-5F00-021710 Hub Nut sl HE 199,900
Ineos Grenadier Transmission and Drive GRA-5F00-021720 Washer QA 29,500
Ineos Grenadier Transmission and Drive GRA-5F00-021730 Spacer A O|A 52,900
Ineos Grenadier Transmission and Drive GRA-5F00-021740 O-ring 3 14,800
Ineos Grenadier Transmission and Drive GRA-5F00-021750 Wheel Hub RS 1,313,200
Ineos Grenadier Transmission and Drive GRA-5F00-021760 Spacer A O|A 151,000
Ineos Grenadier Transmission and Drive GRA-5F00-021770 O-ring =) 10,300
Ineos Grenadier Transmission and Drive GRA-5F00-021780 Phonic Wheel zZY g 196,500
Ineos Grenadier Transmission and Drive GRA-5F00-021790 Brake Cover EENERL 242,900
Ineos Grenadier Transmission and Drive GRA-5F00-021800 Crown Wheel and Pinion Kit et g Y oL J|IE 4,012,600
Ineos Grenadier Transmission and Drive GRA-5F01-037150 RR Axle Assembly LHD Locked RR A& =2| LHD 5 15,653,300
Ineos Grenadier Transmission and Drive GRA-5F01-037160 RR Axle Assembly LHD Open 16,411,300
Ineos Grenadier Transmission and Drive GRA-5F01-044830 RR Axle Assembly LHD Locked e 15,653,300
Ineos Grenadier Transmission and Drive GRA-5F02-037170 RR Axle Assembly RHD Locked d=2[ RHD &3 15,653,300
Ineos Grenadier Transmission and Drive GRA-5F02-037180 RR Axle Assembly RHD Open d=2[ RHD €& 16,411,300
Ineos Grenadier Transmission and Drive GRA-5F02-044840 RR Axle Assembly RHD Locked d=2[ RHD &3 15,653,300
Ineos Grenadier Brakes GRA-6A00-007060 Brake Pedal Pad ER g 62,900
Ineos Grenadier Brakes GRA-6A00-007120 Brake Pedal Pad ER g 63,500
Ineos Grenadier Brakes GRA-6A00-020010 Brake Light Switch 5 29K 82,200
Ineos Grenadier Brakes GRA-6A00-020690 Caliper Guide Pin Cap Kit ojE T FE 39,100
Ineos Grenadier Brakes GRA-6A00-030970 Brake Pedal Bush ER ! 55,700
Ineos Grenadier Brakes GRA-6A01-007020 Brake Pedal Box E 732,600
Ineos Grenadier Brakes GRA-6A01-012890 Brake Pedal Box 3 A 935,200
Ineos Grenadier Brakes GRA-6A01-033330 Brake Pedal Box ER 963,300
Ineos Grenadier Brakes GRA-6A02-007030 Brake Pedal Box 3 A 732,600
Ineos Grenadier Brakes GRA-6A02-012900 Brake Pedal Box E 935,200
Ineos Grenadier Brakes GRA-6A02-033340 Brake Pedal Box ER 963,300
Ineos Grenadier Brakes GRA-6A20-007070 Brake Booster Seal 3 2AH A 7,900
Ineos Grenadier Brakes GRA-6A20-007110 Brake Fluid Reservoir Cap =ejo|3H 2| X W 11,200
Ineos Grenadier Brakes GRA-6A20-020240 Master Cylinder Seal Kit OfAE M2l 8 7| 21,700
Ineos Grenadier Brakes GRA-6A20-020250 Reservoir Grommet Kit 2|y 129 7| E 11,400
Ineos Grenadier Brakes GRA-6A20-020260 Reservoir Screw 2| K A3 Z 30,400
Ineos Grenadier Brakes GRA-6A20-020270 Brake Fluid Level Sensor =203 2fi'H M 57,400
Ineos Grenadier Brakes GRA-6A20-020280 Vacuum Grommet g 1=g 13,000
Ineos Grenadier Brakes GRA-6A20-020720 Brake Booster Kit 220|132 £AH 7|E 985,800
Ineos Grenadier Brakes GRA-6A20-028580 Booster Dash Panel BAH CHA| Df4 223,100
Ineos Grenadier Brakes GRA-6A21-020730 Master Cylinder Kit OrAH HEH 7|E 626,700
Ineos Grenadier Brakes GRA-6A21-020740 Brake Reservoir Kit =203 2|NH 7| E 240,700
Ineos Grenadier Brakes GRA-6A22-020700 Master Cylinder Kit OrAH HEH 7|E 626,700
Ineos Grenadier Brakes GRA-6A22-020710 Brake Reservoir Kit =203 2|NH 7| E 249,200
Ineos Grenadier Brakes GRA-6A30-009080 Brake Control Module Hgjo|3 X|of 2 & 3,707,900
Ineos Grenadier Brakes GRA-6A30-041640 ABS Modulator Dry ABS 2 E2{|0|H E2t0| 3,707,900
Ineos Grenadier Brakes GRA-6A30-043530 ESP Module 9.3 Filled ESP 2593 EE 3,469,100
Ineos Grenadier Brakes GRA-6A30-044950 ESP Module 9.3 Filled ESP 2593 EE 3,469,100
Ineos Grenadier Brakes GRA-6A31-000340 ESC Bracket ESC =2t 413,800
Ineos Grenadier Brakes GRA-6A32-021120 Brake Control Module Bracket =ao|a Hoj & =3l 413,300
Ineos Grenadier Brakes GRA-6A40-006670 RH FRT Brake Hose RHFRT 220|354 531,400
Ineos Grenadier Brakes GRA-6A40-006680 LH FRT Brake Hose LH FRT 22f0[3 A 529,900
Ineos Grenadier Brakes GRA-6A40-022491 LH FRT Brake Hose LH FRT 22{0[3 A 389,900
Ineos Grenadier Brakes GRA-6A40-022512 RH FRT Brake Hose RHFRT 220|354 391,000
Ineos Grenadier Brakes GRA-6A41-020021 LH FRT Brake Line LH FRT 22{0|3 2tol 584,800
Ineos Grenadier Brakes GRA-6A41-020032 RH FRT Brake Line RH FRT 22|0|3 2tol 544,400
Ineos Grenadier Brakes GRA-6A41-020040 Master Cylinder Brake Line OpAE M2lH =3o|3 2tel 701,900
Ineos Grenadier Brakes GRA-6A41-020050 Master Cylinder Brake Line OpAE M2lH =3o|3 2tel 687,000
Ineos Grenadier Brakes GRA-6A42-020062 RH FRT Brake Line RH FRT 22|0|3 2tol 591,900
Ineos Grenadier Brakes GRA-6A42-020071 LH FRT Brake Line LH FRT 22f0|3 2tol 515,500
Ineos Grenadier Brakes GRA-6A42-020080 Master Cylinder Brake Line OpAE M2iH =3o|3 2tel 730,900
Ineos Grenadier Brakes GRA-6A42-020090 Master Cylinder Brake Line OpAE M2lH =3o|3 2tel 700,800
Ineos Grenadier Brakes GRA-6A43-020100 Brake Line =ajo|3 2t9l 1,247,700
Ineos Grenadier Brakes GRA-6A43-020110 Brake Line =ajo|3a 2t9l 1,333,500
Ineos Grenadier Brakes GRA-6A44-020120 Brake Line =zjo|3 2tol 1,237,400
Ineos Grenadier Brakes GRA-6A44-020130 Brake Line =ajo|3 2t9l 1,302,100




Ineos Grenadier Brakes GRA-6A45-008180 Brake Vacuum Hose 20|32 TZ A 259,600
Ineos Grenadier Brakes GRA-6A45-008190 Brake Vacuum Hose 20|32 TZ A 313,400
Ineos Grenadier Brakes GRA-6A46-008200 Brake Vacuum Hose 20|32 TZ A 211,400
Ineos Grenadier Brakes GRA-6A46-008210 Brake Vacuum Hose 20|32 TZ A 294,300
Ineos Grenadier Brakes GRA-6A50-000350 Brake Hose Bracket 2a0|3 54 2213 65,200
Ineos Grenadier Brakes GRA-6A50-006690 RH RR Brake Hose RHRR 220|3 A 729,500
Ineos Grenadier Brakes GRA-6A50-006700 LH RR Brake Hose LHRR 22{0[3 54 669,300
Ineos Grenadier Brakes GRA-6A50-022501 LH RR Brake Hose LHRR 22{0[3 54 492,400
Ineos Grenadier Brakes GRA-6A50-022522 RH RR Brake Hose RHRR 220|3 A& 536,700
Ineos Grenadier Brakes GRA-6A51-000750 Brake Disc Hgjo|3 cjA3 469,800
Ineos Grenadier Brakes GRA-6A51-039150 Brake Line =ajo|3 2kl 193,200
Ineos Grenadier Brakes GRA-6A51-039160 Brake line =ajo|3a 2kl 361,200
Ineos Grenadier Brakes GRA-6A52-000760 Brake Disc Hgjjo|3 cjAa3 357,500
Ineos Grenadier Brakes GRA-6A52-039170 Brake Line =ajo|3 2kl 197,300
Ineos Grenadier Brakes GRA-6A52-039180 Brake Line =ajo|3a 2kl 324,200
Ineos Grenadier Brakes GRA-6A52-039190 Clip 28 5,000
Ineos Grenadier Brakes GRA-6A60-020160 Backpressure Valve I e 48,400
Ineos Grenadier Brakes GRA-6A60-020170 Filter ZH 68,100
Ineos Grenadier Brakes GRA-6A61-032280 Brake Vacuum Hose 20|32 TZ A 262,100
Ineos Grenadier Brakes GRA-6A61-049170 Brake Vacuum Hose 20|32 TZ A 259,600
Ineos Grenadier Brakes GRA-6A61-049180 Brake Vacuum Hose Hy0|3 TS sA 262,100
Ineos Grenadier Brakes GRA-6A62-030470 Brake Vacuum Hose Hy0|3 TS sA 509,300
Ineos Grenadier Brakes GRA-6A62-030480 Brake Vacuum Hose Hy0|3 FE sA 326,800
Ineos Grenadier Brakes GRA-6A62-033200 Brake Vacuum Hose Hy0|3 TS sA 524,600
Ineos Grenadier Brakes GRA-6A62-049190 Brake Vacuum Hose Hy0|3 TS sA 524,600
Ineos Grenadier Brakes GRA-6A62-049200 Brake Vacuum Hose Hy0|3 FE sA 326,800
Ineos Grenadier Brakes GRA-6A70-020200 Caliper Bleed Screw Kit oM 22|E A3 Z F|E 44,200
Ineos Grenadier Brakes GRA-6A70-021140 FRT Brake Carrier Kit FRT 28|0|3 7§2|0f 7|E 263,400
Ineos Grenadier Brakes GRA-6A70-021150 Guide Pin Kit JtolE T 7 |E 122,000
Ineos Grenadier Brakes GRA-6A70-021160 Brake Pad Spring Kit 203 E AT J|E 30,400
Ineos Grenadier Brakes GRA-6A70-021170 FRT Brake Pad Kit FRT E20|3 E 7|E 636,500
Ineos Grenadier Brakes GRA-6A70-021180 Dust Boot and Piston Seal Kit CAE HE QI OAE 4 F|E 58,500
Ineos Grenadier Brakes GRA-6A70-021190 Sensor Connector Securing Bracket MM 4 E A|FOojE 223l 24,200
Ineos Grenadier Brakes GRA-6A71-021131 LH FRT Brake Caliper LH FRT 22{0|3 Za|H 764,100
Ineos Grenadier Brakes GRA-6A72-021202 RH FRT Brake Caliper RH FRT E2{0|3 Za|{ 759,900
Ineos Grenadier Brakes GRA-6A80-020220 RR Brake Carrier Kit RR 220|323 742]|0] 7|E 222,000
Ineos Grenadier Brakes GRA-6A80-020670 RR Brake Pad Kit RR EZ 0| WE 7|E 376,500
Ineos Grenadier Brakes GRA-6A81-020661 LH RR Brake Caliper LHRR 22j|0|3 Za|H 1,019,700
Ineos Grenadier Brakes GRA-6A82-020682 RH RR Brake Caliper RHRR E20|2 22|y 1,022,100
Ineos Grenadier Brakes GRA-6B00-010640 Handbrake Cable Set sHeego]3 Hols NE 412,200
Ineos Grenadier Brakes GRA-6B00-043261 RR LH Handbrake Cable Bracket RRLH $i==20[3 # 0| 23 64,200
Ineos Grenadier Brakes GRA-6B00-043270 RR Handbrake Bowden Cable RR¥CE0[3 2d Ho|5 369,600
Ineos Grenadier Brakes GRA-6B00-043282 RR RH Handbrake Cable Bracket RRRH MEER 0|2 #Ho|5 a3l 63,000
Ineos Grenadier Brakes GRA-6B00-051660 Handbrake Lever Ring EECEENEEEE] 45,000
Ineos Grenadier Brakes GRA-6B01-007410 Handbrake Lever sHE =203 2y 708,500
Ineos Grenadier Brakes GRA-6B01-021850 Handbrake Lever (Saddle) sHeeg oA 2 (MS) 755,000
Ineos Grenadier Brakes GRA-6B01-028160 Handbrake Lever Gaiter SHE =203 2fl A 0|E 253,600
Ineos Grenadier Brakes GRA-6B01-044950 Handbrake Lever Assembly HE 20| 2t (S3) 837,000
Ineos Grenadier Brakes GRA-6B01-044960 Handbrake Lever Assembly =203 2t (S3) 883,600
Ineos Grenadier Brakes GRA-6B01-046770 Handbrake Lever Assembly (Black) EEEEEEEEE 991,200
Ineos Grenadier Brakes GRA-6B01-046790 Handbrake Lever Assembly (Brown) ENEE EIEEEEIEE] 991,200
Ineos Grenadier Brakes GRA-6B01-049940 Handbrake Lever Assembly Heeg oA 2l (S3) 991,200
Ineos Grenadier Brakes GRA-6B02-007420 Handbrake Lever SHE =203 2y 716,800
Ineos Grenadier Brakes GRA-6B02-021880 Handbrake Lever (Saddle) Heego|d g (MS) 1,526,900
Ineos Grenadier Brakes GRA-6B02-026970 Handbrake Lever Gaiter SHE =203 2fl A 0|E 253,600
Ineos Grenadier Brakes GRA-6B02-044970 Handbrake Lever Assembly HE 20| 2t (S3) 845,400
Ineos Grenadier Brakes GRA-6B02-044980 Handbrake Lever Assembly HE 20| 2t (S3) 892,100
Ineos Grenadier Brakes GRA-6B02-046780 Handbrake Lever Assembly (Black) HE B20[3 et oI Ee[(FAEM) 991,200
Ineos Grenadier Brakes GRA-6B02-046800 Handbrake Lever Assembly (Brown) e E2]0[3 2fH of = 2[(Z A 991,200
Ineos Grenadier Brakes GRA-6B02-049950 Handbrake Lever Assembly Heeg oA 2l (S3) 991,200
Ineos Grenadier Body GRA-7000-005910 Utility Rail SE2|E| 3 29,900
Ineos Grenadier Body GRA-7000-005920 Body Side Mounting Plate HEC| AtO|E Or2 8 220/ E 182,100
Ineos Grenadier Body GRA-7000-006070 Body Side Trim Panel HIC| AbO|E E- i Y 127,800
Ineos Grenadier Body GRA-7000-010020 Body Side Trim Panel HIC| AbO|E E- i Y 130,800
Ineos Grenadier Body GRA-7000-010110 Lashing Eye 2|4l O}0 29,000
Ineos Grenadier Body GRA-7000-022091 Grab Handle Bracket LHIM S5 = 104,200
Ineos Grenadier Body GRA-7000-022101 Grab Handle Cap LH UPR 13 i 23,300
Ineos Grenadier Body GRA-7000-022111 Grab Handle Cap LH UPR 13 23,300
Ineos Grenadier Body GRA-7000-022260 INR C-pillar Bracket INR C-Z2{ & 30,400
Ineos Grenadier Body GRA-7000-022440 Plug 30 =23 3 356,000
Ineos Grenadier Body GRA-7000-022450 Sill Moulding Reinforcement A Ed ez 246,900
Ineos Grenadier Body GRA-7000-022530 A-pillar Grab Handle A-Ze 1y 250,700
Ineos Grenadier Body GRA-7000-023550 Lashing Eye 2|4l oo| 57,800
Ineos Grenadier Body GRA-7000-032470 Water Drain SUE 220l 93,600
Ineos Grenadier Body GRA-7000-034400 Water Drain SUE =20l 133,200
Ineos Grenadier Body GRA-7000-034910 Body Side Mounting Plate HEC| AFO|E OHR €l S20|E 96,000
Ineos Grenadier Body GRA-7000-035820 OTR B-pillar Reinforcement LHOTRB-Z2{ 2l ZARHE 165,900
Ineos Grenadier Body GRA-7000-039260 UPR INR C-pillar Baffle UPR INR C-Z 2] Hf 9,200
Ineos Grenadier Body GRA-7000-039701 Bodyside Trim HEC|AMO|E E 67,200
Ineos Grenadier Body GRA-7000-050080 A-pillar Grab Handle A-Ze Jy 250,700
Ineos Grenadier Body GRA-7000-050090 Grab Handle Cap LHUPR 13 $HE 2 23,300
Ineos Grenadier Body GRA-7000-050100 Grab Handle Cap LHUPR 13 $HE 2 23,300
Ineos Grenadier Body GRA-7A01-000010 FRT Bumper CTR Segment FRT 81 CTR IHE 1,226,200
Ineos Grenadier Body GRA-7A01-000021 FRT Bumper LH Segment FRT H1{ LH M OIHE 1,426,900
Ineos Grenadier Body GRA-7A01-000032 FRT Bumper RH Segment FRT I RH M IHE 1,426,900
Ineos Grenadier Body GRA-7A01-000040 FRT Bumper Mesh FRT B of 192,100
Ineos Grenadier Body GRA-7A01-000050 FRT Bumper Mesh FRT B of 149,000
Ineos Grenadier Body GRA-7A01-000060 FRT Bumper Reinforcement FRT B 2|QIZARHE 225,500
Ineos Grenadier Body GRA-7A01-000070 FRT Bumper Reinforcement FRT B 2|QIZARHE 92,400
Ineos Grenadier Body GRA-7A01-000080 FRT Bumper Assembly FRT E1{ { =2 3,694,600
Ineos Grenadier Body GRA-7A01-000090 FRT Bumper Assembly FRT E1{ (=2 3,800,800
Ineos Grenadier Body GRA-7A01-000111 LH Bull Bar Cover LH & Hf 74 100,700
Ineos Grenadier Body GRA-7A01-000122 RH Bull Bar Cover RH £ Hf At 100,700
Ineos Grenadier Body GRA-7A01-000200 FRT Bumper CTR Segment FRT 81 CTR [IHE 1,291,800
Ineos Grenadier Body GRA-7A01-000211 FRT Bumper LH Segment FRT H1{ LH M OIHE 1,470,900
Ineos Grenadier Body GRA-7A01-000222 FRT Bumper RH Segment FRT HI{ RH OB E 1,470,900
Ineos Grenadier Body GRA-7A01-000230 PDC Sensor Housing PDC 4N &t 33,500
Ineos Grenadier Body GRA-7A01-000240 PDC Sensor Housing PDC 4N &t 33,500
Ineos Grenadier Body GRA-7A01-000261 LH Closure Panel LH kel 129,800
Ineos Grenadier Body GRA-7A01-000272 RH Closure Panel RH oNog 145,900
Ineos Grenadier Body GRA-7A01-000301 LH INR Air Duct LHINR 0|0 HE 160,200
Ineos Grenadier Body GRA-7A01-000312 RH INR Air Duct RH INR HE 160,200
Ineos Grenadier Body GRA-7A01-000321 LH OTR Air Duct LHOTR O §E 204,800
Ineos Grenadier Body GRA-7A01-000332 RH OTR Air Duct RHOTR 0jj0] HE 204,800
Ineos Grenadier Body GRA-7A01-000850 FRT Bumper Assembly FRT & Oj i E2| 5,358,600
Ineos Grenadier Body GRA-7A01-000860 FRT Bumper Assembly FRT & OjdE2| 4,845,400
Ineos Grenadier Body GRA-7A01-000870 FRT Bumper CTR Segment FRT Y CTR MAHE 2,076,400
Ineos Grenadier Body GRA-7A01-000880 FRT Bumper CTR Segment FRT Y CTR MO E 2,141,300
Ineos Grenadier Body GRA-7A01-000890 FRT Bumper Reinforcement FRT 8 2|QZAHE 258,800




Ineos Grenadier Body GRA-7A01-000900 FRT Bumper Winch Cover FRT HI{ 21X 465,600
Ineos Grenadier Body GRA-7A01-000920 FRT Bumper Mesh FRT B of 126,700
Ineos Grenadier Body GRA-7A01-001850 INR Parking Sensor Bracket INRI}Z A =223 12,300
Ineos Grenadier Body GRA-7A01-001860 OTR Parking Sensor Bracket OTR I+ 4IM B3 12,300
Ineos Grenadier Body GRA-7A01-005500 FRT Bumper CTR Cover FRT HI CTR ] 741,100
Ineos Grenadier Body GRA-7A01-005612 FRT Bumper RH Segment FRT Y RH M| IHE 1,392,600
Ineos Grenadier Body GRA-7A01-005621 LH Bull Bar Cover LH & Ht AHH 33,300
Ineos Grenadier Body GRA-7A01-005632 RH Bull Bar Cover RH £ Hf At 33,300
Ineos Grenadier Body GRA-7A01-006480 Cable Guide Mouth #0|& 7I0|E O A 684,700
Ineos Grenadier Body GRA-7A01-008150 FRT Bumper CTR Segment FRT Y CTR MO E 1,206,800
Ineos Grenadier Body GRA-7A01-019261 LH Closure Panel Bracket LH 22X 1jd =23 75,000
Ineos Grenadier Body GRA-7A01-019271 LH Adapter Bracket LH O{HEf Eap3l 31,700
Ineos Grenadier Body GRA-7A01-019282 RH Closure Panel Bracket RHEZ2X 1jd =231 75,000
Ineos Grenadier Body GRA-7A01-019292 RH Adapter Bracket RH O{&E 223 31,700
Ineos Grenadier Body GRA-7A01-019310 CTR Support Foam CTRMIE & 50,900
Ineos Grenadier Body GRA-7A01-020830 FRT Bumper Winch Cover FRT HI{ fIX| A 416,400
Ineos Grenadier Body GRA-7A01-021890 FRT Bumper CTR Mesh FRT HH CTR 0% 349,100
Ineos Grenadier Body GRA-7A01-021901 FRT Bumper LH Mesh FRT HI{ LH 03] 206,300
Ineos Grenadier Body GRA-7A01-021912 FRT Bumper RH Mesh FRT HIH RH 0% 206,300
Ineos Grenadier Body GRA-7A01-021920 FRT Bumper CTR Cover with PDC PDC7t 0= FRT 81 CTR #{H] 976,200
Ineos Grenadier Body GRA-7A01-021942 FRT Bumper RH Segment FRT Y RH M| OHE 1,392,600
Ineos Grenadier Body GRA-7A01-021950 FRT Bumper CTR Segment FRT Y CTR MO E 858,900
Ineos Grenadier Body GRA-7A01-021961 FRT Bumper LH Segment FRT HI{ LH MOHE 1,378,600
Ineos Grenadier Body GRA-7A01-021990 FRT Bumper CTR Mesh FRT HIH CTR 0% 335,700
Ineos Grenadier Body GRA-7A01-022001 FRT Bumper LH Segment FRT HI{ LH MOHE 1,619,900
Ineos Grenadier Body GRA-7A01-030290 FRT Bumper Assembly FRT B 4,983,600
Ineos Grenadier Body GRA-7A01-030300 FRT Bumper Assembly FRT B 4,389,700
Ineos Grenadier Body GRA-7A02-005950 FRT Skid Plate FRT 27|E 773,400
Ineos Grenadier Body GRA-7A02-005960 FRT Skid Plate Grille FRT 27| E 23 259,900
Ineos Grenadier Body GRA-7A02-053160 FRT Skid Plate FRT &7|E £ 773,400
Ineos Grenadier Body GRA-7A03-022010 Hingeable Licence Plate SIX|A gt 276,200
Ineos Grenadier Body GRA-7A11-003070 Wireless Hand Controller M e HEER 769,500
Ineos Grenadier Body GRA-7A11-011160 M8 Nut Cover M8 HE HH 59,200
Ineos Grenadier Body GRA-7A11-019490 Control Unit Bracket Mol g% 223 348,100
Ineos Grenadier Body GRA-7A11-019690 Spacer A O|A 120,500
Ineos Grenadier Body GRA-7A11-022480 Cable Guide Mouth #0|& 7I0|E O A 684,700
Ineos Grenadier Body GRA-7A11-029880 Integrated Winch £t 21X 10,556,700
Ineos Grenadier Body GRA-7A11-029890 Winch Rope X =2z 957,800
Ineos Grenadier Body GRA-7A11-032070 Control Unit Bracket Mol g4 223 467,500
Ineos Grenadier Body GRA-7A11-032550 Plasma Lock Zet=0 S 89,000
Ineos Grenadier Body GRA-7A21-000430 Front Grille UPR Cover IZZ2E 0% UPR A H 196,000
Ineos Grenadier Body GRA-7A21-000440 Front Grille LWR Cover IZ2E JZ LWRAHHY 122,900
Ineos Grenadier Body GRA-7A21-000451 LH Auxiliary Light Cover LH X 20| E HH 79,500
Ineos Grenadier Body GRA-7A21-000462 RH Auxiliary Light Cover RH 22X 20| E 78 79,500
Ineos Grenadier Body GRA-7A21-000480 Front Grille Mesh ZEE 2204 347,300
Ineos Grenadier Body GRA-7A21-000490 Front Grille Frame Z2E 18 =y 1,804,700
Ineos Grenadier Body GRA-7A21-000840 Front Grille Z2E 1% 1,555,400
Ineos Grenadier Body GRA-7A21-004730 Clossure Panel 228 14 239,800
Ineos Grenadier Body GRA-7A21-022020 Grille Mounted Working Lamp 2 ORE[E 97 ¥z 696,100
Ineos Grenadier Body GRA-7A21-022031 LH Wing Foam Block IHE EES 379,200
Ineos Grenadier Body GRA-7A21-035290 FRT Crossmember FRT A2AHH 205,400
Ineos Grenadier Body GRA-7A22-000371 LH Headlamp Cover LH S EZ HY 97,500
Ineos Grenadier Body GRA-7A22-001611 LH Headlamp Panel LH ST af g 563,400
Ineos Grenadier Body GRA-7A23-000382 RH Headlamp Cover RHBIEHI Hi 97,500
Ineos Grenadier Body GRA-7A23-001622 RH Headlamp Panel RHSIEHZ o d 563,400
Ineos Grenadier Body GRA-7A40-006550 UPR Wing Foam Block UPR =5 10,700
Ineos Grenadier Body GRA-7A40-006560 LWR Wing Foam Block LWR =5 11,500
Ineos Grenadier Body GRA-7A40-030830 LWR Wing Foam Block LWR =5 11,900
Ineos Grenadier Body GRA-7A40-030840 UPR Wing Foam Block UPR =5 11,000
Ineos Grenadier Body GRA-7A40-051580 UPR Wing Foam Sealing Strip UPRE EAY 2EY 11,000
Ineos Grenadier Body GRA-7A40-051590 LWR Wing Foam Sealing Strip LWR g & 82 AEY 11,900
Ineos Grenadier Body GRA-7A41-005181 LH UPR Wing Panel Bracket LHUPR € Ifd =2tz 541,400
Ineos Grenadier Body GRA-7A41-005771 FRT LH Wheel Arch Trim FRTLH & OfX| E] 201,700
Ineos Grenadier Body GRA-7A41-005840 Side Indicator Trim Cover AFO|E QIC|H|O|Ef E2l HHY 232,000
Ineos Grenadier Body GRA-7A41-010011 LH FRT Wing Panel LHFRT @ 1f4 2,172,400
Ineos Grenadier Body GRA-7A41-018001 LH Headlamp Mounting Panel LHs|EMZ o2 8l af g 259,000
Ineos Grenadier Body GRA-7A41-019021 LH Wing Bracket LH g =23 129,200
Ineos Grenadier Body GRA-7A41-019030 INEOS Badge INEOS HiX| 114,000
Ineos Grenadier Body GRA-7A41-035741 LH UPR Shotgun Reinforcement LHUPR &7 2[RI ZARHE 146,200
Ineos Grenadier Body GRA-7A41-035761 LH MID Shotgun Reinforcement LHMID &2 2fQIZAHE 149,800
Ineos Grenadier Body GRA-7A41-035781 LH LWR Shotgun Reinforcement LHLWR &7 2[QIZABE 144,800
Ineos Grenadier Body GRA-7A41-041730 Side Indicator Trim Cover AFO|E QIC|#H|O|E E2l HH 483,500
Ineos Grenadier Body GRA-7A42-005192 RH UPR Wing Panel Bracket RHUPR € g 22i3l 541,400
Ineos Grenadier Body GRA-7A42-005792 FRT RH Wheel Arch Trim FRTRH & OtX| E8 201,700
Ineos Grenadier Body GRA-7A42-006250 Side Air Intake Grille AMO|E 0j0f QlEf|o]3 O & 149,700
Ineos Grenadier Body GRA-7A42-008312 RH FRT Wing Panel RHFRT g g 2,172,400
Ineos Grenadier Body GRA-7A42-018012 RH Headlamp Mounting Panel RHSIEMD Or2E 1fd 259,000
Ineos Grenadier Body GRA-7A42-018832 National Flag Badge UK 3 27| HiX 31,200
Ineos Grenadier Body GRA-7A42-018860 National Flag Badge UK 3 27| HiX 244,100
Ineos Grenadier Body GRA-7A42-019052 RH Wing Bracket RH & =223l 129,200
Ineos Grenadier Body GRA-7A42-022052 RH Wing Foam Block RH & ZBE 379,200
Ineos Grenadier Body GRA-7A42-022772 RH Fender Air Intake Grille RH H 0fof elgjoj2 O 262,800
Ineos Grenadier Body GRA-7A42-028982 National Flag Plague - UK LMD Zg1 2213 - UK 219,700
Ineos Grenadier Body GRA-7A42-028992 Side Air Intake Grille AMO|E 0|0f QlEf|o]3 O & 244,100
Ineos Grenadier Body GRA-7A42-035752 RH UPR Shotgun Reinforcement RH UPR 41 2[QIZAHE 146,200
Ineos Grenadier Body GRA-7A42-035772 RH MID Shotgun Reinforcement RHMID 471 2[QIZAHE 149,800
Ineos Grenadier Body GRA-7A42-035792 RH LWR Shotgun Reinforcement RHLWR 2 2[QIZABE 144,800
Ineos Grenadier Body GRA-7A42-041750 Side Air Intake Grille AFO|E 0j|0f QlEf|o]3 O & 244,100
Ineos Grenadier Body GRA-7A51-009830 Raised Air Intake glo|=E of|of QlE0|3 1,182,100
Ineos Grenadier Body GRA-7A51-018250 UPR Bracket UPR 2221 116,500
Ineos Grenadier Body GRA-7A51-018260 LWR Bracket LWR E2t3 116,500
Ineos Grenadier Body GRA-7A51-019060 UPR Raised Air Intake UPR 37| ¢ 996,300
Ineos Grenadier Body GRA-7A51-041460 Raised Air Intake (ANZ) 37| SYT(ANZ) 945,400
Ineos Grenadier Body GRA-7A61-030460 Nose Wrap xR 1,362,000
Ineos Grenadier Body GRA-7B00-023950 Bulkhead Acoustic Treatment WIS E | RAE EREHE 505,000
Ineos Grenadier Body GRA-7B01-009160 Seal Cap 4y 90,800
Ineos Grenadier Body GRA-7B01-019070 Windscreen Metal Badge eA3 2 oE Bix| 110,500
Ineos Grenadier Body GRA-7B01-019080 Inner Bulkhead Insulation O|L{ 3| = l&ao]M 468,200
Ineos Grenadier Body GRA-7B01-019100 Accelerator Module Bracket Aol BE 22t 117,600
Ineos Grenadier Body GRA-7B01-029920 Badge B X| 66,700
Ineos Grenadier Body GRA-7B01-029930 Badge Windscreen (Trialmaster) HiX| EAT 2N (Eato| Y0tAE) 66,700
Ineos Grenadier Body GRA-7B01-029940 Badge Windscreen (Fieldmaster) HiX| lEAT 2 (ZEOIAH) 66,700
Ineos Grenadier Body GRA-7B01-030750 Inner Bulkhead Insulation 0|l #W3s| = l&a|o]M 738,600
Ineos Grenadier Body GRA-7B02-009170 Seal Cap 4y 90,800
Ineos Grenadier Body GRA-7B02-024110 Accelerator Module Bracket A0l 2E 22t 133,100
Ineos Grenadier Body GRA-7B02-024120 Inner Bulkhead Insulation 0|l 3| = &0l M 468,200
Ineos Grenadier Body GRA-7B02-030760 Inner Bulkhead Insulation 0|l #3s|| = &0l M 738,600




Ineos Grenadier Body GRA-7B04-010180 CTR Bulkhead Heatshield CTR 233 E 3|E A= 124,100
Ineos Grenadier Body GRA-7B04-010911 LH Bulkhead Heat Shield NEEEEEE S 499,200
Ineos Grenadier Body GRA-7B04-021112 RH Bulkhead Heat Shield RH 2338]C 3|E AT 404,500
Ineos Grenadier Body GRA-7B04-033692 RH Bulkhead Heat Shield RH 2338]C 3|E AT 416,700
Ineos Grenadier Body GRA-7B10-008600 Cowl Seal e 152,500
Ineos Grenadier Body GRA-7B10-008930 Cowl Cover 51 7 111,100
Ineos Grenadier Body GRA-7B10-008940 Cowl Cover Cap HEEEED 13,000
Ineos Grenadier Body GRA-7B10-011220 Cowl Seal e 366,500
Ineos Grenadier Body GRA-7B10-019131 LH Water Drain Hose REEEEREES 108,500
Ineos Grenadier Body GRA-7B10-019140 Water Drain Hose Clamp QE E2fol A 2UT 5,300
Ineos Grenadier Body GRA-7B10-019152 RH Water Drain Hose RHQIE[ E3ol s & 108,500
Ineos Grenadier Body GRA-7B10-019162 RH Fixing Plate RH Z4l Z30[= 15,400
Ineos Grenadier Body GRA-7B10-019171 LH Fixing Plate LHTA Z3o/E 15,400
Ineos Grenadier Body GRA-7B10-029500 Cowl Cover HEEE 177,600
Ineos Grenadier Body GRA-7B10-030102 RH Fixing Plate RH T4 Z30|E 35,800
Ineos Grenadier Body GRA-7B10-030111 LH Fixing Plate LHTA Z3o/E 35,800
Ineos Grenadier Body GRA-7B10-030870 Drainage Rib LHD Z#[0|L[x| & LHD 24,600
Ineos Grenadier Body GRA-7B10-034791 LH Side Cowl Cover LH APO|E 7} 98,000
Ineos Grenadier Body GRA-7B10-034802 RH Side Cowl Cover RH APO|E 712 7{Hf 98,000
Ineos Grenadier Body GRA-7B10-035961 LH Cowl Side Cover %1% 712 APOJE A 108,800
Ineos Grenadier Body GRA-7B10-035972 RH Cowl Side Cover S= 512 AIO|E A 108,800
Ineos Grenadier Body GRA-7B10-035990 RR Cowl Cover Seal RRIIE 78 A 261,600
Ineos Grenadier Body GRA-7B10-036000 FRT Cowl Cover Seal FRT 7+ 7{H] & 261,600
Ineos Grenadier Body GRA-7B10-036011 LH Water Drain MEEEER 181,600
Ineos Grenadier Body GRA-7B10-036020 CTR Water Drain CTR 9E E2f2I 217,300
Ineos Grenadier Body GRA-7B10-043440 Cowl Cover HEEE 182,900
Ineos Grenadier Body GRA-7B10-045470 Cowl Cover Seal HEEEES 58,200
Ineos Grenadier Body GRA-7B10-045480 Cowl Cover Cap HEEEED 17,500
Ineos Grenadier Body GRA-7B10-045500 Foam Strip EPN 1,500
Ineos Grenadier Body GRA-7B11-008750 CTR Water Drain CTR 9E £ 2l 210,900
Ineos Grenadier Body GRA-7B11-008762 RH Water Drain RH 9JE| =32l 183,600
Ineos Grenadier Body GRA-7B11-008771 LH Water Drain NEEEER 176,300
Ineos Grenadier Body GRA-7B11-019202 RH Air Intake RH 0f[0f QIE]0[= 62,200
Ineos Grenadier Body GRA-7B11-019211 LH Air Intake Cover LH ofjof QIEfo]3 e 67,400
Ineos Grenadier Body GRA-7B11-030082 RH Air Intake RH 0f[0f QIE]0[= 67,400
Ineos Grenadier Body GRA-7B11-031691 LH Side Cowl Cover LH APO|E 7} 60,800
Ineos Grenadier Body GRA-7B11-031702 RH Side Cowl Cover RH ALO|E 712 7{Hf 60,800
Ineos Grenadier Body GRA-7B11-032380 Air Intake Diffuser EREREEES] 33,500
Ineos Grenadier Body GRA-7B11-035980 Air Intake Diffuser EREREEES] 72,600
Ineos Grenadier Body GRA-7B11-045031 LH Air Intake Cover LH ofjof QIEfo]3 e 67,400
Ineos Grenadier Body GRA-7B11-045042 RH Air Intake RH 0f[0f QIE]0[= 67,400
Ineos Grenadier Body GRA-7B11-045460 Cowl Cover Assembly FEEEEEER] 182,900
Ineos Grenadier Body GRA-7B11-049790 Cowl Cover Assembly HEEEEEER] 182,900
Ineos Grenadier Body GRA-7B12-019182 RH Air Intake Cover RH 0f[0f QI6[0]|3 73,400
Ineos Grenadier Body GRA-7B12-019191 LH Air Intake EEEHES 62,200
Ineos Grenadier Body GRA-7B12-020510 DRAINAGE RIB RHD S=HjS 22 27,900
Ineos Grenadier Body GRA-7B12-030091 LH Air Intake B 112,700
Ineos Grenadier Body GRA-7B12-032370 Air Intake Diffuser EEREREYE 33,500
Ineos Grenadier Body GRA-7B12-036030 Air Intake Diffuser EEREREYE 72,600
Ineos Grenadier Body GRA-7B12-042590 Cowl Cover Assembly HEEEEE 182,900
Ineos Grenadier Body GRA-7B12-045021 LH Air Intake EEEHES] 82,300
Ineos Grenadier Body GRA-7B12-045052 RH Air Intake Cover RH 0f0f QIE{|0]3 HH] 73,400
Ineos Grenadier Body GRA-7B12-045490 Cowl Cover Assembly FEEEEEER] 182,900
Ineos Grenadier Body GRA-7B21-019220 Windscreen = 1,176,400
Ineos Grenadier Body GRA-7B21-030570 Windscreen = 2,520,400
Ineos Grenadier Body GRA-7B21-031970 Windscreen = 2,784,300
Ineos Grenadier Body GRA-7B22-019230 Interior Mirror FEEE 360,200
Ineos Grenadier Body GRA-7B22-019240 Interior Mirror FEEE 351,300
Ineos Grenadier Body GRA-7B22-019250 Camera Cover HEEEE] 39,500
Ineos Grenadier Body GRA-7B22-034970 Camera Cover HEEEE] 18,200
Ineos Grenadier Body GRA-7B22-049300 Interior Mirror FEEE 351,300
Ineos Grenadier Body GRA-7C00-022140 Footrest SHA ZYAE 232,600
Ineos Grenadier Body GRA-7C00-022160 Footrest Reinforcement T AE BQEABE 235,300
Ineos Grenadier Body GRA-7C00-022170 Footrest Block ZrE EE 199,900
Ineos Grenadier Body GRA-7C01-024081 LH Outer Drain Gutter NREEEEREE 20,600
Ineos Grenadier Body GRA-7C01-029191 LH Body Side Outer LH HIC| AfO|E OI2E 4,510,600
Ineos Grenadier Body GRA-7C01-029211 LH Body Side Outer LH HIC| AfO|E OI2E 4,510,600
Ineos Grenadier Body GRA-7C01-035351 LH Body Side Panel FEER N EEEE 4,215,500
Ineos Grenadier Body GRA-7C01-035441 LH RR Body Side End Panel LH RR HIC| AO|E QIE mf 170,400
Ineos Grenadier Body GRA-7C01-035461 LH Body Side Connector Panel LH HIC| AP0 A4 T 195,800
Ineos Grenadier Body GRA-7C01-039611 LH Body Side Panel FER N EEEE 3,158,800
Ineos Grenadier Body GRA-7C01-040871 LH OTR A-pillar Panel %% UPRBE E3 2,993,700
Ineos Grenadier Body GRA-7C01-040891 LH OTR B-pillar Panel LHOTRB-Z3f i g 2,521,900
Ineos Grenadier Body GRA-7C01-040911 LH OTR Sill Panel LHOTR A i 3,344,200
Ineos Grenadier Body GRA-7C01-040921 LH OTR Sill Panel LHOTR A i 3,344,200
Ineos Grenadier Body GRA-7C01-040951 LH OTR RR Quarter Panel LHOTRRR HE 1 2,627,200
Ineos Grenadier Body GRA-7C01-040961 LH OTR RR Quarter Panel LH OTRRR HEf 1 2,627,200
Ineos Grenadier Body GRA-7C11-008321 LH Sill Trim Panel LHA Eg o 867,100
Ineos Grenadier Body GRA-7C11-023991 LH Cantrail Reinforcement LHHE Y B[olmATE 279,200
Ineos Grenadier Body GRA-7C11-024031 LH Cantrail Outer LH W= o2 H 107,200
Ineos Grenadier Body GRA-7C11-024061 LH D-pillar Outer LH D-Z2f Ot E] 870,500
Ineos Grenadier Body GRA-7C11-024091 LH LWR Outer C-pillar LH LWR OF2Ef c-3f 209,200
Ineos Grenadier Body GRA-7C11-029221 LH Sill Reinforcement LH A 2[0lmAHE 4,005,100
Ineos Grenadier Body GRA-7C11-035481 LH B-pillar Reinforcement LHB-Z2f 2[QIZANE 2,521,900
Ineos Grenadier Body GRA-7C11-035501 LH Side Sill Reinforcement LH APO|E A 2[oIZABE 3,604,600
Ineos Grenadier Body GRA-7C11-035801 LH OTR A-pillar Reinforcement LHOTRA-Z 3 2[Q/ZABE 177,100
Ineos Grenadier Body GRA-7C11-035841 LH OTR C-pillar Reinforcement LHOTRC-Z3 2[JEAPE 165,900
Ineos Grenadier Body GRA-7C11-035861 LH INR C-pillar Reinforcement LHINRC-Z& 2[olZATE 149,900
Ineos Grenadier Body GRA-7C11-038841 LH RR OTR Cantrail LHRROTR ZAEZ Y 225,300
Ineos Grenadier Body GRA-7C11-038861 LH FRT INR Cantrail Baffle LH FRT INR ZHE | HHE 11,800
Ineos Grenadier Body GRA-7C11-038881 LH RR INR Cantrail LHRR INR HEZ Y 408,100
Ineos Grenadier Body GRA-7C11-039281 LH LWR INR C-pillar Baffle LHLWR INR C-Z2{ HiZ 33,400
Ineos Grenadier Body GRA-7C11-039291 LH UPR OTR C-pillar Support LHUPR OTR C-Z2| NEE 158,800
Ineos Grenadier Body GRA-7C11-039301 LH UPR OTR C-pillar Support LHUPR OTR C-Z2| NEE 68,500
Ineos Grenadier Body GRA-7C11-039571 LH LWR C-pillar Reinforcement LHLWRC-Z2f 2[QIEABE 333,300
Ineos Grenadier Body GRA-7C11-039591 LH OTR Sill Panel LHOTR & T & 625,200
Ineos Grenadier Body GRA-7C11-040991 LH INR Cantrail LH INR ZHE Y 5,468,000
Ineos Grenadier Body GRA-7C11-041031 LH INR B-pillar Panel LH INR B-Z2] 19 3,146,900
Ineos Grenadier Body GRA-7C20-022071 LH UPR A-Pillar Trim Cap LHUPRA-Z2{ E2 7Y 23,300
Ineos Grenadier Body GRA-7C20-022121 LH INR LWR A-Pillar Trim LH INRLWRA-Z2{ EE 240,900
Ineos Grenadier Body GRA-7C20-045421 LH UPR A-pillar Trim Cap LHUPRA-Z2{ E& 2 23,300
Ineos Grenadier Body GRA-7C20-050061 LH UPR A-pillar Trim Cap LHUPRA-Z2{ E& 2 23,300
Ineos Grenadier Body GRA-7C21-022181 LH UPR A-pillar Trim LHUPRA-Z2{ E 214,800
Ineos Grenadier Body GRA-7C21-045381 LH UPR A-pillar Trim LHUPRA-Z2{ E 214,800
Ineos Grenadier Body GRA-7C21-050051 LH UPR A-pillar Trim LHUPRA-Z2{ E 214,800
Ineos Grenadier Body GRA-7C22-022061 LH UPR INR A-Pillar Trim LH UPRINRA-Z2| E2 207,700
Ineos Grenadier Body GRA-7C22-022081 LH Grab Handle Bracket EEEEEEE] 78,100




Ineos Grenadier Body GRA-7C22-045401 LH UPR A-pillar Trim LHUPRA-Z2| EQ 213,900
Ineos Grenadier Body GRA-7C22-050071 LH UPR A-pillar Trim LHUPRA-Z2| EQ 214,800
Ineos Grenadier Body GRA-7C23-022191 LH UPR INR B-pillar Trim LH UPR INR B: Eg 244,300
Ineos Grenadier Body GRA-7C23-022211 LH INR B-pillar Ramp Airbag LH INR B-Z2f I 0fof 226,200
Ineos Grenadier Body GRA-7C23-022221 LH INR B-pillar Middle Trim LHINRB-Z3{ 0|5 E& 239,800
Ineos Grenadier Body GRA-7C23-022231 LH INR LWR B-pillar Trim LH INR LWRB-Z2{ EE 255,000
Ineos Grenadier Body GRA-7C23-050141 LH UPR B-pillar Trim %1% RRQTR 92| 123,600
Ineos Grenadier Body GRA-7C24-022241 LH UPR C-pillar Trim LHUPRC-Z3 EZ 271,700
Ineos Grenadier Body GRA-7C24-022251 LH INR UPR C-pillar Cover LH INR UPR C-Z3{ #H{ 213,900
Ineos Grenadier Body GRA-7C24-022271 LH Striker Cover Cap LH ~E2to[3 A & 191,200
Ineos Grenadier Body GRA-7C24-022281 LH Striker Cover Cap LH ~E2to[3 A & 198,500
Ineos Grenadier Body GRA-7C24-022291 LH INR C-pillar Ramp Airbag LHINR C-Z2] A ofjof e 209,700
Ineos Grenadier Body GRA-7C24-022301 LH INR LWR C-pillar Trim LHINRLWR C-Z3 E& 331,900
Ineos Grenadier Body GRA-7C24-030041 LH LWR C-pillar Adapter Trim LHLWR C-Z3f OfgE| E3 102,400
Ineos Grenadier Body GRA-7C24-039401 LH UPR INR C-pillar Trim LHUPRINRC-Z3 EZ 214,800
Ineos Grenadier Body GRA-7C24-039421 LH LWR INR C-pillar Trim LHLWRINRC-Z2 EZ 214,800
Ineos Grenadier Body GRA-7C24-039441 LH UPR INR C-pillar Bracket LH UPRINR C-Z3f Ha}3l 55,900
Ineos Grenadier Body GRA-7C24-039461 LH UPR C-pillar Airbag Ramp LHUPR C-Z2f 0fjO{# 4= 214,800
Ineos Grenadier Body GRA-7C24-045361 LH C-pillar Airbag Ramp LHC-Zaf ofjoj 209,700
Ineos Grenadier Body GRA-7C24-046851 LH INR LWR C-Pillar Trim LHINRLWR C-Z3 EZ 331,900
Ineos Grenadier Body GRA-7C25-022321 LH INR UPR D-pillar Trim LHINR UPRD-Z3 E& 285,800
Ineos Grenadier Body GRA-7C26-022331 LH FRT Treadplate Bracket LH FRT E2[EZ20[E =23 240,300
Ineos Grenadier Body GRA-7C26-022341 LH FRT Treadplate LH FRT E2[E =20 210,100
Ineos Grenadier Body GRA-7C26-022351 LH RR Treadplate Bracket LHRR EHEZ0[E =ap 230,700
Ineos Grenadier Body GRA-7C26-022361 LH RR Treadplate LHRR E3|E 265,200
Ineos Grenadier Body GRA-7C27-022381 LH INR Loadspace Trim LHINR EEAH 0|~ £ 649,200
Ineos Grenadier Body GRA-7C27-022391 LH INR Loadspace Trim LHINR 2EAH o[~ £ 611,800
Ineos Grenadier Body GRA-7C27-022401 Loadspace Trim Blanking Cap ZCANO|~ EY ST Y 192,300
Ineos Grenadier Body GRA-7C27-022411 LH Storage Box Cover LH ~E2|A X A 233,300
Ineos Grenadier Body GRA-7C27-022421 LH Jack Cover NEEE] 233,300
Ineos Grenadier Body GRA-7C27-022431 LH RR INR Loadspace Trim LHRRINR 2EEAH 0|~ £ 252,000
Ineos Grenadier Body GRA-7C27-023391 LH INR Loadspace Trim LHINR 2EAH o[~ £ 511,200
Ineos Grenadier Body GRA-7C27-049001 LH INR Loadspace Trim LHINR 2EAH o[~ £ 611,800
Ineos Grenadier Body GRA-7C31-005701 RR LH Sill Trim Panel RRLH A Eg 14 145,900
Ineos Grenadier Body GRA-7C31-005801 RR LH Wheel Arch Trim RRLH 2/ OX| E2 201,700
Ineos Grenadier Body GRA-7C31-008051 LH Body Side Trim Panel LH HIC] Afo|E E&l 1Y 45,100
Ineos Grenadier Body GRA-7C31-008652 LH FRT Scuff Plate LH FRT A7, 20|E 42,000
Ineos Grenadier Body GRA-7C31-008671 LH RR Scuff Plate LHRR 27{Z Z0|E 42,000
Ineos Grenadier Body GRA-7C31-008691 LH Sill Trim Panel Bracket LHA E3afd 5o 41,300
Ineos Grenadier Body GRA-7C31-033561 FRT LH Sill Trim Panel FRTLH M Eg a4 129,200
Ineos Grenadier Body GRA-7C31-035561 LH Side Gap Hider LH APO|= 24 3o 34,100
Ineos Grenadier Body GRA-7C31-040111 RR LH Sill Trim Panel RRLH A Eg 14 333,000
Ineos Grenadier Body GRA-7C31-040121 LH Sill Trim Panel Bracket LHA E3afd 5o 72,600
Ineos Grenadier Body GRA-7C31-046631 LH Side Gap Hider LH APO|= 24 3o 186,900
Ineos Grenadier Body GRA-7C41-030491 LH RR QTR Glass % RR QTR Z2t0[BAl g2 908,200
Ineos Grenadier Body GRA-7C41-030511 LH RR QTR Privacy Glass %1% RRQTR 92| 976,900
Ineos Grenadier Body GRA-7C41-031981 LH RR QTR Glass % RR QTR Z2t0[BAl g2 1,213,500
Ineos Grenadier Body GRA-7C41-031991 LH RR QTR Glass Privacy %1% RRQTR 92| 1,515,600
Ineos Grenadier Body GRA-7C41-033990 Built In Hambach Sticker S O 5fHIS AE[7A 27,900
Ineos Grenadier Body GRA-7C41-044901 LH RR QTR Glass % RR QTR Z2t0[BAl g2 1,249,900
Ineos Grenadier Body GRA-7C41-044911 LH RR QTR Glass Privacy %1% RRQTR 92| 1,684,000
Ineos Grenadier Body GRA-7C41-049041 LH RR QTR Glass %% RR QTR Z2t0[BAl g2 1,388,700
Ineos Grenadier Body GRA-7C41-049062 RH RR QTR Glass RHOTR AZ| 14 1,388,700
Ineos Grenadier Body GRA-7C42-006651 LH Gullwing Window LHZHY Rle® 3,421,100
Ineos Grenadier Body GRA-7D01-024072 RH Outer Drain Gutter RH OF2 E| =29l A 20,600
Ineos Grenadier Body GRA-7D01-029202 RH Body Side Outer RH HIC| A[O|E Of 2 4,510,600
Ineos Grenadier Body GRA-7D01-029222 RH Body Side Outer RH HIC| A[O|E Of 2 2,993,700
Ineos Grenadier Body GRA-7D01-035452 RH RR Body Side End Panel RH RR HIC| AfO|E 9 Y 170,400
Ineos Grenadier Body GRA-7D01-035472 RH Body Side Connector Panel RH HIC| AFO|E AHHEf 1 & 195,800
Ineos Grenadier Body GRA-7D01-039602 RH Body Side Panel RH HIC| AFO|E T 3,158,800
Ineos Grenadier Body GRA-7D01-040882 RH OTR A-pillar Panel RHUPRBE2 E2 2,993,700
Ineos Grenadier Body GRA-7D01-040902 RH OTR B-pillar Panel RHOTRB-Z3 14 2,521,900
Ineos Grenadier Body GRA-7D01-040932 RH OTR Sill Panel RHOTR & T & 3,344,200
Ineos Grenadier Body GRA-7D01-040942 RH OTR Sill Panel RHOTR & T & 3,344,200
Ineos Grenadier Body GRA-7D01-040972 RH OTR RR Quarter Panel RHOTRRR #H 14 2,627,200
Ineos Grenadier Body GRA-7D01-040982 RH OTR RR Quarter Panel RHOTRRR #H 14 2,627,200
Ineos Grenadier Body GRA-7D11-008332 RH Sill Trim Panel RH A E23l ifd 867,100
Ineos Grenadier Body GRA-7D11-024002 RH Cantrail Reinforcement RHZIEH Y 2[olmAHE 279,200
Ineos Grenadier Body GRA-7D11-024042 RH Cantrail Outer RH ZE 22 OF2H 107,200
Ineos Grenadier Body GRA-7D11-024052 RH D-pillar Outer RH D-Z2f O 2Ef 792,000
Ineos Grenadier Body GRA-7D11-024102 RH LWR Outer C-pillar RH LWR 02 & C-Z2] 209,200
Ineos Grenadier Body GRA-7D11-030322 RH Sill Reinforcement RH Al 2[QlZAHE 4,005,100
Ineos Grenadier Body GRA-7D11-035492 RH B-pillar Reinforcement RHB-Z2] 2[QIZAHE 2,521,900
Ineos Grenadier Body GRA-7D11-035512 RH Side Sill Reinforcement RH AIO[E A 2[QIZAHE 3,604,600
Ineos Grenadier Body GRA-7D11-035812 RH OTR A-pillar Reinforcement RHOTRA-Z3 2| EAPE 177,100
Ineos Grenadier Body GRA-7D11-035852 RH OTR C-pillar Reinforcement RHOTR C-Z2| 2QIZAHE 165,900
Ineos Grenadier Body GRA-7D11-035872 RH INR C-pillar Reinforcement RHINR C-Z2f 2|/ ZATE 149,900
Ineos Grenadier Body GRA-7D11-038902 RH FRT INR Cantrail Baffle RHFRT INR ZAE 2] 2 B Z 11,800
Ineos Grenadier Body GRA-7D11-038942 RH RR INR Cantrail RHRR INR ZHE Y 408,100
Ineos Grenadier Body GRA-7D11-038952 RH RR OTR Cantrail RHRROTR ZAEZY 218,700
Ineos Grenadier Body GRA-7D11-039342 RH UPR OTR C-pillar Support RHUPROTR C-Z3f MEE 68,500
Ineos Grenadier Body GRA-7D11-039372 RH LWR INR C-pillar Baffle RHLWR INR C-Z3] HiE 33,400
Ineos Grenadier Body GRA-7D11-039562 RH LWR C-pillar Reinforcement RHLWR C-Z3{ 2[QIZABE 333,300
Ineos Grenadier Body GRA-7D11-039582 RH OTR Sill Panel RHOTR & T4 625,200
Ineos Grenadier Body GRA-7D11-041002 RH INR Cantrail RH INR ZHE 2| 5,468,000
Ineos Grenadier Body GRA-7D11-041042 RH INR B-pillar Panel RHINR B-Z2 1 3,146,900
Ineos Grenadier Body GRA-7D20-022622 RH LWR A-pillar Trim RHLWRA-Z2 EZ 237,300
Ineos Grenadier Body GRA-7D20-045432 RH UPR A-pillar Trim Cap RHUPRA-Z2{ E& 23,300
Ineos Grenadier Body GRA-7D20-050132 RH UPR A-pillar Trim Cap RHUPRA-Z2{ E& 23,300
Ineos Grenadier Body GRA-7D21-022542 A-pillar Grab Handle IEEECEE 218,200
Ineos Grenadier Body GRA-7D21-022552 RH UPR A-pillar Trim RHUPRA-Z2 EZ 190,500
Ineos Grenadier Body GRA-7D21-022562 RH Grab Handle Bracket RH 134 9HS Haf3 78,100
Ineos Grenadier Body GRA-7D21-045392 RH UPR A-pillar Trim RHUPRA-Z2 E 122,200
Ineos Grenadier Body GRA-7D21-050122 RH UPR A-pillar Trim RHUPRA-Z2 E 122,200
Ineos Grenadier Body GRA-7D22-022632 RH UPR A-pillar Trim RHUPRA-Z2 E 214,800
Ineos Grenadier Body GRA-7D22-045412 RH UPR A-pillar Trim RHUPRA-Z2 E 214,800
Ineos Grenadier Body GRA-7D22-050112 RH UPR A-pillar Trim RHUPRA-Z2 E 122,200
Ineos Grenadier Body GRA-7D23-022642 RH INR B-pillar Ramp Airbag RH INR B-Zi2{ I of of 226,200
Ineos Grenadier Body GRA-7D23-022652 RH INR UPR B-pillar Trim RHINR UPRB-Z2{ E8 244,300
Ineos Grenadier Body GRA-7D23-022662 RH CTR B-pillar Trim RHCTRB-Z2 EZ 239,800
Ineos Grenadier Body GRA-7D23-022672 RH LWR B-pillar Trim RHLWRB-Z2 EZ 255,000
Ineos Grenadier Body GRA-7D23-035832 RH OTR B-pillar Reinforcement RHOTRB-Z2] 2[QIZAHE 165,900
Ineos Grenadier Body GRA-7D23-050152 RH UPR B-pillar Trim RHRRQTR 2 123,600
Ineos Grenadier Body GRA-7D24-022682 RH UPR C-pillar Airbag Ramp RH UPR C-Z2{ 0fj o 4z 209,700
Ineos Grenadier Body GRA-7D24-022692 RH UPR C-pillar Trim RHUPRC-Z2 EZ 271,700
Ineos Grenadier Body GRA-7D24-022702 RH UPR C-pillar Trim Cover RHUPR C-Z2| E2 AH 213,900
Ineos Grenadier Body GRA-7D24-022712 RH Striker Cover Cap RH Striker 7{Hf 7 191,200




Ineos Grenadier Body GRA-7D24-022722 RH Striker Cover Cap RH Striker 7{8{ 74 191,200
Ineos Grenadier Body GRA-7D24-022732 RH LWR C-pillar Trim RHLWR C-Z2| £ 329,700
Ineos Grenadier Body GRA-7D24-030062 RH LWR C-pillar Adapter Trim RHLWR C-Z2 O E& 102,400
Ineos Grenadier Body GRA-7D24-039392 RH UPR INR C-pillar Trim RHUPRINR C-Z2] £3 214,800
Ineos Grenadier Body GRA-7D24-039412 RH LWR INR C-pillar Trim RHLWRINR C-Z2] £ 214,800
Ineos Grenadier Body GRA-7D24-039432 RH UPR INR C-pillar Bracket RH UPR INR C-Z 2] H23l 55,900
Ineos Grenadier Body GRA-7D24-039452 RH UPR C-pillar Airbag Ramp RH UPR C-Z2] 0fof# &= 214,800
Ineos Grenadier Body GRA-7D24-045372 RH C-pillar Airbag Ramp RH C-Z2f 0o = 209,700
Ineos Grenadier Body GRA-7D24-046862 RH LWR C-pillar Trim RHLWR C-Z2| £ 329,700
Ineos Grenadier Body GRA-7D25-000292 RH INR UPR D-pillar Trim RHINR UPR D-Z2{ £3 285,800
Ineos Grenadier Body GRA-7D26-004542 RH FRT Treadplate Bracket RHFRT E2C2 233,500
Ineos Grenadier Body GRA-7D26-005032 RH FRT Treadplate RHFRT E2 210,100
Ineos Grenadier Body GRA-7D26-005432 RH RR Treadplate Bracket RHRR E2|C Z2]0/E 5213 230,700
Ineos Grenadier Body GRA-7D26-006272 RH RR Treadplate RHRR E2|CSa]0/E 265,200
Ineos Grenadier Body GRA-7D27-006282 RH INR Loadspace Trim RHINR 2EAHO[X Eg 641,000
Ineos Grenadier Body GRA-7D27-006952 RH RR INR Loadspace Trim RHRRINR 2EAHO0[X £ 258,500
Ineos Grenadier Body GRA-7D27-007002 INR Fuel Filler Cover Trim INR 12 Zof 7H{ Eg 218,400
Ineos Grenadier Body GRA-7D31-005712 RR RH Sill Trim Panel RRRHA Eg ijd 145,900
Ineos Grenadier Body GRA-7D31-005812 RR RH Wheel Arch Trim RR RH & OFX| £ 201,700
Ineos Grenadier Body GRA-7D31-005852 RH Body Side Trim Panel RH BIC] APOIE Egl 1 31,200
Ineos Grenadier Body GRA-7D31-008070 Attachment Cover CEEEEEE] 31,200
Ineos Grenadier Body GRA-7D31-008662 RH FRT Scuff Plate RH FRT A7{ I Z20|E 42,000
Ineos Grenadier Body GRA-7D31-008682 RH RR Scuff Plate RHRR 27 I E20E 42,000
Ineos Grenadier Body GRA-7D31-008702 RH Sill Trim Panel Bracket RH A Eg g Sapat 41,300
Ineos Grenadier Body GRA-7D31-033572 FRT RH Sill Trim Panel FRTRH A E2 1jg 129,200
Ineos Grenadier Body GRA-7D31-035572 RH Side Gap Hider RH AFOIE 24 30| 34,100
Ineos Grenadier Body GRA-7D31-040162 RR RH Sill Trim Panel RRRHA Eg ijd 333,000
Ineos Grenadier Body GRA-7D31-040172 RH Sill Trim Panel Bracket RH A Eg 0jd Sapat 72,600
Ineos Grenadier Body GRA-7D31-046642 RH Side Gap Hider RH AFOIE 24 30| 111,400
Ineos Grenadier Body GRA-7D41-030512 RH RR QTR Glass RHOTRAZZ 1 908,200
Ineos Grenadier Body GRA-7D41-030522 RH RR QTR Privacy Glass RHRR QTR §2] 976,900
Ineos Grenadier Body GRA-7D41-032002 RH RR QTR Glass RHOTRAZZ I 1,213,500
Ineos Grenadier Body GRA-7D41-032012 RH RR QTR Glass Privacy RHRR QTR §2] 1,515,600
Ineos Grenadier Body GRA-7D41-044922 RH RR QTR Glass RHOTRAZZ 1 1,249,900
Ineos Grenadier Body GRA-7D41-044932 RH RR QTR Glass Privacy RHRR QTR §2] 1,684,000
Ineos Grenadier Body GRA-7D41-049051 LH RR QTR Glass Privacy %% RRQTR 92 1,684,000
Ineos Grenadier Body GRA-7D41-049072 RH RR QTR Glass Privacy RHRR QTR §2] 1,684,000
Ineos Grenadier Body GRA-7D42-006662 RH Gullwing Window RHZY AES 3,421,100
Ineos Grenadier Body GRA-7E01-023960 Cross Beam EEEY] 362,100
Ineos Grenadier Body GRA-7E01-023970 Sun Roof Cross Beam NEZ gz~ 4 491,300
Ineos Grenadier Body GRA-7E01-023980 Roof Cross Beam Reinforcement T d2A 4 oo EAHE 240,300
Ineos Grenadier Body GRA-7E01-035230 Roof Panel EEE 4,826,200
Ineos Grenadier Body GRA-7E01-035310 Roof Panel B 4,891,700
Ineos Grenadier Body GRA-7E01-035330 FRT OTR Roof Crossmember FRT OTR 22 A2 AHH| 2,074,100
Ineos Grenadier Body GRA-7E01-035390 Roof Crossmember (No. 2) 2T I2AHH (No. 2) 205,400
Ineos Grenadier Body GRA-7E01-035400 Roof Crossmember (No. 3) EEEENTTIEEE) 228,200
Ineos Grenadier Body GRA-7E01-035430 Roof Crossmember (No. 1) 2 I2AWH (18) 228,200
Ineos Grenadier Body GRA-7E01-039710 Sunvisor Bracket RECREEE] 39,700
Ineos Grenadier Body GRA-7E10-050171 LH Partition Hook Cover LH THE[H £33 7{H] 30,100
Ineos Grenadier Body GRA-7E10-050182 RH Partition Hook Cover RECEREEEL] 30,100
Ineos Grenadier Body GRA-7E11-003250 FRT Headliner FRT & =2fo| 2,546,500
Ineos Grenadier Body GRA-7E11-005360 Headliner EEENE 2,546,500
Ineos Grenadier Body GRA-7E11-005370 Headliner EEENE 2,546,500
Ineos Grenadier Body GRA-7E11-007231 LH Partition Hook Cover LH THE[H $3 7{H] 55,600
Ineos Grenadier Body GRA-7E11-007242 RH Partition Hook Cover RECEREEEL] 55,600
Ineos Grenadier Body GRA-7E11-007680 FRT INR Headliner FRT INR & =2}0[ L 2,546,500
Ineos Grenadier Body GRA-7E11-007741 Roof Strip EEPN 189,900
Ineos Grenadier Body GRA-7E11-008961 LH Headliner Sunroof Cover NEEENERE 156,600
Ineos Grenadier Body GRA-7E11-008971 LH Headliner Sunroof Filler NEEENERE 255,400
Ineos Grenadier Body GRA-7E11-008982 RH Headliner Sunroof Filler NEEENERE 261,400
Ineos Grenadier Body GRA-7E11-008992 RH Headliner Sunroof Cover NEEENERE] 165,100
Ineos Grenadier Body GRA-7E11-009750 FRT INR Headliner FRT INR & =2}0] | 2,546,500
Ineos Grenadier Body GRA-7E11-009880 Grab Handle EREE 65,000
Ineos Grenadier Body GRA-7E11-029090 Grab Handle EREE 76,800
Ineos Grenadier Body GRA-7E11-039720 Headliner EEERNE 2,546,500
Ineos Grenadier Body GRA-7E11-040181 LH Partition Hook Cover LH THE[H $3 7{H] 30,100
Ineos Grenadier Body GRA-7E11-040192 RH Partition Hook Cover RECEREEEL] 29,500
Ineos Grenadier Body GRA-7E11-040200 Headliner EEENE 2,546,500
Ineos Grenadier Body GRA-7E11-040210 Headliner EEENE 2,472,300
Ineos Grenadier Body GRA-7E11-050200 FRT Headliner FRT & =2fo| 2,546,500
Ineos Grenadier Body GRA-7E11-050210 Grab Handle EREE 76,800
Ineos Grenadier Body GRA-7E11-050221 LH Headliner Sunroof Filler LH 8l Eato| M2 T Faf 255,400
Ineos Grenadier Body GRA-7E11-050262 RH Headliner Sunroof Filler RH Sl S2t0|Lf NE2X T 255,400
Ineos Grenadier Body GRA-7E11-050280 FRT Headliner FRT & =2fo| 2,546,500
Ineos Grenadier Body GRA-7E11-050542 RH Headliner Sunroof Cover RH 81 2t0|Lf NEZ 78| 165,100
Ineos Grenadier Body GRA-7E11-050641 LH Headliner Sunroof Cover LH 8 E2to|L M2 T 7 156,600
Ineos Grenadier Body GRA-7E11-050651 LH Partition Hook Cover LH THE[H £33 7{H] 30,100
Ineos Grenadier Body GRA-7E11-050662 RH Partition Hook Cover RECEREEEL] 29,500
Ineos Grenadier Body GRA-7E12-008280 Partition Hook Cover FEEEEER] 39,300
Ineos Grenadier Body GRA-7E12-008290 Partition Hook Cover FEEEEED] 45,300
Ineos Grenadier Body GRA-7E12-008362 RH RR Headliner Cover RH RR & =20 78 141,900
Ineos Grenadier Body GRA-7E12-008370 CTR RR Headliner Cover CTR RR &l =20 78] 140,300
Ineos Grenadier Body GRA-7E12-008431 LH RR Headliner Cover LH RR 8 =2t0|f #H] 141,900
Ineos Grenadier Body GRA-7E12-008520 RR Headliner RR & =2f0] L 1,585,300
Ineos Grenadier Body GRA-7E12-050300 CTR RR Headliner Cover CTR RR &l = 20| 78] 140,300
Ineos Grenadier Body GRA-7E12-050310 Partition Hook Cover FEEEEER] 39,300
Ineos Grenadier Body GRA-7E21-005980 Drain Gutter EEREE] 178,500
Ineos Grenadier Body GRA-7E21-005990 Drain Gutter EEREE] 532,400
Ineos Grenadier Body GRA-7E21-006160 RR CTR Roof Cover Panel RRCTR 2Z At 1§ 2 304,500
Ineos Grenadier Body GRA-7E21-006171 LH RR Roof Cover Panel LHRR 2Z A if g 374,300
Ineos Grenadier Body GRA-7E21-006181 RR LH Roof Cover Bracket RRLH =I 78] a3l 188,000
Ineos Grenadier Body GRA-7E21-006192 RR RH Roof Cover Bracket RRRH 2Z 8 Sa3l 188,000
Ineos Grenadier Body GRA-7E21-006200 RR CTR Roof Cover Bracket RR CTR 2 7{8{ 52aj31 197,400
Ineos Grenadier Body GRA-7E21-006211 Roof Strip 152,800
Ineos Grenadier Body GRA-7E21-006222 Roof Strip 152,800
Ineos Grenadier Body GRA-7E21-006231 Roof Strip 152,800
Ineos Grenadier Body GRA-7E21-006242 Roof Strip 152,800
Ineos Grenadier Body GRA-7E21-007741 Roof Strip 2O AE 170,900
Ineos Grenadier Body GRA-7E21-007880 Roof Rail Bracket EERPEEE] 156,800
Ineos Grenadier Body GRA-7E21-008110 Roof Rail Bar EEEPE] 147,900
Ineos Grenadier Body GRA-7E21-008620 UPR Split Door Seal UPRAE3 0| 4 170,200
Ineos Grenadier Body GRA-7E21-008731 LH RR Roof Corner Moulding IHRRZZ 24 29 215,300
Ineos Grenadier Body GRA-7E21-008742 RH RR Roof Corner Moulding RHRREZ 34 29 215,300
Ineos Grenadier Body GRA-7E21-010601 LH FRT Roof Corner Moulding LHFRT 2= 34 29 194,100
Ineos Grenadier Body GRA-7E21-010612 RH RR Roof Corner Moulding RHRREZ 34 29 194,100
Ineos Grenadier Body GRA-7E21-018842 Roof Strip EEPN 170,900
Ineos Grenadier Body GRA-7E21-018900 Roof Strip EEPN 170,900




Ineos Grenadier Body GRA-7E21-018901 LH RR Roof Corner Moulding LHRRZIZ I E¢ 104,900
Ineos Grenadier Body GRA-7E21-019902 RH RR Roof Cover Panel RHRR I 7{d] I 374,300
Ineos Grenadier Body GRA-7E21-019982 RH RR Roof Corner Moulding RHRREZ Al 8¢ 104,900
Ineos Grenadier Body GRA-7E21-022770 Drain Gutter EEREE 72,300

Ineos Grenadier Body GRA-7E21-023170 Roof Rail End Cap EOo Yl ¥ 20,800

Ineos Grenadier Body GRA-7E21-023180 Roof Rail Side Cover 3 AHO|E H] 308,200
Ineos Grenadier Body GRA-7E21-023190 Roof Rail Side Cover AHO|E 7H] 276,300
Ineos Grenadier Body GRA-7E21-030210 Roof Rail Side Cover AHO|E H] 317,400
Ineos Grenadier Body GRA-7E21-030220 Roof Rail Side Cover AHO|E H] 284,600
Ineos Grenadier Body GRA-7E21-035151 LH FRT Roof Corner Moulding LHFRT 22X 34 ¢ 199,900
Ineos Grenadier Body GRA-7E21-035162 RH FRT Roof Corner Moulding RHFRT 2Z A4 8¢ 199,900
Ineos Grenadier Body GRA-7E30-023240 Sunvisor Support AMHOIM MEE 17,000

Ineos Grenadier Body GRA-7E30-023251 LH Sunvisor Bracket LH MHto|x =ai3t 107,300
Ineos Grenadier Body GRA-7E30-023262 RH Sunvisor Bracket RH Mto|x 223 107,300
Ineos Grenadier Body GRA-7E30-050340 Sunvisor Support AMHOIM MEE 17,000

Ineos Grenadier Body GRA-7E31-010991 LH Sunvisor LH AMHHo[ % 134,900
Ineos Grenadier Body GRA-7E31-011001 LH Sunvisor LH AMHHo[ % 146,600
Ineos Grenadier Body GRA-7E31-011011 LH Sunvisor LH AMHHo[ % 170,000
Ineos Grenadier Body GRA-7E31-011042 RH Sunvisor RH AHH0[ % 158,600
Ineos Grenadier Body GRA-7E31-015122 RH Sunvisor RH AHH0[ % 134,900
Ineos Grenadier Body GRA-7E31-020752 RH Sunvisor RH AHH0| % 146,600
Ineos Grenadier Body GRA-7E31-030671 LH Sunvisor LH AMHto[X 150,400
Ineos Grenadier Body GRA-7E31-030682 RH Sunvisor RH AHto| X 184,900
Ineos Grenadier Body GRA-7E31-030711 LH Sunvisor LH MHtoX 194,300
Ineos Grenadier Body GRA-7E31-030722 RH Sunvisor RH AHto| X 176,000
Ineos Grenadier Body GRA-7E31-045511 LH Sunvisor LH MHtoX 183,000
Ineos Grenadier Body GRA-7E31-045522 RH Sunvisor RH AHto|x 165,300
Ineos Grenadier Body GRA-7E31-050321 LH Sunvisor LH AMHto[X 184,900
Ineos Grenadier Body GRA-7E31-050332 RH Sunvisor RH AHto|x 184,900
Ineos Grenadier Body GRA-7E31-050351 LH Sunvisor LH MHtoX 184,900
Ineos Grenadier Body GRA-7E31-050362 RH Sunvisor RH AHto|x 184,900
Ineos Grenadier Body GRA-7E32-011001 LH Sunvisor LH MHtoX 146,600
Ineos Grenadier Body GRA-7E32-015122 RH Sunvisor RH AHto| X 134,900
Ineos Grenadier Body GRA-7E32-030691 LH Sunvisor LH AMHto[X 184,900
Ineos Grenadier Body GRA-7E32-030702 RH Sunvisor RH AHto|x 156,000
Ineos Grenadier Body GRA-7E32-050371 LH Sunvisor LH MHtoX 184,900
Ineos Grenadier Body GRA-7E32-050382 RH Sunvisor RH AHto|x 184,900
Ineos Grenadier Body GRA-7E41-023290 FRT Overhead Console Frame FRT 288 22 = 216,600
Ineos Grenadier Body GRA-7E41-023300 Roof Console Cover 2o 2 AHY 192,300
Ineos Grenadier Body GRA-7E41-023310 Roof Console Carrier 326,500
Ineos Grenadier Body GRA-7E41-023320 Large Roof Console Handle 30,600

Ineos Grenadier Body GRA-7E41-023330 Roof Console Cover 372,900
Ineos Grenadier Body GRA-7E41-023340 Roof Console Cover 328,100
Ineos Grenadier Body GRA-7E41-023350 Roof Console Cover 372,700
Ineos Grenadier Body GRA-7E41-023360 Small Roof Console Handle 26,400

Ineos Grenadier Body GRA-7E41-023370 Roof Console Cover 367,600
Ineos Grenadier Body GRA-7E41-023380 Roof Console Cover 377,900
Ineos Grenadier Body GRA-7E41-023390 Roof Console Cover 373,400
Ineos Grenadier Body GRA-7E41-023400 Roof Console Cover 372,900
Ineos Grenadier Body GRA-7E41-023410 Roof Console Cover 323,200
Ineos Grenadier Body GRA-7E41-050390 Roof Console Cover 192,300
Ineos Grenadier Body GRA-7E41-050430 Roof Console Cover 192,300
Ineos Grenadier Body GRA-7E41-050440 Roof Console Cover 192,300
Ineos Grenadier Body GRA-7F00-031230 Drain Plug 33,100

Ineos Grenadier Body GRA-7F10-029321 LH RR Footrest Foam Block LHRR Z2AE E =5 157,700
Ineos Grenadier Body GRA-7F10-029332 RH RR Footrest Foam Block RHRR X AE B =58 157,700
Ineos Grenadier Body GRA-7F10-029341 LH Black Foil Void Cover LH E3 =Y 20|t 7] 24,300

Ineos Grenadier Body GRA-7F10-029352 RH Black Foil Void Cover RHE3 ZQ H0|E A 24,300

Ineos Grenadier Body GRA-7F11-018270 FRT Floor Mat Set FRT 20| 1E HE 2,411,400
Ineos Grenadier Body GRA-7F11-018290 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-018300 RR Floor Mat Set RREZ0{ OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-018310 RR Floor Mat Set RREZ0{ OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-018370 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-018380 RR Floor Mat Set RREZ0{ OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-018390 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F11-029310 Foam Block =5 194,100
Ineos Grenadier Body GRA-7F11-029360 FRT Floor Carpet FRT E20] 7|8l 2,563,700
Ineos Grenadier Body GRA-7F11-029370 RR Floor Carpet RR E20] 73l 2,899,700
Ineos Grenadier Body GRA-7F11-029380 RR Floor Carpet RR E20] 73l 2,899,700
Ineos Grenadier Body GRA-7F11-041651 LH RR Floor Mat LHRREZO OHE 118,800
Ineos Grenadier Body GRA-7F11-041662 RH RR Floor Mat RHRREZ0| OIE 118,800
Ineos Grenadier Body GRA-7F12-018280 FRT Floor Mat Set FRT £E20] 1E HE 2,435,000
Ineos Grenadier Body GRA-7F12-018320 RR Floor Mat Set RREZ0{ OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-018330 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-018340 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-018350 RR Floor Mat Set RREZ0{ OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-018360 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-018400 RR Floor Mat Set RREZ0 OIE M E 2,828,000
Ineos Grenadier Body GRA-7F12-029390 Foam Block =5 189,600
Ineos Grenadier Body GRA-7F12-029400 FRT Floor Carpet FRT E20] 7|8l 2,781,800
Ineos Grenadier Body GRA-7F12-029410 RR Floor Carpet RR E20] 73l 2,899,700
Ineos Grenadier Body GRA-7F12-029420 RR Floor Carpet RR E20] 73l 2,899,700
Ineos Grenadier Body GRA-7F21-041190 RR LWR Floor Crossmember RRLWR E20{ 22 AHH 2,795,600
Ineos Grenadier Body GRA-7F21-041221 LH CTR RR Floor Crossmember Panel LHCTRRREZO A2 AN 14 3,617,400
Ineos Grenadier Body GRA-7F21-041232 RH CTR RR Floor Crossmember Panel RHCTRRR EZ0| 22208 1f4 3,617,400
Ineos Grenadier Body GRA-7F21-041240 Load Area Floor Panel ZE ojojzjof E=0f mjd 926,700
Ineos Grenadier Body GRA-7F21-041250 Load Area Floor Reinforcement ZE oof2|o 220 2|QAEAHE 4,756,000
Ineos Grenadier Body GRA-7F31-005410 Load Area Extension Assembly 2E 0fof2|0f YAEIM o=z 2,916,200
Ineos Grenadier Body GRA-7F31-005680 Adheisive Foam EREE 65,200

Ineos Grenadier Body GRA-7F31-006050 Adheisive Foam EREE 65,200

Ineos Grenadier Body GRA-7F31-006060 Infil Panel REEE! 843,100
Ineos Grenadier Body GRA-7F31-007090 Tunnel Bracket HY =ap3l 138,300
Ineos Grenadier Body GRA-7F31-007100 Cargo Lid 7t 2 4,026,000
Ineos Grenadier Body GRA-7F31-007220 Stand Pole AHE B 43,500

Ineos Grenadier Body GRA-7F31-007850 Hinge S X| 104,000
Ineos Grenadier Body GRA-7F31-007890 Latch 2j x| 30,600

Ineos Grenadier Body GRA-7F31-008100 Spring 23 9,200

Ineos Grenadier Body GRA-7F31-008140 Cargo Lid Latch 7t 2|E 2iX| 74,500

Ineos Grenadier Body GRA-7F31-009790 Load Area Extension Assembly 2E 0fof2|0f YAEIM o=z 2,673,900
Ineos Grenadier Body GRA-7F31-023420 Load Area Floor Trim 2 2| 20 E 1,852,200
Ineos Grenadier Body GRA-7F31-023430 Load Area Floor Trim 2 2| 20 E 392,600
Ineos Grenadier Body GRA-7F31-023440 Load Area Floor Trim 2 2| 20 E 1,852,200
Ineos Grenadier Body GRA-7F31-023450 Loading Floor Utility Rail 29 E EEEE] 552,300
Ineos Grenadier Body GRA-7F31-023460 Utility Rail End Cap SE2E LA Y 38,900

Ineos Grenadier Body GRA-7F31-037050 RR Load Area Floor Trim RREX 37t E20| EE 1,068,800
Ineos Grenadier Body GRA-7F31-037060 RR Load Area Floor Trim RREM S E20{ EE 1,068,800
Ineos Grenadier Body GRA-7F31-037070 FRT Load Area Floor Trim FRT 2E 0020 E20{ EY 768,100




Ineos Grenadier Body GRA-7F31-037080 RR Load Area Floor Trim RREX 37t 220 EE 556,800
Ineos Grenadier Body GRA-7F31-037090 RR Load Area Floor Trim RREX 37t 220 EE 583,200
Ineos Grenadier Body GRA-7F31-049880 Load Area Floor Utility Rail 24 ojoj2jof FE2(E Y 552,300
Ineos Grenadier Body GRA-7G01-041420 FRT Tunnel Heat Shield FRTEHY 3|E HE 908,200
Ineos Grenadier Body GRA-7G01-041430 FRT Tunnel RR Heat Shield FRTE 2 RRJ|E HE 72,100
Ineos Grenadier Body GRA-7G02-024011 LH RR Heat Shield Bracket LHRR & Xt 527l 175,900
Ineos Grenadier Body GRA-7G02-024022 RH RR Heat Shield Bracket RHRR|E HE 2213 154,700
Ineos Grenadier Body GRA-7G11-023480 FRT Tunnel Heat Shield FRT Ef Edc 1,013,900
Ineos Grenadier Body GRA-7G11-023490 FRT Exhaust Heat Shield FRT Hj Edc 270,100
Ineos Grenadier Body GRA-7G11-023500 Crossmember Heat Shield R |E AE 93,000
Ineos Grenadier Body GRA-7G11-023510 FRT Tunnel Accoustic Shield FRT E{d O{FAE HC 764,600
Ineos Grenadier Body GRA-7G11-023520 FRT Exhaust Accoustic Shield FRT H{7| O{ R AE HE 446,100
Ineos Grenadier Body GRA-7G13-023530 RR Exhaust Heat Shield RRUE{Z| S|E HE 509,400
Ineos Grenadier Body GRA-7G14-039632 RH RR Wheelhouse Liner RHRR &322 2to|4 301,600
Ineos Grenadier Body GRA-7G14-039641 LH RR Wheelhouse Liner LHRR #3524 2to|L4 301,400
Ineos Grenadier Body GRA-7G15-018990 Mud Flap Set oE EYME 203,000
Ineos Grenadier Body GRA-7G21-005721 FRT LH Wheelhouse Liner FRT LH &3t 2toj4 430,900
Ineos Grenadier Body GRA-7G21-029431 FRT LH Wheelhouse Liner FRT LH &ste2 2toj4 443,900
Ineos Grenadier Body GRA-7G22-005732 FRT RH Wheelhouse Liner A 2to[ 443,900
Ineos Grenadier Body GRA-7G23-005741 RR LH Wheelhouse Liner RRLH #3524 2to| 139,900
Ineos Grenadier Body GRA-7G24-005752 RR RH Wheelhouse Liner RR RH &322 2to|4 139,900
Ineos Grenadier Body GRA-7G25-000280 Mud Flap Set oE EYME 203,000
Ineos Grenadier Body GRA-7H01-001840 Parking Sensor Bracket TRRRIEET] 12,300
Ineos Grenadier Body GRA-7H01-005512 RH RR Bull Bar Bracket RHRR £ H 22131 166,900
Ineos Grenadier Body GRA-7H01-005521 RR Bumper LH Bracket RR #1 LH =2zl 202,800
Ineos Grenadier Body GRA-7H01-005531 LH RR Bull Bar Bracket LHRR £ H 22}3L 166,900
Ineos Grenadier Body GRA-7H01-005542 RR Bumper RH Bracket RR #I{ RH 223 202,800
Ineos Grenadier Body GRA-7H01-005550 RR Bumper CTR Segment RR YL CTRAIME 245,400
Ineos Grenadier Body GRA-7H01-005560 RR Bumper Reinforcement RR I 2|QILABE 747,800
Ineos Grenadier Body GRA-7H01-005571 RR Bumper LH Segment RRHYE LH A IHE 1,220,400
Ineos Grenadier Body GRA-7H01-005582 RR Bumper RH Segment RR HI{ RH A IHE 1,220,400
Ineos Grenadier Body GRA-7H01-005591 RR Bumper LH Segment RRYE LH A IHE 229,800
Ineos Grenadier Body GRA-7H01-005602 RR Bumper RH Bracket RR #I{ RH 22}3 229,800
Ineos Grenadier Body GRA-7H01-007921 LH RR Bull Bar Cover LHRR £ H} 7{8] 41,100
Ineos Grenadier Body GRA-7H01-007932 RH RR Bull Bar Cover RHRR £ Ht A 41,100
Ineos Grenadier Body GRA-7H01-023571 LH RR Bumper Segment LHRR #1 JOHE 1,053,600
Ineos Grenadier Body GRA-7H01-023582 RH RR Bumper Segment RHRR I {OHE 1,053,600
Ineos Grenadier Body GRA-7H01-023591 LH RR Bumper Segment LHRR #1 JIHE 1,023,300
Ineos Grenadier Body GRA-7H01-023602 RH RR Bumper Segment RHRR I {OHE 1,023,300
Ineos Grenadier Body GRA-7H01-023611 LH RR Bumper Side Bracket LHRR B AjO|E Sat3l 394,800
Ineos Grenadier Body GRA-7H01-023622 RH RR Bumper Side Bracket RHRR I AO|E =2t3 394,800
Ineos Grenadier Body GRA-7H01-023631 LH RR Bumper Corner Extension LHRR I F14 o AHM 195,800
Ineos Grenadier Body GRA-7H01-023642 RH RR Bumper Corner Extension RHRR HH 3L YAHM 195,800
Ineos Grenadier Body GRA-7H01-023651 LH RR Bumper Corner Extension LHRR i F4 o AHM 232,000
Ineos Grenadier Body GRA-7H01-023662 RH RR Bumper Corner Extension RHRR B 3l YAHM 232,000
Ineos Grenadier Body GRA-7H01-047621 LH RR Bumper Segment LHRR #1 JOHE 1,023,300
Ineos Grenadier Body GRA-7H01-047632 RH RR Bumper Segment RHRR I {OHE 1,023,300
Ineos Grenadier Body GRA-7H01-049241 LH RR Bumper Side Segment LHRR 8 AIO|E M| OHE 217,600
Ineos Grenadier Body GRA-7H01-049252 RH RR Bumper Side Segment RHRR #I{ ALO|E N OAHE 195,800
Ineos Grenadier Body GRA-7H01-049261 LH RR Bumper Side Segment LHRR 8 AIO|E M| OAHE 257,800
Ineos Grenadier Body GRA-7H01-049272 RH RR Bumper Side Segment RHRR #I{ AIO|E N IHE 257,800
Ineos Grenadier Body GRA-7H02-005970 RR Skid Plate RR A7|E E0|E 1,873,000
Ineos Grenadier Body GRA-7H02-007380 Trailer Hitch Cover EEEEEEREE] 75,800
Ineos Grenadier Body GRA-7H02-007761 LH RR Skid Plate Bracket LHRR 27| = Z2{0|E =23l 178,000
Ineos Grenadier Body GRA-7H02-007772 RH RR Skid Plate Bracket RHRR 27|E E2j0|E =23l 178,000
Ineos Grenadier Body GRA-7H02-007781 LH RR Skid Plate Bracket LHRR 27| = Z2{0|E =23l 73,700
Ineos Grenadier Body GRA-7H02-007792 RH RR Skid Plate Bracket RHRR 27|E E2j0|E =23l 73,700
Ineos Grenadier Body GRA-7H02-008130 RR Skid Plate RR A7|E E0|E 2,403,500
Ineos Grenadier Body GRA-7H02-023670 RR Bumper Skid Plate RR #HI{ A7|E E20|E 507,400
Ineos Grenadier Body GRA-7H02-031350 Trailer Hitch Cover EEEEEEEE] 143,700
Ineos Grenadier Body GRA-7H22-032030 RR Screen Privacy RR 232l Z2}0[HA| 1,615,600
Ineos Grenadier Body GRA-7H31-040220 RR UPR INR Trim Panel RRUPRINR EZ Ijd 170,900
Ineos Grenadier Body GRA-7H31-040242 RH RR LWR INR Trim Panel RHRRLWRINR E& 1 170,900
Ineos Grenadier Body GRA-7H41-006081 LH UPR D-pillar Trim Panel LHUPRD-Z& E& 1jd 467,100
Ineos Grenadier Body GRA-7H41-006092 RH UPR D-pillar Trim Panel RHUPRD-Z2 EZ 1jd 467,100
Ineos Grenadier Body GRA-7H41-006121 LH LWR D-pillar Trim Bracket LHLWRD-Z2 E3 a3l 196,300
Ineos Grenadier Body GRA-7H41-006132 RH LWR D-pillar Trim Bracket RHLWR D-Zg| E& =23l 196,300
Ineos Grenadier Body GRA-7H41-006141 LH UPR D-pillar Trim Bracket LHUPRD-Z2f EZ =23 192,700
Ineos Grenadier Body GRA-7H41-006152 RH UPR D-pillar Trim Bracket RHUPRD-Z2 E& =23 192,700
Ineos Grenadier Body GRA-7H41-006260 RR Sill Cover Panel RR & AH 1 319,400
Ineos Grenadier Body GRA-7H41-009932 RH D-pillar Grille RHD-Z3 18 24,200
Ineos Grenadier Body GRA-7H41-023681 LH Ventilation Flap LH #IEafo|d S 227,000
Ineos Grenadier Body GRA-7H41-023692 RH Ventilation Flap RH &#IE2o|d S 227,000
Ineos Grenadier Body GRA-7H41-023711 LH D-pillar Grille LHD-Z2{ 2 19,200
Ineos Grenadier Body GRA-7H41-023721 LH LWR D-pillar Trim Panel LHLWRD-Z&| E 1jg 437,900
Ineos Grenadier Body GRA-7H41-023732 RH LWR D-pillar Trim Panel RHLWRD-Z2 Eg g 437,900
Ineos Grenadier Body GRA-7H41-030772 RH Tailgate Sill Cover Bracket RH H2A0|E M 7{H =223 117,300
Ineos Grenadier Body GRA-7H41-030781 LH Tailgate Sill Cover Bracket LH H2ZAHO|E M HH =23l 117,300
Ineos Grenadier Body GRA-7H41-030892 RH D-pillar Grille RHD-Z3 18 162,800
Ineos Grenadier Body GRA-7H41-030901 LH D-pillar Grille LHD-Z2{ J& 162,800
Ineos Grenadier Body GRA-7H41-031870 RR Sill Cover Panel RR & A 14 329,000
Ineos Grenadier Body GRA-7H41-034932 RH LWR D-pillar Trim Panel RHLWRD-Z2 E& 1jd 451,000
Ineos Grenadier Body GRA-7H41-034941 LH LWR D-pillar Trim Panel LHLWRD-Z2 E 1f 451,000
Ineos Grenadier Body GRA-7H41-034951 LH RR Gap Hider LHRR 74 50| 77,400
Ineos Grenadier Body GRA-7H41-034962 RH RR Gap Hider RHRR 7 5}0|5 77,400
Ineos Grenadier Body GRA-7H41-045341 LH Ventilation Flap LH #IEafo|d S 233,800
Ineos Grenadier Body GRA-7H41-045352 RH Ventilation Flap RH #IE2o|d S 233,800
Ineos Grenadier Body GRA-7H51-032020 RR Screen RR 232 1,127,400
Ineos Grenadier Body GRA-7H51-032030 RR Screen Privacy RR 232l Z2}0[HA| 1,615,600
Ineos Grenadier Body GRA-7H51-037750 RR Window Fixed Glass RRIEY 2= R2| 1,161,200
Ineos Grenadier Body GRA-7H51-037760 RR Window Fixed Glass Privacy RRIEY 2= Ra| Z2to|HfA| 1,615,600
Ineos Grenadier Body GRA-7J01-039382 RH FRT Pickup Bed Panel Baffle RHFRT Z ¢ HE 1jd B E 53,200
Ineos Grenadier Body GRA-7J02-037721 LH INR RR Corner Bed Trim LHINRRR Z{ HIE E 127,800
Ineos Grenadier Body GRA-7J02-037732 RH INR RR Corner Bed Trim RHINRRR ZH HIE E 127,800
Ineos Grenadier Body GRA-7J02-037742 RH INR RR Corner Bed Trim RHINRRR ZH HIE E 127,800
Ineos Grenadier Body GRA-7J02-047792 RH INR RR Corner Bed Trim RHINRRR 2 HIE E 127,800
Ineos Grenadier Body GRA-7J02-047940 Pickup Bed Floor Trim Panel Ly He E20 EG H 4,510,600
Ineos Grenadier Body GRA-7J02-047950 FRT Pickup Bed Trim Panel FRT O @ HE EY & 739,300
Ineos Grenadier Body GRA-7J02-047961 LH Pickup Bed Trim Panel LH I Hl= E g 739,300
Ineos Grenadier Body GRA-7J02-047972 RH Pickup Bed Trim Panel RH I ¢ H|= E3 §td 739,300
Ineos Grenadier Body GRA-7J02-047982 RH Pickup Bed Trim Panel RH I ¢ H|= E3 §td 739,300
Ineos Grenadier Body GRA-7J03-037442 RH OTR RR Corner Bed Edge Trim LHINRRR ZL H|E HX| EE 102,200
Ineos Grenadier Body GRA-7J03-037451 LH INR RR Corner Bed Edge Trim RHINRRR T H|E AX| EY 102,000
Ineos Grenadier Body GRA-7J03-037462 RH INR RR Corner Bed Edge Trim LHRR H| = x| EE 102,000
Ineos Grenadier Body GRA-7J03-037471 LH RR Bed Edge Trim RHRRH|E X EF 105,500
Ineos Grenadier Body GRA-7J03-037482 RH RR Bed Edge Trim LHOTRMID H|E X EE 105,500
Ineos Grenadier Body GRA-7J03-037491 LH OTR MID Bed Edge Trim RHOTRMID H|E AX| E8 89,300




Ineos Grenadier Body GRA-7J03-037502 RH OTR MID Bed Edge Trim LHINRMID H|E AX| E3 89,300
Ineos Grenadier Body GRA-7J03-037511 LH INR MID Bed Edge Trim RHINRMID H|E x| EZ] 89,300
Ineos Grenadier Body GRA-7J03-037522 RH INR MID Bed Edge Trim LHFRT H|E %X E 89,300
Ineos Grenadier Body GRA-7J03-037531 LH FRT Bed Edge Trim RH FRT H|E %] E 107,500
Ineos Grenadier Body GRA-7J03-037542 RH FRT Bed Edge Trim RH FRT H|E X E 107,500
Ineos Grenadier Body GRA-7J03-037551 LH OTR FRT Corner Bed Edge Trim LHOTRFRT AL HE AX| EZ 96,800
Ineos Grenadier Body GRA-7J03-037562 RH OTR FRT Corner Bed Edge Trim RHOTRFRT ZLf H|E AX| EE 96,800
Ineos Grenadier Body GRA-7J03-037571 LH INR FRT Corner Bed Edge Trim LHINRFRT ZL H|E HX| EZ 96,600
Ineos Grenadier Body GRA-7J03-037582 RH INR FRT Corner Bed Edge Trim RHINRFRT ZL HE x| E 96,600
Ineos Grenadier Body GRA-7J03-037590 FRT Bed Edge Trim FRT H|E AX| EY 248,100
Ineos Grenadier Body GRA-7J03-037601 LH OTR RR Corner Bed Edge Trim LHOTRRR A HIE WX E 102,200
Ineos Grenadier Body GRA-7J03-037612 RH OTR RR Corner Bed Edge Trim LHINRRR L H|E HX| EE 102,200
Ineos Grenadier Body GRA-7J03-037621 LH INR RR Corner Bed Edge Trim RHINRRR T HE AX| E 102,000
Ineos Grenadier Body GRA-7J03-037631 LH OTR MID Bed Edge Trim RHOTRMID H|E AX| £ 89,300
Ineos Grenadier Body GRA-7J03-037642 RH OTR MID Bed Edge Trim LHINR MID H|E AX| EZ 89,300
Ineos Grenadier Body GRA-7J03-037661 LH INR MID Bed Edge Trim RH INR MID H|E HX| E2 89,300
Ineos Grenadier Body GRA-7J03-037662 RH INR MID Bed Edge Trim LH FRT H| = x| E& 89,300
Ineos Grenadier Body GRA-7J03-037671 LH OTR FRT Corner Bed Edge Trim LHOTRFRT AL HE AX| EZ 96,800
Ineos Grenadier Body GRA-7J03-037682 RH OTR FRT Corner Bed Edge Trim RH OTRFRT 4 H|E X EZ 96,800
Ineos Grenadier Body GRA-7J03-037691 LH INR FRT Corner Bed Edge Trim LHINRFRT ZL H|E HX| EZ 96,600
Ineos Grenadier Body GRA-7J03-037702 RH INR FRT Corner Bed Edge Trim RH INR FRT 2 H| = SIX| E 96,600
Ineos Grenadier Body GRA-7J03-037712 RH INR RR Corner Bed Edge Trim LHRR H|E x| E] 102,000
Ineos Grenadier Body GRA-7J03-038201 LH OTR RR Corner Bed Edge Trim LHOTRRR A HIE AX| E 102,200
Ineos Grenadier Body GRA-7J03-048002 RH OTR RR Corner Bed Edge Trim LHINRRR L H|E HX| EE 214,800
Ineos Grenadier Body GRA-7J03-048011 LH OTR RR Corner Bed Edge Trim LHOTRRR A HIE AX| E 102,000
Ineos Grenadier Body GRA-7J03-048022 RH OTR RR Corner Bed Edge Trim LHINRRR ZL{ H|E HX| EE 102,000
Ineos Grenadier Body GRA-7J03-048031 LH OTR RR Corner Bed Edge Trim LHOTRRR A HIE WX E 214,800
Ineos Grenadier Body GRA-7J04-039731 LH OTR Pickup Bed Trim LHOTR I HlE EE 88,000
Ineos Grenadier Body GRA-7J04-039742 RH OTR Pickup Bed Trim RHOTR I HIE E3 70,600
Ineos Grenadier Body GRA-7J04-040271 RR LH Pickup Bed Trim Bracket RRLH T HE EF =23 53,100
Ineos Grenadier Body GRA-7J04-040282 RR RH Pickup Bed Trim Bracket RRRH L HIE E3 Haj7l 53,100
Ineos Grenadier Body GRA-7J04-040831 Pickup Bed Dirt Seal Y Hc #x A 46,800
Ineos Grenadier Body GRA-7J04-040840 Pickup Bed Dirt Seal Y Hc Hx A 106,900
Ineos Grenadier Body GRA-7J04-044460 Decal EES 185,600
Ineos Grenadier Body GRA-7J04-044760 Decal EES 185,600
Ineos Grenadier Body GRA-7J04-046711 LH RR Wheel Arch Trim LHRR & OHX| EE 201,700
Ineos Grenadier Body GRA-7J04-046722 RH RR Wheel Arch Trim PERRE O EY 201,700
Ineos Grenadier Body GRA-7J04-047431 RR LH Pickup Bed Trim Panel RRLH I HE EZ 2213 370,000
Ineos Grenadier Body GRA-7J04-047442 RR RH Pickup Bed Trim Panel 5 g Hc EF e 370,000
Ineos Grenadier Body GRA-7J05-038640 Bush M10 FAl M10 17,700
Ineos Grenadier Body GRA-7J05-038650 Plug £33 8,500
Ineos Grenadier Body GRA-7J05-040721 LH UPR Joiner ZH5 UPR Z0|4 35,300
Ineos Grenadier Body GRA-7J05-040731 LH LWR Joiner ZH5 LWR Z0[ 4 35,300
Ineos Grenadier Body GRA-7J05-040742 RH UPR Joiner 2% UPR Z0|4 35,300
Ineos Grenadier Body GRA-7J05-040752 RH LWR Joiner 25 LWR Z0[4 35,300
Ineos Grenadier Body GRA-7J05-043540 Mounting Bar Assembly 028 vt ojd =2 2,248,300
Ineos Grenadier Body GRA-7J06-035640 Spare Wheel Carrier Adapter A0 2 7§2|0f Of HE 179,800
Ineos Grenadier Body GRA-7J06-035650 Spare Wheel Carrier Body B EEEERERE 739,300
Ineos Grenadier Body GRA-7J06-035680 Lock Adapter A3 ofHE 218,400
Ineos Grenadier Body GRA-7J06-035690 Anti Theft Plate S e 20| E 51,000
Ineos Grenadier Body GRA-7K01-006101 LH UPR Bracket LH UPR 22131 101,100
Ineos Grenadier Body GRA-7K01-006112 RH UPR Bracket RH UPR =23l 101,100
Ineos Grenadier Body GRA-7K01-023750 Partition Panel R E] 2,958,000
Ineos Grenadier Body GRA-7K01-023762 RH UPR Bracket RH UPR =23l 233,300
Ineos Grenadier Body GRA-7K01-023771 LH UPR Bracket LH UPR 22131 233,300
Ineos Grenadier Body GRA-7K01-023820 Scrubpad ASYIIE 68,500
Ineos Grenadier Body GRA-7K01-023830 Partition Panel R E] 724,600
Ineos Grenadier Body GRA-7K01-023841 LH UPR Bracket LH UPR 22131 62,000
Ineos Grenadier Body GRA-7K01-023852 RH UPR Bracket RH UPR =2} 62,000
Ineos Grenadier Body GRA-7K01-023861 LH LWR Bracket LHLWR E2}2 58,000
Ineos Grenadier Body GRA-7K01-023872 RH LWR Bracket RHLWR E2}3l 58,000
Ineos Grenadier Body GRA-7K01-030450 Partition Panel R E] 1,242,200
Ineos Grenadier Body GRA-7L00-023890 Console Beam CTR Mount 24 8 CTROIRE 223,100
Ineos Grenadier Body GRA-7L00-023900 Console Beam Cross Brace Z& M 322 =g0]Aa 61,400
Ineos Grenadier Body GRA-7L00-023911 Console Beam LH Mount 24 8 | HORE 171,800
Ineos Grenadier Body GRA-7L00-023922 Console Beam RH Mount & Y RHOIRE 171,800
Ineos Grenadier Body GRA-7L01-023880 Console Beam 28 1,236,800
Ineos Grenadier Body GRA-7L02-023930 Cross Car Beam A=A 7t 1,236,800
Ineos Grenadier Body GRA-7L10-024161 LH CTR Air Vent LHCTR 0fj0] HIE 189,600
Ineos Grenadier Body GRA-7L10-024172 RH CTR Air Vent RHCTROjof HIE 189,600
Ineos Grenadier Body GRA-7L10-024200 Air Conditioning Unit Adapter ofjof ZACIN | S % Of HE] 41,700
Ineos Grenadier Body GRA-7L10-024211 LH Side Demist Duct LH Ato|= HOHA HE 41,100
Ineos Grenadier Body GRA-7L10-024222 RH Side Demist Duct RH APO|E HOIHA HE 41,100
Ineos Grenadier Body GRA-7L10-024231 LH CTR Demist Duct LHCTR HOX 7 HE 46,400
Ineos Grenadier Body GRA-7L10-024242 RH CTR Demist Duct RHCTR g0 HE 43,800
Ineos Grenadier Body GRA-7L10-024250 Demist Duct AORAH HE 157,900
Ineos Grenadier Body GRA-7L10-024260 CTR Air Vent Duct CTROjj0f HIE HE 79,700
Ineos Grenadier Body GRA-7L11-024131 LH Outer Air Vent LH OFRE{ 0ofjo] HE 240,900
Ineos Grenadier Body GRA-7L11-024142 RH Outer Air Vent RH Ot E 0fjof HIE 240,900
Ineos Grenadier Body GRA-7L11-024151 LH Air Vent Duct LHOjof HIE HE 91,300
Ineos Grenadier Body GRA-7L11-024180 CTR Air Vent Assembly CTR OO HIE oj 52| 496,300
Ineos Grenadier Body GRA-7L11-024192 RH Air Vent Duct RH OO HE HE 81,700
Ineos Grenadier Body GRA-7L11-048121 LH OTR Air Vent %5 OTR 0fl0] HIE 267,700
Ineos Grenadier Body GRA-7L11-048132 RH OTR Air Vent 2% OTR0jj0] HIE 267,700
Ineos Grenadier Body GRA-7L11-050500 CTR Air Vent Assembly CTR OO HIE oj 52| 496,300
Ineos Grenadier Body GRA-7L12-024270 CTR Air Vent Assembly CTR OO HIE oj 52| 496,300
Ineos Grenadier Body GRA-7L12-024282 RH Air Vent Duct RH OO HE HE 91,300
Ineos Grenadier Body GRA-7L12-024291 LH Air Vent Duct LHOjof BIE HE 115,600
Ineos Grenadier Body GRA-7L12-050510 CTR Air Vent Assembly CTR OO HIE oj 52| 496,300
Ineos Grenadier Body GRA-7L20-024310 Topper Panel Seal Elijg 6,300
Ineos Grenadier Body GRA-7L20-024331 LH A-pillar Bracket LHA-Z2 523 18,300
Ineos Grenadier Body GRA-7L20-024342 RH A-pillar Bracket RHA-Z2f Eap3l 18,300
Ineos Grenadier Body GRA-7L20-024350 Bracket a3 23,000
Ineos Grenadier Body GRA-7L20-024371 LH CTR Console Side Trim LHCTR Z£ A0|E E3 110,200
Ineos Grenadier Body GRA-7L20-024380 Dashboard Navigation Cover CHA|EE LfH|[H O] M 71 245,600
Ineos Grenadier Body GRA-7L20-024390 CTR Console LWR Trim CTIRE&ZLWREY 128,700
Ineos Grenadier Body GRA-7L20-024412 LWR Passengers Panel Trim LWR SEHM Ijd E3 78,800
Ineos Grenadier Body GRA-7L20-024422 RH CTR Console Side Trim RHCTR Z& Al0|E EE 111,100
Ineos Grenadier Body GRA-7L20-024460 Fuse Box Cover F= A AHY 46,400
Ineos Grenadier Body GRA-7L20-024471 LWR Drivers panel Trim LWR2HM Ijd E3 78,800
Ineos Grenadier Body GRA-7L20-024480 Defrost Grille Moulding AojxAH 28 2 142,100
Ineos Grenadier Body GRA-7L20-024500 FRT CTR Console Strip Trim FRTCTRE& AEZ EYY 226,000
Ineos Grenadier Body GRA-7L20-024580 Clock Cover 22} 7{H] 312,300
Ineos Grenadier Body GRA-7L20-024640 Grab Handle dWHE 299,900
Ineos Grenadier Body GRA-7L20-024900 Glove Box Latch 22 A 2fX| 79,900
Ineos Grenadier Body GRA-7L20-024910 Glove Box Plunger Switch 222 A S AKX 53,100
Ineos Grenadier Body GRA-7L20-024920 Glove Box Bump Stop e A o AF 18,600




Ineos Grenadier Body GRA-7L20-024930 Glove Box Striker 22 L gtA AERO[H 37,500
Ineos Grenadier Body GRA-7L20-024940 Glove Box Damper 22 oA gl 92,400
Ineos Grenadier Body GRA-7L20-031360 Clock Cover 22} 7] 312,300
Ineos Grenadier Body GRA-7L20-031371 LH LWR Knee Roll Trim LHLWRL E EZ 98,000
Ineos Grenadier Body GRA-7L20-031382 RH LWR Knee Roll Trim RHLWRL EEZ 98,000
Ineos Grenadier Body GRA-7L20-031390 Grab Handle a 287,300
Ineos Grenadier Body GRA-7L20-031400 Grab Handle a 393,800
Ineos Grenadier Body GRA-7L20-031410 Grab Handle a 381,200
Ineos Grenadier Body GRA-7L20-048180 FRT CTR Console Strip Trim FRT CTR 251,100
Ineos Grenadier Body GRA-7L21-024300 UPR Console Topper Panel UPRZZ E0 I d 1,790,200
Ineos Grenadier Body GRA-7L21-024320 Topper Panel Rubber Mat EH Ijg 2 OHE 50,000
Ineos Grenadier Body GRA-7L21-024360 UPR Console Carrier 1,212,600
Ineos Grenadier Body GRA-7L21-024402 RH UPR Console End Cap Trim RHUPREZZ AE W EY 151,200
Ineos Grenadier Body GRA-7L21-024430 Bracket 98,600
Ineos Grenadier Body GRA-7L21-024441 CTR Drivers Panel Trim g E8 327,600
Ineos Grenadier Body GRA-7L.21-024451 LH UPR Console End Cap Trim cHE 147,300
Ineos Grenadier Body GRA-7L.21-024491 UPR Drivers Panel Trim g £ 469,500
Ineos Grenadier Body GRA-7L21-024511 LH OTR Drivers Strip Trim 2EE EZ 213,700
Ineos Grenadier Body GRA-7L.21-024521 LH CTR Console Strip Trim EY EF 203,700
Ineos Grenadier Body GRA-7L21-024532 RH CTR Console Strip Trim EZEF 201,700
Ineos Grenadier Body GRA-7L21-024542 RH Demister Panel Strip Trim RHOOAE I AER EY 218,600
Ineos Grenadier Body GRA-7L21-024550 Drivers Display Bezel 23M ClAS8 o H™ 61,000
Ineos Grenadier Body GRA-7L21-024562 RH Demister Panel RH H|0|AE 1 269,000
Ineos Grenadier Body GRA-7L.21-024571 LH Demister Panel LH GIO|AF of 250,500
Ineos Grenadier Body GRA-7L21-024592 RH OTR Passenger Strip Trim RH UM I AER E 208,300
Ineos Grenadier Body GRA-7L.21-024601 LH INR Drivers Strip Trim 1j E 205,000
Ineos Grenadier Body GRA-7L21-024612 RH INR Passenger Strip Trim 1 E 203,900
Ineos Grenadier Body GRA-7L21-024622 UPR Passengers Panel Trim dEZ 215,500
Ineos Grenadier Body GRA-7L21-024632 Grab Handle Bracket 2t 201,100
Ineos Grenadier Body GRA-7L.21-048191 LH OTR Drivers Strip Trim g3 EY 237,400
Ineos Grenadier Body GRA-7L.21-048201 LH CTR Console Strip Trim EY EF 224,100
Ineos Grenadier Body GRA-7L21-048212 RH CTR Console Strip Trim EZEF 224,100
Ineos Grenadier Body GRA-7L21-048222 RH Demister Panel Strip Trim 2EE EZ 242,900
Ineos Grenadier Body GRA-7L21-048232 RH OTR Passenger Strip Trim E 231,500
Ineos Grenadier Body GRA-7L21-048242 LH INR Drivers Strip Trim E 227,800
Ineos Grenadier Body GRA-7L.21-048251 RH INR Passenger Strip Trim E 226,500
Ineos Grenadier Body GRA-7L21-048260 Drivers Display Bezel | 67,800
Ineos Grenadier Body GRA-7L22-024651 LH CTR Console Strip Trim g 203,900
Ineos Grenadier Body GRA-7L22-024662 RH CTR Console Strip Trim 2 EY 205,900
Ineos Grenadier Body GRA-7L22-024671 LH Demister Panel Strip Trim EYEd 221,100
Ineos Grenadier Body GRA-7L22-024682 RH OTR Dirivers Strip Trim RHOTR At AER EZ 216,100
Ineos Grenadier Body GRA-7L22-024702 UPR Drivers Panel Trim g 469,500
Ineos Grenadier Body GRA-7L22-024712 RH Demister Panel RH H|0|AE 1Y 250,500
Ineos Grenadier Body GRA-7L22-024721 LH Demister Panel LH GlojAH 1fg 263,000
Ineos Grenadier Body GRA-7L22-024730 Drivers Display Bezel 23M ClAS8 o H™ 61,000
Ineos Grenadier Body GRA-7L22-024742 RH UPR Console End Cap Trim RHUPREZZ AE W EY 148,600
Ineos Grenadier Body GRA-7L22-024752 CTR Drivers Panel Trim CTR2FM 4 EY 322,300
Ineos Grenadier Body GRA-7L22-024760 Bracket a3 98,600
Ineos Grenadier Body GRA-7L22-024771 LH UPR Console End Cap Trim LHUPREZS AE W EYY 147,300
Ineos Grenadier Body GRA-7L22-024780 UPR Console Carrier UPR 22 72|99 1,212,600
Ineos Grenadier Body GRA-71.22-024801 LH OTR Passenger Strip Trim LHOTRSHM AER EE 210,800
Ineos Grenadier Body GRA-7L22-024811 LH INR Dashboard Deco Trim LHINR CHA|2E O|F E 207,900
Ineos Grenadier Body GRA-7L22-024822 RH INR Drivers Strip Trim RHINR2HM AER E 202,300
Ineos Grenadier Body GRA-71.22-024831 UPR Passengers Panel Trim UPR P e E 215,500
Ineos Grenadier Body GRA-7L22-024841 Grab Handle Bracket LH O3 315 =23l 201,100
Ineos Grenadier Body GRA-7L22-024850 UPR Console Topper Panel UPRZ2 E0 I d 1,790,200
Ineos Grenadier Body GRA-7L22-024862 Topper Panel Rubber Mat EH Ijg 2 OHE 50,000
Ineos Grenadier Body GRA-7L22-048291 LH CTR Console Strip Trim LHCTREZS 2EH EY 226,500
Ineos Grenadier Body GRA-7L22-048302 RH CTR Console Strip Trim Ed 226,500
Ineos Grenadier Body GRA-7L22-048311 LH Demister Panel Strip Trim LHOOAH Ij2 2AER EY 242,900
Ineos Grenadier Body GRA-7L22-048322 RH OTR Dirivers Strip Trim RHOTR 2% X AER E 240,200
Ineos Grenadier Body GRA-7L.22-048331 LH OTR Passenger Strip Trim LHOTRSHM AER E 240,200
Ineos Grenadier Body GRA-7L22-048341 LH INR Passenger Strip Trim IS INR ZFM AER ER 224,800
Ineos Grenadier Body GRA-7L22-048352 RH INR Drivers Strip Trim RHINR2HM AER EZ 224,800
Ineos Grenadier Body GRA-7L22-048360 Drivers Display Bezel 23M ClaSg o H™ 67,800
Ineos Grenadier Body GRA-7L23-024872 Glove Box Assembly B2 HA odE2 1,098,600
Ineos Grenadier Body GRA-71.24-024951 Glove Box Assembly B2 HA odE2 1,098,600
Ineos Grenadier Body GRA-7M00-025000 LWR CTR Console Air Duct LWRCTR 22 00 §E 175,600
Ineos Grenadier Body GRA-7M00-025032 RH LWR CTR Console FRT Trim RHLWRCTRZ& FRT EE 114,900
Ineos Grenadier Body GRA-7M00-025042 RH Feet Blower Duct RHZ E20 §E 78,100
Ineos Grenadier Body GRA-7M00-025051 LH LWR CTR Console FRT Trim LHLWRCTREZ& FRT EZ 114,900
Ineos Grenadier Body GRA-7M00-025061 LH Feet Blower Duct LH X E20| §E 125,800
Ineos Grenadier Body GRA-7M00-025090 Storage Box Rubber Mat AE|X| BtA B HE 48,200
Ineos Grenadier Body GRA-7M00-025110 LWR CTR Console RR Air Duct LWRCTR Z£ RR 00 HE 87,900
Ineos Grenadier Body GRA-7M00-025120 LWR CTR Console Storage Box LWRCTR 25 AE2|X| 8& 194,100
Ineos Grenadier Body GRA-7M00-025160 LWR CTR Console RR Panel LWRCTREZZ RRIjE 298,200
Ineos Grenadier Body GRA-7M00-025170 LWR Console RR Air Vent LWR Z£ RROJO| HIE 171,500
Ineos Grenadier Body GRA-7M00-025180 LWR CTR Console RR Panel LWRCTREZZ RRIjE 311,400
Ineos Grenadier Body GRA-7M00-025200 LWR CTR Console RR Panel LWRCTREZZ RRIjE 311,400
Ineos Grenadier Body GRA-7M00-025210 LWR Armrest Bracket LWR 22 E a3 269,900
Ineos Grenadier Body GRA-7M00-025220 LWR Armrest Bezel LWR YA E d| 197,200
Ineos Grenadier Body GRA-7M00-025230 LWR Armrest RR Bezel LWR 22| AE RR H|IH 67,600
Ineos Grenadier Body GRA-7M00-025240 Armrest Storage Bin AYAE AER[X] 8l 187,600
Ineos Grenadier Body GRA-7M00-039660 Armrest AYAE 722,600
Ineos Grenadier Body GRA-7M00-039670 Leather Armrest (Black) 2o AYAE (=) 882,500
Ineos Grenadier Body GRA-7M00-047670 LWR Console RR Air Vent LWR Z£ RROJO] HIE 171,500
Ineos Grenadier Body GRA-7M00-047680 Leather Armrest HE Y AE 882,500
Ineos Grenadier Body GRA-7M00-047690 Armrest Bracket AYAE EHatH 32,400
Ineos Grenadier Body GRA-7M01-022870 Centre Console Armature ME 24 HI|Xp 663,300
Ineos Grenadier Body GRA-7M01-024980 Cup Holder FELE] 318,700
Ineos Grenadier Body GRA-7M01-024990 Selector Bracket e gap3l 160,600
Ineos Grenadier Body GRA-7M01-025011 LH LWR CTR Console RR Trim LHLWRCTREZZ RREZ 245,400
Ineos Grenadier Body GRA-7M01-025022 RH LWR CTR Console RR Trim RHLWRCTREZZRREZ 245,400
Ineos Grenadier Body GRA-7M01-025070 Selector Cover Al E| 7{H 111,600
Ineos Grenadier Body GRA-7M01-025080 Phone Tray Rubber FOE Egjo] 2 50,700
Ineos Grenadier Body GRA-7M01-025100 LWR CTR Console Armature LWRCTR 2& F7|&t 397,200
Ineos Grenadier Body GRA-7M01-025130 Top Finisher Bezel EFEEEE 368,900
Ineos Grenadier Body GRA-7M01-025140 Central Control Interface Cover 29 H0f QIE{H|0]A FHH] 79,100
Ineos Grenadier Body GRA-7M01-047700 Selector Cover FEEEE] 111,600
Ineos Grenadier Body GRA-7M01-047710 Cup Holder FEE 318,700
Ineos Grenadier Body GRA-7M02-022310 Centre Console Armature ME 22 ®I|Xp 663,300
Ineos Grenadier Body GRA-7M02-025250 Selector Bracket e gap3l 160,600
Ineos Grenadier Body GRA-7M02-025260 Cup Holder FELE] 318,700
Ineos Grenadier Body GRA-7M02-025271 LH LWR CTR Console RR Trim LHLWRCTREZZ RREZ 245,400
Ineos Grenadier Body GRA-7M02-025282 RH LWR CTR Console RR Trim RHLWRCTREZZRREZ 245,400
Ineos Grenadier Body GRA-7M02-025290 Selector Cover FEEEE] 111,600
Ineos Grenadier Body GRA-7M02-025300 Phone Tray FOE E280] 50,700




Ineos Grenadier Body GRA-7M02-025310 LWR CTR Console Armature LWRCTR 2& F7|&t 397,200
Ineos Grenadier Body GRA-7M02-025320 Central Control Interface Cover 29 H|0f QIE{H|0]A 7] 79,800
Ineos Grenadier Body GRA-7M02-025330 Top Finisher Bezel EFEEEE 346,600
Ineos Grenadier Body GRA-7M02-047650 Selector Cover FEEEE] 111,600
Ineos Grenadier Body GRA-7M02-047660 Cup Holder zzg 318,700
Ineos Grenadier Body GRA-7M03-031170 Ashtray ER 27,000
Ineos Grenadier Body GRA-7N00-025350 Bracket =2t 8,500
Ineos Grenadier Body GRA-7N00-030660 Bracket =22t 16,600
Ineos Grenadier Body GRA-7N00-039680 FRT Seat Rail Adjustment Stop FRTAE Y OJEHAEHE AF 23,400
Ineos Grenadier Body GRA-7N00-041780 FRT Seat PVC Leather Headrest FRTAIE S| EZ|2E 511,200
Ineos Grenadier Body GRA-7N00-041790 Seat Headrest Guide Set FRT A|E S|SB AE J10|E NE 77,400
Ineos Grenadier Body GRA-7N00-041820 FRT Seat Backpanel FRT A|E g 545,500
Ineos Grenadier Body GRA-7N00-041830 FRT Seat Wiring Harness Connector FRT A|E 2t0[0f & 3t~ H4E 88,200
Ineos Grenadier Body GRA-7N00-041840 FRT Seat Dummy Occupancy Sensor FRT AIE GO] 2 FHA| M 87,600
Ineos Grenadier Body GRA-7N00-041860 FRT Seat Fixings Kit FRT AIE Ty 7|E 88,900
Ineos Grenadier Body GRA-7N00-041870 FRT Seat Cushion FRT AE M 1,164,000
Ineos Grenadier Body GRA-7N00-041890 Seat Heating ECM A E 3|E ECM 332,300
Ineos Grenadier Body GRA-7N00-041900 FRT Seat Wiring Harness Connector FRT A|E 2t0[0f & 3t~ H4H 141,500
Ineos Grenadier Body GRA-7N00-041910 FRT Seat Heated Cushion FRT A|E S|E|E M 1,310,200
Ineos Grenadier Body GRA-7N00-041930 FRT Seat Cushion FRT AE M 1,164,000
Ineos Grenadier Body GRA-7N00-041950 FRT Seat Heated Cushion FRT A|E 3|E|E 4 1,310,200
Ineos Grenadier Body GRA-7N00-041970 FRT Seat Heated Cushion FRT A|E 3|E|E 24 2,122,300
Ineos Grenadier Body GRA-7N00-041990 FRT Seat Heated Cushion FRT A|E 3|E|E 24 2,111,100
Ineos Grenadier Body GRA-7N00-042010 Seat Occupancy Sensor AE @FHA| MM 235,000
Ineos Grenadier Body GRA-7N00-042020 FRT Seat Leather Headrest FRTAIE S| EZ|AE 622,100
Ineos Grenadier Body GRA-7N00-042120 FRT Seat Fixings Kit FRT AIE Ty 7|E 98,500
Ineos Grenadier Body GRA-7N00-042170 FRT Seat Rail Adjustment Stop FRTAE Y OEHAEHE AF 131,500
Ineos Grenadier Body GRA-7N00-042180 FRT Seat Rail End Cap FRTAIE YL AE Y 87,500
Ineos Grenadier Body GRA-7N00-042190 FRT Seat Belt Buckle FRT QHHME B2 388,100
Ineos Grenadier Body GRA-7N00-042200 FRT Seat Heated Cushion FRT A|E 3|E|E 4 1,046,300
Ineos Grenadier Body GRA-7N00-042210 FRT Seat Heated Cushion FRT A|E 3|E|E 24 1,046,300
Ineos Grenadier Body GRA-7N00-042220 FRT Seat Heated Cushion FRT A|E 3|E|E 4 1,046,300
Ineos Grenadier Body GRA-7N00-042230 FRT Seat Heated Cushion FRT A|E 3|E|E 4 1,046,300
Ineos Grenadier Body GRA-7N00-048080 Bracket a3 16,600
Ineos Grenadier Body GRA-7N03-033771 LH FRT Seat Belt LHFRT QI E 453,000
Ineos Grenadier Body GRA-7N03-041701 LH FRT Seat Belt LHFRT QIHHME 456,300
Ineos Grenadier Body GRA-7N10-041761 LH FRT Seat Cushion Frame LHFRT A|E 34 Zgj¢) 1,513,500
Ineos Grenadier Body GRA-7N10-041771 LH FRT Seat Backrest Frame LH FRT A|E Hi|AE mafQ 1,234,600
Ineos Grenadier Body GRA-7N10-041801 LH INR FRT Seat Valance LHINRFRT AIE A8 H 102,300
Ineos Grenadier Body GRA-7N10-041811 LH OTR FRT Seat Valance LHOTRFRTAIE ZA8 H 352,300
Ineos Grenadier Body GRA-7N10-041880 FRT Seat Backrest FRT A|E H2AE 1,696,300
Ineos Grenadier Body GRA-7N10-041920 FRT Seat Heated Backrest FRT A|E S|E|E HRAE 1,201,600
Ineos Grenadier Body GRA-7N10-041940 FRT Seat Backrest FRT A|E H2AE 1,696,300
Ineos Grenadier Body GRA-7N10-041960 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 1,711,400
Ineos Grenadier Body GRA-7N10-041980 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 3,245,300
Ineos Grenadier Body GRA-7N10-042000 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 3,149,600
Ineos Grenadier Body GRA-7N11-041850 FRT Seat Postion Sensor FRT AE ZX|M 4N 149,700
Ineos Grenadier Body GRA-7N13-033852 RH FRT Seat Belt L FRTAIEHME 453,000
Ineos Grenadier Body GRA-7N13-033862 RH FRT Seat Belt L FRTAIEHME 407,700
Ineos Grenadier Body GRA-7N13-041712 RH FRT Seat Belt L FRTAIEHME 453,000
Ineos Grenadier Body GRA-7N13-041722 RH FRT Seat Belt L FRTAIEHME 456,300
Ineos Grenadier Body GRA-7N21-025341 LH FRT Seat Belt LHFRT QI E 404,800
Ineos Grenadier Body GRA-7N40-042032 RH FRT Seat Cushion Frame RHFRTA|E 4 Ty 1,510,200
Ineos Grenadier Body GRA-7N40-042042 RH FRT Backrest Frame RH FRT 2| AE mTaf g 1,252,900
Ineos Grenadier Body GRA-7N40-042052 RH INR FRT Seat Valance RHINRFRT A|E EAIE H 102,300
Ineos Grenadier Body GRA-7N40-042062 RH OTR FRT Seat Valance RHOTRFRT A|E EAE H® 352,300
Ineos Grenadier Body GRA-7N40-042080 FRT Seat Backrest FRT A|E H2AE 1,693,300
Ineos Grenadier Body GRA-7N40-042090 FRT Seat Heated Backrest FRT A|E S|E|E HRAE 1,808,400
Ineos Grenadier Body GRA-7N40-042130 FRT Seat Backrest FRT A|E H2AE 1,693,300
Ineos Grenadier Body GRA-7N40-042140 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 1,808,400
Ineos Grenadier Body GRA-7N40-042150 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 3,342,300
Ineos Grenadier Body GRA-7N40-042160 FRT Seat Heated Backrest FRT A|E S|E|E B2 E 3,246,600
Ineos Grenadier Body GRA-7N41-042070 FRT Seat Postion Sensor FRT AE ZX|M 4N 207,300
Ineos Grenadier Body GRA-7N41-042100 Seat Occupancy Sensor Bracket AlE FHA| MM 231 8,400
Ineos Grenadier Body GRA-7N41-042110 Seat Occupancy Sensor AlE @FHA| MM 155,300
Ineos Grenadier Body GRA-7N51-025362 RH FRT Seat Belt L FRTAIEHME 404,800
Ineos Grenadier Body GRA-7N51-025372 RH FRT Seat Belt SZFRT Al E 404,800
Ineos Grenadier Body GRA-7P01-025390 RR Seat Water Barrier RR A|E 9JH 187,800
Ineos Grenadier Body GRA-7P01-025401 LH Adapter Plate LH O{ E 286,500
Ineos Grenadier Body GRA-7P01-025412 RH Adapter Plate RH O{E| E30|E 286,500
Ineos Grenadier Body GRA-7P01-025421 LH Striker LH 2E2t0[H 191,000
Ineos Grenadier Body GRA-7P01-025432 RH Striker RH AE2t0|# 191,000
Ineos Grenadier Body GRA-7P01-038160 RR Seat PVC Leather Headrest RREE SE2rE 873,500
Ineos Grenadier Body GRA-7P01-038170 RR Seat Leather Headrest RR G S EAE (2) 866,700
Ineos Grenadier Body GRA-7P01-038460 Rear Seat Bench Assembly S0 A|E HiIX| ofdlE2| 2,053,500
Ineos Grenadier Body GRA-7P01-042601 LH RR Bench Seat Cushion LHRR HIX| A|E 74 1,084,700
Ineos Grenadier Body GRA-7P01-042611 LH RR Bench Seat Backrest LHRR HIX| A|E W AE 1,332,000
Ineos Grenadier Body GRA-7P01-042622 RH RR Bench Seat Cushion RHRR #IX] A|E M 1,070,600
Ineos Grenadier Body GRA-7P01-042632 RH RR Bench Seat Backrest RHRR #IX| A|E #RAE 1,032,000
Ineos Grenadier Body GRA-7P01-042640 RR Seat PVC Leather Headrest RREE SE2E 841,600
Ineos Grenadier Body GRA-7P01-042652 RH RR Bench Seat Bezel RHRR #I%] A|E H|H 524,200
Ineos Grenadier Body GRA-7P01-042661 LH RR Bench Seat Bezel LHRR HIX| A|E H] ¥ 739,600
Ineos Grenadier Body GRA-7P01-042672 RH RR Bench Seat Backpanel RHRR H#IX| A|E Hijd 607,600
Ineos Grenadier Body GRA-7P01-042681 LH RR Bench Seat Backpanel LHRR HI%] A|E Hiajd 1,005,200
Ineos Grenadier Body GRA-7P01-042691 LH RR Bench Seat Backrest Frame LHRR H#IX] A|E || AE TafQ 2,266,000
Ineos Grenadier Body GRA-7P01-042702 RH RR Bench Seat Backrest Frame RHRR #IX| A|E W AE TgjQ 1,938,000
Ineos Grenadier Body GRA-7P01-042710 RR Bench Seat Frame RR YA A|E T2y 2,724,200
Ineos Grenadier Body GRA-7P01-042721 LH RR Bench Seat Foot LHRR %] A|E & 190,200
Ineos Grenadier Body GRA-7P01-042732 RH RR Bench Seat Foot RHRR X A|E & 190,200
Ineos Grenadier Body GRA-7P01-042740 CTR RR Bench Seat Foot CTRRR H#IA| A|E & 204,800
Ineos Grenadier Body GRA-7P01-042751 LH Release Mechanism Cover LH Z2[= ijH T #H 411,500
Ineos Grenadier Body GRA-7P01-042762 RH Release Mechanism Cover RH Za|= 7L E 7 320,300
Ineos Grenadier Body GRA-7P01-042770 Release Lever Cover 12| = 2t AHH 62,200
Ineos Grenadier Body GRA-7P01-042780 CTR Seat Belt Cover CTR QHHHE 7{H 69,900
Ineos Grenadier Body GRA-7P01-042791 LH RR Bench Seat Foot Cover LHRR #IX| A|E X 7{8] 110,300
Ineos Grenadier Body GRA-7P01-042802 RH RR Bench Seat Foot Cover RHRR #IX| A|E £ 71 110,300
Ineos Grenadier Body GRA-7P01-042811 LH OTR Recliner Cover LH OTR 2|2 2t0|L4 7|1 84,700
Ineos Grenadier Body GRA-7P01-042822 RH OTR Recliner Cover RH OTR 2|2 2t0|L 7{8] 84,700
Ineos Grenadier Body GRA-7P01-042830 CTR Recliner Cover CTR 2| Z2to|] 7] 82,300
Ineos Grenadier Body GRA-7P01-042840 RR Bench Seat Cushion Hinge RR #IX| A|E FM 8IX]| 63,600
Ineos Grenadier Body GRA-7P01-042852 RH RR Bench Seat Cushion Base RHRR H#IX| A|E 4 H|0o]A 328,700
Ineos Grenadier Body GRA-7P01-042861 LH RR Bench Seat Cushion Base LH RR #IX| A|E T4 H|0o|A& 418,300
Ineos Grenadier Body GRA-7P01-042870 RR Bench Seat Fixings Kit RR HIX| AIE DA 7|E 66,200
Ineos Grenadier Body GRA-7P01-042900 ISIZE ISOFIX Cover ISIZE ISOFIX #{H] 71,000
Ineos Grenadier Body GRA-7P01-042910 ISOFIX Cover ISOFIX 1] 71,000
Ineos Grenadier Body GRA-7P01-042920 RR Bench Seat Striker RR #IX| A|E AE2}0|H 101,700
Ineos Grenadier Body GRA-7P01-042931 LH RR Bench Seat Backpanel LHRR HI%] A|E Himjd 1,114,500




Ineos Grenadier Body GRA-7P01-042942 RH RR Bench Seat Cushion RHRR #IX] A|E T M 1,070,600
Ineos Grenadier Body GRA-7P01-042951 LH RR Bench Seat Cushion LHRR HIX| A|E 74 1,084,700
Ineos Grenadier Body GRA-7P01-042962 RH RR Bench Seat Backrest RHRR #IX| A|E #AE 1,032,000
Ineos Grenadier Body GRA-7P01-042971 LH RR Bench Seat Backrest LHRR HIX| A|E W AE 1,332,000
Ineos Grenadier Body GRA-7P01-042982 RH RR Bench Seat Cushion RHRR #IX] A|E T M 1,626,600
Ineos Grenadier Body GRA-7P01-042991 LH RR Bench Seat Cushion LHRR HIX| A|E 74 2,366,200
Ineos Grenadier Body GRA-7P01-043002 RH RR Bench Seat Backrest RHRR #IX| A|E #RAE 1,911,700
Ineos Grenadier Body GRA-7P01-043011 LH RR Bench Seat Backrest LHRR HX| A|E W AE 1,332,000
Ineos Grenadier Body GRA-7P01-043022 RH RR Bench Seat Bezel RHRR #I%] A|E H|™ 835,700
Ineos Grenadier Body GRA-7P01-043031 LH RR Bench Seat Bezel LHRR HIX| A|E H] ¥ 1,072,700
Ineos Grenadier Body GRA-7P01-043040 RR Seat Leather Headrest RR G S ERAE (2) 983,200
Ineos Grenadier Body GRA-7P01-043052 RH RR Bench Seat Cushion RHRR #IX] A|E T M 1,657,200
Ineos Grenadier Body GRA-7P01-043061 LH RR Bench Seat Cushion LHRR HIX| A|E 74 2,403,800
Ineos Grenadier Body GRA-7P01-043072 RH RR Bench Seat Backrest RHRR #IX| A|E #RAE 1,950,400
Ineos Grenadier Body GRA-7P01-043081 LH RR Bench Seat Backrest LHRR HIX| A|E W AE 2,738,100
Ineos Grenadier Body GRA-7P01-044860 RR Bench Seat Assembly RRHIX| AIE oI5z 1,850,000
Ineos Grenadier Body GRA-7P05-025441 LH FRT Underseat Cover LH FRT AGAIE 71 139,200
Ineos Grenadier Body GRA-7P05-025452 RH FRT Underseat Cover RH FRT AGAIE 7] 128,300
Ineos Grenadier Body GRA-7P05-025461 LH RR Underseat Cover LHRR QGA|E 7b] 166,200
Ineos Grenadier Body GRA-7P05-025472 RH RR Underseat Cover RHRR GAIE 7] 159,500
Ineos Grenadier Body GRA-7P06-025480 Under Seat Storage Compartment QCAE AER[X| ZLIEHE 247,200
Ineos Grenadier Body GRA-7P06-025490 Storage Box Cover AE2|X] BHA HH 7,500
Ineos Grenadier Body GRA-7P21-025501 LH RR Seat Belt LHRRQIHEE 258,900
Ineos Grenadier Body GRA-7P21-025512 RH RR Seat Belt RHRR QIHHE 258,900
Ineos Grenadier Body GRA-7P21-025520 CTR RR Seat Belt CTRRROITHEE 536,300
Ineos Grenadier Body GRA-7P21-025531 LH RR Seat Belt Guide Bracket LHRR QHHHE 7to|= =23l 19,600
Ineos Grenadier Body GRA-7P21-025542 RH RR Seat Belt Guide Bracket RHRR QHHHE 70| = =23l 19,600
Ineos Grenadier Body GRA-7P21-025551 LH RR Seat Belt LHRRQIHEE 285,400
Ineos Grenadier Body GRA-7P21-025562 RH RR Seat Belt RHRR QIHHE 285,400
Ineos Grenadier Body GRA-7P21-025570 CTR RR Seat Belt CTRRROITHEE 536,300
Ineos Grenadier Body GRA-7P21-025580 RR Seat Belt Double Buckle RRQIHME E HE 438,400
Ineos Grenadier Body GRA-7P21-033871 LH RR Seat Belt LHRRQIHEE 284,800
Ineos Grenadier Body GRA-7P21-033882 RH RR Seat Belt RHRR QIHHE 284,800
Ineos Grenadier Body GRA-7P21-033891 LH RR Seat Belt LHRRQIHEE 312,000
Ineos Grenadier Body GRA-7P21-033902 RH RR Seat Belt RHRR QIHHE 312,000
Ineos Grenadier Body GRA-7P21-043361 LH RR Seat Belt LHRRQIHEE 284,800
Ineos Grenadier Body GRA-7P21-043372 RH RR Seat Belt RHRR QIHHE 284,800
Ineos Grenadier Body GRA-7P21-043381 LH RR Seat Belt LHRRQIHEE 312,000
Ineos Grenadier Body GRA-7P21-043392 RH RR Seat Belt RHRR QIHHE 312,000
Ineos Grenadier Body GRA-7P21-045651 LH RR Seat Belt Guide Bracket LHRR QHHHE 70| E =213 21,800
Ineos Grenadier Body GRA-7P21-045662 RH RR Seat Belt Guide Bracket RHRR QIHHE 710|E =23 21,800
Ineos Grenadier Body Closures GRA-8000-000940 Door Mirror Glass Adjuster =of 03 tA O EXAH 103,300
Ineos Grenadier Body Closures GRA-8000-001650 Striker AE2}0|7] 23,500
Ineos Grenadier Body Closures GRA-8000-001670 FRT OTR Door Handle FRTOTR =0 A5 242,600
Ineos Grenadier Body Closures GRA-8000-001760 RR Door Outside Handle RR Z0f OF2AO|E SHE 245,400
Ineos Grenadier Body Closures GRA-8000-005050 FRT Door Arrester FRT =0f ofgf|AF 73,700
Ineos Grenadier Body Closures GRA-8000-005060 RR Door Arrester RR =0 of2AH 73,700
Ineos Grenadier Body Closures GRA-8000-005870 Utility Rail EEEEEE 241,100
Ineos Grenadier Body Closures GRA-8000-005880 FRT Door Mounting Plate FRT =0f 02 & E20|E 132,600
Ineos Grenadier Body Closures GRA-8000-005890 RR Door Mounting Plate RR =0 Or2 & Z30|E 68,300
Ineos Grenadier Body Closures GRA-8000-005900 Utility Rail EEEEEE 29,900
Ineos Grenadier Body Closures GRA-8000-005930 Tethering Hook HEHa =3 142,900
Ineos Grenadier Body Closures GRA-8000-005940 Tethering Hook Cover HEHE =3 HY 8,500
Ineos Grenadier Body Closures GRA-8000-006030 RR CTR Bump Strip RRCTR HZ 2EE 96,800
Ineos Grenadier Body Closures GRA-8000-008400 FRT Inner Door Seal FRT O] =0 & 455,700
Ineos Grenadier Body Closures GRA-8000-008490 RR Inner Door Seal RRO|Lf =of & 441,200
Ineos Grenadier Body Closures GRA-8000-008900 Arrester Sealing oAl M 45,300
Ineos Grenadier Body Closures GRA-8000-010740 Tethering Hook HEHa =3 160,600
Ineos Grenadier Body Closures GRA-8000-016810 FRT OTR Door Handle FRTOTR =0 A5 242,600
Ineos Grenadier Body Closures GRA-8000-020000 RR Door Outside Handle RR Z0f OF2AO|E SHE 245,400
Ineos Grenadier Body Closures GRA-8000-025640 Puddle Light Blanking Plate HE 2t0|E SWZ E0IE 14,100
Ineos Grenadier Body Closures GRA-8000-025700 Central Locking Blank Cover HEH 52 583 AY 11,600
Ineos Grenadier Body Closures GRA-8000-029110 FRT Outer Door Seal FRT Oj2F =0 & 412,000
Ineos Grenadier Body Closures GRA-8000-029120 RR Outer Door Seal RR OF2E =0f & 395,200
Ineos Grenadier Body Closures GRA-8000-029480 FRT Door Arrester FRT =0f ofgf|2F 75,900
Ineos Grenadier Body Closures GRA-8000-029490 RR Door Arrester RR =0 of2AH 75,900
Ineos Grenadier Body Closures GRA-8000-033260 Door Hinge Nut Z0f 3IX| HE 24,800
Ineos Grenadier Body Closures GRA-8000-035041 LH Door Hinge Foil LH =0f 3IX| =Y 17,700
Ineos Grenadier Body Closures GRA-8000-035051 LH Door Hinge Foil LH =0f 3IX| =Y 8,800
Ineos Grenadier Body Closures GRA-8000-035062 RH Door Hinge Foil RH £0f 3IX| = 17,700
Ineos Grenadier Body Closures GRA-8000-035072 RH Door Hinge Foil RH £0f 3IX| =g 8,800
Ineos Grenadier Body Closures GRA-8000-037100 Door Button Seal Zof HE M 1,600
Ineos Grenadier Body Closures GRA-8000-042580 Tethering Hook HEHa =3 160,600
Ineos Grenadier Body Closures GRA-8000-045060 FRT OTR Door Handle FRTOTR =0f A5 249,800
Ineos Grenadier Body Closures GRA-8000-045780 RR Door Outside Handle RR Z0f OF2AO|E SHE 252,700
Ineos Grenadier Body Closures GRA-8000-046880 FRT OTR Door Seal FRT OTR =0f & 412,000
Ineos Grenadier Body Closures GRA-8000-046890 RR OTR Door Seal RR OTR =0f 395,200
Ineos Grenadier Body Closures GRA-8000-046900 RR OTR Door Seal RR OTR =0f 395,200
Ineos Grenadier Body Closures GRA-8A01-005071 LH Bonnet Hinge LH 24 3IX| 300,000
Ineos Grenadier Body Closures GRA-8A01-005082 RH Bonnet Hinge RH 24 31X 300,000
Ineos Grenadier Body Closures GRA-8A01-020520 Bonnet Stay HLUl AHO 91,200
Ineos Grenadier Body Closures GRA-8A01-020530 Bonnet Stay Clip EPENEE 6,500
Ineos Grenadier Body Closures GRA-8A01-020540 Bonnet Release Lever Hyl e= gy 199,700
Ineos Grenadier Body Closures GRA-8A01-020550 Release Lever Reinforcement 22| = 2 2 EAHE 232,000
Ineos Grenadier Body Closures GRA-8A01-020560 Bonnet Sound Insulation Pad BUARRE elsgolM e 370,000
Ineos Grenadier Body Closures GRA-8A01-030420 Bonnet Assembly B2y ojgse 3,256,000
Ineos Grenadier Body Closures GRA-8A01-035080 Bonnet Hinge Foil EREREX 7,200
Ineos Grenadier Body Closures GRA-8A01-035091 LH Bonnet Hinge Foil LH 2R 8IX] =Y 8,400
Ineos Grenadier Body Closures GRA-8A01-035102 RH Bonnet Hinge Foil RHEU 3IX| = 8,400
Ineos Grenadier Body Closures GRA-8A01-046690 Bonnet Release Lever HUl Za[= g 46,300
Ineos Grenadier Body Closures GRA-8A01-046700 Release Lever Reinforcement 22| = 2 2 EAHE 208,800
Ineos Grenadier Body Closures GRA-8A11-005090 Bonnet Latch =5l ejx| 179,500
Ineos Grenadier Body Closures GRA-8A11-005100 Bonnet Striker HUl AERHO[AH 99,500
Ineos Grenadier Body Closures GRA-8A11-005110 Bonnet Buffer H5 I 7,100
Ineos Grenadier Body Closures GRA-8A11-005400 Bonnet Handle Cable HUl HE AHOlE 191,600
Ineos Grenadier Body Closures GRA-8A11-005450 Bonnet Release Spring Hul ggjx Axg 69,700
Ineos Grenadier Body Closures GRA-8A11-006660 Bonnet Stay Bracket HUl AHO| 223 17,200
Ineos Grenadier Body Closures GRA-8A11-012910 Bonnet Latch Bowden Cable 2y ejx| 2ed o5 133,600
Ineos Grenadier Body Closures GRA-8A11-029470 Bonnet Buffer H 5l B 12,800
Ineos Grenadier Body Closures GRA-8A11-030190 Bonnet Latch 5l 2fX] 184,900
Ineos Grenadier Body Closures GRA-8A11-034750 Bonnet Stay HUl A0 93,900
Ineos Grenadier Body Closures GRA-8A21-005121 LH Bonnet Side Trim LH 24 AojE EE 306,700
Ineos Grenadier Body Closures GRA-8A21-005132 RH Bonnet Side Trim RH 24 AtO|E EF 306,700
Ineos Grenadier Body Closures GRA-8A21-005141 LH Bonnet Top Trim LHEUW G EY 185,200
Ineos Grenadier Body Closures GRA-8A21-005152 RH Bonnet Top Trim RHEU & EZ 185,200
Ineos Grenadier Body Closures GRA-8A21-005160 Bonnet Seal Huld 406,400
Ineos Grenadier Body Closures GRA-8A21-005170 Bonnet Logo Badge ERESTTN 85,200




Ineos Grenadier Body Closures GRA-8B01-027631 LH FRT Door Assembly LH FRT =0] oM =2 4,058,100
Ineos Grenadier Body Closures GRA-8B01-030731 LH Side Door Hinge LH APO|E £0f 31X| 188,300
Ineos Grenadier Body Closures GRA-8B11-001630 FRT Door Latch FRT & 0f 2§ 382,300
Ineos Grenadier Body Closures GRA-8B11-001660 Connection Rod HYM 2E 14,600
Ineos Grenadier Body Closures GRA-8B11-001970 Door Latch Button T of 2k HE 856,700
Ineos Grenadier Body Closures GRA-8B11-022761 LH INR Door Handle LHINR Z0f $#E5 213,600
Ineos Grenadier Body Closures GRA-8B11-036680 Door Latch Button ECEEE] 882,400
Ineos Grenadier Body Closures GRA-8B11-052050 Door Latch Button =0 K HE 794,100
Ineos Grenadier Body Closures GRA-8B12-001640 FRT Door Latch FRT & 0f 2§ 370,700
Ineos Grenadier Body Closures GRA-8B12-001980 Door Latch Button EEEER 228,700
Ineos Grenadier Body Closures GRA-8B12-036690 Door Latch Button =0 K HE 235,600
Ineos Grenadier Body Closures GRA-8B21-004171 LH FRT Window Regulator Motor LH FRT 1= 220l 2E 1,009,700
Ineos Grenadier Body Closures GRA-8B21-005301 LH FRT Window Regulator LH FRT 1= 2 2220l 491,700
Ineos Grenadier Body Closures GRA-8B21-008391 LH FRT Window Seal LHFRT I=2 4 530,600
Ineos Grenadier Body Closures GRA-8B21-008871 LH FRT Window Guide Rail LH FRT 2I=2 710[= 3|2 157,700
Ineos Grenadier Body Closures GRA-8B21-010661 LH FRT Door Drop Glass LHFRT £0f £ Z2t2 741,300
Ineos Grenadier Body Closures GRA-8B821-029231 LH FRT Window Seal LHFRT I=2 4 530,600
Ineos Grenadier Body Closures GRA-8B30-008411 LH FRT Inner Weatherstrip LHFRT O|Lf Y AER 125,000
Ineos Grenadier Body Closures GRA-8B30-008421 LH FRT Outer Door Seal LHFRT OF2E =0 & 400,000
Ineos Grenadier Body Closures GRA-8B30-025631 LH FRT Door Armrest Finisher LH FRT £0f Y¥aAE LN 319,000
Ineos Grenadier Body Closures GRA-8B30-025651 LH FRT Door Crash Pad LH FRT £0f Z2f4] HE 45,600
Ineos Grenadier Body Closures GRA-8B30-025661 LH FRT INR Door Crash Pad LH FRT INR £0f 23] = 42,000
Ineos Grenadier Body Closures GRA-8B30-034011 LH FRT Door Armrest Finisher LH FRT £0f Y¥aAE LN 425,000
Ineos Grenadier Body Closures GRA-8B31-025671 LH FRT Mirror Switch Blank LH FRT 02 29X £¥3 17,000
Ineos Grenadier Body Closures GRA-8B31-025681 LH FRT Mirror Switch Bezel LH FRT D2 A9[A] & 17,000
Ineos Grenadier Body Closures GRA-8B31-037361 LH FRT Cloth Door Trim LHFRT 58 £0[ E3 2,030,600
Ineos Grenadier Body Closures GRA-8B31-037371 LH FRT Leather Door Trim LH FRT 2|5 =0] E& (£3) 2,107,100
Ineos Grenadier Body Closures GRA-8B31-037381 LH FRT Leather Door Trim LH FRT 2|0 =0] E& (£3) 2,113,700
Ineos Grenadier Body Closures GRA-8B31-037391 LH FRT Cloth Door Trim LHFRT 58 £0[ 3 2,020,200
Ineos Grenadier Body Closures GRA-8B31-048141 LH FRT Leather Door Trim LH FRT 2|5 =0] E& (£3) 2,348,600
Ineos Grenadier Body Closures GRA-8B32-025691 LH FRT Window Switch Bezel LH FRT SI=2 AQ/X| & 122,200
Ineos Grenadier Body Closures GRA-8B32-037401 LH FRT Cloth Door Trim LHFRT &€ 20| E 1,904,600
Ineos Grenadier Body Closures GRA-8B32-037411 LH FRT Leather Door Trim LH FRT 2|5 =0] E& (£3) 1,981,300
Ineos Grenadier Body Closures GRA-8B32-037421 LH FRT Leather Door Trim LH FRT 2|0 =0] E& (£3) 1,987,700
Ineos Grenadier Body Closures GRA-8B32-038071 LH FRT Cloth Door Trim LHFRT 58 £0[ E3 1,894,200
Ineos Grenadier Body Closures GRA-8B32-048171 LH FRT Leather Door Trim LH FRT 2|5 =0] E& (£3) 2,348,600
Ineos Grenadier Body Closures GRA-8B41-016660 FRT CTR Bump Strip FRTCTR HZ AEg 129,000
Ineos Grenadier Body Closures GRA-8B51-001411 LH Door Mirror Housing Frame LHE0f 0/2] 5} 8 Zaj 80,800
Ineos Grenadier Body Closures GRA-8B51-003641 LH Door Mirror Glass Motor EEECEEEEEE] 140,500
Ineos Grenadier Body Closures GRA-8B51-005201 LH Mirror Glass EEEEEE 93,700
Ineos Grenadier Body Closures GRA-8B51-005211 LH Mirror Glass EEEEEE 105,500
Ineos Grenadier Body Closures GRA-8B51-005221 LH Mirror Glass EEEEEE 133,900
Ineos Grenadier Body Closures GRA-8B51-005231 LH Mirror Glass EEEEEE 142,500
Ineos Grenadier Body Closures GRA-8B51-007491 LH Door Mirror Assembly EE 0] o) ojdE2 637,000
Ineos Grenadier Body Closures GRA-8B51-007501 LH Door Mirror Assembly EEECEEEEEE 526,700
Ineos Grenadier Body Closures GRA-8B51-007511 LH Door Mirror Assembly EE 0] o) ojdE2 670,400
Ineos Grenadier Body Closures GRA-8B51-007521 LH Door Mirror Assembly EEECEEEEEE 770,800
Ineos Grenadier Body Closures GRA-8B51-025721 LH Door Mirror Assembly EEECEEEEEE 614,700
Ineos Grenadier Body Closures GRA-8B51-025731 LH Flat Mirror Glass LH 2 0j3] Zet2 90,400
Ineos Grenadier Body Closures GRA-8B51-025741 LH Heated Door Mirror Assembly LH BE[E =of 0/ ojdEa] 715,000
Ineos Grenadier Body Closures GRA-8B51-025751 LH Heated Mirror Glass NEEEEEEES 97,500
Ineos Grenadier Body Closures GRA-8C00-002362 RH FRT INR Door Handle RHFRT INR =0f $HE 213,600
Ineos Grenadier Body Closures GRA-8C01-030392 RH FRT Door Assembly RH FRT £0f O] E2] 4,373,000
Ineos Grenadier Body Closures GRA-8C01-030742 RH Side Door Hinge RH ALO|E £0f BIX| 188,300
Ineos Grenadier Body Closures GRA-8C11-001690 FRT Door Latch FRT =0] 2] 372,000
Ineos Grenadier Body Closures GRA-8C11-001730 Door Latch Button ECEEE 228,700
Ineos Grenadier Body Closures GRA-8C11-036700 Door Latch Button ECERE 235,600
Ineos Grenadier Body Closures GRA-8C11-052070 Door Latch Button ECERE] 261,700
Ineos Grenadier Body Closures GRA-8C12-001700 FRT Door Latch FRT =0] 2] 385,900
Ineos Grenadier Body Closures GRA-8C12-001740 Door Latch Button ECERE] 856,700
Ineos Grenadier Body Closures GRA-8C12-001960 Connection Rod HYM 2E 17,400
Ineos Grenadier Body Closures GRA-8C12-036710 Door Latch Button T of 2k HE 882,400
Ineos Grenadier Body Closures GRA-8C12-052080 Door Latch Button T of 2k HE 794,100
Ineos Grenadier Body Closures GRA-8C21-005332 RH FRT Window Regulator Motor RH FRT 2= 2|22 0/E ZE 1,009,700
Ineos Grenadier Body Closures GRA-8C21-008442 RH FRT Window Seal RHFRT 22 4 530,600
Ineos Grenadier Body Closures GRA-8C21-008891 RH FRT Window Guide Rail RH FRT 2= 710 & 153,100
Ineos Grenadier Body Closures GRA-8C21-008892 RH FRT Window Guide Rail RH FRT 2= 710 157,700
Ineos Grenadier Body Closures GRA-8C21-009002 RH FRT Window Regulator RHFRT 212 2 22]0[&f 491,700
Ineos Grenadier Body Closures GRA-8C21-010672 RH FRT Door Drop Glass RHFRT £0f E& Z2j2~ 741,300
Ineos Grenadier Body Closures GRA-8C21-029242 RH FRT Window Seal RHFRT 22 4 530,600
Ineos Grenadier Body Closures GRA-8C30-008462 RH FRT Inner Weatherstrip RHFRT O] YG{AER 125,000
Ineos Grenadier Body Closures GRA-8C30-008472 RH FRT Outer Door Seal RH FRT O}2E| £0f & 400,000
Ineos Grenadier Body Closures GRA-8C30-025782 RH FRT Door Armrest Finisher RH FRT £0f QA E TL|N 319,000
Ineos Grenadier Body Closures GRA-8C30-025792 RH FRT Door Crash Pad RH FRT =0] Z2f4] HE 45,600
Ineos Grenadier Body Closures GRA-8C30-025802 RH FRT INR Door Crash Pad RH FRT INR 0] 23| {E 42,000
Ineos Grenadier Body Closures GRA-8C30-034052 RH FRT Door Armrest Finisher RH FRT £0f QA E TL|N 425,000
Ineos Grenadier Body Closures GRA-8C31-038082 RH FRT Cloth Door Trim RHFRT 52 £0f £8 1,904,600
Ineos Grenadier Body Closures GRA-8C31-038092 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 1,981,300
Ineos Grenadier Body Closures GRA-8C31-038102 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 1,987,700
Ineos Grenadier Body Closures GRA-8C31-038112 RH FRT Cloth Door Trim RHFRT 52 0{ £8 1,894,200
Ineos Grenadier Body Closures GRA-8C31-048282 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 2,348,600
Ineos Grenadier Body Closures GRA-8C32-025812 RH FRT Window Switch Bezel RH FRT 2122 A9/ H|H 126,900
Ineos Grenadier Body Closures GRA-8C32-025822 RH FRT Mirror Switch Blank RHFRT 0]2] A9/ 283 17,000
Ineos Grenadier Body Closures GRA-8C32-025832 RH FRT Mirror Switch Bezel RH FRT 0/2] 22/ t|E 17,000
Ineos Grenadier Body Closures GRA-8C32-038122 RH FRT Cloth Door Trim RHFRT M€ £0{ £ 2,030,600
Ineos Grenadier Body Closures GRA-8C32-038132 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 2,107,100
Ineos Grenadier Body Closures GRA-8C32-038142 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 2,113,700
Ineos Grenadier Body Closures GRA-8C32-038152 RH FRT Cloth Door Trim RHFRT M2 0{ £8 2,020,200
Ineos Grenadier Body Closures GRA-8C32-048382 RH FRT Leather Door Trim RH FRT 2| =0 E8 (53) 2,348,600
Ineos Grenadier Body Closures GRA-8C51-000822 RH Door Mirror Housing Frame RH =0 0|2 5t =Zaf g 80,800
Ineos Grenadier Body Closures GRA-8C51-000990 RH Door Mirror Glass Motor X zof 03 gal 2 140,500
Ineos Grenadier Body Closures GRA-8C51-005242 RH Door Mirror Assembly EEECEEEEEE 637,000
Ineos Grenadier Body Closures GRA-8C51-005252 RH Door Mirror Assembly EEECEEEEEE 526,700
Ineos Grenadier Body Closures GRA-8C51-005262 RH Mirror Glass EELEEE 93,700
Ineos Grenadier Body Closures GRA-8C51-005272 RH Mirror Glass EELEEE 105,500
Ineos Grenadier Body Closures GRA-8C51-005282 RH Mirror Glass EELEEE 133,900
Ineos Grenadier Body Closures GRA-8C51-005292 RH Mirror Glass EELEEE 142,500
Ineos Grenadier Body Closures GRA-8C51-007532 RH Door Mirror Assembly EEECEEEREE 670,400
Ineos Grenadier Body Closures GRA-8C51-007542 RH Door Mirror Assembly EEECEEEEEE 770,800
Ineos Grenadier Body Closures GRA-8C51-011402 RH Mirror Glass EELEEE 142,500
Ineos Grenadier Body Closures GRA-8C51-013382 RH Door Mirror Assembly EEECEEEEEE 770,800
Ineos Grenadier Body Closures GRA-8C51-025842 RH Door Mirror Assembly EEECEEEEEE 670,400
Ineos Grenadier Body Closures GRA-8C51-025852 RH Convex Mirror Glass NEEEEEEES 142,500
Ineos Grenadier Body Closures GRA-8D01-030401 LH RR Door Assembly LHRR 0] oM E2] 3,961,800
Ineos Grenadier Body Closures GRA-8D01-045221 LH RR Door Assembly LHRR 0] oM E2] 3,565,300
Ineos Grenadier Body Closures GRA-8D10-002721 LH RR INR Door Handle LHRRINR £0f 35 213,600
Ineos Grenadier Body Closures GRA-8D11-001750 RR Door Latch RR Z0f 2} 367,600




Ineos Grenadier Body Closures GRA-8D21-005351 LH RR Window Regulator LHRR SI=2 223 0[E] 438,000
Ineos Grenadier Body Closures GRA-8D21-005651 LH RR Window Regulator Motor LHRR 2152 2 220[E] 2E 934,300
Ineos Grenadier Body Closures GRA-8D21-008481 LH RR Glass Runchannel LHRR 22}~ 284 641,500
Ineos Grenadier Body Closures GRA-8D21-008531 LH RR Glass Guide Rail Seal LHRR 22t~ J10jc 2 ¥ 117,800
Ineos Grenadier Body Closures GRA-8D21-008911 LH UPR RR Door Glass Guide Rail LH UPRRR Z0f 22t 7}0[E Y 275,500
Ineos Grenadier Body Closures GRA-8D21-008921 LH LWR RR Door Glass Guide Rail LH LWRRR £0f 22t 7}0[E Y 160,400
Ineos Grenadier Body Closures GRA-8D21-010681 LH RR Door Drop Glass LHRR 20| £ 2ot~ 404,800
Ineos Grenadier Body Closures GRA-8D21-010701 LH RR Door Fixed Glass LHRR £0] GAE JatA 531,700
Ineos Grenadier Body Closures GRA-8D21-029251 LH RR Glass Runchannel LHRR 22}~ 284 641,500
Ineos Grenadier Body Closures GRA-8D21-031721 LH RR Door Fixed Glass Privacy| LHRR Z0] TAE 22t~ Zato[H Al 565,400
Ineos Grenadier Body Closures GRA-8D21-031861 LH RR Door Drop Glass Privacy LHRR £0f £ 228t~ Zafo[HAl 611,800
Ineos Grenadier Body Closures GRA-8D31-008501 LH RR Inner Weatherstrip LHRR O IHAEE 119,400
Ineos Grenadier Body Closures GRA-8D31-008511 LH RR Outer Door Seal LHRR O}2E £0f 4 383,700
Ineos Grenadier Body Closures GRA-8D31-025861 LH RR Door Armrest Finisher LHRR 0] 23AE TL[H 289,900
Ineos Grenadier Body Closures GRA-8D31-025871 LH RR Window Switch Bezel LHRR =@ A QX HH 92,800
Ineos Grenadier Body Closures GRA-8D31-025881 RR Window Switch Blank LHRR 2IEQ AQX| EH3 22,100
Ineos Grenadier Body Closures GRA-8D31-033591 LH RR Door Armrest Finisher LHRR 0] 23AE TL[H 383,400
Ineos Grenadier Body Closures GRA-8D31-037191 LH RR Cloth Door Trim LHRREZ 0| EZ 1,731,500
Ineos Grenadier Body Closures GRA-8D31-037201 LH RR Cloth Door Trim IHRR A2 E0f £ 1,731,500
Ineos Grenadier Body Closures GRA-8D31-037211 LH RR Leather Door Trim LHRR 2 £0{ E ) 1,782,900
Ineos Grenadier Body Closures GRA-8D31-037221 LH RR Leather Door Trim LHRR 2 £0f E ) 1,793,800
Ineos Grenadier Body Closures GRA-8D31-037231 LH RR Leather Door Trim LHRR 2 £0{ E 2) 1,850,000
Ineos Grenadier Body Closures GRA-8D31-037241 LH RR Leather Door Trim LHRR 26 £0f E& (£3) 1,798,600
Ineos Grenadier Body Closures GRA-8D31-037251 LH RR Cloth Door Trim LHRR A2 £0{ £ 1,772,400
Ineos Grenadier Body Closures GRA-8D31-037261 LH RR Cloth Door Trim LHRR A2 £0{ £ 1,721,000
Ineos Grenadier Body Closures GRA-8D31-038521 LH Screw Cover LH23% A 15,900
Ineos Grenadier Body Closures GRA-8D31-048391 LH RR Leather Door Trim LHRR 30 E0f EE 2,348,600
Ineos Grenadier Body Closures GRA-8E01-030412 RH RR Door Assembly RHRR =0 OjdlE 3,961,500
Ineos Grenadier Body Closures GRA-8E01-045232 RH RR Door Assembly RHRR =0 OjdlE 3,565,300
Ineos Grenadier Body Closures GRA-8E10-005042 RH RR INR Door Handle RHRR INR =0 3HE 213,600
Ineos Grenadier Body Closures GRA-8E11-001770 RR Door Latch RR =0 2fA] 367,600
Ineos Grenadier Body Closures GRA-8E21-005342 RH RR Window Regulator Motor RHRR 2= 2 2230l 2E 934,300
Ineos Grenadier Body Closures GRA-8E21-005382 RH UPR RR Door Glass Guide Rail RHUPRRR =0] 22}2 710|E 3 Y 261,000
Ineos Grenadier Body Closures GRA-8E21-005392 RH LWR RR Door Glass Guide Rail RHLWRRR £0{ 22t~ 70[E 2 Y 151,200
Ineos Grenadier Body Closures GRA-8E21-008542 RH RR Glass Runchannel RHRR 22~ 2t 425,500
Ineos Grenadier Body Closures GRA-8E21-008592 RH RR Glass Guide Rail Seal RHRR 22t~ 710|E 2|9 4 117,800
Ineos Grenadier Body Closures GRA-8E21-009012 RH RR Window Regulator RHRR /=2 2] 220/& 438,000
Ineos Grenadier Body Closures GRA-8E21-010692 RH RR Door Drop Glass RHRR Z0] E8 22t~ 404,800
Ineos Grenadier Body Closures GRA-8E21-010712 RH RR Door Fixed Glass RHRR £0] ALE FatA 531,700
Ineos Grenadier Body Closures GRA-8E21-029262 RH RR Glass Runchannel RHRR 22~ 2t 641,500
Ineos Grenadier Body Closures GRA-8E21-031712 RH RR Door Fixed Glass Privacy RHRR Z0] TAE 28t~ Zato[HjAl 565,400
Ineos Grenadier Body Closures GRA-8E21-031852 RH RR Door Drop Glass Privacy RHRR 20| £2 22t~ Zafo[HA| 611,800
Ineos Grenadier Body Closures GRA-8E31-008562 RH RR Inner Weatherstrip RHRR O[] 9L AEE 119,400
Ineos Grenadier Body Closures GRA-8E31-008572 RH RR Outer Door Seal RHRR Ot E =0of & 383,700
Ineos Grenadier Body Closures GRA-8E31-025912 RH RR Door Armrest Finisher RHRR =0 23 AE TL[A 289,900
Ineos Grenadier Body Closures GRA-8E31-025922 RH RR Window Switch Bezel RHRR 2IEQ A% H|& 92,800
Ineos Grenadier Body Closures GRA-8E31-034092 RH RR Door Armrest Finisher RHRR =0 23 AE TL[A 383,400
Ineos Grenadier Body Closures GRA-8E31-037272 RH RR Cloth Door Trim RHRR 2 € 0| E2 1,782,900
Ineos Grenadier Body Closures GRA-8E31-037282 RH Screw Cover RHAIZ 7H 16,300
Ineos Grenadier Body Closures GRA-8E31-037292 RH RR Cloth Door Trim RHRR A€ £0| E 1,731,500
Ineos Grenadier Body Closures GRA-8E31-037302 RH RR Leather Door Trim RHRR 2 £0f E 1,845,200
Ineos Grenadier Body Closures GRA-8E31-037312 RH RR Leather Door Trim RHRR 2 £0f E 1,793,800
Ineos Grenadier Body Closures GRA-8E31-037322 RH RR Leather Door Trim RHRR 2 £0f E 1,850,000
Ineos Grenadier Body Closures GRA-8E31-037332 RH RR Leather Door Trim RHRR 2 £0f E 1,798,600
Ineos Grenadier Body Closures GRA-8E31-037342 RH RR Cloth Door Trim RHRR A€ £0| E 1,772,400
Ineos Grenadier Body Closures GRA-8E31-037352 RH RR Cloth Door Trim RHRR A€ £0| E 1,721,000
Ineos Grenadier Body Closures GRA-8E31-048402 RH RR Leather Door Trim RHRR 2 0f E 2,348,600
Ineos Grenadier Body Closures GRA-8F00-008610 Split Door Perimeter Seal AZza cof Ha/oje A 453,900
Ineos Grenadier Body Closures GRA-8F00-046090 Split Door Perimeter Seal EFECEFELEE 453,900
Ineos Grenadier Body Closures GRA-8F01-005471 LH RR Door Hinge LHRR £0{ 31%| 159,000
Ineos Grenadier Body Closures GRA-8F01-008351 LH Split Door Arrester LH AZ3l £0f O3 ~F] 279,700
Ineos Grenadier Body Closures GRA-8F01-030431 LH Split Door Assembly LHAZ3l o o] =R 3,101,100
Ineos Grenadier Body Closures GRA-8F01-035110 Split Load Door Hinge Foil AZ8 2C GO SIK EY 9,700
Ineos Grenadier Body Closures GRA-8F01-035120 Split Load Door Hinge Foil AEzl 2L COof BlA BY 9,400
Ineos Grenadier Body Closures GRA-8F02-008781 LH UPR Split Door Aux Latch LHUPR AZ3 £0 EX 2fX| 230,700
Ineos Grenadier Body Closures GRA-8F02-008791 LH UPR Cable LH UPR # 0|2 129,800
Ineos Grenadier Body Closures GRA-8F02-008801 LH CTR Latch LH CTR 2| 407,500
Ineos Grenadier Body Closures GRA-8F02-008830 Outer Handle EEES 895,200
Ineos Grenadier Body Closures GRA-8F02-008840 Inner Handle o|H S 104,000
Ineos Grenadier Body Closures GRA-8F02-019910 Striker ~E210|A 102,900
Ineos Grenadier Body Closures GRA-8F02-019921 LH Split Door Lock Barrel LHAZ3 20| 2 104,000
Ineos Grenadier Body Closures GRA-8F02-021970 Outer Handle OFSE S 71,000
Ineos Grenadier Body Closures GRA-8F02-036720 LH Split Door Lock Barrel LHAZ3 20| 2 104,000
Ineos Grenadier Body Closures GRA-8F02-052090 LH Split Door Lock Barrel LHAZ3 20| 2 115,500
Ineos Grenadier Body Closures GRA-8F03-030531 LH Split Door Glass IHAZE £0f 2 1,060,100
Ineos Grenadier Body Closures GRA-8F03-030541 LH Split Door Privacy Glass LH AZ3al £0f Zafo[HfA] 2t~ 1,156,600
Ineos Grenadier Body Closures GRA-8F04-025931 LH RR UPR Split Door Trim LHRRUPRAZ3 50 E 234,200
Ineos Grenadier Body Closures GRA-8F04-025941 LH RR LWR Split Door Trim LHRRLWR AZ3I 0| E 404,600
Ineos Grenadier Body Closures GRA-8F04-046521 LH RR LWR Split Door Trim LHRRLWR AZ3I 0| E 404,600
Ineos Grenadier Body Closures GRA-8F05-005821 LH Split Door Trim Panel IHAZa Eof 2l iy 66,700
Ineos Grenadier Body Closures GRA-8F05-005832 RH Split Door Trim Panel EECEEEE 42,900
Ineos Grenadier Body Closures GRA-8F05-006320 Blanking Plug EFPERE 26,400
Ineos Grenadier Body Closures GRA-8F05-025951 LH UPR Split Line Cover Trim P EREEEE 29,900
Ineos Grenadier Body Closures GRA-8F05-025962 RH UPR Split Line Cover Trim ERErEE 29,900
Ineos Grenadier Body Closures GRA-8F06-001780 Access Ladder EEEEE] 1,518,400
Ineos Grenadier Body Closures GRA-8F06-001800 Access Ladder Cap E P EE 6,100
Ineos Grenadier Body Closures GRA-8F06-001810 Access Ladder Grommet EY P EEEE] 6,100
Ineos Grenadier Body Closures GRA-8F07-030451 LH Split Door Wrap IHAZS Eo[ & 697,300
Ineos Grenadier Body Closures GRA-8F11-005482 RH RR Door Hinge RHRR =0{ 31%| 159,000
Ineos Grenadier Body Closures GRA-8F11-005492 RH Split Door Arrester RH A2 3l £0f Of3=~E] 599,100
Ineos Grenadier Body Closures GRA-8F11-025982 RH Split Door Damper Bracket EECEEEEE] 315,200
Ineos Grenadier Body Closures GRA-8F11-030442 RH Split Door Assembly ECEREE] 4,286,800
Ineos Grenadier Body Closures GRA-8F12-005460 Split Door Locator Pin ~E3 20| 2A0H © 87,700
Ineos Grenadier Body Closures GRA-8F12-008380 Locator Pin Receiver EREEERE 184,700
Ineos Grenadier Body Closures GRA-8F12-008812 RH Auxiliary Latch RH 2% 2fX 234,700
Ineos Grenadier Body Closures GRA-8F12-008822 RH Auxiliary Latch RH 2% 2fX 291,100
Ineos Grenadier Body Closures GRA-8F12-008852 RH Split Door Release Handle EEECEEEYS 90,800
Ineos Grenadier Body Closures GRA-8F12-008862 RH Split Door Handle Mechanism EECEEEENE 63,800
Ineos Grenadier Body Closures GRA-8F12-025990 Striker Bracket ~Eat0[# Bep3l 113,100
Ineos Grenadier Body Closures GRA-8F12-026000 Sriker Nut Plate AEz0[ JE Z30/E 45,600
Ineos Grenadier Body Closures GRA-8F13-030552 RH Split Door Glass RHAZ3I £0f 2at~ 1,397,000
Ineos Grenadier Body Closures GRA-8F13-030562 RH Split Door Privacy Glass RH ~Zal £ 0] Zafo[HA] 22t~ 1,519,300
Ineos Grenadier Body Closures GRA-8F14-003900 Screw Cover EEERT 15,900
Ineos Grenadier Body Closures GRA-8F14-008630 Split Door Outer CTR Seal 21 20 OF2E CTR A 170,700
Ineos Grenadier Body Closures GRA-8F14-008640 Split Door Inner CTR Seal =2 co{ 0| CTR & 219,800
Ineos Grenadier Body Closures GRA-8F14-024692 Split Door Emergency Cover 21 £0f O[O Al 7t 213,300
Ineos Grenadier Body Closures GRA-8F14-024792 RH LWR Split Door Trim RHLWRAZ3 E0f EE 378,500




Ineos Grenadier Body Closures GRA-8F14-026012 RH UPR INR Split Door Trim 248,100
Ineos Grenadier Body Closures GRA-8F14-026022 RH UPR INR Split Door Trim 244,900
Ineos Grenadier Body Closures GRA-8F14-029840 UPR Split Door Buffer 24,700
Ineos Grenadier Body Closures GRA-8F14-029850 LWR Split Door Buffer LWR A E 8| £0f B Ij 20,800
Ineos Grenadier Body Closures GRA-8F14-029870 Split Door Inner CTR Seal AEE £0{ 0] CTR & 333,200
Ineos Grenadier Body Closures GRA-8F14-033710 LWR Split Door Buffer LWR 253 £0f B 24,900
Ineos Grenadier Body Closures GRA-8F14-033720 UPR Split Door Buffer UPRAEE =0f B 30,400
Ineos Grenadier Body Closures GRA-8F14-046680 Split Door Inner CTR Seal AEE £0{ 0] CTR & 333,200
Ineos Grenadier Body Closures GRA-8F14-047642 RH LWR Split Door Trim RHLWR AES =0 EE 378,500
Ineos Grenadier Body Closures GRA-8F15-006450 Rear Camera Blanking Cap Fd oot SYE Y 25,500
Ineos Grenadier Body Closures GRA-8F15-006490 INEOS Lettering INEOS |E & 114,200
Ineos Grenadier Body Closures GRA-8F15-008032 RH INR Split Door Trim Panel RHINRAES =0 EG T 49,100
Ineos Grenadier Body Closures GRA-8F15-008042 RH OTR Split Door Trim Panel Edug 53,600
Ineos Grenadier Body Closures GRA-8F15-026032 RH UPR OTR Split Line Trim E 29,900
Ineos Grenadier Body Closures GRA-8F15-026042 RH UPR INR Split Line Trim 29,900
Ineos Grenadier Body Closures GRA-8F16-005760 Spare Wheel Carrier 936,900
Ineos Grenadier Body Closures GRA-8F16-032050 Spare Wheel Mounting Plate 1,060,800
Ineos Grenadier Body Closures GRA-8F16-032540 Spare Wheel Carrier 990,000
Ineos Grenadier Body Closures GRA-8F16-035170 Spare Wheel Mounting Plate 182,000
Ineos Grenadier Body Closures GRA-8F16-038460 Wheel Nut Stud 52,200
Ineos Grenadier Body Closures GRA-8F17-016680 Spare Wheel Cover Cap A0 & e Y 17,500
Ineos Grenadier Body Closures GRA-8F17-016830 Spare Wheel Cover AT O] & e 157,900
Ineos Grenadier Body Closures GRA-8F17-016840 Spare Wheel Cover Adapter A0 2 78 OfHE 59,800
Ineos Grenadier Body Closures GRA-8F18-010500 Spare Wheel Storage Container AH O g AE2|X| HHo|H 611,000
Ineos Grenadier Body Closures GRA-8F18-026060 Spare Wheel Storage Lock A0 8 AERX| B 313,200
Ineos Grenadier Body Closures GRA-8F18-026070 Spare Wheel Storage Foam 17" AW g AELX| E 17" 35,400
Ineos Grenadier Body Closures GRA-8F18-026080 Spare Wheel Storage Foam 18" AW g AEZX| E 18" 35,400
Ineos Grenadier Body Closures GRA-8G01-035131 LH Tailgate Hinge Foil LH EIZA0|E 3IX| =Y 7,100
Ineos Grenadier Body Closures GRA-8G01-035142 RH Tailgate Hinge Foil RH E|2A0|E 3IX| =Y 7,100
Ineos Grenadier Body Closures GRA-8G01-038870 Tailgate Assembly HYAO|E o =2 3,858,100
Ineos Grenadier Body Closures GRA-8G01-040421 LH Tailgate Hinge LH HZAH0|E 3IX| 246,700
Ineos Grenadier Body Closures GRA-8G01-040432 RH Tailgate Hinge RH B 20| E 3IX| 246,700
Ineos Grenadier Body Closures GRA-8G01-040440 Tailgate Cable EH 2AHO|E #O|= 61,600
Ineos Grenadier Body Closures GRA-8G01-046661 LH Tailgate Hinge LH HZAH0|E 3IX| 183,200
Ineos Grenadier Body Closures GRA-8G01-046672 RH Tailgate Hinge RH B 20| E 3IX| 183,200
Ineos Grenadier Body Closures GRA-8G11-040310 Shim 2.0mm & 2.0mm 32,600
Ineos Grenadier Body Closures GRA-8G11-040320 Shim 1.0mm & 1.0mm 74,700
Ineos Grenadier Body Closures GRA-8G11-040330 Shim 4.0mm & 4.0mm 104,900
Ineos Grenadier Body Closures GRA-8G11-040340 Shim 3.0mm & 3.0mm 85,200
Ineos Grenadier Body Closures GRA-8G11-040361 LH Tailgate Latch LH B ZA0|E 2f%| 129,400
Ineos Grenadier Body Closures GRA-8G11-040372 RH Tailgate Latch RH HIZHO|E afx| 129,400
Ineos Grenadier Body Closures GRA-8G11-040381 LH Tailgate Link Rod LHHZAOIE 3 2E 20,600
Ineos Grenadier Body Closures GRA-8G11-040392 RH Tailgate Link Rod RHHYAHOIE g3 2E 20,600
Ineos Grenadier Body Closures GRA-8G11-040401 LH Tailgate Striker LH E| 20| E 2E2}0]H 54,700
Ineos Grenadier Body Closures GRA-8G11-040412 RH Tailgate Striker RH H[2A0|E AE2} 54,700
Ineos Grenadier Body Closures GRA-8G11-040450 Tailgate Release Handle HYAOIE 195,800
Ineos Grenadier Body Closures GRA-8G11-040460 Tailgate Handle Mechanism E|LAHO|E SH 142,000
Ineos Grenadier Body Closures GRA-8G11-046430 Tailgate Release Handle HYAOIE 195,800
Ineos Grenadier Body Closures GRA-8G31-038890 INR UPR Tailgate Trim INRUPR HZAHO|E EE 476,800
Ineos Grenadier Body Closures GRA-8G31-040480 Blanking Cap =4z 65,200
Ineos Grenadier Body Closures GRA-8G31-040810 Tailgate Top Edge Cover H LA O|E & WX| 7HH 552,900
Ineos Grenadier Body Closures GRA-8G31-040820 UPR INR Tailgate Cover UPR INR E| 20| E 7{B] 429,100
Ineos Grenadier Body Closures GRA-8G31-046870 Tailgate Top Edge Cover H LA O|E & WX| e 552,900
Ineos Grenadier Body Closures GRA-8G31-047990 Tailgate Trim Panel HYAOIE E &yl 389,900
Ineos Grenadier Body Closures GRA-8H01-002370 UPR Water Drain UPR 9JH E2j¢l 100,300
Ineos Grenadier Body Closures GRA-8H01-002830 Removable Sunroof Hinge 2|2HE ME2X BIX| 183,600
Ineos Grenadier Body Closures GRA-8H01-003330 Removable Sunroof Handle 2|2 E HET WS 249,800
Ineos Grenadier Body Closures GRA-8H01-003530 Handle Kit HE I E 816,800
Ineos Grenadier Body Closures GRA-8H01-003930 Hinge Kit | 7|E 806,000
Ineos Grenadier Body Closures GRA-8H01-005440 Removable Sunroof Panel MEZ Y 2,544,200
Ineos Grenadier Body Closures GRA-8H01-006010 Removable Sunroof Hinge MEI $IX| 151,200
Ineos Grenadier Body Closures GRA-8H01-006020 Removable Sunroof Handle MBI HE 216,100
Ineos Grenadier Body Closures GRA-8H01-006520 LWR Water Drain LWR 9JE =gjel 104,600
Ineos Grenadier Body Closures GRA-8H01-006540 Removable Sunroof Seal 2| 2HE HEZ A 182,400
Ineos Grenadier Body Closures GRA-8H01-026550 Removable Sunroof Panel 2|2 Es ez e 2,916,700
Ineos Grenadier Body Closures GRA-8H01-031140 Removable Sunroof Seal 2| 2HE HE2Z A 187,800
Ineos Grenadier Body Closures GRA-8H01-033651 LH UPR Water Drain Hose LH UPR 9/E E3ol 5 A& 178,500
Ineos Grenadier Body Closures GRA-8H01-033662 RH UPR Water Drain Hose RH UPR 9JE E2Ql 5 A 178,500
Ineos Grenadier Body Closures GRA-8H01-033671 LH LWR Water Drain Hose LHLWR ¥H =gflgl s A 184,300
Ineos Grenadier Body Closures GRA-8H01-033682 RH LWR Water Drain Hose RHLWR 9JE £l =& 184,300
Ineos Grenadier Body Closures GRA-8H01-044960 Sunroof Water Drain Hose MEID Hj A 131,600
Ineos Grenadier Body Closures GRA-8H01-051550 Water Drain Hose Insert i A AME 4,700
Ineos Grenadier Body Closures GRA-8H02-022860 Sunroof Storage Bag MBI AEZ(X] 832,200
Ineos Grenadier Electrical GRA-9000-011060 Media Headunit O|cof slER Y 5,292,800
Ineos Grenadier Electrical GRA-9000-026960 USB Data Point USB H|OJE ZQIE 158,300
Ineos Grenadier Electrical GRA-9000-027120 Gateway 0| E¢J0] 1,716,000
Ineos Grenadier Electrical GRA-9000-027350 Central Display Unit HEH C|AZg 0] g4 2,314,100
Ineos Grenadier Electrical GRA-9000-027660 Conductor Rail HEE Y 84,600
Ineos Grenadier Electrical GRA-9000-027670 Ground Cable J2teL #olg 82,700
Ineos Grenadier Electrical GRA-9000-029580 Gateway A 0| Eg0 1,716,000
Ineos Grenadier Electrical GRA-9000-031300 Media Headunit O/cjof slER Y 5,292,800
Ineos Grenadier Electrical GRA-9000-032180 Gateway A 0| Eg0 1,727,600
Ineos Grenadier Electrical GRA-9000-033830 Media Headunit O|cjof slER Y 4,556,200
Ineos Grenadier Electrical GRA-9000-049970 Antenna Cable 1200mm OFE||Lt A 28,400
Ineos Grenadier Electrical GRA-9000-049980 Antenna Cable 1610mm OFE||Lt A 28,400
Ineos Grenadier Electrical GRA-9000-049990 Antenna Cable 2200mm OFE||Lt A 28,400
Ineos Grenadier Electrical GRA-9000-050000 Antenna Cable 2300mm OFE||Lt A 28,400
Ineos Grenadier Electrical GRA-9000-050820 Antenna Cable 4160mm OFE||Lt A 28,400
Ineos Grenadier Electrical GRA-9A00-010400 FRT Wiper Blade FRT 20| 56,000
Ineos Grenadier Electrical GRA-9A00-025970 Wiper Arm Cap Qo] 4,500
Ineos Grenadier Electrical GRA-9A00-027080 Bracket =e| 50,200
Ineos Grenadier Electrical GRA-9A01-010340 FRT Wiper Motor FRT 20| 2 E 773,300
Ineos Grenadier Electrical GRA-9A01-010360 FRT Wiper Linkage FRT 2to|i{ g7|X| 496,500
Ineos Grenadier Electrical GRA-9A01-010381 FRT LHD Wiper Arm FRT LHD 2fo|H & 86,800
Ineos Grenadier Electrical GRA-9A02-010350 FRT Wiper Motor FRT 20| 2 E 779,900
Ineos Grenadier Electrical GRA-9A02-010370 FRT Wiper Linkage FRT 2to|i{ g7|X| 505,000
Ineos Grenadier Electrical GRA-9A02-010392 FRT RHD Wiper arm ZHM RHD Q0| & 86,800
Ineos Grenadier Electrical GRA-9A03-008010 RR Wiper Cover RR 2t0|1{ H 15,000
Ineos Grenadier Electrical GRA-9A03-009770 Wiper Motor Shaft Kit Q0| RE| AFZE F7|E 28,100
Ineos Grenadier Electrical GRA-9A03-009920 Anti-rotation Bracket Kit OtE| ZH|O|M 223 7| E 19,000
Ineos Grenadier Electrical GRA-9A03-010000 Washer Connector Kit otM 7{4lf 7|E 11,900
Ineos Grenadier Electrical GRA-9A03-010210 RR Wiper Arm RR oto|H ¢ 98,900
Ineos Grenadier Electrical GRA-9A03-010220 RR Wiper Blade RR 20| £2{|0|E 45,100
Ineos Grenadier Electrical GRA-9A03-010960 Washer D8.5xD17x2.1 2tM D8.5xD17x2.1 1,400
Ineos Grenadier Electrical GRA-9A03-010970 Nut HE 900
Ineos Grenadier Electrical GRA-9A03-010980 Gasket D7.5xD22x4 7tA 2 D7.5xD22x4 1,800
Ineos Grenadier Electrical GRA-9A03-011020 RR Wiper Motor RR 20| 2E 449,600




Ineos Grenadier Electrical GRA-9A11-010420 Windscreen Washer Pump EATZ N HE 102,700
Ineos Grenadier Electrical GRA-9A11-010430 Washer Bottle Sensor ot 2E MM 113,100
Ineos Grenadier Electrical GRA-9A11-010440 Washer Bottle Filler Cap AIMEE T Y 41,300
Ineos Grenadier Electrical GRA-9A11-010470 License Plate Lamp 2tojdiA E2jj0|E HT 95,300
Ineos Grenadier Electrical GRA-9A11-010480 Washer Bottle Container ot 25 EolH 272,300
Ineos Grenadier Electrical GRA-9A11-011030 FRT Washer Tank hose FRT QtM €43 s A 78,600
Ineos Grenadier Electrical GRA-9A11-011270 RR Washer Tank Hose RRQIM &3 5 A 78,600
Ineos Grenadier Electrical GRA-9A11-011350 Washer Pump O HI 88,600
Ineos Grenadier Electrical GRA-9A11-015290 Windscreen Washer Pump EATZ N HE 105,800
Ineos Grenadier Electrical GRA-9A11-026050 Washer Bottle Bracket oM B E Zat3l 52,500
Ineos Grenadier Electrical GRA-9A11-026460 Washer Bottle Bracket oM B E Zat3l 83,500
Ineos Grenadier Electrical GRA-9A11-026470 Washer Bottle Bracket oM B E Zat3l 66,500
Ineos Grenadier Electrical GRA-9A11-029100 Washer Bottle Bracket ot B E Zat3l 67,400
Ineos Grenadier Electrical GRA-9A11-029160 Washer Bottle M HE 514,800
Ineos Grenadier Electrical GRA-9A11-029170 Washer Bottle M HE 560,900
Ineos Grenadier Electrical GRA-9A11-032290 Washer Pump O HI 91,300
Ineos Grenadier Electrical GRA-9A12-008020 CTR Washer Hose CTROIM A 62,700
Ineos Grenadier Electrical GRA-9A12-010550 Washer Nozzle AN L E 24,200
Ineos Grenadier Electrical GRA-9A12-010560 FRT Washer Hose FRT 2t A 40,000
Ineos Grenadier Electrical GRA-9A12-010570 FRT Washer Hose FRT ot A& 32,600
Ineos Grenadier Electrical GRA-9A12-010580 FRT Washer Hose FRT 2t A& 44,400
Ineos Grenadier Electrical GRA-9A12-018790 Heated Nozzle Clip SIEIE E 2] 9,200
Ineos Grenadier Electrical GRA-9A12-019940 T Connector TAHYE 8,500
Ineos Grenadier Electrical GRA-9A12-019960 RR Washer Hose RRQIM =& 45,300
Ineos Grenadier Electrical GRA-9A12-019970 Hose Connector SA F{HE 7,600
Ineos Grenadier Electrical GRA-9A12-029130 FRT Heated Washer Nozzle FRT S|E|E ot & 178,900
Ineos Grenadier Electrical GRA-9A12-029140 RR Hose Channel RRZA XY 48,500
Ineos Grenadier Electrical GRA-9B00-010830 Headlamp SlEYT 2,013,300
Ineos Grenadier Electrical GRA-9B00-010840 Headlamp SlEdT 2,013,300
Ineos Grenadier Electrical GRA-9B00-026500 Blocking Sticker S5Z 2EA 3,900
Ineos Grenadier Electrical GRA-9B00-046100 Screw M6x35 A3 2 M6x35 1,400
Ineos Grenadier Electrical GRA-9B01-038190 Headlamp SlEYT 2,013,300
Ineos Grenadier Electrical GRA-9B10-010450 Side Repeater Aol £ 2|m|E 130,100
Ineos Grenadier Electrical GRA-9B10-041450 Side Repeater Aol £ 2|m|E 146,200
Ineos Grenadier Electrical GRA-9B13-006000 Side Marker AHO| £ O 115,600
Ineos Grenadier Electrical GRA-9B14-026510 Side Marker AHO| £ O 124,100
Ineos Grenadier Electrical GRA-9B20-010590 RR Lamp RR #I 1,076,100
Ineos Grenadier Electrical GRA-9B20-010620 Rear Lamp 2of = 923,300
Ineos Grenadier Electrical GRA-9B23-007990 Additional Brake Light Cover ZI HES HH 11,600
Ineos Grenadier Electrical GRA-9B23-010460 Additional Brake Lamp FIHES 308,200
Ineos Grenadier Electrical GRA-9B23-040800 Additional Brake Lamp FIHES 319,000
Ineos Grenadier Electrical GRA-9B25-043780 Pickup Bed Lamp Cover T HE I Ay 41,700
Ineos Grenadier Electrical GRA-9B25-050680 Pickup Bed Lamp TP HE ¥ 184,400
Ineos Grenadier Electrical GRA-9B31-026520 Footwell Light 24 2lo|lE 129,200
Ineos Grenadier Electrical GRA-9B31-026530 Ambient Light AH|MHE 20| E 107,500
Ineos Grenadier Electrical GRA-9B31-026561 LH Reading Light LH S 125,600
Ineos Grenadier Electrical GRA-9B31-026572 RH Reading Light RH SA 125,600
Ineos Grenadier Electrical GRA-9B31-026580 2nd Row Reading Light 28 ENMS 146,600
Ineos Grenadier Electrical GRA-9B31-026590 Loading Area Light 29 ofofz|of 2to|E 100,400
Ineos Grenadier Electrical GRA-9B31-033410 2nd Row Reading Light 28 ENMS 217,700
Ineos Grenadier Electrical GRA-9B31-033421 LH Reading Light LH SME 182,700
Ineos Grenadier Electrical GRA-9B31-033432 RH Reading Light RH SA 182,500
Ineos Grenadier Electrical GRA-9C00-021800 Drivers Airbag 2HA of o 916,400
Ineos Grenadier Electrical GRA-9C00-026600 Passenger Airbag ZA of o 1,004,100
Ineos Grenadier Electrical GRA-9C00-026610 Knee Airbag 2E oo 825,000
Ineos Grenadier Electrical GRA-9C00-026620 Drivers Airbag 2HA of o 1,052,400
Ineos Grenadier Electrical GRA-9C00-029950 Drivers Airbag 2HA of o 1,048,800
Ineos Grenadier Electrical GRA-9C00-037030 Knee Airbag 2E oo 800,900
Ineos Grenadier Electrical GRA-9C00-042570 Passenger Airbag e o 1,034,900
Ineos Grenadier Electrical GRA-9C00-045310 Drivers Airbag 2 A o 1,048,800
Ineos Grenadier Electrical GRA-9C03-040470 Drivers Airbag 2 A o 1,056,500
Ineos Grenadier Electrical GRA-9C03-045320 Drivers Airbag 2 X A i 1,056,500
Ineos Grenadier Electrical GRA-9C05-026631 LH Side Airbag LH AO|E i 496,400
Ineos Grenadier Electrical GRA-9C05-026641 LH Side Airbag LH AO|E i 485,200
Ineos Grenadier Electrical GRA-9C05-042531 LH Side Airbag LH AO|E i 496,400
Ineos Grenadier Electrical GRA-9C05-042551 LH Side Airbag LH AO|E i 485,200
Ineos Grenadier Electrical GRA-9C06-026652 RH Side Airbag RH AFO| = 0f| of 4 496,400
Ineos Grenadier Electrical GRA-9C06-026661 LH Curtain Airbag LH 7{E ofjof&y 1,013,900
Ineos Grenadier Electrical GRA-9C06-042242 RH Side Airbag RH ARO|= & 485,200
Ineos Grenadier Electrical GRA-9C06-042542 RH Side Airbag RH ARO|= & 496,400
Ineos Grenadier Electrical GRA-9C06-042562 RH Side Airbag RH AIO|= & 485,200
Ineos Grenadier Electrical GRA-9C07-026671 LH Curtain Airbag LH 7 & 656,900
Ineos Grenadier Electrical GRA-9C07-027061 LH Curtain Airbag LH 7 & 980,700
Ineos Grenadier Electrical GRA-9C07-033611 LH Curtain Airbag LH 7 & 726,100
Ineos Grenadier Electrical GRA-9C08-026682 RH Curtain Airbag RH 7 o 1,013,900
Ineos Grenadier Electrical GRA-9C08-026692 RH Curtain Airbag RH 7 i 656,900
Ineos Grenadier Electrical GRA-9C08-033602 RH Curtain Airbag RH 7 i 1,089,600
Ineos Grenadier Electrical GRA-9C08-033622 RH Curtain Airbag RH 7 i 726,100
Ineos Grenadier Electrical GRA-9C11-026700 Airbag Sensor A 324,800
Ineos Grenadier Electrical GRA-9C11-026710 Airbag Sensor A 83,700
Ineos Grenadier Electrical GRA-9C11-026720 Door Pressure Airbag Sensor SO 22 ofjoje Mo 94,800
Ineos Grenadier Electrical GRA-9C11-029900 Airbag Control Module W H O 2 1,190,900
Ineos Grenadier Electrical GRA-9C11-033660 Airbag Control Module W H O 2 1,190,900
Ineos Grenadier Electrical GRA-9C11-033970 Airbag Control Module W H O 2 1,226,700
Ineos Grenadier Electrical GRA-9C11-048540 Airbag Control Module O 2 1,226,700
Ineos Grenadier Electrical GRA-9C21-015500 Emergency Call ECU TR H|& & F ECUTR 896,900
Ineos Grenadier Electrical GRA-9C21-016090 eCall Control Module eCall M0l 25 896,900
Ineos Grenadier Electrical GRA-9C21-026730 Car Phone Speaker eZ Am|H 166,000
Ineos Grenadier Electrical GRA-9C21-026740 Microphone oo|3 133,900
Ineos Grenadier Electrical GRA-9D01-026750 Engine Control Unit (ECU) QAZ H o |4 (ECU) 6,574,700
Ineos Grenadier Electrical GRA-9D01-026760 Power Distribution Module (PDM) el 2 2§ (PDM) 211,400
Ineos Grenadier Electrical GRA-9D01-026770 PDM Bracket PDM E2}3l 154,700
Ineos Grenadier Electrical GRA-9D01-026780 PDM Bracket Cover PDM E2}31 7t 72,200
Ineos Grenadier Electrical GRA-9D01-026800 ECU Base Mounting Bracket ECU Hj0|~ Ot2 & =23l 68,100
Ineos Grenadier Electrical GRA-9D01-026810 ECU Mounting Bracket ECU OI2E a3l 102,900
Ineos Grenadier Electrical GRA-9D01-029180 Mounting Bracket o2& gap3l 110,500
Ineos Grenadier Electrical GRA-9D02-013040 Power Distribution Module (PDM) el 2 2§ (PDM) 211,400
Ineos Grenadier Electrical GRA-9D02-032110 Engine Control Module AT HO 2E 6,579,600
Ineos Grenadier Electrical GRA-9D10-026830 Accelerator Pedal 7 g 288,500
Ineos Grenadier Electrical GRA-9D10-026840 Accelerator Pedal Cap b HE Y 14,000
Ineos Grenadier Electrical GRA-9D10-034740 Accelerator Pedal 7 g 415,200
Ineos Grenadier Electrical GRA-9D20-015310 Fuel Pump Control Module olg O Xo 2§ 560,500
Ineos Grenadier Electrical GRA-9D23-009100 AdBlue Control Unit AdBlue HOf FX| 560,500
Ineos Grenadier Electrical GRA-9D23-026400 AdBlue Control Unit Mount AdBlue H|0 FX| O E 176,200
Ineos Grenadier Electrical GRA-9D23-026430 Mounting Bracket o2& gap3l 50,200
Ineos Grenadier Electrical GRA-9E00-011050 Body Control Module (BCM) HiC| X|Of @& (BCM) 3,872,300
Ineos Grenadier Electrical GRA-9E00-030200 Body Control Module (BCM) HiC| X|Of @& (BCM) 1,271,900




Ineos Grenadier Electrical GRA-9E00-033630 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E00-038040 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E00-038050 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E00-045670 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E00-045700 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E00-046450 Body Control Module (BCM) HFC] X[0] 25 (BCM) 1,271,900
Ineos Grenadier Electrical GRA-9E10-026860 Trailer Module EEFPER 584,000
Ineos Grenadier Electrical GRA-9E10-030120 Trailer Module EEFPER 584,000
Ineos Grenadier Electrical GRA-9E10-033640 Trailer Module EEFPER 761,400
Ineos Grenadier Electrical GRA-9E10-047500 Trailer Module EEFPER 761,400
Ineos Grenadier Electrical GRA-9E11-026870 Trailer Module Bracket 69,900
Ineos Grenadier Electrical GRA-9E11-026880 Trailer Module Bracket 85,000
Ineos Grenadier Electrical GRA-9E11-045090 Trailer Control Module 601,500
Ineos Grenadier Electrical GRA-9E11-048500 Trailer Module 601,500
Ineos Grenadier Electrical GRA-9E12-026880 Trailer Module Bracket 85,000
Ineos Grenadier Electrical GRA-9E21-006850 Yaw-rate Sensor 597,300
Ineos Grenadier Electrical GRA-9F00-026890 Solar Sensor 58,900
Ineos Grenadier Electrical GRA-9F03-049910 Outside Temperature Sensor 32,600
Ineos Grenadier Electrical GRA-9H00-026900 FRT Door Speaker FRT £0f AT[7] 133,900
Ineos Grenadier Electrical GRA-9H00-026910 RR Door Speaker RR £0] A0 97,400
Ineos Grenadier Electrical GRA-9H03-026931 LH Speaker Sealing Cap LHAGH A2 33,300
Ineos Grenadier Electrical GRA-9H04-026932 RH Speaker Sealing Cap RH AL7 Mg 7 33,300
Ineos Grenadier Electrical GRA-9H05-024070 Subwoofer REE] 957,100
Ineos Grenadier Electrical GRA-9H05-043570 Subwoofer Bracket RECEEEE 41,300
Ineos Grenadier Electrical GRA-9H10-035940 Media Headunit EEEEEE 4,692,900
Ineos Grenadier Electrical GRA-9H10-043710 Media Headunit EEEEET 5,045,700
Ineos Grenadier Electrical GRA-9H10-043720 Media Headunit EEEEET 5,045,700
Ineos Grenadier Electrical GRA-9H10-043730 Media Headunit EEEEEE 6,154,700
Ineos Grenadier Electrical GRA-9H10-043740 Media Headunit EEEEET 5,676,700
Ineos Grenadier Electrical GRA-9H10-047220 Media Head Unit EEEEET 5,214,300
Ineos Grenadier Electrical GRA-9H10-047230 Media Head Unit EEEEEE 5,045,700
Ineos Grenadier Electrical GRA-9H10-047240 Media Head Unit EEEEEE 6,154,700
Ineos Grenadier Electrical GRA-9H10-047250 Media Head Unit EEEEET 5,676,700
Ineos Grenadier Electrical GRA-9H10-047260 Media Head Unit EEEEEE 5,676,700
Ineos Grenadier Electrical GRA-9H11-011080 Media Headunit EEEEET 5,984,400
Ineos Grenadier Electrical GRA-9H11-011170 Media Headunit EEEEET 5,790,100
Ineos Grenadier Electrical GRA-9H11-011890 Media Headunit EEEEEE 6,481,700
Ineos Grenadier Electrical GRA-9H22-006141 LH D-pillar Bracket and Antenna LH D-Z2f 223t o oteLt 414,900
Ineos Grenadier Electrical GRA-9H22-006152 RH D-pillar Bracket and Antenna RH D-Z2f =231 ol OefL} 414,900
Ineos Grenadier Electrical GRA-9H22-026990 Antenna Amplifier AM/FM/DAB OFE|[L} %4 Z2|1}0]of AM/FM/DAB 275,900
Ineos Grenadier Electrical GRA-9H22-027000 Antenna Base AM/FM/DAB OFEf| L} B[0] A AM/FM/DAB 157,300
Ineos Grenadier Electrical GRA-9H22-027010 Antenna Rod AM/FM/DAB OHEj|Lf 25 AM/FM/DAB 114,500
Ineos Grenadier Electrical GRA-9H22-027020 Antenna Cable AM/FM/DAB OFEL} #|0] S AM/FM/DAB 175,300
Ineos Grenadier Electrical GRA-9H22-027030 Antenna GNSS LTE OHEf|L GNSS LTE 198,500
Ineos Grenadier Electrical GRA-9H22-027050 Antenna GNSS only OHE{|Lf GNSS only 196,900
Ineos Grenadier Electrical GRA-9H22-027060 Antenna AM/FM/DAB | L} AM/FM/DAB 144,700
Ineos Grenadier Electrical GRA-9H22-027570 antenna SDARS OFEl|Lf SDARS 244,600
Ineos Grenadier Electrical GRA-9H22-033580 Signal Splitter GNSS R |E GNSS 112,500
Ineos Grenadier Electrical GRA-9H22-033920 Antenna Amplifier AM/FM/DAB OFE|[L} %4 Z2|1}0]of AM/FM/DAB 151,200
Ineos Grenadier Electrical GRA-9H22-043840 Antenna Amplifier AM/FM/DAB OFE|[L} %4 Z2|1}0]of AM/FM/DAB 144,000
Ineos Grenadier Electrical GRA-9J01-001890 Front Parking Sensor FF ZEXF AIA] 76,500
Ineos Grenadier Electrical GRA-9J02-001880 Rear Parking Sensor ETESTR 76,500
Ineos Grenadier Electrical GRA-9J11-011130 Parking Control Module FA MO 28 306,900
Ineos Grenadier Electrical GRA-9J11-020980 Parking Distance Control (PDC) Module Xt 72| Mo (PDC) 2 & 312,700
Ineos Grenadier Electrical GRA-9J11-027070 PDC Module Bracket PDC 2§ B2}l 122,700
Ineos Grenadier Electrical GRA-9J11-030930 Parking Distance Control (PDC) Module Xt 12| Mo (PDC) 2 & 322,100
Ineos Grenadier Electrical GRA-9J11-043760 Parking Distance Control (PDC) Module Xt 72| Mo (PDC) 2 & 316,100
Ineos Grenadier Electrical GRA-9J21-027090 Stray Light Cover ~E 0] 20|E HH 15,000
Ineos Grenadier Electrical GRA-9J21-029300 FRT Camera FRT 7}ofj2t 1,504,300
Ineos Grenadier Electrical GRA-9J21-038030 FRT ADAS Camera FRT ADAS 7tof 2} 1,671,400
Ineos Grenadier Electrical GRA-9J21-046440 FRT ADAS Camera FRT ADAS 7tof 2} 1,504,300
Ineos Grenadier Electrical GRA-9J22-040350 Rear View Camera PU ENELE 442,800
Ineos Grenadier Electrical GRA-9J41-001720 Lockset EX 1,639,800
Ineos Grenadier Electrical GRA-9J41-001950 Lockset EX 1,639,800
Ineos Grenadier Electrical GRA-9J42-001990 Remote Key Z|2E 7| 973,100
Ineos Grenadier Electrical GRA-9K00-032190 Alarm Siren or2} Afolzl 218,200
Ineos Grenadier Electrical GRA-9K01-011180 Siren Bracket EEEE] 102,000
Ineos Grenadier Electrical GRA-9K01-027110 Siren Bracket NEEEE 102,000
Ineos Grenadier Electrical GRA-9K03-010510 Lowtone Horn EE 80,800
Ineos Grenadier Electrical GRA-9K03-010520 Lowtone Horn EE 80,800
Ineos Grenadier Electrical GRA-9K03-010530 Hightone Horn EE 114,200
Ineos Grenadier Electrical GRA-9K03-010540 Hightone Horn 10| E A X 114,200
Ineos Grenadier Electrical GRA-9K03-033940 Toot Horn £E &5 110,800
Ineos Grenadier Electrical GRA-9K03-033950 Toot Horn Bracket £E F5 =23 57,400
Ineos Grenadier Electrical GRA-9K10-038060 Gateway AOIEZ0 1,727,600
Ineos Grenadier Electrical GRA-9K10-044470 Gateway AOIEZ0 1,756,000
Ineos Grenadier Electrical GRA-9K10-046510 Gateway AOIEZ0 1,727,600
Ineos Grenadier Electrical GRA-9K10-048550 Gateway AOIEZ0 1,727,600
Ineos Grenadier Electrical GRA-9K12-027130 Gateway Bracket EREEREEE] 143,900
Ineos Grenadier Electrical GRA-9K12-027140 Gateway Bracket EREEREEE] 156,600
Ineos Grenadier Electrical GRA-9K21-027150 RF Antenna RF OFEf|Lt 150,300
Ineos Grenadier Electrical GRA-9K21-033320 RF Antenna 433 MHz. RF OFEl|Lt 433 MHz 169,600
Ineos Grenadier Electrical GRA-9K21-043790 RF Antenna RF OFEf|Lt 169,600
Ineos Grenadier Electrical GRA-9K30-027160 Immo Reader Immo 2|5 220,400
Ineos Grenadier Electrical GRA-9K41-001710 Lockset E 1,876,900
Ineos Grenadier Electrical GRA-9K41-001720 Lockset =4 1,639,800
Ineos Grenadier Electrical GRA-9K41-001950 Lockset =4 1,639,800
Ineos Grenadier Electrical GRA-9K41-027170 Key Barrel Set HEERE 123,600
Ineos Grenadier Electrical GRA-9K41-036730 Lockset =4 1,933,200
Ineos Grenadier Electrical GRA-9K41-036740 Lockset =4 1,933,200
Ineos Grenadier Electrical GRA-9K41-036750 Lockset =4 1,689,000
Ineos Grenadier Electrical GRA-9K41-036760 Lockset E 1,689,000
Ineos Grenadier Electrical GRA-9K42-001990 Remote Key Z|2E 7| 1,113,700
Ineos Grenadier Electrical GRA-9K42-018200 Remote Key (Uncut) 2|2 E 7] () 673,000
Ineos Grenadier Electrical GRA-9L00-006920 Mirror Adjuster Switch 0] O EXAE A9/ 222,600
Ineos Grenadier Electrical GRA-9L00-025610 Electric Window Switch HEA A= 22K 119,900
Ineos Grenadier Electrical GRA-9L00-025620 Central Locking Switch SO 22 A9K| 79,900
Ineos Grenadier Electrical GRA-9L00-025710 Single Electric Window Switch HNS HEM A A9X| 77,800
Ineos Grenadier Electrical GRA-9L00-033820 Central Locking Switch S RZ AR 79,900
Ineos Grenadier Electrical GRA-9L11-001870 Passenger Airbag Display Z5A ofof# CIAEg0] 112,800
Ineos Grenadier Electrical GRA-9L11-004150 eCall Switch eCall 2 2/%] 166,000
Ineos Grenadier Electrical GRA-9L11-014840 Auxilary Toggle Switch EEEEPH] 96,000
Ineos Grenadier Electrical GRA-9L11-027180 Interior Light Push Button OIE|2[0f Bf0|E ZA| HE 98,300
Ineos Grenadier Electrical GRA-9L11-027190 Door Ajar Push Button o 9 ZAHE 98,300
Ineos Grenadier Electrical GRA-9L11-027200 ESC Push Button ESC FA[ HE 98,300
Ineos Grenadier Electrical GRA-9L11-027210 HDC Push Button HDC FA| HE 98,300
Ineos Grenadier Electrical GRA-9L11-027220 Off-road Mode Push Button QEEE HE FAHE 107,700




Ineos Grenadier Electrical GRA-OL11-027230 Wading Mode Push Button Tl BC ZA HE 107,700
Ineos Grenadier Electrical GRA-OL11-027240 Headlamp Levelling Push Button EEEEEEEERNEE 108,900
Ineos Grenadier Electrical GRA-OL11-027250 Working Light Push Button 9 BH0|E ZA| HE 98,300
Ineos Grenadier Electrical GRA-OL11-027270 Auxilary Toggle Switch Hx E2 AKX 87,700
Ineos Grenadier Electrical GRA-OL11-027280 Auxilary Toggle Switch Hx E2 AKX 90,400
Ineos Grenadier Electrical GRA-OL11-027290 Auxilary Toggle Switch Hx E2 AKX 76,500
Ineos Grenadier Electrical GRA-OL11-027300 Auxilary Toggle Switch Hx E2 AKX 87,700
Ineos Grenadier Electrical GRA-OL11-027310 Auxilary Toggle Switch Hx E2 AKX 87,700
Ineos Grenadier Electrical GRA-OL11-027320 Auxilary Toggle Switch Hx E2 AKX 87,700
Ineos Grenadier Electrical GRA-OL11-027330 Auxilary Toggle Switch Hx E2 AKX 87,700
Ineos Grenadier Electrical GRA-OL11-030370 Auxilary Toggle Switch Hx E2 AKX 118,700
Ineos Grenadier Electrical GRA-9L11-030380 GRA-03038 GRA-03038 107,700
Ineos Grenadier Electrical GRA-OL11-031000 Interior Light Push Button OIE|2[0f B0|E ZA| HE 113,800
Ineos Grenadier Electrical GRA-OL11-031010 Door Ajar Push Button o 9 ZAHE 113,800
Ineos Grenadier Electrical GRA-OL11-031020 ESC Push Button ESC FA[ HE 113,800
Ineos Grenadier Electrical GRA-OL11-031030 HDC Push Button HDC FA| HE 113,800
Ineos Grenadier Electrical GRA-OL11-031040 Off-road Mode Push Button ZC GC ZAHE 123,400
Ineos Grenadier Electrical GRA-OL11-031050 Wading Mode Push Button Tl BC ZA HE 123,400
Ineos Grenadier Electrical GRA-9L11-031060 FRT Differential Lock Push Button FRT Clu#d 8§ A HE 134,800
Ineos Grenadier Electrical GRA-OL11-031070 RR Differential Lock Push Button RRC|HHMN 2 A HE 123,400
Ineos Grenadier Electrical GRA-OL11-031080 Working Light Push Button 9 2H0|E ZA| HE 113,800
Ineos Grenadier Electrical GRA-OL11-032390 Auxiliary Toggle Switch Hx E2 AKX 87,200
Ineos Grenadier Electrical GRA-OL11-032400 Auxiliary Toggle Switch Hx E2 AKX 90,400
Ineos Grenadier Electrical GRA-OL11-032410 Auxiliary Toggle Switch Hx E2 AKX 78,800
Ineos Grenadier Electrical GRA-OL11-032420 Auxiliary Toggle Switch Hx E2 AKX 78,800
Ineos Grenadier Electrical GRA-OL11-032430 Auxiliary Toggle Switch Hx E2 AKX 78,800
Ineos Grenadier Electrical GRA-OL11-032440 Auxiliary Toggle Switch Hx E2 AKX 78,800
Ineos Grenadier Electrical GRA-OL11-032450 Auxiliary Toggle Switch Hx E2 AKX 78,800
Ineos Grenadier Electrical GRA-OL11-032460 Auxiliary Toggle Switch Hx E2 AKX 101,100
Ineos Grenadier Electrical GRA-OL11-032530 Headlamp Levelling Push Button EEEEEEEERNEE 128,100
Ineos Grenadier Electrical GRA-OL20-006880 Compass EFES 806,800
Ineos Grenadier Electrical GRA-9L20-011420 Warning Display Z1 CAE0| 922,200
Ineos Grenadier Electrical GRA-9L20-011600 Compass A~ 806,900
Ineos Grenadier Electrical GRA-0L20-027340 Warning Display ZaCAEgo 911,600
Ineos Grenadier Electrical GRA-9L20-029570 Warning Display ZaCAEgo 632,900
Ineos Grenadier Electrical GRA-9L21-050570 Passenger Airbag Display Z4A offof# C[AZ7 0| 112,800
Ineos Grenadier Electrical GRA-9L23-029070 Climate Control Unit EE 4 3,155,900
Ineos Grenadier Electrical GRA-9L23-029080 Climate Control Unit B B 3,075,300
Ineos Grenadier Electrical GRA-0L23-029450 Climate Control Unit B B 2,897,100
Ineos Grenadier Electrical GRA-0L23-029460 Climate Control Unit EE o 2,814,100
Ineos Grenadier Electrical GRA-OL30-027360 Steering Wheel Control Module AE] 791,200
Ineos Grenadier Electrical GRA-9L30-027370 Steering Wheel Control Module AE] 788,400
Ineos Grenadier Electrical GRA-0L30-033460 Steering Wheel Control Module AE] 582,100
Ineos Grenadier Electrical GRA-9L30-033470 Steering Wheel Control Module AE] 580,100
Ineos Grenadier Electrical GRA-9L30-036040 Drivers Display SHA T 661,300
Ineos Grenadier Electrical GRA-OL30-043640 Drivers Display SHA T 838,800
Ineos Grenadier Electrical GRA-OL30-043650 Compass 806,900
Ineos Grenadier Electrical GRA-OL30-043660 Drivers Display SHAf [ A 773,700
Ineos Grenadier Electrical GRA-OL30-048430 Drivers Display SHA [ A 773,700
Ineos Grenadier Electrical GRA-OL30-049290 Compass 21 806,900
Ineos Grenadier Electrical GRA-0L33-043670 Climate Control Unit EE 2,812,700
Ineos Grenadier Electrical GRA-0L33-043680 Climate Control Unit EE 2,812,700
Ineos Grenadier Electrical GRA-OL33-043690 Climate Control Unit EE 2,812,700
Ineos Grenadier Electrical GRA-0L33-043700 Climate Control Unit EE 2,812,700
Ineos Grenadier Electrical GRA-OL40-043420 Steering Wheel Control Module EEEEEE] 553,700
Ineos Grenadier Electrical GRA-OL41-043430 Steering Wheel Control Module EEEEEE] 551,700
Ineos Grenadier Electrical GRA-9L50-036070 Central Control Interface CTR H|Of QIE{TO]A 437,000
Ineos Grenadier Electrical GRA-9L50-050580 Central Control Interface CTR H|Of QIE{T 0] A 437,000
Ineos Grenadier Electrical GRA-9M00-010490 Battery EEE 1,038,200
Ineos Grenadier Electrical GRA-9M00-027380 Battery Vent Line EEEEEER] 51,600
Ineos Grenadier Electrical GRA-9M00-027390 FRT Battery Bracket FRT BHE{2] E2}31 159,100
Ineos Grenadier Electrical GRA-9M00-044690 Battery Protection Cap EEEEE 30,800
Ineos Grenadier Electrical GRA-9M01-027400 Side Battery Bracket NEEEEEEE] 40,800
Ineos Grenadier Electrical GRA-9M01-027410 RR Battery Bracket RR H{E{2] E2}31 332,600
Ineos Grenadier Electrical GRA-9M01-031090 RR Battery Bracket RR HiE{2] E2}31 552,000
Ineos Grenadier Electrical GRA-9M02-027420 Auxiliary Battery Bracket EEXTEEEEE] 691,900
Ineos Grenadier Electrical GRA-9M11-019120 12V Power Socket Light Ring 12V 0teJ 31 2{0|E & 4,900
Ineos Grenadier Electrical GRA-9M11-027430 Power Outlet 230V 9| org 2l 230V 116,700
Ineos Grenadier Electrical GRA-9M11-027440 Power Outlet 230V 9| orE 2l 230V 177,100
Ineos Grenadier Electrical GRA-9M11-027450 Power Outlet 120V 9| org 2l 120V 103,500
Ineos Grenadier Electrical GRA-9M11-027460 Power Outlet Blanking Cap o org sWT Y 5,300
Ineos Grenadier Electrical GRA-9M11-027470 Power Outlet Cigar Lighter 9] of22l A7} 2folE 40,400
Ineos Grenadier Electrical GRA-9M11-027480 Power Outlet Socket 12V Q) ot A3 12v 16,500
Ineos Grenadier Electrical GRA-9M11-027490 Power Socket Light Ring 12V 9] 23 2f0[E & 12V 12,400
Ineos Grenadier Electrical GRA-9M11-027500 Power Outlet Cap 9 of2al 45,000
Ineos Grenadier Electrical GRA-9M11-027510 Power Outlet Socket 12V Q) ot A3 12v 28,400
Ineos Grenadier Electrical GRA-9M11-033360 12V Power Socket Light Ring 12V 0teJ 31 2{0|E & 18,500
Ineos Grenadier Electrical GRA-9M11-038470 12V Power Outlet Socket 12V 1t oS3 A3 116,300
Ineos Grenadier Electrical GRA-9M11-039110 12V Power Outlet OTR Housing 12V 9| Ot2 3 OTR 812 & 14,800
Ineos Grenadier Electrical GRA-9M11-039120 12V Power Outlet INR Housing 12V 0t9J b2 2l INR 3123 15,300
Ineos Grenadier Electrical GRA-9M11-043550 Power Outlet Housing 9] of2al 19 A 83,600
Ineos Grenadier Electrical GRA-9M11-043630 Power Outlet Cap 9] of2al 45,000
Ineos Grenadier Electrical GRA-9M11-046500 12V Power Outlet Cigar Lighter Socket 12V 19| OF2 31 A|7t 20JEf A3 26,500
Ineos Grenadier Electrical GRA-9M11-047450 12V Power Outlet Socket 12V 1t oS3 A3 116,300
Ineos Grenadier Electrical GRA-9M11-051290 230V EU Power Outlet 230VEU Mg 2HE 116,700
Ineos Grenadier Electrical GRA-9M11-051300 230V Universal Power Outlet 230V HE @ 2HE 177,100
Ineos Grenadier Electrical GRA-9M11-051310 120V Power Outlet 120v HY EME 96,700
Ineos Grenadier Electrical GRA-9M21-027520 DC/AC Converter 115V-400W DC/AC ZAH{Ef 115V-400W 760,300
Ineos Grenadier Electrical GRA-9M21-027530 DCAC Converter Bracket DCAC ZIHEf Hat3l 525,900
Ineos Grenadier Electrical GRA-9M21-027540 DC/AC Converter 230V-400W DC/AC ZAH{ Ef 230V-400W 760,300
Ineos Grenadier Electrical GRA-9M21-027550 AC Converter 230V AC ZAH{Ef 230V 3,578,200
Ineos Grenadier Electrical GRA-9M21-027560 AC Converter 230V AC ZAH{E{ 230V 3,578,200
Ineos Grenadier Electrical GRA-9N01-016750 Engine Wiring Harness Module 1 17l 2f0 EENEE 830,900
Ineos Grenadier Electrical GRA-9N02-016790 Engine Wiring Harness Module 2 17l 2f0 S~ B8 2 894,700
Ineos Grenadier Electrical GRA-9N03-016770 Engine Wiring Harness Module 3 17l 2f0 S~ B E 3 639,100
Ineos Grenadier Electrical GRA-9N11-016800 Gearbox Wiring Harness 7[0f8t~ ofo|of & B[~ 564,100
Ineos Grenadier Electrical GRA-9N11-027580 Gearbox Wiring Harness 7[0fEt~ ofo|of & B[~ 733,900
Ineos Grenadier Electrical GRA-9N11-027590 Harness Bracket EEEEEE] 29,900
Ineos Grenadier Electrical GRA-9N11-027600 Conductor Rail EEEEF 87,700
Ineos Grenadier Electrical GRA-ON11-034630 Gearbox Wiring Harness 7[0f8t~ ofo|of & B[~ 840,400
Ineos Grenadier Electrical GRA-ON12-027610 Alternator Cable EEEREERE 193,400
Ineos Grenadier Electrical GRA-OP01-016700 Engine Wiring Harness Module 1 QI 20]Oj & B~ B & 1 912,700
Ineos Grenadier Electrical GRA-OP01-016740 Support NEZE 44,700
Ineos Grenadier Electrical GRA-OP01-027680 Engine Harness Bracket FREEENEEE 28,100
Ineos Grenadier Electrical GRA-OP01-050760 Engine Wiring Harness Module 1 QI 20]Oj & B~ B & 1 912,700
Ineos Grenadier Electrical GRA-OP02-016710 Engine Wiring Harness Module 2 QIEI 2|0 E B~ B & 2 830,900
Ineos Grenadier Electrical GRA-OP02-016720 Bracket EEE 26,000




Ineos Grenadier Electrical GRA-9P03-016640 Engine Wiring Harness Module 3 QIEI 20|0j & B~ B & 3 581,100
Ineos Grenadier Electrical GRA-9P04-016650 Engine Wiring Harness Module 4 oIZl BN B[~ 25 4 232,400
Ineos Grenadier Electrical GRA-9P11-027700 Gearbox Wiring Harness HEEEEEEEETES 885,500
Ineos Grenadier Electrical GRA-9P11-027710 Gearbox Wiring Harness 7[0f8t~ ofo|of & B[~ 1,301,100
Ineos Grenadier Electrical GRA-9P11-027720 Harness Bracket EEEEEE] 32,200
Ineos Grenadier Electrical GRA-9P11-046160 Gearbox Wiring Harness HEEEEREEETES 1,301,100
Ineos Grenadier Electrical GRA-9P12-027730 Alternator Signal Cable S| 0E] A3 A0S 77,400
Ineos Grenadier Electrical GRA-9P12-027740 Alternator Cable EEEREERE 251,200
Ineos Grenadier Electrical GRA-9P12-027750 Blind Cap Sarolc 10,300
Ineos Grenadier Electrical GRA-9P12-032220 Alternator Cable EEEREEL] 203,700
Ineos Grenadier Electrical GRA-9P12-032230 Generator Signal Cable 27| As Ao 88,400
Ineos Grenadier Electrical GRA-9P13-027760 Starter Motor Cable EEEEEER 340,400
Ineos Grenadier Electrical GRA-9P13-029510 Starter Motor Cable EEEEEER 298,900
Ineos Grenadier Electrical GRA-9P13-046610 Starter Motor Cable AEFE @H #0 188,600
Ineos Grenadier Electrical GRA-9P21-027770 AdBlue Wiring Harness AdBlue Hi 41 3} 525,100
Ineos Grenadier Electrical GRA-9P32-032520 AdBlue Wiring Harness AdBlue Hi 41 3} 540,900
Ineos Grenadier Electrical GRA-9P32-037840 AdBlue Wiring Harness AdBlue Hi A1 3} 97,100
Ineos Grenadier Electrical GRA-9P32-037850 AdBlue Wiring Harness AdBlue Hi 41 3} 62,700
Ineos Grenadier Electrical GRA-9P51-001910 FRT Brake Wiring Harness FRT 220/ bj Al 142,300
Ineos Grenadier Electrical GRA-9P52-001920 RR Brake Wiring Harness EEREEEE 117,300
Ineos Grenadier Electrical GRA-9500-037910 Wiring Harness Bracket N EEEEEE] 52,100
Ineos Grenadier Electrical GRA-9500-039690 Blanking Cap FEE 9,800
Ineos Grenadier Electrical GRA-9501-027780 Chassis Harness A B~ 989,800
Ineos Grenadier Electrical GRA-9501-027790 Chassis Harness FREEES 943,900
Ineos Grenadier Electrical GRA-9501-027800 Chassis Harness FREEES 1,043,300
Ineos Grenadier Electrical GRA-9501-027810 Chassis Harness FREEES 746,300
Ineos Grenadier Electrical GRA-9501-027820 Chassis Harness FREEES 840,200
Ineos Grenadier Electrical GRA-9501-036260 Chassis Wiring Harness NAT 2H] EEES 1,512,900
Ineos Grenadier Electrical GRA-9501-036270 Chassis Wiring Harness NAT 2H] EEES 1,703,800
Ineos Grenadier Electrical GRA-9501-036280 Chassis Wiring Harness AT 2HO] EEES 1,174,400
Ineos Grenadier Electrical GRA-9501-036290 Chassis Wiring Harness NAT 2H] EEES 1,332,600
Ineos Grenadier Electrical GRA-9501-037860 Chassis Wiring Harness AT 2HO] EEES 737,800
Ineos Grenadier Electrical GRA-9501-037870 Chassis Wiring Harness AT 2HO] EEES 794,500
Ineos Grenadier Electrical GRA-9501-037880 Chassis Wiring Harness NAT 2H] EEES 4,294,000
Ineos Grenadier Electrical GRA-9501-037890 Chassis Wiring Harness NAT 2H] EEES 2,251,900
Ineos Grenadier Electrical GRA-9501-037900 Chassis Wiring Harness AT 2HO] EEES 4,370,000
Ineos Grenadier Electrical GRA-9501-037920 Chassis Wiring Harness NAT 2H] EEES 2,326,600
Ineos Grenadier Electrical GRA-9501-037930 Chassis Wiring Harness NAT 2HO] EEES 4,326,600
Ineos Grenadier Electrical GRA-9501-037940 Chassis Wiring Harness AT 2HO] EEES 2,283,400
Ineos Grenadier Electrical GRA-9501-038510 12V Power Outlet Blanking Cap 12V TS Of 22 S 24,900
Ineos Grenadier Electrical GRA-9502-022470 Water Separator Relay EEREEREEEE] 39,200
Ineos Grenadier Electrical GRA-9502-027830 Chassis Harness FREEES 871,100
Ineos Grenadier Electrical GRA-9502-027840 Chassis Harness FREEES 1,153,300
Ineos Grenadier Electrical GRA-9502-027850 Chassis Harness FREEES 995,400
Ineos Grenadier Electrical GRA-9502-036300 Chassis Wiring Harness NAT 2H] EEES 1,631,700
Ineos Grenadier Electrical GRA-9502-036310 Chassis Wiring Harness NAT 2H] EEES 1,380,500
Ineos Grenadier Electrical GRA-9502-036320 Chassis Wiring Harness NAT 2H] EEES 1,919,400
Ineos Grenadier Electrical GRA-9502-036330 Chassis Wiring Harness AT 2HO] EEES 1,643,500
Ineos Grenadier Electrical GRA-9502-037800 Blanking Plug EFPERE 18,900
Ineos Grenadier Electrical GRA-9502-037950 Chassis Wiring Harness NAT 2H] EEES 4,611,600
Ineos Grenadier Electrical GRA-9502-037960 Chassis Wiring Harness NAT 2H] EEES 2,575,600
Ineos Grenadier Electrical GRA-9502-037970 Chassis Wiring Harness NAT 2H] EEES 4,655,000
Ineos Grenadier Electrical GRA-9502-037980 Chassis Wiring Harness AT 2HO] EEES 2,619,000
Ineos Grenadier Electrical GRA-9502-037990 Chassis Wiring Harness AT 2HO] EEES 4,756,800
Ineos Grenadier Electrical GRA-9502-038000 Chassis Wiring Harness NAT 2H] EEES 2,641,500
Ineos Grenadier Electrical GRA-9502-038010 Chassis Wiring Harness NAT 2H] EEES 4,468,600
Ineos Grenadier Electrical GRA-9502-038020 Chassis Wiring Harness AT 2HO] EEES 2,423,000
Ineos Grenadier Electrical GRA-9502-041530 Chassis Wiring Harness AT 2HO] EEES 827,300
Ineos Grenadier Electrical GRA-9502-041540 Chassis Wiring Harness NAT 2H] EEES 713,100
Ineos Grenadier Electrical GRA-9503-027860 Ground Cable EEEEETE 88,100
Ineos Grenadier Electrical GRA-9503-027870 Ground Cable EEEEENE 73,400
Ineos Grenadier Electrical GRA-9503-035260 Ground Cable EEEEENE 44,900
Ineos Grenadier Electrical GRA-9541-034850 FRT E-differential Bracket FRT E-CIHa M Saps 66,700
Ineos Grenadier Electrical GRA-9541-034890 FRT E-differential Wiring Harness FRT E-C|TH 24 9t0[0] & &2 87,500
Ineos Grenadier Electrical GRA-9542-034860 RR E-differential Bracket RR E-C|H24 =231 67,800
Ineos Grenadier Electrical GRA-9542-034900 RR E-differential Wiring Harness RR E-C| 2114 9to|0f & 81|~ 102,000
Ineos Grenadier Electrical GRA-9T00-008250 500A High Power Relay 500A T e 220 690,600
Ineos Grenadier Electrical GRA-9T00-011280 Winch Power Supply AKX HYU 3T 2,218,700
Ineos Grenadier Electrical GRA-9T00-012970 Winch Power Supply UK HY 3T 2,730,800
Ineos Grenadier Electrical GRA-9T00-012980 Integrated Winch Power Cable EEEEECERE 494,700
Ineos Grenadier Electrical GRA-9T00-018820 Ground Wiring Harness EEEE 247,500
Ineos Grenadier Electrical GRA-9T00-019480 Winch Control Unit 2,455,900
Ineos Grenadier Electrical GRA-9T00-019500 Winch Wiring Harness 1,334,100
Ineos Grenadier Electrical GRA-9T00-019510 Ground Wiring Harness 263,800
Ineos Grenadier Electrical GRA-9T00-027930 Under Bonnet Pre Fuse Box 750,100
Ineos Grenadier Electrical GRA-9T00-027940 Jump Start Connection Point 577,300
Ineos Grenadier Electrical GRA-9T00-027950 Jump Start Power Supply Cable 358,200
Ineos Grenadier Electrical GRA-9T00-027970 Circuit Breaker 611,100
Ineos Grenadier Electrical GRA-9T00-028040 Connector Plug 29,000
Ineos Grenadier Electrical GRA-9T00-028050 FRT Winch Relay Bracket 54,900
Ineos Grenadier Electrical GRA-9T00-028590 Bracket 67,800
Ineos Grenadier Electrical GRA-9T00-028600 Bracket 27,300
Ineos Grenadier Electrical GRA-9T00-028610 Bracket 74,700
Ineos Grenadier Electrical GRA-9T00-030280 Ground Wiring Harness EEEEENEEETEES 481,300
Ineos Grenadier Electrical GRA-9T00-032310 Jump Start Connection Point HI AELE AHYN HOIE 594,600
Ineos Grenadier Electrical GRA-9T00-035610 Winch Power Supply EEEEES 2,218,700
Ineos Grenadier Electrical GRA-9T00-035620 Winch Control Unit X Hof g 2,529,500
Ineos Grenadier Electrical GRA-9T00-035630 Integrated Winch Power Cable EEERECERE 494,700
Ineos Grenadier Electrical GRA-9T01-006750 FRT Bumper Wiring Harness FRT H I 20 S| A 475,600
Ineos Grenadier Electrical GRA-9T01-006760 FRT Bumper Wiring Harness FRT H1{ 20 S| A 536,100
Ineos Grenadier Electrical GRA-9T01-009020 FRT Bumper Wiring Harness FRT H I 20 S| A 402,700
Ineos Grenadier Electrical GRA-9T02-027880 Engine Bay Wiring Harness RENENEEERES 2,296,000
Ineos Grenadier Electrical GRA-9T02-027890 Fuse Box Bracket Ex gt =ap 95,700
Ineos Grenadier Electrical GRA-9T02-036200 Engine Bay Wiring Harness RENENEEERES 1,594,500
Ineos Grenadier Electrical GRA-9T02-040620 Engine Bay Wiring Harness ERENEREEETES 1,594,500
Ineos Grenadier Electrical GRA-9T03-027900 Engine Bay Wiring Harness RENENEEEEES 2,212,400
Ineos Grenadier Electrical GRA-9T03-027910 Engine Bay Wiring Harness RERENEEERES 2,355,600
Ineos Grenadier Electrical GRA-9T03-027920 Fuse Box Bracket EENEEE 100,200
Ineos Grenadier Electrical GRA-9T03-036210 Engine Bay Wiring Harness RENENEEERES 1,513,600
Ineos Grenadier Electrical GRA-9T03-036220 Engine Bay Wiring Harness RENENEEERES 1,617,900
Ineos Grenadier Electrical GRA-9T03-040630 Engine Bay Wiring Harness ERENEREEETES 1,513,600
Ineos Grenadier Electrical GRA-9T03-040640 Engine Bay Wiring Harness ERENEREEETES 1,617,900
Ineos Grenadier Electrical GRA-9T04-027960 Circuit Breaker Bracket REEENEEEE 48,200
Ineos Grenadier Electrical GRA-9T04-027980 Power Supply Cable Mgl 33 Aol 406,600
Ineos Grenadier Electrical GRA-9T04-027990 Jump Start Grip HI AEIE 138 90,400
Ineos Grenadier Electrical GRA-9T04-028000 Jump Start Connection Bracket HI AEIE AHM Hapzl 194,100
Ineos Grenadier Electrical GRA-9T05-028010 Circuit Breaker Bracket REEENEEEE] 55,600




Ineos Grenadier Electrical GRA-9T05-028020 Circuit Breaker Supply Cable 3l E01A 2g AlE 147,300

Ineos Grenadier Electrical GRA-9T06-036060 Winch Relay Power Cable EEEENEEERE] 406,600

Ineos Grenadier Electrical GRA-9T07-028060 Winch Relay Power Supply Cable EEEENEEEEENE 196,100

Ineos Grenadier Electrical GRA-9T07-036340 Winch Relay Power Cable EEEENEEERE] 279,100

Ineos Grenadier Electrical GRA-9T07-036350 Circuit Breaker Power Cable 31 2] 0A s A0S 216,600

Ineos Grenadier Electrical GRA-9T11-028070 Body Harness RS 14,538,900
Ineos Grenadier Electrical GRA-9T11-028080 Bracket EEE 86,300

Ineos Grenadier Electrical GRA-9T11-028090 Bracket EEE 81,000

Ineos Grenadier Electrical GRA-9T11-028100 Bracket EEE 74,500

Ineos Grenadier Electrical GRA-9T11-028120 Body Harness EEEES 13,539,400
Ineos Grenadier Electrical GRA-9T11-028130 Body Harness IEEEES 14,752,200
Ineos Grenadier Electrical GRA-9T11-028140 Body Harness EEEES 13,677,800
Ineos Grenadier Electrical GRA-9T11-028170 Body Harmess EEEES 13,940,000
Ineos Grenadier Electrical GRA-9T11-028180 Body Harness IEEEES 12,993,200
Ineos Grenadier Electrical GRA-9T11-028190 Body Harness IEEEES 14,003,900
Ineos Grenadier Electrical GRA-9T11-028200 Body Harness EEEES 13,092,300
Ineos Grenadier Electrical GRA-9T11-028210 Body Harness IEEEES 14,343,200
Ineos Grenadier Electrical GRA-9T11-028220 Body Harness IEEEES 13,279,400
Ineos Grenadier Electrical GRA-9T11-028230 Body Harness EEEES 14,211,900
Ineos Grenadier Electrical GRA-9T11-028240 Body Harness IEEEES 13,149,100
Ineos Grenadier Electrical GRA-9T11-036080 Body Wiring Harness HC] 2f0 EEES 25,354,600
Ineos Grenadier Electrical GRA-9T11-036090 Body Wiring Harness B C] 2f0 EEES 23,578,800
Ineos Grenadier Electrical GRA-9T11-036100 Body Wiring Harness B C] 2f0 EEES 24,640,400
Ineos Grenadier Electrical GRA-9T11-036110 Body Wiring Harness B C] 2f0 EEES 22,750,600
Ineos Grenadier Electrical GRA-9T11-036120 Body Wiring Harness B C] 2f0 EEES 25,713,000
Ineos Grenadier Electrical GRA-9T11-036130 Body Wiring Harness B C] 2f0 EEES 23,815,900
Ineos Grenadier Electrical GRA-9T11-036140 Body Wiring Harness B C] 2f0 EEES 24,256,900
Ineos Grenadier Electrical GRA-9T11-036150 Body Wiring Harness B C] 2f0 EEES 22,567,500
Ineos Grenadier Electrical GRA-9T11-036160 Body Wiring Harness B C] 2f0 EEES 24,970,600
Ineos Grenadier Electrical GRA-9T11-036170 Body Wiring Harness B C] 2f0 EEES 23,078,200
Ineos Grenadier Electrical GRA-9T11-036180 Body Wiring Harness B C] 2f0 EEES 24,738,700
Ineos Grenadier Electrical GRA-9T11-036190 Body Wiring Harness B C] 2f0 EEES 22,848,100
Ineos Grenadier Electrical GRA-9T11-039220 Body Wiring Harness B C] 2f0 EEES 10,737,000
Ineos Grenadier Electrical GRA-9T11-039230 Body Wiring Harness B C] 2f0 EEES 10,160,500
Ineos Grenadier Electrical GRA-9T11-039240 Body Wiring Harness B C] 2f0 EEES 10,324,000
Ineos Grenadier Electrical GRA-9T11-039250 Body Wiring Harness B C] 2f0 EEES 9,784,000
Ineos Grenadier Electrical GRA-9T11-039270 Body Wiring Harness B C] 2f0 EEES 10,416,200
Ineos Grenadier Electrical GRA-9T11-039310 Body Wiring Harness B C] 2f0 EEES 9,792,700
Ineos Grenadier Electrical GRA-9T11-039320 Body Wiring Harness B C] 2f0 EEES 10,880,400
Ineos Grenadier Electrical GRA-9T11-039330 Body Wiring Harness B C] 2f0 EEES 9,954,000
Ineos Grenadier Electrical GRA-9T11-039350 Body Wiring Harness B C] 2f0 EEES 10,546,500
Ineos Grenadier Electrical GRA-9T11-039370 Body Wiring Harness B C] 2f0 EEES 9,921,900
Ineos Grenadier Electrical GRA-9T11-039750 Body Wiring Harness B C] 2f0 EEES 10,450,200
Ineos Grenadier Electrical GRA-9T11-039760 Body Wiring Harness B C] 2f0 EEES 9,826,300
Ineos Grenadier Electrical GRA-9T11-039770 Body Wiring Harness B C] 2f0 EEES 10,441,700
Ineos Grenadier Electrical GRA-9T11-039780 AS-BODY HARNESS PU LW PETROL LHD ROW/EU___[S-BODY 3t PU LW 7}& 2l LHD ROW/E 9,857,400
Ineos Grenadier Electrical GRA-9T11-039790 Body Wiring Harness B C] 2f0 EEES 10,237,600
Ineos Grenadier Electrical GRA-9T11-039800 Body Wiring Harness B C] 2f0 EEES 9,788,100
Ineos Grenadier Electrical GRA-9T11-039810 Body Wiring Harness B C] 2f0 EEES 10,300,100
Ineos Grenadier Electrical GRA-9T11-039820 Body Wiring Harness B C] 2f0 EEES 9,680,400
Ineos Grenadier Electrical GRA-9T11-039830 Body Wiring Harness B C] 2f0 EEES 10,508,800
Ineos Grenadier Electrical GRA-9T11-039840 Body Wiring Harness B C] 2f0 EEES 9,992,300
Ineos Grenadier Electrical GRA-9T11-039850 Body Wiring Harness B C] 2f0 EEES 10,252,800
Ineos Grenadier Electrical GRA-9T11-039860 Body Wiring Harness B C] 2f0 EEES 9,628,500
Ineos Grenadier Electrical GRA-9T11-039870 Body Wiring Harness B C] 2f0 EEES 10,152,600
Ineos Grenadier Electrical GRA-9T11-039880 Body Wiring Harness B C] 2f0 EEES 9,529,200
Ineos Grenadier Electrical GRA-9T12-028110 Bracket EEE 75,600

Ineos Grenadier Electrical GRA-9T12-028250 Body Harness RS 15,043,900
Ineos Grenadier Electrical GRA-9T12-028260 Body Harness EEEES 14,020,800
Ineos Grenadier Electrical GRA-9T12-028270 Body Harness EEEES 15,191,500
Ineos Grenadier Electrical GRA-9T12-028280 Body Harness IEEEES 14,169,900
Ineos Grenadier Electrical GRA-9T12-028290 Body Harness IEEEES 14,756,800
Ineos Grenadier Electrical GRA-9T12-028300 Body Harness EEEES 13,672,800
Ineos Grenadier Electrical GRA-9T12-028310 Body Harness IEEEES 14,898,200
Ineos Grenadier Electrical GRA-9T12-028320 Body Harness EEEES 13,814,100
Ineos Grenadier Electrical GRA-9T12-028330 Body Harness IEEEES 14,830,900
Ineos Grenadier Electrical GRA-9T12-028340 Body Harness EEEES 13,750,400
Ineos Grenadier Electrical GRA-9T12-029050 Body Harness EEEES 26,086,000
Ineos Grenadier Electrical GRA-9T12-036380 Body Wiring Harness HC] 2f0 EEES 24,308,700
Ineos Grenadier Electrical GRA-9T12-036390 Body Wiring Harness B C] 2f0 EEES 25,572,900
Ineos Grenadier Electrical GRA-9T12-036400 Body Wiring Harness B C] 2f0 EEES 23,682,600
Ineos Grenadier Electrical GRA-9T12-036410 Body Wiring Harness B C] 2f0 EEES 26,341,800
Ineos Grenadier Electrical GRA-9T12-036420 Body Wiring Harness B C] 2f0 EEES 24,568,400
Ineos Grenadier Electrical GRA-9T12-036430 Body Wiring Harness B C] 2f0 EEES 25,818,000
Ineos Grenadier Electrical GRA-9T12-036440 Body Wiring Harness B C] 2f0 EEES 23,927,100
Ineos Grenadier Electrical GRA-9T12-036450 Body Wiring Harness B C] 2f0 EEES 25,642,300
Ineos Grenadier Electrical GRA-9T12-036460 Body Wiring Harness B C] 2f0 EEES 23,758,500
Ineos Grenadier Electrical GRA-9T12-039900 Body Wiring Harness B C] 2f0 EEES 10,953,500
Ineos Grenadier Electrical GRA-9T12-039910 Body Wiring Harness B C] 2f0 EEES 10,378,800
Ineos Grenadier Electrical GRA-9T12-039920 Body Wiring Harness B C] 2f0 EEES 10,796,000
Ineos Grenadier Electrical GRA-9T12-039930 Body Wiring Harness B C] 2f0 EEES 10,174,700
Ineos Grenadier Electrical GRA-9T12-039940 Body Wiring Harness B C] 2f0 EEES 11,067,000
Ineos Grenadier Electrical GRA-9T12-039950 Body Wiring Harness B C] 2f0 EEES 10,493,800
Ineos Grenadier Electrical GRA-9T12-039960 Body Wiring Harness B C] 2f0 EEES 10,905,100
Ineos Grenadier Electrical GRA-9T12-039970 Body Wiring Harness B C] 2f0 EEES 10,283,500
Ineos Grenadier Electrical GRA-9T12-039980 Body Wiring Harness B C] 2f0 EEES 10,779,700
Ineos Grenadier Electrical GRA-9T12-039990 Body Wiring Harness B C] 2f0 EEES 10,161,200
Ineos Grenadier Electrical GRA-9T12-040000 Body Wiring Harness B C] 2f0 EEES 10,546,200
Ineos Grenadier Electrical GRA-9T12-040010 Body Wiring Harness B C] 2f0 EEES 9,998,200
Ineos Grenadier Electrical GRA-9T12-040020 Body Wiring Harness B C] 2f0 EEES 10,655,500
Ineos Grenadier Electrical GRA-9T12-040030 Body Wiring Harness B C] 2f0 EEES 10,106,200
Ineos Grenadier Electrical GRA-9T12-040040 Body Wiring Harness B C] 2f0 EEES 10,377,800
Ineos Grenadier Electrical GRA-9T12-040050 Body Wiring Harness B C] 2f0 EEES 9,790,000
Ineos Grenadier Electrical GRA-9T12-040060 Body Wiring Harness B C] 2f0 EEES 10,536,800
Ineos Grenadier Electrical GRA-9T12-040070 Body Wiring Harness B C] 2f0 EEES 9,773,600
Ineos Grenadier Electrical GRA-9T12-040080 Body Wiring Harness B C] 2f0 EEES 10,486,100
Ineos Grenadier Electrical GRA-9T12-040090 Body Wiring Harness B C] 2f0 EEES 9,899,300
Ineos Grenadier Electrical GRA-9T13-006600 Light Bar Connector Cover BN EEEEE 47,300

Ineos Grenadier Electrical GRA-9T13-028350 FRT LH Rooflight Adapter Harness FRTLH 2Z20|E OfHH Sty & 422,000

Ineos Grenadier Electrical GRA-9T13-028362 FRT RH Rooflight Adapter Harness FRT RH = Z2[0[E O] HEf 3[4~ 416,600

Ineos Grenadier Electrical GRA-9T13-028371 RR LH Rooflight Adapter Harness RRLH 2Z2f0[E O{HE] sfH & 408,200

Ineos Grenadier Electrical GRA-9T13-029860 Roof Connector Base EEREEETES 46,900

Ineos Grenadier Electrical GRA-9T13-041491 FRT LH Rooflight Adapter Harness FRTLH 2Z20|E OfHH sty & 150,700

Ineos Grenadier Electrical GRA-9T13-041502 FRT RH Rooflight Adapter Harness FRT RH 2 Z2[0[£ Of&Ef SHH|= 148,700

Ineos Grenadier Electrical GRA-9T13-041511 RR LH Rooflight Adapter Harness RRLH 2Z2f0[E O{HE] i~ 144,100

Ineos Grenadier Electrical GRA-9T13-041522 RR RH Rooflight Adapter Harness RRRH £Z2}0|E O HE| St & 142,800

Ineos Grenadier Electrical GRA-9T13-043292 RR RH Rooflight Adapter Harness RRRH £Z2}0|E O HE]| St A 403,500




Ineos Grenadier Electrical GRA-9T21-028380 Pyro Switch NEESH] 1,008,800
Ineos Grenadier Electrical GRA-9T21-028400 Intelligent Battery Sensor EEERETEERER] 471,300
Ineos Grenadier Electrical GRA-9T21-029440 Pyro Switch NEESH] 1,073,800
Ineos Grenadier Electrical GRA-9T21-033590 Pyro Switch NEESH] 835,000
Ineos Grenadier Electrical GRA-9T21-036770 BRACKET SINGLE FUSE HOLDER Heppl A2 B= 2 53,600
Ineos Grenadier Electrical GRA-9T22-028410 Power Supply Battery Cable FEEET EEERE] 261,200
Ineos Grenadier Electrical GRA-9T22-028420 Ground Harness EEEEETES 266,400
Ineos Grenadier Electrical GRA-9T22-028430 Battery Charging Control EEEEEL 1,238,400
Ineos Grenadier Electrical GRA-9T22-028440 Bracket EEE 93,000
Ineos Grenadier Electrical GRA-9T22-028450 Single Fuse Power Supply Cable N2 Ex MY 3T A0S 172,300
Ineos Grenadier Electrical GRA-9T22-028460 Power Supply Cable e 3= AolE 254,200
Ineos Grenadier Electrical GRA-9T22-028470 Single Fuse Holder FEEEYT 683,600
Ineos Grenadier Electrical GRA-9T22-028480 Interior Pre Fuse Box EEEEEEEETES 1,268,800
Ineos Grenadier Electrical GRA-9T22-034980 Battery Charging Control EEEEEE 1,238,400
Ineos Grenadier Electrical GRA-9T22-041640 20016161-B1-Plastic cap 20016161-B1-Z2tAE1 24 300
Ineos Grenadier Electrical GRA-9T22-041650 50028377-A1-Label 50028377-A1-2H 300
Ineos Grenadier Electrical GRA-9T22-044850 Battery Charging Control EEEEER 1,275,500
Ineos Grenadier Electrical GRA-9T22-052040 Power Supply Battery Cable FEEET EEERE] 206,900
Ineos Grenadier Electrical GRA-9T23-028490 400W Inverter Power Cable 400w QIH{E MY #H o= 301,200
Ineos Grenadier Electrical GRA-9T23-028520 Inverter Power Cable 2KW OlB{Ef Mgl A 01 2kKW 296,000
Ineos Grenadier Electrical GRA-9T23-028530 Ground Cable SC #oE 366,200
Ineos Grenadier Electrical GRA-9T23-037000 400W Inverter Power Cable EEEEER 276,100
Ineos Grenadier Electrical GRA-9T23-037010 400W Inverter Power Cable EEEEER 347,900
Ineos Grenadier Electrical GRA-9T23-043400 400W Inverter Power Cable EEEEER 299,700
Ineos Grenadier Electrical GRA-9T30-036930 Airbag Connector Bracket EEEEEE 31,800
Ineos Grenadier Electrical GRA-9T31-028540 Console Wiring Harness 0 EEES 2,966,200
Ineos Grenadier Electrical GRA-9T31-028550 Console Wiring Harness 0 EEES 2,903,000
Ineos Grenadier Electrical GRA-9T31-028560 Console Wiring Harness 0 EEES 2,776,000
Ineos Grenadier Electrical GRA-9T31-036780 Console Wiring Harness 0 EEES 6,633,100
Ineos Grenadier Electrical GRA-9T31-036790 Console Wiring Harness 0 EEES 6,186,500
Ineos Grenadier Electrical GRA-9T31-036800 Console Wiring Harness 0 EEES 6,497,100
Ineos Grenadier Electrical GRA-9T31-036810 Console Wiring Harness 0 EEES 2,917,800
Ineos Grenadier Electrical GRA-9T31-036820 Console Wiring Harness 0 EEES 2,727,700
Ineos Grenadier Electrical GRA-9T31-036830 Console Wiring Harness 0 EEES 2,855,500
Ineos Grenadier Electrical GRA-9T31-036840 Console Wiring Harness 0 EEES 2,835,500
Ineos Grenadier Electrical GRA-9T31-036850 Console Wiring Harness 0 EEES 2,644,400
Ineos Grenadier Electrical GRA-9T31-036860 Console Wiring Harness 0 EEES 2,814,900
Ineos Grenadier Electrical GRA-9T32-028630 Console Wiring Harness 0 EEES 2,870,700
Ineos Grenadier Electrical GRA-9T32-028640 Console Wiring Harness 0 EEES 2,753,600
Ineos Grenadier Electrical GRA-9T32-036870 Console Wiring Harness 0 EEES 6,609,600
Ineos Grenadier Electrical GRA-9T32-036880 Console Wiring Harness 0 EEES 6,135,600
Ineos Grenadier Electrical GRA-9T32-036890 Console Wiring Harness 0 EEES 2,889,700
Ineos Grenadier Electrical GRA-9T32-036900 Console Wiring Harness 0 EEES 2,694,300
Ineos Grenadier Electrical GRA-9T32-036910 Console Wiring Harness 0 EEES 2,805,500
Ineos Grenadier Electrical GRA-9T32-036920 Console Wiring Harness 0 EEES 2,610,000
Ineos Grenadier Electrical GRA-9T61-028651 LH FRT Door Harness LH FRT 0f 3t~ 631,000
Ineos Grenadier Electrical GRA-9T61-028661 LH FRT Door Harness LH FRT 0f 3t~ 545,600
Ineos Grenadier Electrical GRA-9T61-028671 LH FRT Door Harness LH FRT 0f 3t~ 560,500
Ineos Grenadier Electrical GRA-9T61-028681 LH FRT Door Harness LH FRT 0f 3t~ 501,400
Ineos Grenadier Electrical GRA-9T62-028691 LH FRT Door Harness LH FRT 0f 3t~ 567,900
Ineos Grenadier Electrical GRA-9T62-028701 LH FRT Door Harness LH FRT 0f 3t~ 510,100
Ineos Grenadier Electrical GRA-9T62-028711 LH FRT Door Harness LH FRT 0f 3t~ 499,800
Ineos Grenadier Electrical GRA-9T62-028721 LH FRT Door Harness LH FRT 0f 3t~ 609,600
Ineos Grenadier Electrical GRA-9T63-028732 RH FRT Door Harness RH FRT 0] 3t~ 532,900
Ineos Grenadier Electrical GRA-9T63-028742 RH FRT Door Harness RH FRT 0] 3t~ 502,700
Ineos Grenadier Electrical GRA-9T63-028752 RH FRT Door Harness RH FRT 0] 3t~ 492,900
Ineos Grenadier Electrical GRA-9T63-028762 RH FRT Door Harness RH FRT 0] 3t~ 449,400
Ineos Grenadier Electrical GRA-9T64-028772 RH FRT Door Harness RH FRT 0] 3t~ 626,500
Ineos Grenadier Electrical GRA-9T64-028782 RH FRT Door Harness RH FRT Z0] 3t~ 537,700
Ineos Grenadier Electrical GRA-9T64-028792 RH FRT Door Harness RH FRT 0] 3t~ 553,600
Ineos Grenadier Electrical GRA-9T64-028802 RH FRT Door Harness RH FRT 0] 3t~ 492,700
Ineos Grenadier Electrical GRA-9T65-028811 LH RR Door Harness LHRR £0f 3|2 561,600
Ineos Grenadier Electrical GRA-9T65-028821 LH RR Door Harness LHRR £0f 3|2 469,900
Ineos Grenadier Electrical GRA-9T65-028831 LH RR Door Harness LHRR £0f 3|2 486,600
Ineos Grenadier Electrical GRA-9T65-028841 LH RR Door Harness LHRR £0f 3|2 382,000
Ineos Grenadier Electrical GRA-9T65-041561 LH RR Door Wiring Harness 9f0 EEES 244,100
Ineos Grenadier Electrical GRA-9T65-041571 LH RR Door Wiring Harness 9f0 EEES 206,200
Ineos Grenadier Electrical GRA-9T65-041581 LH RR Door Wiring Harness 9f0 EEES 212,900
Ineos Grenadier Electrical GRA-9T65-041591 LH RR Door Wiring Harness 9f0 EEES 164,800
Ineos Grenadier Electrical GRA-9T66-028852 RH RR Door Harness ECETES 558,700
Ineos Grenadier Electrical GRA-9T66-028862 RH RR Door Harness ECETES 467,000
Ineos Grenadier Electrical GRA-9T66-028872 RH RR Door Harness ECETES 481,300
Ineos Grenadier Electrical GRA-9T66-028882 RH RR Door Harness ECETES 376,000
Ineos Grenadier Electrical GRA-9T66-041602 RH RR Door Wiring Harness Ex) EEES 243,000
Ineos Grenadier Electrical GRA-9T66-041612 RH RR Door Wiring Harness 2f0) EEES 204,900
Ineos Grenadier Electrical GRA-9T66-041622 RH RR Door Wiring Harness 2f0) EEES 210,600
Ineos Grenadier Electrical GRA-9T66-041632 RH RR Door Wiring Harness 2f0) EEES 162,300
Ineos Grenadier Electrical GRA-9T81-028891 LH RR Split Door Harness EECETES 266,600
Ineos Grenadier Electrical GRA-9T81-036231 LH RR Split Door Wiring Harness oro[o]d pH[~ 406,100
Ineos Grenadier Electrical GRA-9T82-028902 RH RR Split Door Harness ETECETES 450,100
Ineos Grenadier Electrical GRA-9T82-028912 RH RR Split Door Harness ETECETES 528,400
Ineos Grenadier Electrical GRA-9T82-028920 RR View Camera EEEE 443,700
Ineos Grenadier Electrical GRA-9T82-033540 RR View Camera EEEE 457,000
Ineos Grenadier Electrical GRA-9T82-036242 RH RR Split Door Wiring Harness RHRR AZ &l £0f {0 St A 733,300
Ineos Grenadier Electrical GRA-9T82-036252 RH RR Split Door Wiring Harness RHRR AZ &l £0f {0 St A 594,500
Ineos Grenadier Electrical GRA-9T82-040602 RH RR Split Door Wiring Harness RHRR AZ &l £0f {0 St A 254,300
Ineos Grenadier Electrical GRA-9T82-040612 RH RR Split Door Wiring Harness RHRR AZ &l £0f {0 St A 311,500
Ineos Grenadier Electrical GRA-9T83-040770 Tailgate Wiring Harness EREREEN RS 290,400
Ineos Grenadier Electrical GRA-9T83-040780 Tailgate Wiring Harness EREREEN RS 213,500
Ineos Grenadier Electrical GRA-9T91-006770 RR Bumper Wiring Harness ERER S| A 843,500
Ineos Grenadier Electrical GRA-9T91-006780 RR Bumper Wiring Harness RERER S| A 1,184,300
Ineos Grenadier Electrical GRA-9T91-006790 RR Bumper Wiring Harness RERER S| A 4,059,700
Ineos Grenadier Electrical GRA-9T91-006800 RR Bumper Wiring Harness ERER S| A 4,432,400
Ineos Grenadier Electrical GRA-9T91-006810 RR Bumper Wiring Harness RERER S| A 727,700
Ineos Grenadier Electrical GRA-9T91-006820 RR Bumper Wiring Harness ERER S| A 1,108,000
Ineos Grenadier Electrical GRA-9T91-006830 RR Bumper Wiring Harness ERER S| A 3,944,100
Ineos Grenadier Electrical GRA-9T91-006840 RR Bumper Wiring Harness ERER S| A 1,512,100
Ineos Grenadier Electrical GRA-9T91-040490 RR Bumper Wiring Harness RERER S| A 1,108,000
Ineos Grenadier Electrical GRA-9T91-040500 RR Bumper Wiring Harness ERER S| A 1,360,900
Ineos Grenadier Electrical GRA-9T91-040510 RR Bumper Wiring Harness ERER S| A 843,500
Ineos Grenadier Electrical GRA-9T91-040520 RR Bumper Wiring Harness RERER S| A 1,221,700
Ineos Grenadier Electrical GRA-9T91-040530 RR Bumper Wiring Harness ERER S| A 1,283,900
Ineos Grenadier Electrical GRA-9T91-040540 RR Bumper Wiring Harness ERER S| A 4,432,400
Ineos Grenadier Electrical GRA-9T91-040550 RR Bumper Wiring Harness RERER S| A 1,390,500
Ineos Grenadier Electrical GRA-9T91-040560 RR Bumper Wiring Harness ERER S| A 1,251,500
Ineos Grenadier Electrical GRA-9T93-028930 Rear Winch Power Supply Cable EEEEEEEEENE 462,200
Ineos Grenadier Electrical GRA-9T93-028940 High Power Relay 500A 7 0] 500A 779,500




Ineos Grenadier Electrical GRA-9T93-037020 Rear Winch Power Supply Cable EEEEEEEEENE 235,000
Ineos Grenadier Electrical GRA-9T94-028950 Trailer Plug Bracket EEFEEEEEEE] 65,800
Ineos Grenadier Electrical GRA-9T94-028960 NATO Connector Bracket NATO A4 Ef =22t 51,100
Ineos Grenadier Electrical GRA-9T94-037810 13 Pin Towing Socket Wiring Harness 13 T £ A7 40|02 S| A 431,200
Ineos Grenadier Electrical GRA-9T94-037820 7 Pin Towing Socket Wiring Harness 7 5 £ 27 910[0{F SfL A 375,500
Ineos Grenadier Electrical GRA-9T94-043350 Trailer Plug Bracket EEFEEEEEEE] 23,300




